SPECIAL ASSESSMENT DISTRICT WALLED LAKE IMPROVEMENT BOARD SPECIAL ASSESSMENT DISTRICT No. - 175

UPON CONFIRMATION, THIS ROLL WILL BE PARTITIONED ALONG GOVERNMENTAL BOUNDARIES CITY OF NOVI PORTION TO BE KNOWN AS - 175 CITY OF WALLED LAKE PORTION TO BE KNOWN AS - 175

CERTIFICATE OF ASSESSORS

WE, THE UNDERSIGNED, D. GLENN LEMMON, AS CITY OF NOVI ASSESSOR, AND DAVID HIEBER, AS CITY OF WALLED LAKE ASSESSOR, DO HEREBY CERTIFY AND REPORT THAT THE FOLLOWING SPECIAL ASSESSMENT ROLL, AND THE ASSESSMENT MADE BY US PURSUANT TO RESOLUTION OF THE WALLED LAKE IMPROVEMENT BOARD, ADOPTED ON THE 5th DAY OF NOVEMBER A.D., 2009, FOR THE PURPOSE OF PAYING THAT PART OF THE COST WHICH THE BOARD DECIDED SHOULD BE PAID AND BORNE BY SPECIAL ASSESSMENT FOR THOSE PROPERTIES LOCATED IN THE CITIES OF NOVI AND WALLED LAKE FOR THE PURPOSE OF CONTROLLING AQUATIC PLANT GROWTH IN WALLED LAKE AND THAT IN MAKING SUCH ASSESSMENT WE HAVE, AS NEAR AS MAY BE, ACCORDING TO OUR BEST JUDGMENT, CONFORMED IN ALL THINGS TO THE DIRECTIONS CONTAINED IN THE RESOLUTION OF THE WALLED LAKE IMPROVEMENT BOARD AND THE INLAND LAKE IMPROVEMENT ACT (P.A. 451 of 1994) RELATING TO SUCH ASSESSMENT, THAT THE TOTAL AMOUNT ASSESSED AGAINST THE PROPERTY IN THIS DISTRICT IS \$518.615.00. AFTER A CONTRIBUTION FROM THE CITY OF NOVI OF \$30,000.00. THE AMOUNT OF SPECIAL ASSESSMENT TO BE BORNE BY THE PROPERTY IN THIS DISTRICT IS \$488,615.00 AND THAT THE ASSESSMENT IS MADE UPON A UNIT BASIS WITH 508.65 UNITS OF BENEFIT.

DATED THIS 15th DAY OF JUNE A.D., 2010

ASSESSOR, CITY OF NOVI

DAVID HIEBER, MANAGER, OAKLAND COUNTY EQUALIZATION

CONFIRMED BY THE WALLED LAKE IMPROVEMENT BOARD AT A REGULAR MEETING HELD ON JUNE 17, 2010

HERINE BUCK, CITY CLERK, CITY OF WALLED LAKE

WALLED LAKE IMPROVEMENTS

SPECIAL ASSESSMENT DISTRICT FOR CONFIRMED BY RESOLUTION DATED: **BEGINNING:** ANNUAL INSTALLMENTS DUE:

IN THE CITY OF NOVI, IN THE COUNTY OF OAKLAND, IN THE STATE OF MICHIGAN

INITEDEST DATE: 0.0000%

			INTEREST R	ATE:	0.0000%					
ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-101-001		1.50	\$960.61	\$1,440.92	DATE PAID					
THEODORE S ANDRIS		UNIT	*****	, , , ,						
ELANE ANDRIS					BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
	GROLL'S EDGEWATER SUB N 1/2 OF LOT				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
	14, ALSO ALL OF LOTS 16 & 18				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5108 CORNERS DR					TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
WEST BLOOMFIELD MI 48322-3933					101712	Ψ200.10	Ψ200.10	Ψ200.10	Ψ200.10	Ψ200.10
50-22-02-126-005		1.00	\$960.61	\$960.61	DATE PAID					
DAVID CLARK II		UNIT	φοσοιο.	φοσο.σ.						
271712 027111111		0.4.1			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1123 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 11 &				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438	12, ALSO S 1/2 OF LOTS 13 & 14				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 100 17 1 100					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					101712	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
50-22-02-126-006		1.00	\$960.61	\$960.61	DATE PAID					
ALAN BRAUNSTEIN		UNIT	φοσσ.σ ι	φοσσιστ	D, (12 1 7 (18					
DEBORAH BRAUNSTEIN		0.4.1			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1129 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 9 & 10				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438	5.K0120 2302177.121K 002 2010 0 4 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14071 1400					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					TOTAL	Ψ102.12	Ψ132.12	Ψ132.12	Ψ132.12	Ψ132.12
50-22-02-126-007		1.00	\$960.61	\$960.61	DATE PAID					
TEGLER, FRANCIS TRUST		UNIT	ψ300.01	φ500.01	BATTETAID					
1202214,110 111010 111001		0.4.1			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1133 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 7 & 8				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438	5.K5225 2552.W.12K 565 26 F6 F 4 5				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 111 1100 11 1100					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					101712	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
50-22-02-126-008		1.00	\$960.61	\$960.61	DATE PAID					
DARLENE ARNOT		UNIT	φοσοιο.	φοσο.σ.						
2711127111107		0.4.1			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1141 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 5 & 6				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						Ψ.σΞΞ	ψ.ισ <u>Σ</u> .ι. <u>Σ</u>	ψ.σ <u>2</u> 2	ψ.σ22	ψ.σ <u>2</u> .τ2
50-22-02-126-009		1.00	\$960.61	\$960.61	DATE PAID					
CHESTER MARENDA		UNIT		,						
- ····································					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1143 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 1 TO 4				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438	INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
33625 YORKRIDGE ROAD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON HILLS MI 48331-1548						Ţ	Ţ	Ţ <u> </u>	Ţ	Ţ
50-22-02-127-001		1.00	\$960.61	\$960.61	DATE PAID					
JOHN EROYAN		UNIT	7000.01	\$555.51						
PHYLLIS EROYAN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1149 EAST LAKE RD	SHORE ACRES SUB LOTS 75 & 76				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						Ţ	Ţ	Ţ <u> </u>	Ţ	Ţ
		1	•	Л	Д	•	1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-001		1.00	\$960.61	\$960.61	DATE PAID					
HARVEY G MARKOWITZ		UNIT			DALANCE	COCO C4	Ф 7 СО 4О	ФЕТС ОТ	CO04 04	\$192.12
	SHORE ACRES SUB LOT 77				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12
	CHOKE NOKEO OOD EOT 11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1153 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438										
50-22-02-151-002		1.00	\$960.61	\$960.61	DATE PAID					
HARVEY G MARKOWITZ		UNIT								
	011005 40050 0110 1 07 70				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 78				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1153 E EAST LAKE RD					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-1438					TOTAL	φ192.12	Φ19Z.1Z	\$192.12	\$192.12	\$192.12
50-22-02-151-003		1.00	\$960.61	\$960.61	DATE PAID					
JOHN L KERN		UNIT	φοσοιο.	Ψοσοίο:						
KIMBERLY A KERN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 79				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3099 RIDGEMONT ST					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
COMMERCE TOWNSHI MI 48382-3875			*****	*****	5.455 5.45					
50-22-02-151-004		1.00	\$960.61	\$960.61	DATE PAID					
CAROL KERNEN		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 80				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	CHOKE NOKEO COB ECT CO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1167 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438						•		•		
50-22-02-151-005		1.00	\$960.61	\$960.61	DATE PAID					
CAROL KERNEN		UNIT								
	011005 4 0050 0110 4 07 04				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 81				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1167 E EAST LAKE RD					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-1438					IOIAL	ψ19Z.1Z	ψ192.12	ψ192.12	ψ192.12	ψ192.12
50-22-02-151-006		1.00	\$960.61	\$960.61	DATE PAID					
CHARLES A MILAZZO		UNIT	*****	,						
ANEMARIE M MCDONALD					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 82				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
4474 5407 445 55					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1171 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438 50-22-02-151-007		1.00	\$960.61	\$960.61	DATE PAID		1			
CHARLES A MILAZZO		UNIT	1 0.00Ep	1 O.00ep	DATE PAID					
ANEMARIE M MCDONALD		Civil			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 83				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1171 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438										
50-22-02-151-008		3.00	\$960.61	\$2,881.83	DATE PAID					
FOURTEEN CORP.		UNIT			BAL	00.001.01	00.057.15	04.700.15	04 450 55	0.53 6 0.5
	SHORE ACRES SUB LOTS 84 & 85				BALANCE	\$2,881.83	\$2,305.46	\$1,729.10	\$1,152.73	\$576.37
	31 IUNE AUNES SUB LU 13 04 & 85				PRINCIPAL INTEREST	\$576.37 \$0.00	\$576.37 \$0.00	\$576.37 \$0.00	\$576.37 \$0.00	\$576.37 \$0.00
41 SOUTH HIGH ST.					TOTAL	\$0.00	\$576.37	\$576.37	\$576.37	\$576.37
COLUMBUS OH 43215					.01/.	ψ010.01	ψο. σ.σ.	ψο. σ.σ.	ψο, σ.σ.	ψο, σ.σ.
		ı		JI.			L	L	L	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-009 MARY M LANGAN		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
mart in Editoria		O. W.			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1185 EAST LAKE RD	SHORE ACRES SUB LOT 86				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
30393 BALFOUR DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-3904										
50-22-02-151-010		1.00	\$960.61	\$960.61	DATE PAID					
MARY RIDENOUR		UNIT								
THURMAN RIDENOUR	SHORE ACRES SUB LOT 87, ALSO NLY				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	6.82 FT OF LOT 88 1-7-98 CORR				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1189 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438					5.4== 5.45					
50-22-02-151-013	THAT DADT OF NIM FDO 4/41 VINO DET	1.00	\$960.61	\$960.61	DATE PAID					
MARK CARPENTER	THAT PART OF NW FRC 1/4 LYING BET	UNIT			DALANOE	# 000 04	Ф 7 00 40	# 570.07	C00404	£400.40
	SIDELINES EXT WLY OF LOT 53 OF 'SHORE ACRES SUB' & BET WALLED				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	LAKE & WALLED LAKE-NOVI RD 0.04 A				INTEREST	\$0.00	\$192.12	\$192.12	\$192.12	\$192.12
1229 EAST LAKE RD	MN23B				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440	WW ZOD				IOIAL	ψ192.12	ψ192.12	Ψ192.12	\$192.12	Ψ192.12
50-22-02-151-016		1.50	\$960.61	\$1,440.92	DATE PAID					
FEDERAL HOME LOAN MORTGAGE COR		UNIT	•	, , ,						
TROTT & TROTT					BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
1250 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 1				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
31440 NORTHWESTERN HWY STE 200					TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
FARMINGTON HILLS MI 48334-2525										
50-22-02-151-017		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT M CUMMINGS		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1254 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 2				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 250741					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WEST BLOOMFIELD MI 48325		1.00	¢060.61	\$060.61	DATE PAID					
50-22-02-151-018 HARRIS, ARTHUR J, TRUST		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
HAMMO, AMTHOM J, TAUST		CIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1256 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 3				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439	23. 22				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-019		1.00	\$960.61	\$960.61	DATE PAID					
ROGER PALMER		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1258 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 4				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-020		1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL LANGAN		UNIT	1 0.008	1 0.006¢	DATE PAID		1			
PATRICIA CORNISH		CIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1260 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 5				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1466	23. 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						Ţ 	Ţ	Ţ:	Ţ <u></u>	Ţ:
<u> </u>				п			1		1	1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-021 ROBERT ANDREWS		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
DEBORAH ANDREWS					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1262 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 6				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-022 DAVID KOBYLAREK		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
SUSAN KOBYLAREK					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1270 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 7				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-023		1.00	\$960.61	\$960.61	DATE PAID					
BRADLEY ARMSTRONG		UNIT			DALANOE	COCO C4	#700.40	# 570.07	C00404	£400.40
4200 FACT LAKE DD	SUPERVISOR'S PLAT NO 1 LOT 8				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1280 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 6				PRINCIPAL INTEREST	\$192.12	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
NOVI MI 48377-1439 12272 HILLSIDE DR					TOTAL	\$0.00 \$192.12	\$192.12	\$192.12	\$192.12	\$192.12
PLYMOUTH MI 48170-3054					TOTAL	Ф192.12	\$192.12	ф192.12	φ192.12	\$192.12
50-22-02-151-024 NOORI KARMO		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
JORJIT KARMO		OIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1284 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 9				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11071101 40077 1400					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-025		1.00	\$960.61	\$960.61	DATE PAID					
MORIARTY FAMILY TRUST		UNIT	*****	,						
1000 51051 11/5 55	OUDEDVICODIO DI ATAIO A LOTAO				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1286 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 10				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-026 KYLE MURPHY		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
LORI MURPHY					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1288 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 11				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-027		1.00	\$960.61	\$960.61	DATE PAID					
GERALD G PATHE		UNIT								
	SUPERVISOR'S PLAT NO 1 NLY 45 FT OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1292 EAST LAKE RD	LOT 12				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
			A 000 - :	400		Ţ	7	Ţ	7	7
50-22-02-151-028 ASA SMITH		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
	OUDED/ (IOOD)O DI ATAIO ALIOTAS EXC				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1294 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 12 EXC				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439	NLY 45 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
								·	·	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-029		1.00	\$960.61	\$960.61	DATE PAID					
VICTORIA CALDWELL		UNIT								
CHARLES CALDWELL					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1296 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 13				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-030		1.00	\$960.61	\$960.61	DATE PAID					
HARRY KUBBE		UNIT								
BELINDA KUBBE					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1300 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 14				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-031		1.00	\$960.61	\$960.61	DATE PAID					
RICHARD TITSWORTH		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 1				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1304 EAST LAKE RD NOVI MI 48377-1441					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-032		1.00	\$960.61	\$960.61	DATE PAID					
RICHARD D TITSWORTH		UNIT	φοσοίο:	φοσοίο:						
	0110000 40000 0110 1 07 0 0 11 4/0 00				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1304 EAST LAKE RD	SHORES ACRES SUB LOT 2 & N 1/2 OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441	LOT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-033		1.00	\$960.61	\$960.61	DATE PAID					
RAE, JUDITH L, TRUST		UNIT	ψ300.01	ψ300.01	DATETAID					
,,,		_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1310 EAST LAKE RD	SHORE ACRES SUB S 1/2 OF LOT 3 & ALL OF LOT 4	-			PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441	OF LOT 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-034		1.00	\$960.61	\$960.61	DATE PAID					
PAUL OLSEN		UNIT								
MIHUI OLSEN	SHORE ACRES SUB LOT 5 & N 2 FT OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1312 EAST LAKE RD	LOT 6				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 1446					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48376-1446		4.00	# 000 04	#000 04	DATE DAIL		1	1		
50-22-02-151-035		1.00	\$960.61	\$960.61	DATE PAID		1	1		
ERIC D NESSEL		UNIT			BALANCE	¢060.04	¢760.40	¢570.07	#204 O4	£400.40
PATRICIA E NESSEL	SHORE ACRES SUB LOT 6 EXC N 2 FT				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37	\$384.24	\$192.12 \$102.12
1314 EAST LAKE RD NOVI MI 48377-1441	GRONE AGNES SOB EST S EACH 2 FT				INTEREST	\$0.00	\$192.12	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
140 41 1411 403/ / - 144 1					TOTAL	\$0.00 \$192.12	\$192.12	\$192.12	\$192.12	\$192.12
			A 000 - :	A 2 2 3 3	DATE					
50-22-02-151-036 MARK RUBENSTEIN		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MAIN NODEROTEIR		ONT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1316 EAST LAKE RD	SHORE ACRES SUB LOT 7				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1215 HIDDEN LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
BLOOMFIELD HILLS MI 48302-1956										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ı	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-037		1.00	\$960.61	\$960.61	DATE PAID					
DENNIS SMITH		UNIT								
KIMBERLEY SMITH					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1320 EAST LAKE RD	SHORE ACRES SUB LOT 8				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-038		1.00	\$960.61	\$960.61	DATE PAID					
FIFTH THIRD MTG MI LLC MD#1MOC20		UNIT	φοσοίο:	φοσοιστ	B, (12 1 7 (18					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1322 EAST LAKE RD	SHORE ACRES SUB LOT 9				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
MADISONVILLE OPERATION CENTER					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
CINCINNATI OH 45263										
50-22-02-151-039		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT S SALAMON		UNIT								
	011005 40050 0110 1 07 40				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1326 EAST LAKE RD	SHORE ACRES SUB LOT 10				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-040		1.00	\$960.61	\$960.61	DATE PAID					
JOHN CARPENTER		UNIT	*******	400000						
MARY ANN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1328 EAST LAKE RD	SHORE ACRES SUB LOT 11				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1021 WILLOW LN					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
HOWELL MI 48843-8535										
50-22-02-151-041		1.00	\$960.61	\$960.61	DATE PAID					
MANKVITZ ENTERPRISES, LLC #6		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE ACRES SUB LOT 12				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2990 STEEPLE HILL RD WHITE LAKE MI 48383-1863					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-151-043		1.00	\$960.61	\$960.61	DATE PAID			1		
JOSEPH M DEBRINCAT		UNIT	ψοσοίο.	φοσοίο.	5711217112					
	SHORE ACRES SUB S 25 FT OF LOT 14 &				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	N 15 FT OF LOT 15				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	14 10 1 1 01 101 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1339 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442		4.00	# 000 04	# 0000.04	DATE DATE			1		
50-22-02-151-044 DAUCH, HUBERT TRUST		1.00	\$960.61	\$960.61	DATE PAID			+		
DAUCH, HUBERT TRUST		UNIT			DALANCE	POCO 04	Ф760 40	¢570.07	C204 24	£100.40
	SHORE ACRES SUB S 25 FT OF LOT 15 &				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49	\$576.37	\$384.24 \$192.12	\$192.12
	ALL OF LOT 16				INTEREST	\$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$0.00	\$192.12 \$0.00
1345 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442					IOIAL	ψ104.14	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
50-22-02-151-045		1.00	\$960.61	\$960.61	DATE PAID			1		
DAUCH, HUBERT TRUST		UNIT	,	4130.0 .				1		
•					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1345 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442										

6 d 175

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	ISTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-046		1.00	\$960.61	\$960.61	DATE PAID					
JAMES KERR		UNIT								
JUDITH KERR					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1349 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442										
50-22-02-151-047	PART OF NW FRC 1/4 BEG AT INTER OF	1.00	\$960.61	\$960.61	DATE PAID					
BILLY SPENCER	W LINE WALLED LAKE-NOVI RD & E & W	UNIT								
	1/4 LINE, TH N 24-00-00 W ALG W LINE OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	RD 46.8 FT, TH W TO ELY SHORE OF WALLED LAKE, TH SLY ALG SD SHORE				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
4004 FAOT LAKE DD	,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1231 EAST LAKE RD	38.5 FT TO E & W 1/4 LINE, TH E ALG 1/4 LINE TO BEG 0.02 A MN25				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440	LINE TO BEG 0.02 A WIN25	4.00	# 000 04	# 000 04	DATE DAID					
50-22-02-151-048	THAT DADT OF NIM EDG 4/4 LYING MILY	1.00 UNIT	\$960.61	\$960.61	DATE PAID					
PATRICIA M HUGHES	THAT PART OF NW FRC 1/4 LYING WLY OF NOVI RD, ELY OF WALLED LAKE &	UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	BET N & S LOT LINES OF LOT 52 OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	'SHORE ACRES SUB' AS EXT WLY TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1241 EAST LAKE RD	SHORE OF WALLED LAKE 0.04 A				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440	STIGITE OF WALLES ENTRE 0.0171				TOTAL	ψ132.12	Ψ132.12	Ψ132.12	Ψ132.12	Ψ132.12
50-22-02-151-049		1.00	\$960.61	\$960.61	DATE PAID					
JAMIE GROVES	THAT PART OF NW FRC 1/4 LYING WLY	UNIT	φοσο.στ	φοσσ.σ τ	B/(1217(18					
ERIKA GROVES	OF NOVI RD. ELY OF WALLED LAKE &	0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
27.1101 07.0720	BET N & S LOT LINES OF LOT 51 OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	'SHORE ACRES SUB' AS EXT WLY TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1245 EAST LAKE RD	SHORE OF WALLED LAKE 0.04 A				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440						•	* -	* -		* -
50-22-02-151-051	THAT BART OF NIMERO 4/412/INC MILY	1.50	\$960.61	\$1,440.92	DATE PAID					
RANDY J KERNEN	THAT PART OF NW FRC 1/4 LYING WLY	UNIT	*	, ,						
	OF NOVI RD, ELY OF WALLED LAKE, NLY				BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
	OF LOT 89 OF 'SHORE ACRES SUB' & SLY OF NLY LINE OF LOT 50 OF 'SHORE				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
	ACRES SUB' AS EXT WLY TO SHORE OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1209 E EAST LAKE RD	WALLED LAKE 0.03 A				TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1440	W/ (EEEB E/ (I/C 0.00 / (
50-22-02-151-052	THAT PART OF NW FRC 1/4 LYING W OF	1.00	\$960.61	\$960.61	DATE PAID					
ALAN DEZELL	WLY LINE OF EAST LAKE DR BETWEEN	UNIT								
	SLY LINE OF LOT 58 & NLY LINE OF LOT				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	59 OF 'SHORE ACRES SUB', BOTH EXT				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
4047 F FAOT LAKE DD	WLY TO WATERS EDGE OF WALLED				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1217 E EAST LAKE RD	LAKE 0.10 A 08/09/84 FR 012				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440		1.50	¢060.04	¢4 440 00	DATE DAID		1		1	
50-22-02-151-053 MICHAEL LANGAN	THAT PART OF NW FRC 1/4 LYING W OF	1.50 UNIT	\$960.61	\$1,440.92	DATE PAID				 	
PATRICIA LANGAN	WLY LINE OF EAST LAKE DR BETWEEN	UNII			BALANCE	\$1.440.02	\$1,152.73	\$864.55	\$576.37	\$288.18
I ATMOR LANGAIN	NLY & SLY LINES OF LOT 57 OF 'SHORE				PRINCIPAL		\$288.18	\$288.18	\$288.18	\$288.18
	ACRES SUB', BOTH EXT WLY TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1225 E EAST LAKE RD	WATERS EDGE OF WALLED LAKE				TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1440	0.06 A 08/09/84 FR 012				.01/1	Ψ200.10	Ψ200.10	Ψ200.10	Ψ200.10	Ψ200.10
50-22-02-151-054		1.00	\$960.61	\$960.61	DATE PAID				1	
JOHN WYATT SMITH	THAT PART OF NW FRC 1/4 LYING W OF	UNIT	ψοσσ.σ ι	Ψ000.01	2,21,,,,,				1	
	WLY LINE OF EAST LAKE DR BETWEEN	•			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SLY LINE OF LOT 55 & NLY LINE OF LOT				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	56 OF 'SHORE ACRES SUB', BOTH EXT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1227 EAST LAKE RD	WLY TO WATERS EDGE OF WALLED				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440	LAKE 0.10 A 08/09/84 FR 012									

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ı	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-055	THAT DADT OF NIW EDG 1/4 LVING W.OF	1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL CONDON	THAT PART OF NW FRC 1/4 LYING W OF WLY LINE OF EAST LAKE DR BETWEEN	UNIT								
JODIE CONDON	NLY & SLY LINES OF LOT 54 OF 'SHORE				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ACRES SUB', BOTH EXT WLY TO				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	WATERS EDGE OF WALLED LAKE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1193 E EAST LAKE RD	0.04 A 08/09/84 FR 012				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438	0.047(00/03/0411(012									
50-22-02-151-056		1.00	\$960.61	\$960.61	DATE PAID					
DAVID GALLOWAY		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1197 E LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1438										
50-22-02-151-057	SHOKE ACKES SUBTILL TOO FT OF SLT	1.00	\$960.61	\$960.61	DATE PAID					
GREGG ARMSTRONG	132 FT OF FOL DESC PCL LOT 88, ALSO	UNIT		*****						
	PART OF NW 1/4 STRIP OF LAND LYING				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	W OF WLY LINE OF E LAKE RD BETW				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	NLY LINE OF LOT 59 & SLY LINE OF LOT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1203 EAST LAKE RD	88 BOTH EXT WLY TO WATER'S EDGE				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1440	OF WALLED LAKE 0.08 A 7-5-95 FR					V.02	V.022	V.02	V.022	V.02
50-22-02-176-008	HSO.	0.20	\$960.61	\$192.12	DATE PAID					
JENNIFER BOYLAN		UNIT	ψ500.01	Ψ132.12	D/(ILI/(ID					
COLLEEN BOYLAN		Olviii			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1247 EAST LAKE RD	SHORE ACRES SUB LOT 49				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440	OHORE MOREO COD ECT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 46377-1440					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	φ30.42	φ30.42	\$30.42	ψ30.42	φ30.42
50-22-02-176-009		0.20	\$960.61	\$192.12	DATE PAID					
		UNIT	φ900.01	\$192.12	DATE PAID					
RALPH C MCINTYRE		UNIT			DALANOE	£400.40	£450.70	0445.07	Ф70.0 Г	COD 40
1050 FAOT LAKE DD	SHORE ACRES SUB LOTS 47 & 48				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1253 EAST LAKE RD	SHORE ACRES SUB LOTS 47 & 40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		2.22	*****	* * * * * * * * * * * * * * * * * * *	5.475.5415					
50-22-02-176-011		0.20	\$960.61	\$192.12	DATE PAID					
DEBRA MEYERS		UNIT				0.05.15	0.5	A = ==	A =5	405 :-
	011005 10050 0110 1050 10 1				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1275 EAST LAKE RD	SHORE ACRES SUB LOTS 42 & 43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
			A	0.0- :-	5.7 - · · ·			1		-
50-22-02-176-012		0.20	\$960.61	\$192.12	DATE PAID			1		1
BRAD ARMSTRONG		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1283 EAST LAKE RD	SHORE ACRES SUB LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 700287					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
PLYMOUTH MI 48170-0945										
50-22-02-176-013		0.20	\$960.61	\$192.12	DATE PAID					
BRAD ARMSTRONG		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1283 EAST LAKE RD	SHORE ACRES SUB LOT 40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440		1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
						Ψ0.00	Ψ0.00	Ψ0.00	Ψ0.00	
PO BOX 700287					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-176-014		0.20	\$960.61	\$192.12	DATE PAID					
FRANK COCKERHAM		UNIT								
CAROL COCKERHAM					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1285 EAST LAKE RD	SHORE ACRES SUB LOT 39				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
720 STRATTON RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
FORT WAYNE IN 46825-5441										
50-22-02-176-015		0.20	\$960.61	\$192.12	DATE PAID					
ROBERT PAINE		UNIT								
COLL WIVELL	011005 40050 0110 107 00				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1289 EAST LAKE RD	SHORE ACRES SUB LOT 38				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1462					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
48409 CASTLESIDE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
CANTON MI 48187-1247		0.00	# 000 04	£400.40	DATE DAID					
50-22-02-176-016 EARL BROOKS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
EARL BROOKS		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1291 EAST LAKE RD	SHORE ACRES SUB LOT 37				PRINCIPAL	\$38.42	\$153.70	\$38.42	\$76.85	\$38.42
NOVI MI 48377-1440	SHOKE ACKES SOB LOT ST				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 40377-1440					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ30.42	ψ30.4Z	ψ30.42	ψ30.4Z	ψ30.42
50-22-02-176-017		0.20	\$960.61	\$192.12	DATE PAID					
VINCENT KOZA		UNIT	ψ900.01	Ψ132.12	DATETAID					
VINOENT NOZA		01411			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1295 EAST LAKE RD	SHORE ACRES SUB LOTS 35 & 36				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440	0.10112710112000020000000000000000000000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1 .0.7.2	ψου	ψου. : <u>2</u>	ψου	Ψ001.12	Ψ001.2
50-22-02-176-018		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES O MILLER		UNIT	*******	*****						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	SHORE ACRES SUB LOT 34				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3288 PINE LAKE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WEST BLOOMFIELD MI 48324-1951										
50-22-02-176-019		0.20	\$960.61	\$192.12	DATE PAID					
LAURA WOLKENS		UNIT								
KENNETH WOLKENS	SHORE ACRES SUB N 19.50 FT OF LOT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1255 EAST LAKE RD	45, ALSO ALL OF LOT 46				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440	10,71200712201 201 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.470.000	<u> </u>	0.00	#	0100 10	DATE SAIS					
50-22-02-176-020		0.20	\$960.61	\$192.12	DATE PAID					
STEVEN MCCLURE		UNIT			DALANCE	£400.40	0450.70	£445.07	Ф 7 С ОБ	#20.40
4050 FACT LAKE DD	SHORE ACRES SUB LOT 44, ALSO LOT 45	5 			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1259 EAST LAKE RD	EXC N 19.50 FT				PRINCIPAL INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440					TOTAL	\$0.00	\$0.00 \$38.42	\$0.00	\$0.00	\$0.00
					IOTAL	\$38.42	φ36.42	\$38.42	\$38.42	\$38.42
50-22-02-177-001		0.20	\$960.61	\$192.12	DATE PAID					
PLYMOUTH BEECH, LLC		UNIT	1 0.008¢	क्।३८.1८	DATE PAID					
TETWOOTH BEECH, EEC		OINII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1303 EAST LAKE RD	SHORE ACRES SUB LOTS 32 & 33				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442	5110112 7101120 00D 2010 02 d 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
35000 SCHOOLCRAFT RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
LIVONIA MI 48150-1227					101/12	ψ00.72	ψ00.72	ψ00.72	ψ00.72	ψυυτΔ
OI 1// IVII 10 100 1221	I			И						

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll .	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-177-002		0.20	\$960.61	\$192.12	DATE PAID					
ADAM BELL		UNIT								
KRISTEN BELL	011005 40050 0110 4050 00 00 0				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1309 EAST LAKE RD	SHORE ACRES SUB LOTS 30 & 31				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-177-005		0.20	\$960.61	\$192.12	DATE PAID					
ISALY SZETELA		UNIT	ψ300.01	Ψ132.12	DATETAID					
MARK SZETELA		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1317 EAST LAKE RD	SHORE ACRES SUB LOT 27				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-177-006		0.20	\$960.61	\$192.12	DATE PAID					
DENNIS J SHRADER		UNIT			541 44105	# 100.10	0450 70	0445.07	#70.05	000.40
MARY M SHRADER	CHORE ACRES SUBJECT 20				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1319 EAST LAKE RD	SHORE ACRES SUB LOT 26				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442 30393 BALFOUR DR					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
NOVI MI 48377-3904					TOTAL	ψ30.42	ψ30.42	ψ30.4Z	ψ30.42	ψ30.4Z
50-22-02-177-007		0.20	\$960.61	\$192.12	DATE PAID					
DENNIS SMITH		UNIT	******	*						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1323 EAST LAKE RD	SHORE ACRES SUB LOT 25				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1320 E EAST LAKE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1441				-						
50-22-02-177-008		0.20	\$960.61	\$192.12	DATE PAID					
TOMOR LINATOPI		UNIT			DALANCE	£400.40	¢450.70	C445 07	Ф 7 С ОБ	COD 40
MIRJETA LINATOPI	SHORE ACRES SUB LOT 24				BALANCE PRINCIPAL	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1325 EAST LAKE RD NOVI MI 48377-1442	SHOKE ACKES SUB LOT 24				INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
14071111140377-1442					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101/12	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψ00.42
50-22-02-177-009		0.20	\$960.61	\$192.12	DATE PAID					
MANKVITZ ENTERPRISES LLC #6		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1327 EAST LAKE RD	SHORE ACRES SUB LOT 23				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2990 STEEPLE HILL RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WHITE LAKE MI 48383-1863 50-22-02-177-012		0.20	\$960.61	\$192.12	DATE PAID					
JOSEPH M DEBRINCAT		UNIT	ψ900.01	Ψ132.12	DATEFAID					
		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1339 EAST LAKE RD	SHORE ACRES SUB LOT 20				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
			***	0.00	5.75 - · · ·					
50-22-02-177-013		0.20	\$960.61	\$192.12	DATE PAID					
DAUCH, HUBERT TRUST		UNIT			DALANCE	¢400.40	¢450.70	¢445.07	¢76.05	f20.40
1245 EASTLAKE DD	SHORE ACRES SUB LOTS 18 & 19				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
1345 EAST LAKE RD NOVI MI 48377-1442	GIONE AGNES SUB LOTS 16 & 19				INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
140 V 1 IVII 400/ / - 1442					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ00.72	ψου.τ2	ψ00. 7 2	ψ00.72	ψου.τ2
	<u> </u>	I		L	11		1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-177-014		0.20	\$960.61	\$192.12	DATE PAID					
JAMES KERR		UNIT								
JUDITH KERR	011005 40050 0110 1 07 17				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1349 EAST LAKE RD	SHORE ACRES SUB LOT 17				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-177-031		0.20	\$960.61	\$192.12	DATE PAID					
IOSIF ARPASI	SHORE ACRES SUB LOT 29, ALSO PART	UNIT	φοσσ.σ ι	Ψ102.12						
IRINA ARPASI	OF NW FRC 1/4 BEG AT PT DIST N 00-02-	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1313 EAST LAKE RD	00 E 431.40 FT & S 88-49-40 W 878.90 FT & N 86.35 FT FROM CEN OF SEC, TH N 40	4			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1442	FT, TH S 83-32-50 W 69.04 FT, TH S 40 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28300 MEADOWBROOK RD	TH N 83-32-50 E 69.04 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-3130	33 32 33 2 33.5 3 22 3									
50-22-02-177-032	SHORE ACRES SUB LOT 28, ALSO PART	0.20	\$960.61	\$192.12	DATE PAID					
1315 EAST LAKE, LLC	OF NW FRC 1/4 BEG AT PT DIST N 00-02-	UNIT				^	^ =====	*	^	200.10
4045 FAOT LAKE DD	00 E 431.40 FT & S 88-49-40 W 878.90 FT &				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1315 EAST LAKE RD NOVI MI 48377-1463	N 46.35 FT FROM CEN OF SEC TH N 40				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
PO BOX 3739	FT, TH S 83-32-50 W 69.04 FT, TH S 40 FT,				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
ANN ARBOR MI 48106-3739	TH N 83-32-50 E 69.04 FT TO BEG				IOIAL	ψ30.42	ψ30.42	\$30.4Z	ψ30.42	\$30.4Z
50-22-02-177-039		0.20	\$960.61	\$192.12	DATE PAID					
MELANIE SCHIEFELE		UNIT	φοσσ.σ ι	Ψ102.12						
MARKUS SCHIEFELE	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42750 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 1				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-177-040		0.20	\$960.61	\$192.12	DATE PAID					
STEVEN ARNOLD		UNIT								
OLIVIA ARNOLD	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42720 MORGAN CREEK NOVI MI 48377	CREEK ESTATES CONDOMINIUMS UNIT 2 L 23526 P 465 8-23-01 FR 027	1			PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI WII 40377	L 23320 F 403 0-23-011 K 021				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ50.42	ψ30. 1 2	ψ30. 1 2	ψ30.72	ψ30. 1 2
50-22-02-177-041		0.20	\$960.61	\$192.12	DATE PAID					
SUSAN HAKIM		UNIT	******	******						
	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42690 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 3	1			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
FO 22 02 477 042		0.00	COCC C4	£400.40	DATE DAID			1		
50-22-02-177-042		0.20 UNIT	\$960.61	\$192.12	DATE PAID			1		
DAVID LEPLEY RAGHAD KHOURY	CONDOMINIUM PLAN NO 1370 MORGAN	-			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42660 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 4				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		<u> </u>								
50-22-02-177-043		0.20	\$960.61	\$192.12	DATE PAID					
REUBEN LEVY		UNIT								
JILL LEVY	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42630 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 5				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
									1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-177-044		0.20	\$960.61	\$192.12	DATE PAID					
PAUL MAKHOULIAN		UNIT								
SUZY MAKHOULIAN	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42600 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 6				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-177-045		0.20	\$960.61	\$192.12	DATE PAID					
MEHRAN SALARI		UNIT	ψοσοίο.	V.02						
CORDTS FRANCES	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42605 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 7				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-177-046		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
CORRINE GOUGH HOLLY TUCKER	CONDOMINIUM PLAN NO 1370 MORGAN	UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42635 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 8				BALANCE PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 46377	2 200201 400 0 20 01111 021				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ00.42	ψου.+2	ψ00.42	ψ00.42	ψου.τ2
50-22-02-177-047		0.20	\$960.61	\$192.12	DATE PAID					
AARON LINK		UNIT								
KELLY LINK	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42665 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT 9				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.477.040		0.00	\$000.04	£400.40	DATE DAID					
50-22-02-177-048 DONALD MACIAG JR.		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
GIBBS DIANA	CONDOMINIUM PLAN NO 1370 MORGAN	UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42695 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	10 L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14 SLEEPY HOLLOW DR	10 2 20020 1 100 0 20 0 1 1 1 1 02 1				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
PLYMOUTH MA 02360						ψου	4002	\$501. <u>2</u>	Ψ001.12	\$501.2
50-22-02-177-049		0.20	\$960.61	\$192.12	DATE PAID					
KRIKOR BEDROSSIAN		UNIT								
NYRIE BEDROSSIAN	CONDOMINIUM PLAN NO 1370 MORGAN				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42725 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	11 L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22069 SHEFFIELD DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
FARMINGTON HILLS MI 48335		0.00	\$060.04	\$400.40	DATE DAID					
50-22-02-177-050 JEANETTE UNDERHILL		0.20 UNIT	\$960.61	\$192.12	DATE PAID		 			
JEANETTE UNDERHILL	CONDOMINIUM PLAN NO 1370 MORGAN	UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42755 MORGAN CREEK	CREEK ESTATES CONDOMINIUMS UNIT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	12 L 23526 P 465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-02-326-001		1.00	\$960.61	\$960.61	DATE PAID					
KRYSTAL SHAOUNI		UNIT								
	CHAPMAN WALLED LAKE SUB LOT 186				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	EXC S 40 FT				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
20000 CALEMED					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28988 SALEM RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON HILLS MI 48334-3140	1						<u> </u>	1	l	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			[NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-326-002		1.00	\$960.61	\$960.61	DATE PAID					
KRYSTAL SHAOUNI		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB S 40 FT OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	LOT 186				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28988 SALEM RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON HILLS MI 48334-3140						*	* * * * * * * * * * * * * * * * * * *	, ,,,,,,,	, ,,,,,,,	· · · · · ·
50-22-02-326-003		1.00	\$960.61	\$960.61	DATE PAID					
WORLD SAVINGS BANK, FSB	THAT PART OF SW FRC 1/4 LYING BET	UNIT								
	LOTS 185 & 186 'CHAPMAN WALLED				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1354 EAST LAKE RD	LAKE SUB' & LYING E OF E SHORE OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1441	WALLED LAKE & W OF W LINE OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4101 WISEMAN BLVD	WALLED LAKE-NOVI RD 0.04 A MN26				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
SAN ANTONIO TX 78251-4200		4.00	#	\$	DATE DAID					
50-22-02-326-004 KATHERINE ZORBAS		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
KATHERINE ZURBAS		UNIT			BALANCE	POSO 61	¢769.40	¢ E76 27	\$204.24	¢102.12
	CHAPMAN WALLED LAKE SUB LOT 185				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	CHAPMAN WALLED LAKE SOB LOT 105				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
750 OCEAN SURG DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
SOLANA BEACH CA 92075-2611					TOTAL	Ψ192.12	Ψ192.12	Ψ192.12	Ψ192.12	ψ132.12
50-22-02-326-005		1.00	\$960.61	\$960.61	DATE PAID					
TONI R METTE		UNIT	•							
BRUCE C METTE					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 184				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
40052 MILLPOND CT					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NORTHVILLE MI 48168-3419										
50-22-02-326-006		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT MATTHEWS		UNIT								
CARMEN MATTHEWS	CHAPMAN WALLED LAKE SUB N 1/2 OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LOT 182 & ALL OF LOT 183				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1367 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-326-007		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT MATTHEWS		UNIT	φ500.01	Ψ500.01	BATETAID					
CARMEN MATTHEWS					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 181 &				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	S 1/2 OF LOT 182				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1367 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442										
50-22-02-326-008		1.00	\$960.61	\$960.61	DATE PAID					
LAWRENCE L LANG		UNIT								
	OLIA DNA ANI WALLED LARGE CLID LOT 100				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 180				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1260 E EAST LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1369 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-326-009		1.00	\$960.61	\$960.61	DATE PAID					
LAWRENCE L LANG		UNIT	ψου.υ ι	ψ300.01	DATETAID					
		0.111			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 179				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1369 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1303 E EAGT LAKE KD										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL]!	NSTALLMEN ⁻	TS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-326-010 DONALD SLANKSTER		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MARY SLANKSTER	CHAPMAN WALLED LAKE SUB LOTS 176.				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	177 & 178				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1375 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-326-011 ANITHA CHACKO		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
ANTHA CHACKO		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1381 EAST LAKE RD	CHAPMAN WALLED LAKE SUB LOT 175				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442	OHAI WAR WALLED LAKE GOD LOT 175				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 V1 WII 40377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					TOTAL	ψ192.12	Ψ192.12	\$192.12	Ψ192.12	ψ132.12
50-22-02-326-012		1.00	\$960.61	\$960.61	DATE PAID					
OLEN C TONEY		UNIT								
	CHAPMAN WALLED LAKE SUB N 1/2 OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LOT 173 & ALL OF LOT 174				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1385 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-326-013		1.00	\$960.61	\$960.61	DATE PAID					
CARL ENGLING		UNIT								
LISA ENGLING	CHAPMAN WALLED LAKE SUB LOT 172				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	EXC S 3 FT ALSO S 1/2 OF LOT 173				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	2/10/03/11/12/03/11/20/11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1389 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-326-014		1.00	\$960.61	\$960.61	DATE PAID					
DAVID M BOUREN		UNIT			54141105	0000 01	# 700.40	#570.07	000404	0.100.10
4004 FAOT LAKE DD	CHAPMAN WALLED LAKE SUB LOT 171 &				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1391 EAST LAKE RD	S 3 FT OF LOT 172				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12 \$0.00
NOVI MI 48377-1442					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$192.12
					TOTAL	φ192.12	\$192.12	φ192.12	\$192.12	\$192.12
50-22-02-326-015 EDDIE PETERS		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
LUDIL FLI LING		CINIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB NLY 1/2				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	OF LOT 169 & ALL OF LOT 170				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1393 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442										
50-22-02-326-019		1.00	\$960.61	\$960.61	DATE PAID					
DAVID A HALL		UNIT								
CAROLYN F HALL					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 165				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1399 EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-326-020		1.00	\$960.61	\$960.61	DATE PAID					
DAVID A HALL		UNIT	φοσσ.σ ι	Ψ000.01	5,					
CAROLYN F HALL		5.411			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 164				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1399 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442						T	7	Ţ <u></u>	Ţ <u></u>	Ţ
	ı	1		п	п		-		1	1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	ISTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-326-021 BRENT BESHEARS		1.50 UNIT	\$960.61	\$1,440.92	DATE PAID					
ALPHA BESHEARS	CHAPMAN WALLED LAKE SUB LOTS 166, 167 & 168, ALSO SLY 1/2 OF LOT 169 5-21-				BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
	99 FR 016, 017 & 018				PRINCIPAL INTEREST	\$288.18 \$0.00	\$288.18 \$0.00	\$288.18 \$0.00	\$288.18 \$0.00	\$288.18 \$0.00
1395 E EAST LAKE RD	3311(010,017 0010				TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1442					TOTAL	Ψ200.10	Ψ200.10	Ψ200.10	Ψ200.10	Ψ200.10
50-22-02-327-001		1.00	\$960.61	\$960.61	DATE PAID					
EDDIE PETERS		UNIT								
	CHADMANI WALLED LAVE CUD LOT 163				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 163				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
1393 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1442					TOTAL	ψ192.12	Ψ132.12	Ψ132.12	Ψ132.12	Ψ192.12
50-22-02-327-002		1.00	\$960.61	\$960.61	DATE PAID					
EDDIE PETERS		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 162				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
4202 FACT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1393 EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-003		1.00	\$960.61	\$960.61	DATE PAID					
DAVID T BRIDSON		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 161				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
4.405 EAOT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1405 EAST LAKE RD NOVI MI 48377-2050					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-004		1.00	\$960.61	\$960.61	DATE PAID					
ANDREW R SOBOROWSKI		UNIT	φοσο.σ.	φοσο.στ	B, (12 1) (18					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 160				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1407 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2050 50-22-02-327-007		1.00	\$960.61	\$960.61	DATE PAID					
MARTIN YOUNG		UNIT	φ500.01	Ψ500.01	BATETAID					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 157				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
474 000 4 00					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
171 BRILL RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
HONESDALE PA 18431-7853 50-22-02-327-008	1	1.00	\$960.61	\$960.61	DATE PAID					
ERB, ROBERT C TRUST		UNIT	ψοσο.στ	Ψ000.01	2,21,,					
,					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 156				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1415 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2050 50-22-02-327-009		1.00	\$960.61	\$960.61	DATE PAID					
50-22-02-327-009 ERB, ROBERT C TRUST		UNIT	10.00e¢	1 0.006¢	DATE PAID					
		0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 155				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1415 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2050										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-327-010 MARK KOWALSKY		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
PAUL D KOWALSKY					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 154				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3509 BARBERRY CIR WIXOM MI 48393-1103					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-011 DONALD CULLEN		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
PATRICIA CULLEN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 153				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2120 N PONTIAC TRL WALLED LAKE MI 48390-3161					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-012 DONALD J CULLEN		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
PATRICIA CULLEN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 152				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2120 N PONTIAC TRL WALLED LAKE MI 48390-3161					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-013 NICHOLAS MILANI		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MONOLAG IIILAM		01411			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 151				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	OTHER WATER DESIGNATION				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1505 E EAST LAKE RD NOVI MI 48377-2051					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-014		1.00	\$960.61	\$960.61	DATE PAID					
REUBEN LEVY		UNIT		,						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 150				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1509 E EAST LAKE RD NOVI MI 48377-2051					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-015 MARGARET M RAPNICKI		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
	OLIA DAMANI MALLED LAVE OUD LOTS : ::	_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOTS 148				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	& 149				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1513 E EAST LAKE RD NOVI MI 48377-2051					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-016		1.00	\$960.61	\$960.61	DATE PAID					
STANLEY RZEPKA		UNIT								
DELPHINE RZEPKA					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 147				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1515 E EAST LAKE RD NOVI MI 48377-2051					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-018		1.00	\$960.61	\$960.61	DATE PAID					
KIMBERLEE E LEVY		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 142				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1559 PARAMOUNT ST NOVI MI 48377-2084					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-327-019 KIMBERLEE E LEVY		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
NIMBERLEE E LEVI		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 141				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1559 PARAMOUNT ST					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2084								·	·	
50-22-02-327-020		1.00	\$960.61	\$960.61	DATE PAID					
PHILIP MATTHES		UNIT								
	CHAPMAN WALLED LAKE SUB LOTS 139				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	& 140				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	G				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1533 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2051				1						
50-22-02-327-021		1.00	\$960.61	\$960.61	DATE PAID					
KENNETH J ALBERS		UNIT			DALANCE	#000 04	Ф 7 00 40	ФE70.07	#204 24	0400.40
	CHAPMAN WALLED LAKE SUB NLY 1/2				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	OF LOT 145 & ALL OF LOT 146				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1517 EAST LAKE RD					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-2051					IOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-327-022		1.00	\$960.61	\$960.61	DATE PAID					
LEVY, JILL TRUST		UNIT								
	CHAPMAN WALLED LAKE SUB LOTS 143				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	& 144 & SLY 1/2 OF LOT 145				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	Q 144 Q OE1 1/2 OI EOI 143				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
42630 MORGAN CREEK CT					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1460										
50-22-02-327-023		1.00	\$960.61	\$960.61	DATE PAID					
KELLIE ROOKE		UNIT								
JEFFREY ROOKE	CHAPMAN WALLED LAKE SUB LOTS 158				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	& 159				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1409 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2050 50-22-02-354-002		1.00	\$960.61	\$960.61	DATE PAID					
MARK ADAMS		UNIT	ψ300.01	Ψ300.01	DATETAID					
ELIZABETH ADAMS		0.4			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 106				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1721 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054										
50-22-02-354-006		1.00	\$960.61	\$960.61	DATE PAID					
GEORGE K RILEY		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 110				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
457 5 DAY DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
157 E BAY DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3526		1.00	¢060.64	\$060.64	DATE DAID					
50-22-02-355-001		1.00	\$960.61	\$960.61	DATE PAID		-	+		
KALEFORD HONG JANET HONG		UNIT			DALANCE	¢060.64	¢760 40	¢576.27	\$204.24	¢100.10
JANEI HUNG	CHAPMAN WALLED LAKE SUB LOT 113				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	OF IAP WALLED LAKE 30B LOT 113				INTEREST		\$192.12	\$192.12		•
	Í	1			ll E	\$0.00		Φ0.00	\$0.00	\$0.00
1739 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-002		1.00	\$960.61	\$960.61	DATE PAID					
KALEFORD HONG JANET HONG		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
JANET HONG	CHAPMAN WALLED LAKE SUB LOT 114				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	OF WILLIAM TO THE COST CONTRACTOR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1739 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054						·				
50-22-02-355-004		1.00	\$960.61	\$960.61	DATE PAID					
GEORGE K RILEY		UNIT								
	OLIA DNAANI WALLED LAKE OUD LOT 440				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 116				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
157 E BAY DR					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3526					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-355-005		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT ALEXANDER		UNIT	ψοσοίο.	φοσοίο:	2711217112					
SHARON A ALEXANDER	OLIA DMANI MALLED LAKE OUD LOT 447				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 117, ALSO S 1/2 OF LOT 118				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	ALSO 3 1/2 OF LOT 118				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1733 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054										
50-22-02-355-006		1.00	\$960.61	\$960.61	DATE PAID					
BRADLEY SMUDE		UNIT			DALANOE	# 000 04	↑ 700.40	\$570.07	# 004.04	£400.40
	CHAPMAN WALLED LAKE SUB N 1/2 OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24 \$192.12	\$192.12
	LOT 118 & ALL OF LOT 119				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12	\$192.12 \$0.00
PO BOX 972					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48376-0972					TOTAL	Ψ132.12	ψ132.12	ψ132.12	Ψ132.12	Ψ132.12
50-22-02-355-007		1.00	\$960.61	\$960.61	DATE PAID					
OLIVIA D ARNOLD		UNIT	******	***************************************						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 120				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
42720 MORGAN CREEK CT					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1460										
50-22-02-355-008		1.00	\$960.61	\$960.61	DATE PAID					
MARK ADAMS ELIZABETH ADAMS		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
ELIZABETH ADAMS	CHAPMAN WALLED LAKE SUB LOTS 121				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	& 122				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1721 E LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054						* -				
50-22-02-355-010		1.00	\$960.61	\$960.61	DATE PAID					
CARL E KRUTZ		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 125				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
1711 EAST LAVE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 EAST LAKE RD NOVI MI 48377-2054					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-355-011		1.00	\$960.61	\$960.61	DATE PAID			1		
CARL KRUTZ		UNIT	ψουυ.υ ι	ψ300.01	DATEFAID					
5E 101012					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 126				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054						-		1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-012		1.00	\$960.61	\$960.61	DATE PAID					
MICHEL DECHAPE		UNIT			5		^- 22 12	^	400101	0.00.10
	CHADMAN WALLED LAKE CUB LOT 127				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 127				PRINCIPAL INTEREST	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1709 E EAST LAKE RD					TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-2054					TOTAL	ψ132.12	ψ132.12	ψ132.12	ψ132.12	Ψ132.12
50-22-02-355-013		1.00	\$960.61	\$960.61	DATE PAID					
STEPHEN SOBCZYK		UNIT	•	,						
ANNE SOBCZYK					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 128				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1705 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054		4.00	# 000 04	#000 04	DATE DAID					
50-22-02-355-014 RONALD A BOWMAN		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
LAURIE L BOWMAN		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
LAUNIE E BOWMAN	CHAPMAN WALLED LAKE SUB LOT 129				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2456 PEARSON RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
MILFORD MI 48380-4322										
50-22-02-355-015		1.00	\$960.61	\$960.61	DATE PAID					
BIDWELL, ALBERT, TRUST		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 130				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
20500 KINOODUDV OT					INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
36508 KINGSBURY ST LIVONIA MI 48154-1921					IOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-02-355-016		1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL JARVIS		UNIT	φοσοίο:	φοσο.στ	5,1121,118					
BONNIE JARVIS		0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 131				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1611 E LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2053				*****	5.475.5415					
50-22-02-355-017		1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL L JARVIS BONNIE JARVIS		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
BONNIE JAKVIS	CHAPMAN WALLED LAKE SUB LOT 132,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	ALSO SWLY 1/2 OF LOT 133				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1611 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2053										
50-22-02-355-018		1.00	\$960.61	\$960.61	DATE PAID					
LARRY FEDRIGO		UNIT								
	CHAPMAN WALLED LAKE SUB NELY 1/2				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	OF LOT 133, ALSO ALL OF LOT 134				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
1607 E LAKE RD					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-2053					IOIAL	φ132.12	φ132.12	φ13Z.1Z	φ13Z.1Z	Φ132.12
50-22-02-355-020		1.00	\$960.61	\$960.61	DATE PAID		1		1	
JOACHIM CONSIGLIO		UNIT	4000.0 1	\$550.01						
DELORES CONSIGLIO					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 137				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1603 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2053										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-021 LINDA CORNILLIE		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
LINDA CORNILLIE		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 138				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1601 E EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2053						* . * = =	7 .022	,	Ţ.O	V .033.12
50-22-02-355-022		1.00	\$960.61	\$960.61	DATE PAID					
CARL E KRUTZ		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 123				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2054				*****	5.75 5.15					
50-22-02-355-023		1.00	\$960.61	\$960.61	DATE PAID					
CARL E KRUTZ		UNIT			DAI ANOE	#	# 700.40	#570.07	000404	0 400.40
	CHADMAN WALLED LAKE SUB LOT 124				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 124				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1711 EAST LAKE RD					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-2054					TOTAL	Φ19Z.1Z	Φ19Z.1Z	\$192.12	\$192.12	\$192.12
50-22-02-355-024		1.00	\$960.61	\$960.61	DATE PAID				1	
CLAMENCE SHAYA		UNIT	ψ500.01	Ψ500.01	D/(ILI/(ID					
OEMILITOL ON THE		Ortir			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 135				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1653 MARINER DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3658						·		·		·
50-22-02-355-025		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT DILLON		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CHAPMAN WALLED LAKE SUB LOT 136				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1605 EAST LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2053		0.40	#	400.00	DATE DAID					
50-22-03-126-002		0.10	\$960.61	\$96.06	DATE PAID					
DRAGAN SOPIC		UNIT			BALANCE	\$06.06	\$76.0E	¢57.64	P20 42	\$19.21
	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
	Coc / 100e30013 Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23291 SAGEBRUSH					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48375					101712	Ψ10.21	Ψ10.21	ψ10.21	ψ10.21	ψ10.21
50-22-03-126-008		0.20	\$960.61	\$192.12	DATE PAID					
CHRISTOPHER MARTIN		UNIT								
MEGAN MARTIN					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
140 N HAVEN ST	LAKE WALL SUB LOTS 30 & 31				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
									<u> </u>	
50-22-03-126-009		0.20	\$960.61	\$192.12	DATE PAID				1	
CHARLOTTE ASAM		UNIT			541	# 405 15	0450 50	0445.05	070.07	000 10
400 11111/511 07	LAKE WALL OUR LOTO OO 9 CC				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
136 N HAVEN ST	LAKE WALL SUB LOTS 28 & 29				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 1385					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li I	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-010		0.20	\$960.61	\$192.12	DATE PAID					
RICK GERGIS		UNIT						-		
	LAKE WALL OUR LOTO OO 0 07				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
130 N HAVEN ST	LAKE WALL SUB LOTS 26 & 27				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-126-013		0.10	\$960.61	\$96.06	DATE PAID					
JAMES VLK		UNIT	******	V						
TERESA LYNN VLK	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
45000 BAYVIEW DR # 1	WINDWARD BAY CONDOMINIUM UNIT 1,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 1 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 46364					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
PASS-A-GRILLE FL 33741										
50-22-03-126-014		0.10	\$960.61	\$96.06	DATE PAID					
VIRGINIA WIESSBOCK		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
45000 BAYVIEW DR # 2	WINDWARD BAY CONDOMINIUM UNIT 2,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 1 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-015		0.10	\$960.61	\$96.06	DATE PAID					
HAIDER BILBEIST		UNIT	φ500.01	ψ50.00	DATE I AID					
	CONDOMINIUM PLAN NO 669	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
45000 BAYVIEW DR # 3	WINDWARD BAY CONDOMINIUM UNIT 3,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1384	BLDG 1 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
45100 MOUND					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
UTICA MI 48317										
50-22-03-126-016		0.10	\$960.61	\$96.06	DATE PAID					
CHARLES B SCOTT JR		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
45000 BAYVIEW DR # 4	WINDWARD BAY CONDOMINIUM UNIT 4,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 1 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-017		0.10	\$960.61	\$96.06	DATE PAID					
ANNE DYER		UNIT	φοσσ.σ.	φοσ.σσ						
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
45000 BAYVIEW DR # 5	WINDWARD BAY CONDOMINIUM UNIT 5,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 1 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
F0 22 02 42C 04C		0.40	#000 04	#00.00	DATE PAID					
50-22-03-126-018 THOMAS MCCAMPBELL		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
TROYE MCCAMPBELL	CONDOMINIUM PLAN NO 669	CINIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
45000 BAYVIEW DR # 6	WINDWARD BAY CONDOMINIUM UNIT 6,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 1 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						-	·			
50-22-03-126-019		0.10	\$960.61	\$96.06	DATE PAID					
BRUCE BANNISTER	001/201/201/201/201/201/201/201/201/201/	UNIT								
44700 DANGUENA DD	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44700 BAYVIEW DR # 44	WINDWARD BAY CONDOMINIUM UNIT 44,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					<u>I</u>					

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-020 THERESA ZAWODNA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44700 BAYVIEW DR # 45	WINDWARD BAY CONDOMINIUM UNIT 45,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-021		0.10	\$960.61	\$96.06	DATE PAID					
VU TRAN	CONDOMINIUM DI ANINO 660	UNIT			DALANCE	COC OC	Ф 7 С ОБ	ФЕ 7 С4	COD 40	£40.04
PHUONG HO 44700 BAYVIEW DR # 46	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 46,				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				l H	\$0.00		\$0.00	\$0.00	\$0.00
NOVI WII 46377	BEBG 2 E 113301 070 3-2-301 K 001				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21
E0 22 02 42C 022		0.40	COCO C4	\$00.00	DATE DAID					
50-22-03-126-022 JASON PETERSON		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
APRIL PETERSON	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44700 BAYVIEW DR # 47	WINDWARD BAY CONDOMINIUM UNIT 47,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-023 GEORGE STARVROS		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
GEORGE STARVROS	CONDOMINIUM PLAN NO 669	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44700 BAYVIEW DR # 48	WINDWARD BAY CONDOMINIUM UNIT 48.				PRINCIPAL	\$96.06 \$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 VI WII 40377	BEBG 2 E 110001 070 0 2 30 1 K 001				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
F0 22 02 42C 024		0.40	COCO C4	\$00.00	DATE DAID					
50-22-03-126-024 DEBORAH TRIOLA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44700 BAYVIEW DR # 49	WINDWARD BAY CONDOMINIUM UNIT 49,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-025		0.10	\$960.61	\$96.06	DATE PAID					
KEITH MANNOR	CONDOMINIUM DI ANINO CCC	UNIT			DAL ANGE	#00.00	#70.05	#57.04	# 00.40	£40.04
44700 BAYVIEW DD # 50	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 50,				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
44700 BAYVIEW DR # 50 NOVI MI 48377-1378	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
21925 E VALLEY WOODS DR	DEDG 2 E 11330 F 670 3-2-90 I K 001				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BEVERLY HILLS MI 48025					IOIAL	Ψ19.21	ψ19.21	ψ19.21	ψ19.21	ψ19.21
50-22-03-126-026		0.10	\$960.61	\$96.06	DATE PAID					
KE CHEN	OONDOMINIUM PLANING 222	UNIT	•			^	A= c		405 :-	A 15 = :
44700 DANGUENA DD " 54	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44700 BAYVIEW DR # 51	WINDWARD BAY CONDOMINIUM UNIT 51,				PRINCIPAL		\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 2 L 11356 P 870 5-2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2685 JFK BLVD APT 2D JERSEY CITY NJ 07506-5868					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-029 DIANE GREEN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
DIANE GREEN	CONDOMINIUM PLAN NO 669	UNII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 37	WINDWARD BAY CONDOMINIUM UNIT 37,				PRINCIPAL	\$96.06	\$19.21	\$19.21	\$38.42 \$19.21	\$19.21
NOVI MI 48377	BLDG 3 L 11356 P 870 4-23-91 FR 027				INTEREST	\$0.00	\$19.21	\$0.00	\$19.21	\$19.21
INO VI IVII TOOFF	22200211000101042001111021				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
				II .	IOIAL	Ψιυ.Ζι	Ψισ.Ζι	Ψισ.Δι	Ψ13.21	Ψ10.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-030		0.10	\$960.61	\$96.06	DATE PAID					
BETH HOLDEN		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 38	WINDWARD BAY CONDOMINIUM UNIT 38,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1379	BLDG 3 L 11356 P 870 4-23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
635 HARBOR BAY DR LAWRENCEVILLE GA 30045					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-031		0.10	\$960.61	\$96.06	DATE PAID					
JAMES K BROWN		UNIT	ψ500.01	ψ50.00	DATETAID					
PAMELA R BROWN	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 39	WINDWARD BAY CONDOMINIUM UNIT 39,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 3 L 11356 P 870 4-23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-032		0.10	\$960.61	\$96.06	DATE PAID					
BETH CROWLEY	CONDOMINIUM DI ANIMO CCC	UNIT			DAL ANGE	#00.00	#70.05	# F7 0 4	#06.40	# 40.04
447E0 BAVVIEW DD # 40	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 40,				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 40 NOVI MI 48377-1379	BLDG 3 L 11356 P 870 4-23-91 FR 027				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
512 W 13 MILE RD	BEDG 3 E 11330 F 070 4-23-91 FR 027				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
ROYAL OAK MI 48073					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
50-22-03-126-033		0.10	\$960.61	\$96.06	DATE PAID					
SIDNEY STAYLER		UNIT	******	700.00						
JANET STAYLER	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 41	WINDWARD BAY CONDOMINIUM UNIT 41,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 3 L 11356 P 870 4-23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		2.12	*****	***	5.455 5.45					
50-22-03-126-034		0.10	\$960.61	\$96.06	DATE PAID					
SAGAR SHETH	CONDOMINIUM PLAN NO 669	UNIT			DALANCE	\$96.06	₽76 0 E	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 42	WINDWARD BAY CONDOMINIUM UNIT 42,				BALANCE PRINCIPAL	\$19.21	\$76.85 \$19.21	\$19.21	\$30.42 \$19.21	\$19.21
NOVI MI 48377	BLDG 3 L 11356 P 870 4-23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 1011	2220211100101010111021				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						¥ : • := :	¥	¥ 1 3 1 = 1	¥	¥
50-22-03-126-035		0.10	\$960.61	\$96.06	DATE PAID					
GODWIN WEDE		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44750 BAYVIEW DR # 43	WINDWARD BAY CONDOMINIUM UNIT 43,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1379	BLDG 3 L 11356 P 870 4-23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-036		0.20	\$960.61	\$192.12	DATE PAID					
CRAIG JACKSON		UNIT	ψουυ.υ ι	Ψ132.12	DATEFAID		1			
S.S.I.S VACIOSII		0.4			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
146 N HAVEN ST	LAKE WALL SUB LOT 33 EXC E 20 FT,				PRINCIPAL		\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	ALSO ALL OF LOT 34 2-1-94 FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-126-037		0.20	\$960.61	\$192.12	DATE PAID		1			
NICODEMUS BOLIN		UNIT					A.=	A	^-	000 :-
MARITES BOLIN	LAKE WALL SUB LOT 32, ALSO E 20 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
144 N HAVEN ST	OF LOT 33 2-1-94 FR 007				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	φ30.42	φ30.42	φ30.42	φ30.42	φ30.42
		1		1	1		1	<u> </u>	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll	NSTALLMEN [*]	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-038 JAMES J DICE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44950 BAYVIEW DR # 7	WINDWARD BAY CONDOMINIUM UNIT 7,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-039		0.10	\$960.61	\$96.06	DATE PAID					
BRUCE WEINER	CONDOMINIUM DI ANIMO 660	UNIT			DALANCE	COC OC	Ф7C 0.Г	ФE7.С4	COD 40	£40.04
44950 BAYVIEW DR # 8	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 8,				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
NOVI MI 48377-1383	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 46377-1363	BEBG 7 E 113301 070 1-3-33 110 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ13.21	ψ13.21	Ψ13.21	Ψ13.21	ψ13.21
50-22-03-126-040 DOROTHY M VAN STEENKISTE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44950 BAYVIEW DR # 9	WINDWARD BAY CONDOMINIUM UNIT 9,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-041		0.10	\$960.61	\$96.06	DATE PAID					
HOWARD ROSS		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44950 BAYVIEW DR # 10	WINDWARD BAY CONDOMINIUM UNIT 10,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48375	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-042		0.10	\$960.61	\$96.06	DATE PAID					
PATRICK PATTERSON	CONDOMINIUM DI ANIMO COO	UNIT			5	***	^=	^	400.10	* • • • • • • • • • • • • • • • • • • •
LORI PATTERSON	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44950 BAYVIEW DR # 11	WINDWARD BAY CONDOMINIUM UNIT 11,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1100 TROON HIGHLAND MI 48357					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-043 THERESA M FLINT		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
I NEKESA W FLINI	CONDOMINIUM PLAN NO 669	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44950 BAYVIEW DR # 12	WINDWARD BAY CONDOMINIUM UNIT 12,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1383	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23545 GREENING DR	2220.2				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48375					101712	Ψ10. L 1	ψ10.21	ψ10. 2 1	ψ10.21	ψ10.21
50-22-03-126-044		0.10	\$960.61	\$96.06	DATE PAID					
JOYCE ERSKINE	000100110111111111111111111111111111111	UNIT				^	A= 5	A== - :	005 :-	0.5 - :
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44950 BAYVIEW DR # 13	WINDWARD BAY CONDOMINIUM UNIT 13,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 7 L 11356 P 870 1-3-95 FR 028				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
E0 22 02 420 045		0.40	COCO C4	\$00.00	DATE DAID					
50-22-03-126-045 WELLS FARGO BANK		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 14	WINDWARD BAY CONDOMINIUM UNIT 14,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3476 STATE VIEW BLVD					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FORT MILL SC 29715-7200						,	, ,,_,	, ,,,,,,		, ,,_,

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-046		0.10	\$960.61	\$96.06	DATE PAID					
JODI BOLYARD		UNIT	·							
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 15	WINDWARD BAY CONDOMINIUM UNIT 15,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
									•	
50-22-03-126-047		0.10	\$960.61	\$96.06	DATE PAID					
JUDITH GRANT		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 16	WINDWARD BAY CONDOMINIUM UNIT 16.				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						******	¥101=1	***************************************	Ţ.o.	· · · · · ·
50-22-03-126-048		0.10	\$960.61	\$96.06	DATE PAID					
JAMES MICHAEL SPALL		UNIT	·							
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 17	WINDWARD BAY CONDOMINIUM UNIT 17,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5125 ELKIN ST					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TOWNSHIP MI 48382										
50-22-03-126-049		0.10	\$960.61	\$96.06	DATE PAID					
CHRISTINA J ROY		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 18	WINDWARD BAY CONDOMINIUM UNIT 18,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						•				
50-22-03-126-050		0.10	\$960.61	\$96.06	DATE PAID					
GARY TRACY		UNIT								
HELEN TRACY	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 19	WINDWARD BAY CONDOMINIUM UNIT 19,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-051		0.10	\$960.61	\$96.06	DATE PAID					
KHIM CUSHNIER		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 20	WINDWARD BAY CONDOMINIUM UNIT 20,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					ļ					
50-22-03-126-052		0.10	\$960.61	\$96.06	DATE PAID					
BARBARA KOVACH		UNIT			L					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44900 BAYVIEW DR # 21	WINDWARD BAY CONDOMINIUM UNIT 21,	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 6 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1069 RAVENSVIEW TRL					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
MILFORD MI 48381					1					
50-22-03-126-053		0.10	\$960.61	\$96.06	DATE PAID					
SIBILLA III ALBERT		UNIT			L					
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 22	WINDWARD BAY CONDOMINIUM UNIT 22,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 5 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
]								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	rs	
					-	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-054		0.10	\$960.61	\$96.06	DATE PAID					
ANTHONY HOPECK		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 23	WINDWARD BAY CONDOMINIUM UNIT 23,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 5 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-055		0.10	\$960.61	\$96.06	DATE PAID					
FRED A CAMPBELL		UNIT	******	*******						
JOYCE S CAMPBELL	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 24	WINDWARD BAY CONDOMINIUM UNIT 24,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 5 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-056		0.10	\$960.61	\$96.06	DATE PAID					
KEVIN DITTMER		UNIT	ψ500.01	Ψ50.00	BATETAID					
JENNIFER DITTMER	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 25	WINDWARD BAY CONDOMINIUM UNIT 25,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 5 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
915 LEMAY ST					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377		0.40	# 000 04	# 00.00	DATE DAID					
50-22-03-126-057 BRUCE JEROME WEINER		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
BROCE JEROWE WEINER	CONDOMINIUM PLAN NO 669	OINIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 26	WINDWARD BAY CONDOMINIUM UNIT 26.				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 5 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110111111111111111111111111111111111111					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-058		0.10	\$960.61	\$96.06	DATE PAID					
KELLY MARSHALL	CONDOMINIUM DI ANIMO CCC	UNIT			5	***	^	^ • ·	000.10	010.01
CHRISTOPHER NEWSOME	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 27	WINDWARD BAY CONDOMINIUM UNIT 27, BLDG 5 L 11356 P 870 1-3-95 FR 028				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 3 L 11330 F 870 1-3-93 FK 028				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-059		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL SMITH		UNIT								
JANIN KEHL	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44850 BAYVIEW DR # 28	WINDWARD BAY CONDOMINIUM UNIT 28,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 5 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
29317 WHISTLER DR NOVI MI 48377					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-060	1	0.10	\$960.61	\$96.06	DATE PAID					
CANDY CLOUSE		UNIT	+	4-5.00						
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 29	WINDWARD BAY CONDOMINIUM UNIT 29,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-061		0.10	\$960.61	\$96.06	DATE PAID					
BRAD ARMSTRONG		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 30	WINDWARD BAY CONDOMINIUM UNIT 30,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1380	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 700287					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
PLYMOUTH MI 48170		<u> </u>							<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li I	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-062 ANDREW BORUTA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
S DRISCOLL	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 31	WINDWARD BAY CONDOMINIUM UNIT 31,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
54 MOORE AVE					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALDWICK NJ 07463-0194										
50-22-03-126-063		0.10	\$960.61	\$96.06	DATE PAID					
JEFFREY D SCARSELLA		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 32	WINDWARD BAY CONDOMINIUM UNIT 32,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50.00.00.400.004		0.10	#	# 00.00	DATE DAID					
50-22-03-126-064 ANDREA L KAPLAN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
JOSHUA A KAPLAN	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 33	WINDWARD BAY CONDOMINIUM UNIT 33,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-065		0.10	\$960.61	\$96.06	DATE PAID					
GALINA GILFMAN		UNIT								
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 34	WINDWARD BAY CONDOMINIUM UNIT 34,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50.00.00.400.000		0.40	# 000 04	#00.00	DATE DAID					
50-22-03-126-066		0.10	\$960.61	\$96.06	DATE PAID					
GERALD BASSETT	CONDOMINIUM DI ANINO 660	UNIT			DALANCE	\$00.00	Ф70 О Г	ФГ7 C4	COD 40	£40.04
44000 BAY///EW/ DD # 25	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 35,				BALANCE PRINCIPAL	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 35 NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
NOVI WII 46377	BEDG 4 E 11330 F 670 1-3-93 FR 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ19.21	ψ19.21	\$19.21	Ψ13.21	Ψ19.21
50-22-03-126-067		0.10	\$960.61	\$96.06	DATE PAID					
OLIVER SMITH		UNIT		·						
	CONDOMINIUM PLAN NO 669				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
44800 BAYVIEW DR # 36	WINDWARD BAY CONDOMINIUM UNIT 36,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377	BLDG 4 L 11356 P 870 1-3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-126-069		0.20	\$960.61	\$192.12	DATE PAID					
INDEPENDENT PROPERTIES LLC		UNIT								
	LAKE WALL SUB W 1/2 OF LOT 36 & ALL				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	OF LOT 37 4-28-04 FR 006				PRINCIPAL		\$38.42	\$38.42	\$38.42	\$38.42
OCC ALEVANDED DO					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
320 ALEXANDER DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-2952		0.00	\$060.04	\$192.12	DATE DAID					-
50-22-03-126-070		0.20	\$960.61	\$192.12	DATE PAID					+
INDEPENDENT PROPERTIES LLC		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
150 NI HAVENI OT	LAKE WALL SUB LOT 35 & E 1/2 OF LOT				BALANCE					
150 N HAVEN ST NOVI MI 48377	36 4-28-04 FR 006				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00
320 ALEXANDER DR					TOTAL			\$0.00		
WALLED LAKE MI 48390-2952					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE IVII 4009U-290Z		I		<u> </u>					l	1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li I	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-127-001		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL S MYGAL		UNIT			DALANCE	£400.40	£452.70	C445 07	Ф 7 С ОБ	#20.40
149 N HAVEN ST	LAKE WALL SUB LOTS 38 & 39				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
NOVI MI 48377	LAKE WALE SOB LOTS 30 & 39				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 VI WII 40377					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						ψ00 <u>-</u>	400.1.2	\$00.12	400.1.2	\$001.12
50-22-03-127-002		0.20	\$960.61	\$192.12	DATE PAID					
DEUTSCHE BANK NATIONAL TRUST CO		UNIT								
AMERICAN HOME MORTGAGE INC					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
147 N HAVEN ST	LAKE WALL SUB LOTS 40 & 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1525 S BELTINE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
COPPELL TX 75019 50-22-03-127-003		0.20	\$960.61	\$192.12	DATE PAID					
GORDON SCHUETZLER		UNIT	φ900.01	\$192.12	DATEFAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
145 N HAVEN ST	LAKE WALL SUB LOTS 42 & 43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-127-005		0.20	\$960.61	\$192.12	DATE PAID					
RALF SIEMENS		UNIT			54144105	# 100.10	0.450.70	0445.07	470.05	000.40
ERIN SIEMENS	LAKE WALL CUBLOTS 60 9 60				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
156 REXTON ST NOVI MI 48377-1359	LAKE WALL SUB LOTS 68 & 69				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI WII 46377-1339					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ50.42	ψ50.42	ψ30. 1 2	ψ30. 4 2	ψ50.42
50-22-03-127-006		0.20	\$960.61	\$192.12	DATE PAID					
LARRY PEARCE		UNIT								
SHIN-RU PEARCE					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
144 REXTON ST	LAKE WALL SUB LOTS 66 & 67				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-127-007		0.20	\$960.61	\$192.12	DATE PAID					
JOSEPH BERTERA		UNIT	ψ300.01	Ψ132.12	DATETAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
130 REXTON ST	LAKE WALL SUB LOTS 64 & 65				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.407.040		0.00	# 000 04	#460 10	DATE DATE					
50-22-03-127-012 PIERRE ENGLING		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
MERRIE ENGLING		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
124 REXTON ST	LAKE WALL SUB LOTS 62 & 63 10-25-94				PRINCIPAL	\$38.42	\$155.70	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1359	FR 011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-127-013		0.20	\$960.61	\$192.12	DATE PAID					
GEORGE WALLEY		UNIT								
KIMBERLY WALLEY	LAKE WALL SUB LOTS 60 & 61 10-25-94				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
120 REXTON ST	FR 011				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1359		1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 1111 40011 1000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-128-003		0.20	\$960.61	\$192.12	DATE PAID					
JOHN D WRIGHT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
207 REXTON ST	LAKE WALL SUB LOTS 70 & 71				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1362					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-128-004		0.20	\$960.61	\$192.12	DATE PAID					
SIMPSON IV FRANK J		UNIT	ψ300.01	Ψ192.12	DATETAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
143 REXTON ST	LAKE WALL SUB LOTS 72 & 73				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-128-005		0.20	\$960.61	\$192.12	DATE PAID					
MARIA ALLEN		UNIT	******	*******						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
139 REXTON ST	LAKE WALL SUB LOT 74				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-128-006		0.20	\$960.61	\$192.12	DATE PAID					
LYNETTE PRYCE		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
131 REXTON ST	LAKE WALL SUB LOTS 75 & 76				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-128-007		0.20	\$960.61	\$192.12	DATE PAID					
LEE WILLER		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
121 REXTON ST	LAKE WALL SUB LOTS 77 & 78				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-128-019		0.20	\$960.61	\$192.12	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT								
440 DEVTON OT	LAKE WALL SUB LOTS 79 & 80 08/11/86				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
119 REXTON ST	FR 008 & 009				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1360 1192 WEST LAKE DR					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI MI 48377-1331					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-129-019		1.00	\$960.61	\$960.61	DATE PAID					
HONG M DOAN		UNIT								
XUAN Q TRAN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1623 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 11				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 9022 WARREN MI 48090					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-001		1.00	\$960.61	\$960.61	DATE PAID					
TIMOTHY C RICHARDSON		UNIT	ψ500.01	ψ550.01	DATE I AID					
	J.W. HAWTHORN'S SUB N 1/2 OF LOT 2 &				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1511 W LAKE DR	S 1/2 OF LOT 3	1			PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341	3 1/2 OF LOT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-002 BRUCE O BARNARD		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
BRUCE O BARNARD		_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1517 W LAKE DR	J.W. HAWTHORN'S SUB LOT 1 & S 1/2 OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341	LOT 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-003		1.00	\$960.61	\$960.61	DATE PAID					
BRIAN KOSAIAN		UNIT	******	4000101						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1523 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 1				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-004		1.00	\$960.61	\$960.61	DATE PAID					
NED J ALOE		UNIT								
JOAN ANN TRUS					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1529 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 2				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-005		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT GARDNER		UNIT								
CATHY NANOS					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1533 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 3				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-006		1.00	\$960.61	\$960.61	DATE PAID					
JANICE STREHL		UNIT								
. = = > > > > > > > > > > > > > > > > >	OLIDED VICODIO DI ATNO OLOTA				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1537 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 4				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-007		1.00	\$960.61	\$960.61	DATE PAID					
PATRICK ZIARNIK		UNIT			5	*****	^	^	****	010010
PAMELA ZIARNIK	OLIDED/IOODIO DI ATNO OLOTE				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1601 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 5				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-008		1.00	\$960.61	\$960.61	DATE PAID					
THOMAS P HARVEY		UNIT			DAI ANGE	#000 04	Φ 7 00 40	ΦΕ 7 0.07	#004.04	M400.40
JOYCE HARVEY	CUDED/(ICODIC DLAT NO CLOT C				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1603 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 6				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
			A 005 -:	000		·	·	·		·
50-22-03-131-009 HAITHAM SEMMA		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MICHLINE SEMMA		UNII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1611 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 7				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
· · - · -					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
								1	<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-010 JAMES TESORERO		1.00 UNIT	\$960.61	\$960.61	DATE PAID		A =00.10	^	400101	
DIANA TESORERO	CLIDEDVICODIC DI AT NO 3 LOT 43				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1627 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 12				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-011 ROBERT S MARSHICK		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
LORI J MARSHICK					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1631 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 14				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-012 HENRY KOZLOWSKI		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
STEPHANIE KOZLOWSKI					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1635 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 15				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-013 PAUL WEINDORF		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
CHRISTIE LE	OUDEDVICODIO DI AT NO OLOTAO EVO				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1641 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 16 EXC				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342	SWLY 10 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-015		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAMS, WENDI TRUST		UNIT			DALANOE	\$000 04	Ф 7 00 40	# 570.07	COO.4.O.4	# 400.40
1651 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 17				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
NOVI MI 48377-1342	SOFERVISORS FEAT NO 2 LOT 17				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 46377-1342					TOTAL	\$0.00 \$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-016 CLIVE SPACKMAN		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
STEPHANIE SPACKMAN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1653 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 18				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-017		1.00	\$960.61	\$960.61	DATE PAID					
DAVID LOVE		UNIT	*							
4057 WILAKE DD	011000100100100100100100				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1657 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 19				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342					INTEREST	\$0.00 \$192.12	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	φ132.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-022		1.00	\$960.61	\$960.61	DATE PAID					
GARY C PHILLIPS		UNIT			BALANCE	¢060.04	¢760.40	ФЕ 7 0 07	¢204.04	¢400.40
1005 W LAKE DD	BENTLEY SUB LOTS 30 & 31				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1905 W LAKE DR	DEINILET SUB LUTS SU & ST				PRINCIPAL INTEREST	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
					IOIAL	ψ132.12	φ132.12	φ132.12	Φ132.12	φ13Z.1Z
				II					l	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-023 GERALD ROSS		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1911 W LAKE DR	BENTLEY SUB LOTS 28 & 29				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-024		1.00	\$960.61	\$960.61	DATE PAID					
JAMES STREET		UNIT			DALANCE	COCO C4	Ф 7 СО 4О	ФЕ 7 С 07	COD4 04	£400.40
<i>MARY STREET</i> 1915 W LAKE DR	BENTLEY SUB LOT 27				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
NOVI MI 48377-1343	BENTLET SOB LOT 27				II	\$0.00	\$0.00	\$0.00		\$0.00
NOVI WII 46377-1343					INTEREST TOTAL	\$192.12	\$192.12	\$192.12	\$0.00 \$192.12	\$192.12
						Ψ102.12	ψ102.12	ψ102.12	ψ102.12	ψ10Z.1Z
50-22-03-131-025 SWAN PROPERTIES, LLC		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
-, -					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1921 W LAKE DR	BENTLEY SUB LOT 26				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9071 STONEHAUSE CT					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
CLARKSTON MI 48348-4267 50-22-03-131-026		1.00	\$960.61	\$960.61	DATE PAID					
CAREN NEDERLANDER		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1927 W LAKE DR	BENTLEY SUB LOT 25				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-027		1.00	\$960.61	\$960.61	DATE PAID					
KENNETH PENN		UNIT								
LORNA PENN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1929 W LAKE DR	BENTLEY SUB LOTS 23 & 24				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-028		1.00	\$960.61	\$960.61	DATE PAID					
JAMES R FARRINGTON		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1931 W LAKE DR	BENTLEY SUB LOT 22				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$384.24 \$192.12	\$192.12
NOVI MI 48377-1343	DEITILE 1 00D E01 22				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI IVII 1007 I - 1040					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						Ψ.022	ψ.ο <u>Σ</u> <u>Σ</u>	ψ.ο <u>Σ</u> <u>Σ</u>	ψ.σ <u>2z</u>	ψ.:σ <u>Σ</u> ::Ξ
50-22-03-131-029		1.00	\$960.61	\$960.61	DATE PAID					
HUSAM KHOURY		UNIT			DALANCE	COCO C4	Ф7C0 4C	ФЕ 7 С 07	C204.24	£400.40
1025 W LAKE DD	BENTLEY SUB N 1/2 OF LOT 20 & ALL OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1935 W LAKE DR NOVI MI 48377-1343	LOT 21				PRINCIPAL INTEREST		\$192.12	\$192.12	\$192.12	\$192.12
110V1 IVII 403/7-1343					TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
50-22-03-131-030		1.00	\$960.61	\$960.61	DATE PAID					
ROBERTA WENDT		UNIT	ψυσυ.στ	ψοσο.στ	DATE I AID					
		0.411			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1939 W LAKE DR	BENTLEY SUB LOT 19 & S 1/2 OF LOT 20				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	I .	1		I	1		<u> </u>	<u> </u>	1 .	· ·

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-031 JUREK BACZEWSKI		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1945 W LAKE DR	BENTLEY SUB LOT 18				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-032		1.00	\$960.61	\$960.61	DATE PAID					
GREGORY GNATEK		UNIT								
TRU JULIE	DENTI EV OUD LOTO 40 0 47				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1947 W LAKE DR	BENTLEY SUB LOTS 16 & 17				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-131-035		0.75	\$960.61	\$720.46	DATE PAID					
PATRICIA J EISLEY	CONDOMINIUM DI ANIMO 420 HADDOD	UNIT			54141105	#700.40	0570.07	# 400 07	# 000 10	**
4074 HARROR OV	CONDOMINIUM PLAN NO 439 HARBOR				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1671 HARBOR CV	COVE CONDOMINIUM UNIT 1, BLDG 1 L				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	9263 P 177 8-19-87 TRAN FR 102-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-036		0.75	\$960.61	\$720.46	DATE PAID					
TIMOTHY ZEWATSKY	CONDOMINIUM DI ANIMO 420 HADDOD	UNIT			DALANOE	Ф 7 00 40	# 570.07	£400.07	COOO 40	C4 44 00
MELISSA ZEWATSKY	CONDOMINIUM PLAN NO 439 HARBOR COVE CONDOMINIUM UNIT 2, BLDG 1 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1669 HARBOR CV	· · · · · · · · · · · · · · · · · · ·				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	9263 P 177 8-19-87 TRAN FR 102-007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-037 BARBARA T ALLEN		0.75 UNIT	\$960.61	\$720.46	DATE PAID					
DARDARA I ALLEN	CONDOMINIUM PLAN NO 439 HARBOR	UNIT			BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1667 HARBOR CV	COVE CONDOMINIUM UNIT 3, BLDG 1 L				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	9263 P 177 8-19-87 TRAN FR 102-008				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 40377-1310	32001 177 0 13 07 110 110 110 102 000				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
						Ψ144.09	\$144.09	\$144.03	\$144.09	ψ144.03
50-22-03-131-038 JOHN DOUGLAS DOWNEY		0.75 UNIT	\$960.61	\$720.46	DATE PAID					
	CONDOMINIUM PLAN NO 439 HARBOR				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1665 HARBOR CV	COVE CONDOMINIUM UNIT 4, BLDG 1 L				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	9263 P 177 8-19-87 TRAN FR 102-009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-039		0.75	\$960.61	\$720.46	DATE PAID					
DOUSE, JAMES R, TRUST	CONDOMINIUM PLAN NO 439 HARBOR	UNIT		,						
	COVE CONDOMINIUM UNIT 5. BLDG 2 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1661 HARBOR CV	9263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL		\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST TOTAL	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09
EO 22 02 424 040		0.75	\$060.04	\$700.40						
50-22-03-131-040		0.75	\$960.61	\$720.46	DATE PAID		+			
MATTHEW S JONES	CONDOMINIUM PLAN NO 439 HARBOR	UNIT			DALANCE	Ф 7 20 40	ФЕ 7 С 07	£422.27	COOR 40	£4.4.4.00
ACCC LIADDOD CV	COVE CONDOMINIUM UNIT 6, BLDG 2 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1655 HARBOR CV	9263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-041		0.75	\$960.61	\$720.46	DATE PAID					
WOLF, JOYCE G, TRUST	CONDOMINIUM PLAN NO 439 HARBOR	UNIT								
	COVE CONDOMINIUM UNIT 7, BLDG 3 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
	263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	003				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-042		0.75	\$960.61	\$720.46	DATE PAID					
MICHAEL WEIR	CONDOMINIUM PLAN NO 439 HARBOR	UNIT								
JEANMARIE WEIR	COVE CONDOMINIUM UNIT 8. BLDG 3 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1687 HARBOR CV	263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
65 PAMELA CT	333				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WATERFORD MI 48327										
50-22-03-131-043		0.75	\$960.61	\$720.46	DATE PAID					
MICHAEL WEIR	CONDOMINIUM PLAN NO 439 HARBOR	UNIT								
JEANMARIE WEIR	COVE CONDOMINIUM UNIT 9, BLDG 3 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1689 HARBOR CV	263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
65 PAMELA CT					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WATERFORD MI 48327										
50-22-03-131-044		0.75	\$960.61	\$720.46	DATE PAID					
ALLEN M BENNETT	CONDOMINIUM PLAN NO 439 HARBOR	UNIT								
DARLENE BENNETT	OVE CONDOMINIUM UNIT 10, BLDG 3 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1691 HARBOR CV	263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
			*****	^= 22.12	5.75 5.15					
50-22-03-131-045		0.75	\$960.61	\$720.46	DATE PAID					
EARL ELLIOT	CONDOMINIUM PLAN NO 439 HARBOR	UNIT			DAL ANOF	#700.40	# 570.07	# 400 07	# 000 40	044400
LONNIE ROSS	OVE CONDOMINIUM UNIT 11, BLDG 4 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1695 HARBOR CV	263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-046		0.75	\$960.61	\$720.46	DATE PAID					
MCCOPD DIANE TRUST		UNIT	1 0.008¢	Φ1∠0.40	DATE PAID				1	
1	CONDOMINIUM PLAN NO 439 HARBOR	UNII			BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
	OVE CONDOMINIUM UNIT 12, BLDG 4 L				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	263 P 177 8-19-87 FR 018,020,033 & 102-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI IVII 40077-1010	005				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
					10171	Ψ117.00	ψ. ι τ.οο	ψ117.00	ψ114.00	ψ114.00
50-22-03-131-047		0.75	\$960.61	\$720.46	DATE PAID				1	
KARTIK SHAH		UNIT	4 000.01	Ψ. =0. 10	2,				1	
DAN IAN CHAH	CONDOMINIUM PLAN NO 439 HARBOR	•			BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1000 114 55 05 01/	OVE CONDOMINIUM UNIT 13, BLDG 4 L				PRINCIPAL		\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	263 P 177 8-19-87 FR 018,020,033 & 102-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	005				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-048		0.75	\$960.61	\$720.46	DATE PAID					
I ONNIE POSS	OON DOMINIU IN DI ANI NO 100 LIA DECE	UNIT								
IOUNATUAN & DILLON BOSS	CONDOMINIUM PLAN NO 439 HARBOR				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1701 HADDOD CV	OVE CONDOMINIUM UNIT 14, BLDG 4 L				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1311	263 P 177 8-19-87 FR 018,020,033 & 102-	1							T	\$0.00
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	Φ0.00
	005				TOTAL	\$0.00 \$144.09	\$144.09	\$0.00	\$144.09	\$144.09

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-049		0.75	\$960.61	\$720.46	DATE PAID					
RHEA TOWART	CONDOMINIUM PLAN NO 439 HARBOR	UNIT								
	COVE CONDOMINIUM UNIT 15, BLDG 5 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1681 HARBOR CV	9263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST TOTAL	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09
					TOTAL	φ144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-050		0.75	\$960.61	\$720.46	DATE PAID					
PAUL LEMON		UNIT	ψοσοίο.	ψ. 20. 10	5711217112					
SUSAN LEMON	CONDOMINIUM PLAN NO 439 HARBOR COVE CONDOMINIUM UNIT 16, BLDG 5 L				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
1679 HARBOR CV	9263 P 177 8-19-87 FR 018,020,033 & 102-				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NOVI MI 48377-1310	005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	000				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
50-22-03-131-051		0.75	\$960.61	\$720.46	DATE PAID					
BRYAN G PHILLIPS	CONDOMINIUM PLAN NO 439 HARBOR	UNIT			54141105	#700.40	4570.07	A 100 07	0000.40	044400
1677 HADBOD CV	COVE CONDOMINIUM UNIT 17, BLDG 5 L				BALANCE PRINCIPAL	\$720.46 \$144.09	\$576.37 \$144.09	\$432.27 \$144.09	\$288.18 \$144.09	\$144.09 \$144.09
1677 HARBOR CV NOVI MI 48377-1310	9263 P 177 8-19-87 FR 018,020,033 & 102-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 403/7-1310	005				TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
					TOTAL	ψ144.05	ψ144.05	ψ144.03	Ψ144.00	ψ144.03
50-22-03-131-052		1.00	\$960.61	\$960.61	DATE PAID					
JACOB, OLGA TRUST		UNIT	*	,						
•	SUPERVISOR'S PLAT NO 2 LOT 8 10-28-				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1619 W LAKE DR	96 FR 129-012				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1342	3011(123-012				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
F0 00 00 4F4 007		0.00	**	# 400.40	DATE DAID			1		
50-22-03-151-007		0.20	\$960.61	\$192.12	DATE PAID					
OLDEN JACKSON KATHY M BERUTTI		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
116 PENHILL ST	BLOMFIELD SUB LOTS 102, 103 & 104				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355	BEGINI IEEB 00B E010 102, 100 & 104				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
							*			
50-22-03-151-008		0.20	\$960.61	\$192.12	DATE PAID					
ERIK KLAPHAKE		UNIT								
J BAGNASCO					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
100 PENHILL ST	BLOMFIELD SUB LOTS 100 & 101				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-151-009		0.20	\$960.61	\$192.12	DATE PAID		1	1		<u> </u>
MARC R CORRIVEAU		UNIT	1 d.00ep	φ19Z.1Z	DATE PAID		1	+		+
WENDY CORRIVEAU		CIVIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
140 PENHILL ST	BLOMFIELD SUB LOTS 111 & 112				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
343 S ROGERS ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NORTHVILLE MI 48167-1532										
50-22-03-151-010		0.20	\$960.61	\$192.12	DATE PAID					
DAN C FRANTZ		UNIT								
	DI 0145151 D 0115 1 075 1 65 5 1 1 1				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
134 PENHILL ST	BLOMFIELD SUB LOTS 109 & 110				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
										1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-151-011		0.20	\$960.61	\$192.12	DATE PAID					
STEVE TALLMAN		UNIT								
DINA TALLMAN	DI OMEIEL DI OUDI LOTO 115 0 110				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
156 PENHILL ST	BLOMFIELD SUB LOTS 115 & 116				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-151-012		0.20	\$960.61	\$192.12	DATE PAID					
WAYNE DEAN		UNIT	φ900.01	\$192.12	DATE PAID					
WATNE DEAN		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
148 PENHILL ST	BLOMFIELD SUB LOTS 113 & 114				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						•	·			
50-22-03-151-014		0.20	\$960.61	\$192.12	DATE PAID					
WILLIAM BRENNAN		UNIT								
MARY BRENNAN					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
126 PENHILL ST	BLOMFIELD SUB LOTS 107 & 108				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
45644 BRISTOL CIR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-3888				A 100.10	5.475 5.415					
50-22-03-151-015		0.20	\$960.61	\$192.12	DATE PAID					
DOUGLAS D SIMS		UNIT			DAI ANOE	# 100.10	0.450.70	0.1.15.07	#70.05	000.40
420 DENUM CT	BLOMFIELD SUB LOTS 105 & 106				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
120 PENHILL ST NOVI MI 48377-1355	BLOWFIELD SUB LOTS 105 & 106				PRINCIPAL	\$38.42	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI WII 46377-1333					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ30.42	ψ30.42	ψ30.4Z	ψ30.42	ψ30.42
50-22-03-151-018		0.20	\$960.61	\$192.12	DATE PAID					
STEVEN OJA		UNIT	φοσο.σ ι	Ψ102.12	D7(1217(10					
NICOLE OJA	BLOMFIELD SUB PART OF LOT 118, ALSO	-			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
178 PENHILL ST	ALL OF LOTS 119 & 120 ALL DESC AS				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355	BEG AT SW COR OF LOT 120, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-151-019		0.20	\$960.61	\$192.12	DATE PAID					
SEAN HEATH	D. 0.45151 D. 0.15 1 05 1 15 1 10 0 D. 15 1 05	UNIT								
RHONDA HEATH	BLOMFIELD SUB LOT 117, ALSO PART OF LOT 118 ALL DESC AS BEG AT PT DIST S	1			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
168 PENHILL ST NOVI MI 48377-1355	54-03-00 E 80.85 FT FROM				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI WII 46377-1355	34-03-00 E 60.63 FT FROM				INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	φ30.42	ψ30.42	ψ30.4Z	φ30.4Z	ψ30.42
50-22-03-151-020		0.20	\$960.61	\$192.12	DATE PAID					
CHRISTOPHER BROCK		UNIT	ψοσο.σι	Ψ102.12	5, (12 1) (10					
MICHELL BROCK	DI OMEJEL DI OUDI CES 101 S 100 5 E E	5.31			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
190 PENHILL ST	BLOMFIELD SUB LOTS 121 & 122 9-7-93				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1355	FR 001 & 016				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-152-001		0.20	\$960.61	\$192.12	DATE PAID					
MARK RICHARD SEQUINE		UNIT								
WAND SEQUINE	DI OMEJEL DI OLID I OTO TT. TO A TO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
45361 W PARK DR	BLOMFIELD SUB LOTS 77, 78 & 79				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-4901					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
									1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ı	NSTALLMEN	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-002		0.20	\$960.61	\$192.12	DATE PAID					
BARBARA MAXWELL		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
179 PENHILL ST	BLOMFIELD SUB LOTS 80 & 81				BALANCE PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356	BEOWN IEED GOD EC 10 00 & 01				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WI 40377-1330					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ00.42	ψ30.42	ψ50.42	ψ30. 4 2	ψ50.42
50-22-03-152-003		0.20	\$960.61	\$192.12	DATE PAID					
KESTUTIS MILIUNAS		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
159 PENHILL ST	BLOMFIELD SUB LOTS 82 & 83				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19471 SCENIC HARBOUR DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NORTHVILLE MI 48167-1978		0.00	# 000 04	\$100.10	DATE DAID					
50-22-03-152-004 CHARLES BUSSE		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES BUSSE		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
45383 W PARK DR	BLOMFIELD SUB LOTS 73 TO 76 INCL				PRINCIPAL	\$38.42	\$153.70	\$38.42	\$38.42	\$38.42
NOVI MI 48377-4901	BEOWN IEEB COB ECTO TO TO TO WEE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
537 GRATEN ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
BIRMINGHAM MI 48009-6519					101712	ψ00τ2	ψου2	ψου. τ2	ψου.42	ψ00.42
50-22-03-152-007		0.20	\$960.61	\$192.12	DATE PAID					
DAWNA M WITHERSPOON		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
143 PENHILL ST	BLOMFIELD SUB LOTS 65, 66 & 87				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-152-008		0.20	\$960.61	\$192.12	DATE PAID				1	
JENNIFER CHRISTIAN		UNIT	\$900.0 I	\$192.12	DATE PAID					
OLIVINI LIK OFFICIOFIAN		ONIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
139 PENHILL ST	BLOMFIELD SUB LOTS 88 & 89				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						T	*		*	
50-22-03-152-010		0.20	\$960.61	\$192.12	DATE PAID					
AL EVERS		UNIT								
DORIS EVERS	DI OMEJELD CUID I OTO OF OO 9 OZ				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
109 PENHILL ST	BLOMFIELD SUB LOTS 95, 96 & 97				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-152-011		0.20	\$960.61	\$192.12	DATE PAID					
LAWRENCE D HEIN		UNIT	ψυσυ.υ·	Ţ.JZ.,IZ	27.1.217110					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
105 PENHILL ST	BLOMFIELD SUB LOT 98				PRINCIPAL		\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.450.040		0.55	A 000 01	0465.15	DATE SAIL					
50-22-03-152-012		0.20	\$960.61	\$192.12	DATE PAID					
WILLIAM R CURTIS		UNIT			BALANCE	\$192.12	¢152.70	\$115.27	\$76.85	\$38.42
101 PENHILL ST	BLOMFIELD SUB LOT 99				BALANCE PRINCIPAL	\$38.42	\$153.70 \$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356	DEGINII IEED OOD EGT 33				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 1111 1001 1 1000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101/1	ψυυ.¬∠	ψου.¬∠	ψυυ2	ψυυ2	ψυυ72

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-013		0.20	\$960.61	\$192.12	DATE PAID					
JAMES SKINNER		UNIT								
NANCY SKINNER	DI OMEIEI D OUD LOT 04				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
144 PICKFORD ST	BLOMFIELD SUB LOT 64				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-152-014		0.20	\$960.61	\$192.12	DATE PAID					
PHILIP LIVERMORE		UNIT	ψ500.01	Ψ132.12	DATE I AID					
LAFLECHE LIVERMORE		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
140 PICKFORD ST	BLOMFIELD SUB LOTS 62 & 63				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3540 CHILDS LAKE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
MILFORD MI 48381-3620										
50-22-03-152-015		0.20	\$960.61	\$192.12	DATE PAID					
MARK HATCHIGIAN		UNIT			DAI	M400 10	0450 =0	044-5-	A76.5 -	000 10
KATHY L HATCHIGIAN	BLOMFIELD SUB LOTS 59 TO 61 INCL				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
132 PICKFORD ST NOVI MI 48377-1357	BLOMFIELD SOB LOTS 59 TO 61 INCL				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42	\$38.42 \$0.00
NOVI WII 46377-1337					TOTAL	\$38.42	\$38.42	\$38.42	\$0.00 \$38.42	\$38.42
					TOTAL	ψ30.42	ψ30.42	ψ30.42	ψ30.42	ψ30.4Z
50-22-03-152-016		0.20	\$960.61	\$192.12	DATE PAID					
BRIAN L MCDERMOTT		UNIT	ψ500.01	Ψ132.12	DATE I AID					
		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
120 PICKFORD ST	BLOMFIELD SUB LOTS 56 TO 58 INCL				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-152-017		0.20	\$960.61	\$192.12	DATE PAID					
DANIEL MCCRACKEN		UNIT								
JONI MCCRACKEN	BLOMFIELD SUB LOTS 53 TO 55 INCL				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
106 PICKFORD ST NOVI MI 48377-1357	BLOWFIELD 30B LOTS 53 TO 55 INCL				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
140 V1 WII 40377-1337					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ50.42	ψ50.42	ψ30.42	ψ30.42	ψ30. 1 2
50-22-03-152-018		0.20	\$960.61	\$192.12	DATE PAID					
MATTHEW VAN BENSCHOTEN		UNIT	******	****						
	BLOMFIELD SUB LOTS 90 & 91 9-15-89 FR	,			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 PENHILL ST	009	`			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356	000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2218 SHANKIN DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WOLVERINE LAKE MI 48390-2455					D. 1 == D. 1 D. 1					
50-22-03-152-019 SARAH O WOODGATE		0.20	\$960.61	\$192.12	DATE PAID					
SAKAN U WUUDGATE		UNIT			DALANCE	¢102.42	¢152.70	¢11F 07	\$76.0E	¢20 42
120 PENHILL ST	BLOMFIELD SUB LOTS 92, 93 & 94 9-15-89	9			BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
NOVI MI 48377-1355	FR 009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1.0.1.3.1.10077 1000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
								·	·	
50-22-03-152-020		0.20	\$960.61	\$192.12	DATE PAID					
JP MORGAN CHASE BANK		UNIT								
	BLOMFIELD SUB LOTS 67 & 68. EXC NLY				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
156 PICKFORD ST	7 FT OF BOTH SD LOTS 1-31-91 FR 006				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
MSC PTX-B-81 7105 CORPORATE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
PLANO TX 75024										1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-021		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES CORAM		UNIT								
PATRICIA CORAM	DI OMEJELD CUID LOTO 04 OF 8 OC ALCO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
151 PENHILL ST	BLOMFIELD SUB LOTS 84, 85 & 86, ALSO				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1356	NLY 7 FT OF LOTS 67 & 68 1-31-91 FR 006	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-152-022		0.20	\$960.61	\$192.12	DATE PAID					
YERKO SEPULVEDA		UNIT	·							
NANCY SEPULVEDA	BLOMFIELD SUB PART OF LOT 71 & ALL				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
168 PICKFORD ST	OF LOT 72 ALL DESC AS BEG AT PT DIST				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357	N 53-30-00 W 76.50 FT FROM				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
162 PICKFORD ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357										
50-22-03-152-023		0.20	\$960.61	\$192.12	DATE PAID					
YERKO SEPULVEDA		UNIT	·							
NANCY SEPULVEDA	BLOMFIELD SUB LOTS 69 & 70, ALSO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
162 PICKFORD ST	PART OF LOT 71 ALL DESC AS BEG AT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1357	MOST SLY COR OF LOT 69, TH N 53				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
									,	
50-22-03-153-003		0.20	\$960.61	\$192.12	DATE PAID					
ROY PIERCE		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
173 PICKFORD ST	BLOMFIELD SUB LOTS 31 & 32				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-153-004		0.20	\$960.61	\$192.12	DATE PAID					
GARY A GAUTHIER		UNIT								
KAY GAUTHIER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
163 PICKFORD ST	BLOMFIELD SUB LOTS 33 & 34				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6135 CARROLL LAKE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
COMMERCE TOWNSHI MI 48382-3614										
50-22-03-153-007		0.20	\$960.61	\$192.12	DATE PAID					
JOHN HARVEY		UNIT								
STARLA HARVEY					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
151 PICKFORD ST	BLOMFIELD SUB LOT 38				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1321 W WEST LAKE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1339										
50-22-03-153-013		0.20	\$960.61	\$192.12	DATE PAID					
STEVEN W MAYKOVICH		UNIT			<u> </u>		ļ			
407 BIOL/FORD OT	BLOMFIELD SUB LOT 13, ALSO LOTS 42 &				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
137 PICKFORD ST	43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-153-019		0.20	COCO C4	£400.40	DATE PAID		-			
MARION D VANOVER		0.20	\$960.61	\$192.12	DATE PAID		1			
PEGGY SUE		UNIT			DALANCE	¢102.12	¢152.70	¢11F 07	¢76.05	¢20.42
	BLOMFIELD SUB LOT 50				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
109 PICKFORD ST NOVI MI 48377-1358	DLOWFIELD SUB LOT 30				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
INOVI IVII 40377-1338					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
								<u> </u>	<u> </u>	

39 of 175 6/23/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	S	
				_		2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-153-020		0.20	\$960.61	\$192.12	DATE PAID					
MARION VANOVER		UNIT								
PEGGY VANOVER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
109 PICKFORD ST	BLOMFIELD SUB LOT 51				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-153-021		0.20	\$960.61	\$192.12	DATE PAID					
DEAN SIMON		UNIT	φοσο.στ	Ψ102.12	B,(121,10					
DEBRA SIMON		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
101 PICKFORD ST	BLOMFIELD SUB LOT 52				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-153-028		0.20	\$960.61	\$192.12	DATE PAID					
DONNA THORPE		UNIT								
	DI OMFIFI D OUD I OTO O 8 40				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
115 PICKFORD ST	BLOMFIELD SUB LOTS 6 & 49				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-153-030		0.20	\$960.61	\$192.12	DATE PAID					
JOHN THOMOPOULOS		UNIT	φοσο.στ	Ψ102.12	B,(121,10					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
119 PICKFORD ST	BLOMFIELD SUB LOT 47 & 48				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 91					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-0091										
50-22-03-153-038		0.20	\$960.61	\$192.12	DATE PAID					
RAYMOND MORREALE		UNIT								
	BLOMFIELD SUB LOT 44, ALSO LOT 45				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
129 PICKFORD ST	EXC ELY 3 FT 12-8-99 FR 036				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-153-040		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL JERALD LARIMAR		UNIT	ψ300.01	Ψ132.12	DATETAID					
	DI OMEJEL DI OLID I OTO OF OO O OT TOO OO	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
159 PICKFORD ST	BLOMFIELD SUB LOTS 35, 36 & 37 7-28-00	'			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358	FR 005 & 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		<u> </u>								
50-22-03-153-043		0.20	\$960.61	\$192.12	DATE PAID					
MARK SAINCOME	DI OMEIELD CUD LOT O ALCO EL VOET	UNIT			BALANCE	0.100.15	0.150.75	0445.05	# 70.05	000.46
400 DICKEODD CT	BLOMFIELD SUB LOT 9, ALSO ELY 3FT OF LOTS 10 & 45.ALSO ALL OF LOT 46 11-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
123 PICKFORD ST	27-02 FR 035 & 041	1			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358	21-02 PR 030 & 041				INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψυυ.42	ψυυ.42	ψ50.42	ψυυ.42	ψυυ.42
50-22-03-153-044		0.20	\$960.61	\$192.12	DATE PAID					
FANNIE MAE		UNIT	•							
	BLOMFIELD SUB LOTS 28, 29 & 30 4-14-08				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
175 PICKFORD ST	FR 001 & 002	1			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1358	11001 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14221 DALLAS PKWY STE 1000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
DALLAS TX 75254-2946							1			

40 d175 6/23/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-154-004		0.20	\$960.61	\$192.12	DATE PAID					
YOUSEF ANTOO		UNIT								
NADA ANTOO	BRISTOL CORNERS NORTH LOT 14 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
44474 BRISTOL CIR	03 FR 22-04-426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-005		0.20	\$960.61	\$192.12	DATE PAID					
DONALD LUSCHAS		UNIT	ψ500.01	Ψ132.12	DATE I AID					
20.0.122 2000.11.10					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
44462 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 15 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003&22-04-426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-006		0.20	\$960.61	\$192.12	DATE PAID					
THOMAS MCLEOD		UNIT			DALANCE	£400.40	£450.70	C445.07	Ф 7 С ОБ	¢20.42
YVONNE MCLEOD	BRISTOL CORNERS NORTH LOT 16 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
44450 BRISTOL CIR	03 FR 003&22-04-426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	φ30.4Z	φ36.42	φ36.42	φ30.42	Φ30.42
50-22-03-154-007		0.20	\$960.61	\$192.12	DATE PAID					
ANIL NAGOJI		UNIT	*******	*******						
	DDICTOL CODNEDC NODTILLOT 47 C OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30467 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 17 6-25- 03 FR 003&22-04-426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FK 003&22-04-420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
			*****	A 100 10	5.475.5415					
50-22-03-154-008		0.20	\$960.61	\$192.12	DATE PAID					
SRIKANTH CHUNDI		UNIT			DALANCE	\$192.12	¢450.70	6445.07	\$76.85	\$38.42
KALAHASTI VIJAYA CHUNDI 30479 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 18 6-25-				BALANCE PRINCIPAL	\$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 40377					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101/12	ψ00τ2	ψου.+2	ψου12	ψ00.42	ψ00.42
50-22-03-154-009		0.20	\$960.61	\$192.12	DATE PAID					
NARASIMHA RAO SANTHAPUR		UNIT								
GOWRI L SANTHAPUR	BRISTOL CORNERS NORTH LOT 19 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30487 PENNINGTON LN	03 FR 003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	00111 000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-010	+	0.20	\$960.61	\$192.12	DATE PAID					+
RONDA WANSA PETCOUS		UNIT	1 0.00Ep	φ192.12	DATE PAID					
NONDA MANGA I E10000					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30495 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 20 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				1	_ [
50-22-03-154-011		0.20	\$960.61	\$192.12	DATE PAID					
SHAREN MCKIRDY		UNIT			BAL	# 405 15	0.450.50	0445.05	# 70.55	000.10
OCEON DENIMOTON IN	BRISTOL CORNERS NORTH LOT 21 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30503 PENNINGTON LN	03 FR 002 & 003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				<u> </u>					<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-154-012 JOHN HASKINS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
JENNIFER HASKINS	BRISTOL CORNERS NORTH LOT 22 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30515 PENNINGTON LN	03 FR 002				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	33 . 11 332				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-013 KEVIN GALIN		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
KIMBERLY GALIN		Olviii			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30514 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 23 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-014 ZHENGXIAN BRANDON BAI		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
		0.4.1			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30502 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 24 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4653 CARMEL MOUNTAIN RD STE 308-21 SAN DIEGO CA					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-015		0.20	\$960.61	\$192.12	DATE PAID					
ALAN MILLER ROSANNE MILLER		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30490 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 25 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
THE VI IVII 16677					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-016		0.20	\$960.61	\$192.12	DATE PAID					
THOMAS SUTHERLAND		UNIT								
SYLVIA SUTHERLAND	BRISTOL CORNERS NORTH LOT 26 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30478 PENNINGTON LN	03 FR 003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-017 AMY L JOSS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
AMI L 0000		Olviii			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30466 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 27 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-154-018		0.20	\$960.61	\$192.12	DATE PAID					
DAVID ZARRA		UNIT								
DENISE ZARRA	BRISTOL CORNERS NORTH LOT 28 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30454 PENNINGTON LN	03 FR 003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
50-22-03-154-019		0.20	\$960.61	\$192.12	DATE PAID					
JENNIFER PUZSAR		UNIT		¥						
	BRISTOL CORNERS NORTH LOT 29 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30442 PENNINGTON LN	03 FR 003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				l .			1			

42 of 175 6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-155-001		1.00	\$960.61	\$960.61	DATE PAID					
JOHN THOMOPOULOS		UNIT		,						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1951 W LAKE DR	BENTLEY SUB LOT 15				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 0091					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-0091						*	***************************************	******	*	Ţ.Ţ.
50-22-03-155-002		1.00	\$960.61	\$960.61	DATE PAID					
DANIEL C JOHNSON		UNIT	ψοσοισ.	φσσσισ.						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1953 W LAKE DR	BENTLEY SUB LOT 14				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110111111101111011					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					101712	Ψ102.12	ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
50-22-03-155-003		1.00	\$960.61	\$960.61	DATE PAID					
JOHN J PETTERSSON		UNIT	φοσο.σ ι	φοσοίο ι						
JOHN OF ETTEROGON		Olvil			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1957 W LAKE DR	BENTLEY SUB LOT 13				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1343	BEN1221 00B 201 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 101 1010					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					TOTAL	Ψ102.12	Ψ132.12	Ψ132.12	Ψ132.12	Ψ132.12
50-22-03-155-006		1.00	\$960.61	\$960.61	DATE PAID					
GEORGE BURKETT		UNIT	ψ500.01	Ψ300.01	D/(ILI/(ID					
SEGNOL BONNEY!		0.4			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2005 W LAKE DR	BENTLEY SUB LOT 10				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1344	BEITTEE 1 00B 201 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 10011 1011					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					IOIAL	ψ132.12	Ψ132.12	Ψ132.12	Ψ132.12	ψ132.12
50-22-03-155-007		1.00	\$960.61	\$960.61	DATE PAID					
OLIVER, WILLIAM & STONE, GINA TRUST		UNIT	φοσο.σ ι	φοσοίο ι						
CEIVER, WILLIAM & GI GNE, GMA TROOT		Olvil			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2009 W LAKE DR	BENTLEY SUB LOT 9				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1344	22.11.22.1 002 20.1 0				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110111111111111111111111111111111111111					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					101712	Ψ.022	ψ.02.12	ψ.σ <u>2</u> 2	V.02.12	ψ.02.1.2
50-22-03-155-008		1.00	\$960.61	\$960.61	DATE PAID					
AMES, CAROLE E TRUST		UNIT	*******	400000						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2011 W LAKE DR	BENTLEY SUB LOT 8				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						•	·	·	·	·
50-22-03-155-009		1.00	\$960.61	\$960.61	DATE PAID					
FEDERAL HOME LOAN MORTGAGE COR		UNIT								
C/O TROTT & TROTT					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2012 W LAKE DR	BENTLEY SUB LOT 7				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1347					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
31440 NORTHWESTERN HWY STE 200					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON HILLS MI 48334-2525										
50-22-03-155-012		1.00	\$960.61	\$960.61	DATE PAID	· · · · · · · · · · · · · · · · · · ·				
KATHERINE KENNEDY		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2023 W LAKE DR	BENTLEY SUB LOT 4				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
·										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	ISTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-155-013		1.00	\$960.61	\$960.61	DATE PAID					
BLOOMFIELD SUBDIVISION LAKE ACCE		UNIT								
	DENTI EV CUD LOT 2				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	BENTLEY SUB LOT 3				PRINCIPAL INTEREST	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
105 PENHILL ST					TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-1356					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-155-014		1.00	\$960.61	\$960.61	DATE PAID					
CARINA STEINER		UNIT								
ANDREAS W STEINER					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2105 W LAKE DR	BENTLEY SUB LOT 2				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-155-015		1.00	\$960.61	\$960.61	DATE PAID					
LINDSAY MURPHY		UNIT	******	***************************************						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2109 W LAKE DR	BENTLEY SUB LOT 1				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-155-016	I PART OF NW FRC 1/4 BEG AT SE COR OF	1.00	\$960.61	\$960.61	DATE PAID					
NICHOLAS MALLES	LOT 1 'BENTLEY SUB', TH N 54-13-00 W	UNIT	ψ500.01	Ψ300.01	DATE I AID					
LORI MALLES	ALG SLY LINE OF SAID LOT 125 FT TO	0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2111 W LAKE DR	BENTLEY AVE, TH S 18-45-00 W ALG ELY				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1345	LINE OF BENTLEY AVE 35 FT, TH S 54-13-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	00 E TO SHORE OF WALLED LAKE, TH				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	NLY ALG SHORE TO BEG 0.10 A MN36									
50-22-03-155-017		1.00	\$960.61	\$960.61	DATE PAID					
MATTHEW GUDAITIS		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2115 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1345	Coo / lood con Cinico for Logar Docomption				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23233 TUCK RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON MI 48336-3464						*	Ţ.,	* · · · · · · · · · · · · · · · · · · ·	Ţ	***************************************
50-22-03-155-018		1.50	\$960.61	\$1,440.92	DATE PAID					
ROSENTHAL, JAN DAVID, TRUST		UNIT			DALANCE	MA 440 00	M4 450 70	\$004.55	# 570.07	#00C 10
2117 W LAKE DR	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$1,440.92 \$288.18	\$1,152.73 \$288.18	\$864.55 \$288.18	\$576.37 \$288.18	\$288.18 \$288.18
NOVI MI 48377-1345	Oce Assessors Office for Legal Description				INTEREST	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
500 WINWOOD CIR					TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
WALLED LAKE MI 48390-3576						Ψ=00.10	\$200.10	Ψ=00.10	\$255.10	\$255.10
50-22-03-155-019		0.00	\$960.61	\$0.00	DATE PAID					
ROSENTHAL, JAN DAVID, TRUST		UNIT								
	See Assessors Office for Legal Description				BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	Assessed with 50-22-03-155-018				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
500 WINIWOOD OID					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
500 WINWOOD CIR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3576 50-22-03-155-020		1.00	\$960.61	\$960.61	DATE PAID					
RONALD COON		UNIT	ψουυ.υ ι	ψ300.01	DATEFAID					
	DENTI EV CUD LOTO 5 9 0 4 44 00 55 040	_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
2015 W LAKE DR	BENTLEY SUB LOTS 5 & 6 1-14-93 FR 010				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1344	& 011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12

44 of 175 623/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll l	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-201-001		0.20	\$960.61	\$192.12	DATE PAID					
JOHN M PRIOR		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
124 N HAVEN ST	LAKE WALL SUB LOTS 24 & 25				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-201-002		0.20	\$960.61	\$192.12	DATE PAID					
STANLEY KELLY		UNIT								
LYNDA KELLY					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
120 N HAVEN ST	LAKE WALL SUB LOTS 22 & 23				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-201-004		0.20	\$960.61	\$192.12	DATE PAID					
TZVETAN S LAHTARIEV		UNIT								
	LAKE WALL SUB W 1/2 OF LOT 20 & ALL				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
116 N HAVEN ST	OF LOT 21, ALSO PART OF N 1/2 OF SEC				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	BEG AT PT DIST E 1636.80				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-201-005		0.20	\$960.61	\$192.12	DATE PAID					
BRUCE A SIMON		UNIT								
JULIE K SIMON					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
112 N HAVEN ST	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1906 CARSONS CV					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-1869										
50-22-03-202-001		0.20	\$960.61	\$192.12	DATE PAID					
EMANUEL MALLES		UNIT								
ST NEWMAN					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 N HAVEN ST	LAKE WALL SUB LOTS 48 & 49				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-202-002		0.20	\$960.61	\$192.12	DATE PAID					
THOMAS E MARQUARDI		UNIT								
	1 AVE WALL OUT : 070 70 7				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
121 N HAVEN ST	LAKE WALL SUB LOTS 50 & 51				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
F0 22 02 202 002		0.00	# 000 04	#400.40	DATE DAID					
50-22-03-202-003		0.20	\$960.61	\$192.12	DATE PAID					
AFERDITA REDMOND		UNIT			DALANCE	\$192.12	£450.70	£445.07	Ф 7 С ОБ	COD 40
445 N. I.I.A.V. F. N. O.T.	LAVE WALL CUBLOTO SO SO SA				BALANCE	* -	\$153.70	\$115.27	\$76.85	\$38.42
115 N HAVEN ST	LAKE WALL SUB LOTS 52, 53 & 54				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50 22 02 202 004		0.20	\$060.64	¢102.42	DATE DAID					
50-22-03-202-004 JOSEPH WITEK		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
JOSEPH WITEK		UNIT			DALANCE	\$192.12	\$153.70	\$115.27	\$76.0F	\$38.42
440 DEVTON CT	LAKE WALL SUB LOTS 58 & 59				BALANCE				\$76.85	
118 REXTON ST	LAKE WALL SUD LUTS 30 & 39				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14777 CHATHAM DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
UTICA MI 48315-1558				J			1	1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	ISTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-202-005		0.20	\$960.61	\$192.12	DATE PAID					
STEPHAN ZANOTTI		UNIT								
ROXANNE ZANOTTI					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
112 REXTON ST	LAKE WALL SUB LOTS 56 & 57				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-202-006		0.20	\$960.61	\$192.12	DATE PAID					
RICHARD CURTIS		UNIT	φοσοίο.	Ψ.022	2,1121,112					
GLAZEL CURTIS					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1320 W LAKE DR	LAKE WALL SUB LOT 55				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1333					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-203-001		0.20	\$960.61	\$192.12	DATE PAID					
DANIEL DIANTONTIS		UNIT	φ900.01	\$192.12	DATE FAID					
27.11.122.213.117.017.10		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
117 REXTON ST	LAKE WALL SUB LOTS 81, 82 & 83				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1360	·				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.004.000		4.50	*	04 440 00	DATE DAID					
50-22-03-204-002 ROBERT A GO	PART OF NE FRC 1/4 BEG AT PT DIST N	1.50 UNIT	\$960.61	\$1,440.92	DATE PAID					
LORI HOWLETT	89-19-00 E 17.50 FT & N 166.67 FT FROM	UNIT			BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
1175 W LAKE DR	NW COR LOT 17 'LAKE WALL SUB', TH N				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1337	90.53 FT, TH N 89-19-00 E 319.20 FT, TH S				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	29-20-00 W 232.12 FT, TH N 62-16-00 W 232.15 FT TO BEG 1 A MN33E				TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
						•				
50-22-03-204-003	PART OF NE FRC 1/4 BEG AT PT DIST N	1.00	\$960.61	\$960.61	DATE PAID					
GERALDINE DISMONDY	89-19-00 E 17.50 FT & N 116.98 FT FROM NW COR LOT 17 'LAKE WALL SUB', TH N	UNIT			DALANOE	#000 04	↑ 700.40	# 570.07	CO04 04	£400.40
1181 W LAKE DR	49.69 FT, TH S 62-16-00 E 232.15 FT TO				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
NOVI MI 48377-1337	LAKE, TH S 29-20-00 W ALG SHORE 44				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 1111 40011 1001	FT, TH N 62-16-00 W 207.80 FT TO BEG				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	0.22 A MN33D					**********	*	* · • • · · · · · · · · · · · · · · · ·	,	7 102112
50-22-03-204-004	PART OF NE FRC 1/4 BEG AT PT DIST N	1.00	\$960.61	\$960.61	DATE PAID					
CURTIS FAMILY LIVING TRUST	89-19-00 E 17.50 FT FROM NW COR LOT	UNIT								
AAOO WI AKE DD	17 'LAKE WALL SUB', TH N 89-19-00 E 40				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1192 W LAKE DR NOVI MI 48377-1331	FT, TH N 64-44-00 E 27.64 FT, TH N 70.54				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
INOVI IVII 403/7-1331	FT, TH N 62-16-00 W 73.43 FT, TH S 116.98				INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
	FT TO BEG 0.13 A MN33A				IOIAL	ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
50-22-03-204-007		1.00	\$960.61	\$960.61	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT								
	LAKE WALL SUB PART OF LOT 17 BEG AT				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	NW COR OF LOT 17, TH S 26-38-20 W 10				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
1192 WEST LAKE DR	FT, TH N 89-32-20 E 42.30				INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00
NOVI MI 48377-1331					TOTAL	φ192.12	φ192.12	φ192.12	φ19Z.1Z	\$192.12
50-22-03-204-010	LAKE WALL SUB PARTS OF LOTS 16 & 17	1.00	\$960.61	\$960.61	DATE PAID					
THOMAS H HARVEY	BEG AT NW COR LOT 16, TH S 26-38-20	UNIT								
MARY HARVEY	W 23.60 FT TO SW LOT COR, TH S 60-04-				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1195 W LAKE DR	10 E 150 FT TO SE LOT COR, TH N 38-30-				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1337	30 E ALG SHORE 45.46 FT, TH N 60-04-10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	W 121.65 FT, TH S 89-32-20 W 42.30 FT				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	TO BEG	1								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-204-011		1.00	\$960.61	\$960.61	DATE PAID					
JAMES B JONES		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1251 W LAKE DR	LAKE WALL SUB LOTS 14 & 15				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1338					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7051 OLD HAGGERTY RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
CANTON MI 48187-3682										
50-22-03-204-012		1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL SULLA		UNIT								
	LAKE WALL SUB NE 1/2 OF LOT 12 & ALL				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1259 W LAKE DR	OF LOT 13				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1338	0. 20. 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-204-013		1.50	\$960.61	\$1,440.92	DATE PAID					
LORI MCLEAN		UNIT								
	LAKE WALL SUB LOTS 10, 11 & SW 1/2 OF				BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
1307 W LAKE DR	LOT 12				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1339	201.12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
50-22-03-204-015		1.00	\$960.61	\$960.61	DATE PAID					
JOHN HARVEY		UNIT								
STARL WRIGHT					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1321 W LAKE DR	LAKE WALL SUB LOTS 7 & 8				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-204-016		1.00	\$960.61	\$960.61	DATE PAID					
ARTHUR YOUNG MOY		UNIT								
BARBARA MOY					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1327 W LAKE DR	LAKE WALL SUB LOT 6				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					5.475 5.45					
50-22-03-204-017		1.00	\$960.61	\$960.61	DATE PAID		1			
RONALD JOHNSON		UNIT			DAL ANIOE	# 000 04	Φ 7 00 40	ΦΕ 7 0.07	#004.04	£400.40
ROSEMARIE JOHNSON	LAKE WALL SUB LOT 4 EXC S 18 FT &				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1331 W LAKE DR	ALL OF LOT 5				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22333 TAFT RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NORTHVILLE MI 48167-2845 50-22-03-204-021		1.00	\$060.64	\$060.64	DATE PAID		 			-
50-22-03-204-021 ERNEST V SCHLAGER		1.00	\$960.61	\$960.61	DATE PAID					
EKNEST V SUNLAGEK		UNIT			DAI ANOE	POSC C4	¢760.40	\$ EZC 0Z	₽204.04	¢100.40
1410 W LAKE DD	J.W. HAWTHORN'S SUB LOT 8				BALANCE	\$960.61 \$192.12	\$768.49	\$576.37	\$384.24	\$192.12
1419 W LAKE DR	J.W. HAWTHORN S SUD LUT 8				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-204-022		1.00	\$960.61	\$960.61	DATE PAID		1			
OTT, RAYMOND C, TRUST		UNIT	1 0.006¢	10.006¢	DATE PAID		 			
OTT, KATIWOND C, TRUST		UNII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1425 W LAKE DR	J.W. HAWTHORN'S SUB LOT 7				PRINCIPAL	\$192.12	\$168.49 \$192.12	\$192.12	\$384.24 \$192.12	\$192.12
NOVI MI 48377-1340	J.VV. HAW ITIONING GOD LOT /				INTEREST	\$0.00	\$192.12	\$192.12	\$192.12	\$192.12
140 VI IVII 403 / / - 1340					TOTAL	\$0.00 \$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					IOIAL	ψ132.12	ψ132.12	ψ132.12	ψ132.12	ψ134.14
	1	ı		I			L	<u> </u>		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMEN	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-204-023		1.00	\$960.61	\$960.61	DATE PAID					
JAMES HOARE		UNIT								
MADELANINE+B1917 LYDA					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1431 W LAKE DR	J.W. HAWTHORN'S SUB LOT 6				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-204-024		1.00	\$960.61	\$960.61	DATE PAID					
LAWRENCE L LUCHI		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1501 W LAKE DR	J. W. HAWTHORN'S SUB LOT 5				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1923 DEER PATH TRL					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-1875										
50-22-03-204-025		1.00	\$960.61	\$960.61	DATE PAID					
STEVEN G LOE		UNIT								
	LIM HAMTHODNIC OUR MAIO OF LOT CO				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1507 W LAKE DR	J.W. HAWTHORN'S SUB N 1/2 OF LOT 3 &				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1341	ALL OF LOT 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
									1	
50-22-03-204-027		1.00	\$960.61	\$960.61	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1192 WEST LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1331						•			,	
50-22-03-204-028		1.00	\$960.61	\$960.61	DATE PAID					
DAVID DISMONDY		UNIT	•	*****						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1185 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1337					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
							·	·	,	
50-22-03-204-031		1.00	\$960.61	\$960.61	DATE PAID					
DAVID BOYER		UNIT	•	*****						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1191 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1337					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-204-032		1.00	\$960.61	\$960.61	DATE PAID					
JAMES BOLZ		UNIT	*							
ANNE BOLZ					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1405 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-204-033		1.00	\$960.61	\$960.61	DATE PAID	-				
MICHAEL CONDON		UNIT	*							
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1411 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
47220 CARTIER DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WIXOM MI 48393-2876							,			,
		_ !		II .	n I		I	I	I .	T.

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-326-002		1.50	\$960.61	\$1,440.92	DATE PAID					
ARTHURE GIESSLER		UNIT								
RUBY J GIESSLER	LAKEWOODS THAT PART OF LOT 61]			BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
	LYING BET SIDE LINES OF LOT 59 AS EXT				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
1211 C LAKE DD	ACROSS SAME				INTEREST TOTAL	\$0.00	\$0.00 \$288.18	\$0.00 \$288.18	\$0.00 \$288.18	\$0.00 \$288.18
1311 S LAKE DR NOVI MI 48377-1827					TOTAL	\$288.18	Φ200.10	⊅200.10	Φ200.10	φ200.10
50-22-03-326-003		1.00	\$960.61	\$960.61	DATE PAID					
ARTHURE GEISSLER		UNIT	φ500.01	ψ500.01	BATETAID					
RUBY GEISSLER	LAKEWOODS THAT PART OF LOT 61				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LYING BET THE EXT OF E & W LINES OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	LOT 58 ACROSS SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1311 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1827										
50-22-03-326-004		1.00	\$960.61	\$960.61	DATE PAID					
CHRISTOPHER CRAMER	LAKENOODO TUAT DADT OF LOT OF	UNIT			5		^-	^	****	0.00.10
ANNE CRAMER	LAKEWOODS THAT PART OF LOT 61				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LYING ELY OF E LINE OF LOT 58 EXT ACROSS SAME				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1301 S LAKE DR	ACKOOO SAME				INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
NOVI MI 48377-1827					TOTAL	ψ19Z.1Z	ψ192.12	ψ192.12	ψ192.12	ψ192.12
50-22-03-326-005		0.00	\$960.61	\$0.00	DATE PAID					
WALLED LAKE HOMEOWNERS ASSOC		UNIT	φοσοίο.	ψ0.00	27.1.2.7.1.2					
					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	LAKEWOODS LOT 62				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
131 BUFFINGTON ST					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI MI 48377-1801										
50-22-03-327-002		1.00	\$960.61	\$960.61	DATE PAID					
PATRICIA MANIEWSKI		UNIT			DALANOE	# 000 04	Ф 7 00 40	#570.07	#004.04	£400.40
	LAKEWOODS W 75 FT OF E 112.50 FT OF				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	LOT 63				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1207 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1826						¥ : 3 = : : =	Ţ.ţaliia	* · · · · · · · · · · · · · · · · · · ·	¥ . • = =	7.00
50-22-03-327-003		1.00	\$960.61	\$960.61	DATE PAID					
ANNA B KRUVELIS		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LAKEWOODS E 37.50 FT OF LOT 63				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1201 SOUTH LAKE DR					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00	\$0.00
NOVI MI 48377-1826					IOTAL	Φ19Z.1Z	φ19Z.1Z	Φ19Z.1Z	\$192.12	\$192.12
50-22-03-327-004		1.00	\$960.61	\$960.61	DATE PAID					
DANOVI, LLC		UNIT	ψυσυ.σ ι	ψ550.01	SAIL I AID					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LAKEWOODS LOT 64				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28535 ORCHARD LAKE RD STE 100					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON HILLS MI 48334-2918					· · ·					
50-22-03-327-005		1.00	\$960.61	\$960.61	DATE PAID					
BARTH E PLOWMAN		UNIT			DALANOE	#000 04	Ф 7 00 40	ФЕ 7 С 0 7	#204.04	¢400.40
SUSAN M PLOWMAN	LAKEWOODS W 72.85 FT OF LOT 63 11-				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	27-91 FR 001				INTEREST	\$0.00	\$192.12	\$192.12	\$192.12	\$192.12
1255 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1826					IOIAL	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
				И	И		1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMEN	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-327-006 THOMAS BELLER		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MARGARET BELLER		_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LAKEWOODS E 72.85 FT OF W 145.70 FT				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	OF LOT 63 11-27-91 FR 001 5-22-92 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1235 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1826							·	·		
50-22-03-328-001		1.00	\$960.61	\$960.61	DATE PAID					
HILDEGARD BORGER		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LAKEWOODS W 1/3 OF LOT 65				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
125 HENNING ST					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1813				*****	5.455 5.45					
50-22-03-328-002		1.00	\$960.61	\$960.61	DATE PAID					
MICHEL DUCHESNEAU		UNIT			DALANOE	# 000 04	₾ 700.40	ФEZO 0Z	COD4.04	£400.40
DOROTHY DUCHESNEAU	LAKEWOODS E 1/3 OF W 2/3 OF LOT 65				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LANEWOODS E 1/3 OF W 2/3 OF LOT 65				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
1191 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1852					TOTAL	φ19Z.1Z	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-328-003		1.00	\$960.61	\$960.61	DATE PAID					
BRANDON R DAVIS		UNIT	ψ500.01	Ψ500.01	DATE I ALD					
BRANDON N DAVIO		O N			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LAKEWOODS E 1/3 OF LOT 65				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	2.11.2.1.0000 2.1.70 0.1 20 1 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1185 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1825						ψ.υ <u>-</u>	V.02.12	Ψ.022	ψ.ο <u>Σ</u> <u>Σ</u>	ψ.02.12
50-22-03-329-001		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM BARRINGER		UNIT	•	******						
	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 1				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEWERE PARK LOT I				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1109 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1825										
50-22-03-329-002		1.00	\$960.61	\$960.61	DATE PAID					
DAIVD B MURPHY		UNIT								
TAMARA K MURPHY	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 2				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
1107 STAKE DB					INTEREST	\$0.00	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00
1107 S LAKE DR NOVI MI 48377-1825					TOTAL	\$192.12	φ19Z.1Z	φ19Z.1Z	\$19Z.1Z	\$192.12
50-22-03-329-003		1.00	\$960.61	\$960.61	DATE PAID					
THOMAS, JAYME JEAN TRUST		UNIT	ψου.υ ι	ψ300.01	DATEFAID					
omao, va ime vean invoi		0,411			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1635 CHURCHILL LN					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
MANSFIELD TX 76063-7907										,
50-22-03-329-004		1.00	\$960.61	\$960.61	DATE PAID					
BARRY FOGEL		UNIT								
SALLY FOGEL	SUBERVISOR'S REPLATICE LOTS 440				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144 OF IDLEMERE PARK LOT 4				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEWERE PARK LOT 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1101 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1825										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-330-001 EVAN MATHIS		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 5				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	140 & 144 OF IDEEMERIC 17 MIN EOT 0				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1099 S LAKE DR NOVI MI 48377-1824					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-330-002 FEDERAL HOME LOAN MORTGAGE COR		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 6				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1410 SPRING HILL ROAD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
MCLEAN VA 22102										
50-22-03-330-006 CLAUDINE ANTOUNPOUR		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
CLAUDINE ANTOON CON	SUPERVISOR'S REPLAT OF LOTS 142.	ONT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1015 S LAKE DR	143 & 144 OF IDLEMERE PARK LOTS 7 & 8	3			PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1824	8-3-95 FR 003 & 004	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11077 1021					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-331-013		0.20	\$960.61	\$192.12	DATE PAID					
DENNIS M SCHROTH		UNIT								
	LAKEWOODS SELY 135 FT OF NLY 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
124 BUFFINGTON ST	LOT 54, ALSO SELY 135 FT OF LOT 55				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1800	20101,7200 0221 10011 01 201 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-331-014		0.20	\$960.61	\$192.12	DATE PAID					
GERALD F MONTES		UNIT			5	A 122.12	* • • • • • • • • • • • • • • • • • • •	***	^	200.10
400 BUIEFINIOTONI OT	LAKEWOODS LOT 53, ALSO SLY 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
128 BUFFINGTON ST	LOT 54				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1800					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-332-012 BRIAN RONEY		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
	LAKENOODO LOTO 10 0 11 0/20/22 ==				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
125 BUFFINGTON ST	LAKEWOODS LOTS 40 & 41 6/28/88 FR				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1801	001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-332-013		0.20	\$960.61	\$192.12	DATE PAID					
LAURA BALDWIN		UNIT								
	LAKEWOODS LOTS 42 & 43 6/28/88 FR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
131 BUFFINGTON ST	001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1801					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-332-014		0.20	\$960.61	\$192.12	DATE PAID					
CALVIN HASHISAKA		UNIT			541	# 100 10	0.450.50	044-0-	070.07	#05 15
SUSAN HASHISAKA	LAKEWOODS LOTS 44 & 45 6/28/88 FR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 BUFFINGTON ST	001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1801					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-332-015		0.20	\$960.61	\$192.12	DATE PAID					
MARGUERITE BOSCA		UNIT								
	LAKEWOODS LOTS 46 & 47 6/28/88 FR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
141 BUFFINGTON ST	001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1801					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				*	5.4=5.445					
50-22-03-332-019		0.20	\$960.61	\$192.12	DATE PAID					
JOHN HALL	LAKEWOODS NLY 5 FT OF LOTS 22 & 23,	UNIT			DALANOE	£400.40	£450.70	0445.07	#70.05	f00.40
STEPHANIE R HALL	ALSO ALL OF LOT 48, ALSO ALL OF VAC				BALANCE PRINCIPAL	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
145 BUFFINGTON ST	PEMBINE ADJ TO SAME 5-10-89 FROM				INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI MI 48377-1801	016 & 376-006				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ30.42	ψ30.42	φ30.4Z	φ30.42	\$30.42
50-22-03-351-007		0.20	\$960.61	\$192.12	DATE PAID					
TRACY GALLOWAY		UNIT	ψ300.01	Ψ132.12	DATETAID					
TRAOT GALLOWAT	PART OF SW 1/4 BEG AT PT DIST N 02-20				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
202 BUFFINGTON ST	00 E 50 FT FROM SW COR 'LAKEWOODS',				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1802	TH N 02-20-00 E 50 FT, T				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	,				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						7	7	700	,	7001.
50-22-03-351-009		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL BARTOSH		UNIT								
	PART OF SW 1/4 BEG AT SW COR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
208 BUFFINGTON ST	'LAKEWOODS', TH S 02-20-00 W 50 FT, TH				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1802	N 87-40-00 W 150 FT, TH N 02-2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-010		0.20	\$960.61	\$192.12	DATE PAID					
DANOVI, LLC		UNIT								
	PART OF SW 1/4 BEG AT PT DIST S 02-20-	1			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
210 BUFFINGTON ST	00 W 50 FT FROM SW COR				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1802	'LAKEWOODS', TH S 02-20-00 W 150 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28535 ORCHARD LAKE RD STE 100 FARMINGTON HILLS MI 48334-2918					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-015		1.00	\$960.61	\$960.61	DATE PAID					
A. NELS CARLSON		UNIT	ψ300.01	ψ300.01	DATETAID					
DOLORES CARLSON		O N			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1365 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1827	3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-351-016		1.00	\$960.61	\$960.61	DATE PAID					
GRACE LIGHT		UNIT								
PETER LIGHT					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1351 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50.00.00.054.047		4.00	#	000000	DATE SAIS					
50-22-03-351-017		1.00	\$960.61	\$960.61	DATE PAID					
JAMES LOEFFLER		UNIT			DALANCE	# 000 04	#700 to	ΦΕ 7 2 2 7	#004 C4	£400.40
JOANNE LOEFFLER	See Assessors Office for Legal Description				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1341 S LAKE DR	Jee Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1827					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
					IOIAL	ψ132.12	φ132.1Z	φ132.12	φ13Z.1Z	ψ132.12
	L	ı					1	1		

52 of 175 67232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMEN	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-351-018		1.00	\$960.61	\$960.61	DATE PAID					
GEORGE ROURK		UNIT								
LINDA ROURK					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
1331 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
F0 00 00 054 000		0.00	*	# 400.40	DATE DAID		1			
50-22-03-351-023 ANDREAS KORN		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
ROSA KORN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29725 LILLEY TRL	LILLEY POND LOT 1 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1823	EILLETT OND LOT TO-3-39 TR 019				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 101 40077 1020					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1017.2	ψου. 12	φου. 12	ψ00.12	φοσ. 12	φου. 1 <u>2</u>
50-22-03-351-024		0.20	\$960.61	\$192.12	DATE PAID					
LUIGI IAQUINTA		UNIT	*							
SUSAN IAQUINTA					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29755 LILLEY TRL	LILLEY POND LOT 2 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-025		0.20	\$960.61	\$192.12	DATE PAID					
XIAOLI XIAO		UNIT			DALANOE	£400.40	£450.70	C445.07	Ф 7 0.05	#00.40
00705	LILLEY POND LOT 3 8-3-99 FR 019				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29785 LILLEY TRL	LILLEY POND LOT 3 8-3-99 FR 019				PRINCIPAL INTEREST	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI MI 48377-1823					TOTAL	\$0.00 \$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ30.42	ψ30.42	ψ30.42	ψ30.42	ψ30.42
50-22-03-351-026		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES AZZOUZ		UNIT	φοσο.σ.	Ψ102.12						
AMAL AZZOUZ					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29805 LILLEY TRL	LILLEY POND LOT 4 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-027		0.20	\$960.61	\$192.12	DATE PAID					
DAWN TRAVIS		UNIT								
00005 LILL EV TDI	LILLEY DOND LOT 5 0 2 00 5D 040				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29835 LILLEY TRL	LILLEY POND LOT 5 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1823					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	φ30.42	ψ30.42	φ30.42	φ30.4Z	ψ30.42
50-22-03-351-028		0.20	\$960.61	\$192.12	DATE PAID					
WARD, INC		UNIT	4000.0 1	Ψ102.12	2,1121,110					
, -					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29865 LILLEY TRL	LILLEY POND LOT 6 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3272 ERIE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
ORCHARD LAKE MI 48324-1514										
50-22-03-351-029		0.20	\$960.61	\$192.12	DATE PAID					
KURT BEST		UNIT			BAL	# 405 15	0450 50	0445.05	#76.5 =	000 10
RENEE BEST	LILLEY DOND LOT 7 0 0 00 ED 010				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29895 LILLEY TRL	LILLEY POND LOT 7 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				I			1	1	L	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-351-030		0.20	\$960.61	\$192.12	DATE PAID					
ROBERT S FOSS		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29925 LILLEY TRL	LILLEY POND LOT 8 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1849					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.054.004	T	0.00	#	0100.10	DATE DAID		1			
50-22-03-351-031		0.20	\$960.61	\$192.12	DATE PAID					
JAMES HIXSON JILL HIXSON		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29955 LILLEY TRL	LILLEY POND LOT 9 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1849	EILLETT OND EOT 3 0-3-93 TK 013				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 101 40377-1043					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					I TOTAL	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψ00.4Z
50-22-03-351-033		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL PALMER		UNIT	*******	******						
SUSAN PALMER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1391 S LAKE DR	LILLEY POND LOT 10 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-034		0.20	\$960.61	\$192.12	DATE PAID					
GABRAIL HADO		UNIT							_	
CAROLINE HADO					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1381 S LAKE DR	LILLEY POND LOT 11 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-035		0.20	\$960.61	\$192.12	DATE PAID					
PAUL FARNHAM		UNIT	φ900.01	\$192.12	DATE PAID					
LISA FARNHAM		ONIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29770 LILLEY TRL	LILLEY POND LOT 12 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-351-036		0.20	\$960.61	\$192.12	DATE PAID					
ALLEN KOONTER		UNIT								
PATRICIA KOONTER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29740 LILLEY TRL	LILLEY POND LOT 13 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50 22 02 254 027		0.00	\$060.04	¢400.40	DATE DAID					-
50-22-03-351-037 ERIC D MARCHEWITZ		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
LNIC D WARGHEWITZ		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
29710 LILLEY TRL	LILLEY POND LOT 14 8-3-99 FR 019				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5889 WHITMORE LAKE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
BRIGHTON MI 48116-1998						700 <u>-</u>	4002	\$55.12	4002	¥55.12
50-22-03-376-008		0.20	\$960.61	\$192.12	DATE PAID					
GERALD D COOPER		UNIT								
DEBRA COOPER	LAKEWOODS LOTS 22 & 23, EXC NLY 5				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
155 BUFFINGTON ST	FT OF BOTH SD LOTS, ALSO ALL OF				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1801	LOTS 24 & 25 5-10-89 FROM 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

54 of 175 67232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-377-018 BRANDON R DAVIS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
BRANDON R DAVIS		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1185 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1825					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-379-005		0.20	\$960.61	\$192.12	DATE PAID					
AARON ZOELLER		UNIT	φ900.01	\$192.12	DATE PAID					
RACHEL ZOELLER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	IDLEMERE PARK LOT 5				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
116 EUBANK ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1804						•				
50-22-03-379-006		0.20	\$960.61	\$192.12	DATE PAID					
AARON ZOELLER		UNIT			5		A.=====	*	^-	^
RACHEL ZOELLER	IDI EMEDE DADIKI OT O				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
116 EUBANK ST	IDLEMERE PARK LOT 6				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-379-009		0.20	\$960.61	\$192.12	DATE PAID					
BRYAN HOFFMEYER		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
152 EUBANK ST	IDLEMERE PARK LOT 10				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-379-010		0.20	\$960.61	\$192.12	DATE PAID					
BRYAN HOFFMEYER		UNIT	*	, -						
	IDLEMERE PARK LOT 11, ALSO 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	VAC DAISY CT ADJ TO SAME 10-26-98				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
152 EUBANK ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1804 50-22-03-379-011		0.20	\$960.61	\$192.12	DATE PAID					
BRENT E WOOD		UNIT	φοσοίο.	4.02						
KAREN LYNN	IDLEMERE PARK LOT 7, ALSO LOT 8 EXC	:			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
134 EUBANK ST	THAT PART BEG AT SW LOT COR, TH N				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1804	17-21-20 W 36.17 FT, TH S 28				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-379-012		0.20	\$960.61	\$192.12	DATE PAID					
WELLS FARGO BANK		UNIT	Ψ000.01	4.32.12	2,21,,,,					
	IDLEMERE PARK LOT 9 EXC THAT PART				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
142 EUBANK ST	BEG AT NE LOT COR, TH S 17-21-20 E				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1804	47.61 FT, TH N 28-02-18 W 51.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7255 BAYMEADOWS WAY					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
JACKSONVILLE FL 32256-6851										
50-22-03-380-005		0.20	\$960.61	\$192.12	DATE PAID					
EVAN MATHIS		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
115 EUBANK ST	IDLEMERE PARK LOTS 34 & 35, ALSO 1/2				PRINCIPAL	\$38.42	\$153.70	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1805	OF VAC LILAC CT ADJ TO SAME				INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
1099 S SOUTH LAKE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1824		1			IOIAL	ψυυ.42	ψυυ.42	ψυυ.42	ψυυ.42	ψυυ.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-380-006		0.20	\$960.61	\$192.12	DATE PAID					
JENNIFER SCHEMANSKE		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 EUBANK ST	IDLEMERE PARK LOT 32 & W 75 FT OF				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1805	LOT 33				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-380-007		0.20	\$960.61	\$192.12	DATE PAID					
ANDREA BALDING	IDLEMEDE DADICLOT OF ALCO F OO ET	UNIT			DALANOE	£400.40	¢450.70	\$445.07	#70.05	COD 40
OOO LEMAY CT	IDLEMERE PARK LOT 31, ALSO E 90 FT OF LOT 33 & 1/2 OF VAC LILAC CT ADJ TO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
920 LEMAY ST NOVI MI 48377-1841	SAME				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI WI 40377-1041	O/ WIE				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψου.+2	ψου2	ψ00.42	ψ00.42	ψ00.42
50-22-03-381-003		0.20	\$960.61	\$192.12	DATE PAID					
CHRIS A DUNN		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
909 LEMAY ST	IDLEMERE PARK LOT 56				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1842					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-381-004		0.20	\$960.61	\$192.12	DATE PAID					
CHRISTOPHER POSTMA		UNIT	φ960.61	\$192.12	DATE PAID					
LINDA POSTMA		CIVIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
905 LEMAY ST	IDLEMERE PARK LOTS 54 & 55				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1842					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-381-005		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL A REEVES		UNIT			541 41105	0.100.10	0.150.70	0445.07	# 70.05	# 00.40
ROBIN L REEVES	IDLEMERE PARK LOTS 52 & 53				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
903 LEMAY ST NOVI MI 48377-1842	IDLEWERE PARK LOTS 32 & 33				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
NOVI WII 40377-1042					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101712	φοσ. 12	φοσ. 12	ψ00.12	ψου. 12	ψου. 12
50-22-03-381-006		0.20	\$960.61	\$192.12	DATE PAID					
LEE M BREWER		UNIT								
MARGARET A BREWER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
153 EUBANK ST	IDLEMERE PARK LOT 60				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1807					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-381-008		0.20	\$960.61	\$192.12	DATE PAID		1			
YERKO SEPULVEDA		UNIT	4000.01	Ţ.JZ.,Z						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
303 EUBANK ST	IDLEMERE PARK LOT 62				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1810					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-381-010		0.20	¢060.64	¢102.42	DATE DAID					
50-22-03-381-010 HENRY BERRY		0.20 UNIT	\$960.61	\$192.12	DATE PAID		1			
GISELA BERRY		CIVIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
309 EUBANK ST	IDLEMERE PARK LOT 64				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1810					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 233					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll .	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-381-011		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL REEVES		UNIT								
ROBIN L REEVES					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	IDLEMERE PARK LOT 67				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
000 5144 07					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
903 LEMAY ST NOVI MI 48377-1842					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-381-012		0.20	\$960.61	\$192.12	DATE PAID					
HENRY BERRY		UNIT	ψ900.01	\$192.12	DATEFAID					
GISELA BERRY		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	IDLEMERE PARK LOTS 65 & 66				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 233					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390										
50-22-03-381-014		0.20	\$960.61	\$192.12	DATE PAID					
KEVIN DITTMER	ID. 51.505 DADI/AISIA/A/2 05 LOT 50 0	UNIT								
JENNIFER DITTMER	IDLEMERE PARK NELY 1/2 OF LOT 58 &				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
915 LEMAY ST	ALL OF LOT 59 ALL DESC AS BEG AT MOST NE COR OF LOT 59 TH S 44-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1842	MOST NE COR OF LOT 59 TH 3 44-				INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	φ30.42	φ36.42	φ30.4Z	φ30.42	\$30.42
50-22-03-381-015		0.20	\$960.61	\$192.12	DATE PAID					
STACEY MEDEN		UNIT	φοσο.στ	Ψ102.12	D/(1217(10					
	IDLEMERE PARK LOT 57 & SELY 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
911 LEMAY ST	LOT 58 ALL DESC AS BEG AT PT DIST S				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1842	44-58-45 E 59.70 FT FROM MO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-381-016		0.20	\$960.61	\$192.12	DATE PAID					
KEITH CLARK		UNIT			DALANOE	£400.40	£450.70	* 445.07	Ф 7 0.05	COO 40
KRISTA CLARK 225 EUBANK ST	IDLEMERE PARK LOTS 61 & 63 10-18-06				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
NOVI MI 48377-1808	FR 007 & 009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110111111111111111111111111111111111111					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						¥ 0 0 1 1 1	¥0011E	Ţ G G T T T	Ţ G G I I	400 1.10
50-22-03-382-001		0.20	\$960.61	\$192.12	DATE PAID					
RICHARD GATHERUM		UNIT								
	IDLEMERE PARK LOT 83, ALSO 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
304 EUBANK ST	VAC DAISY CT ADJ TO SAME 10-26-98				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1808	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1983 FOREST CREEK LN					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
SALT LAKE CITY UT 84121-5050 50-22-03-382-002		0.20	\$960.61	\$192.12	DATE PAID					
DAVID COOK		UNIT	10.006	ψ132.12	DATE FAID					+
2.1112 0001		5,411			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
306 EUBANK ST	IDLEMERE PARK LOTS 81 & 82				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1808					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-382-008		0.20	\$960.61	\$192.12	DATE PAID					
DAVID COOK	IDI EMEDE DADIK DADI OE LOTO TE TO O	UNIT			BAL	0.105.15	0450 50	0445.55	# 70.55	000.10
RAYMOND COOK	IDLEMERE PARK PART OF LOTS 75, 76 &				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
312 EUBANK ST NOVI MI 48377-1808	78, ALSO ALL OF LOTS 79 & 80 ALL DESC AS BEG AT SW COR OF SD L				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI WII 403/7-1000	AS BEG AT SW COR OF SDE				INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψυυ.42	ψ50.42	ψυυ.42	ψυυ.42	ψυυ.42
<u> </u>	l			И			1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-382-009		0.20	\$960.61	\$192.12	DATE PAID					
PATRICK GRATTAN		UNIT								
SANDRA GRATTAN	IDLEMERE PARK PART OF LOTS 75 & 76,				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
302 MAUDLIN ST	ALSO ALL OF LOT 77, ALSO PART OF LOT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1819	78 ALL DESC AS BEG AT SE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				_						
50-22-03-383-001		0.10	\$960.61	\$96.06	DATE PAID					
LAWRENCE W PAUL		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 100	POINTE CONDOMINIUM UNIT 1, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-002		0.10	\$960.61	\$96.06	DATE PAID					
THOMAS SORRENTINO	001150141141141514114100000000000000000	UNIT								
GEORGETTE SORRENTINO	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 101	POINTE CONDOMINIUM UNIT 2, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
				A						
50-22-03-383-003		0.10	\$960.61	\$96.06	DATE PAID					
PIERA BOLDRIN	001150141141141514114100000000000000000	UNIT								
DAVID BOLDRIN	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 102	POINTE CONDOMINIUM UNIT 3, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		2.12		****	5.4=5.445					
50-22-03-383-004		0.10	\$960.61	\$96.06	DATE PAID					
DOLORES L MALHOIT	CONDOMINIUM DI ANIMO COZ COUTU	UNIT			DAI ANOE	400.00	#70.05	057.04	000.40	0 40.04
4407 O LAKE DD LINIT 400	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 103	POINTE CONDOMINIUM UNIT 4, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816 15081 FORD RD UNIT PT UNIT PT 320	11495 P 288 8-6-90 FR 378-005				INTEREST TOTAL	\$0.00	\$0.00	\$0.00 \$19.21	\$0.00	\$0.00 \$19.21
DEARBORN MI 48126					IOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-005		0.10	\$960.61	\$96.06	DATE PAID					
JANET DEFALCO		UNIT	\$900.61	\$90.00	DATE PAID					
JANET DEFALCO	CONDOMINIUM PLAN NO 687 SOUTH	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 104	POINTE CONDOMINIUM UNIT 5, BLDG A L				PRINCIPAL	\$96.06 \$19.21	\$19.21	\$19.21	\$38.42 \$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 400/ /- 1010	11.00.1 200.0 00111 070 000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	Ψ10.41	Ψ13.21	Ψ10.21	Ψ10.21	Ψ10.21
50-22-03-383-006		0.10	\$960.61	\$96.06	DATE PAID					
MARY ANN BROWNLEE		UNIT	ψοσο.σι	ψυυ.υυ						
	CONDOMINIUM PLAN NO 687 SOUTH	0.411			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 105	POINTE CONDOMINIUM UNIT 6, BLDG A L]			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
- · · · · · · · · · · · · · · · · · · ·					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						Ţ	Ţ.J. <u>_</u> .	Ţ.J	Ţ.J.	Ţ
50-22-03-383-007		0.10	\$960.61	\$96.06	DATE PAID					
MILTON WEBER		UNIT	4000.0 1	\$55.00	-, , ,					
	CONDOMINIUM PLAN NO 687 SOUTH	5			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 106	POINTE CONDOMINIUM UNIT 7, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5250 CARDINAL DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
TROY MI 48098						Ţ	Ţ.J. <u>_</u> .	Ţ.J	Ţ.J.	Ţ
TITO I IVII TOUGO		ı		II	<u> </u>		1	<u> </u>	1	<u> </u>

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-008		0.10	\$960.61	\$96.06	DATE PAID					
SAUVEUR M TANTARO		UNIT								
PATRICI TANTARO	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 107	POINTE CONDOMINIUM UNIT 8, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9027 PONTIAC LAKE RD					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WHITE LAKE MI 48386										
50-22-03-383-009		0.10	\$960.61	\$96.06	DATE PAID					
HAROLD WARD		UNIT								
EVELYN WARD	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 108	POINTE CONDOMINIUM UNIT 9, BLDG A L				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-010		0.10	\$960.61	\$96.06	DATE PAID					
JOHN LUNDIN	COMPONING IN THE COMPONING COMPONING	UNIT				A a a a a	0=6	0== - :	000 :-	0.00
4407 0 LAKE DD LII II 100	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 109	POINTE CONDOMINIUM UNIT 10, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
8401 ESTERO BLVD # 708					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FORT MYERS BEACH FL 33931		0.40	#000 04	#00.00	DATE DAID					
50-22-03-383-011		0.10	\$960.61	\$96.06	DATE PAID					
HOWARD GARMEN	CONDOMINIUM PLAN NO 687 SOUTH	UNIT			DALANCE	COC OC	Ф 7 С ОБ	ФE7.04	#20.42	C40.04
CAROL GARMEN	POINTE CONDOMINIUM UNIT 11, BLDG A				BALANCE PRINCIPAL	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21 \$40.24
1127 S LAKE DR UNIT 110 NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005					\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI WI 48377-1816	E 11493 F 200 0-0-90 FR 370-003				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	φ19.21	Φ19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-012		0.10	\$960.61	\$96.06	DATE PAID					
MARILYN L HICKMAN		UNIT	ψ900.01	ψ90.00	DATEFAID					
MARIETTETHORMAN	CONDOMINIUM PLAN NO 687 SOUTH	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 111	POINTE CONDOMINIUM UNIT 12, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						* · • · • ·	¥.5.=.		*	, , , , , ,
50-22-03-383-013		0.10	\$960.61	\$96.06	DATE PAID					
JOSEPH T ROSS		UNIT	•							
JOSEPH P ROSS	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 112	POINTE CONDOMINIUM UNIT 13, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-014		0.10	\$960.61	\$96.06	DATE PAID					
CARL TRAVIS		UNIT							1	
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 113	POINTE CONDOMINIUM UNIT 14, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50 22 02 202 045		0.40	COCC C4	#00.00	DATE DAID				1	
50-22-03-383-015		0.10	\$960.61	\$96.06	DATE PAID				1	
VICTOR ABRAMSON	CONDOMINIUM DI ANINO 697 COLITI	UNIT			DALANCE	COC OC	Ф7C 0Г	ФE7.04	COD 40	C40.04
ILENE H ABRAMSON	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 114	POINTE CONDOMINIUM UNIT 15, BLDG A L 11495 P 288 8-6-90 FR 378-005				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11430 F 200 0-0-30 FK 3/0-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
								1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	•	1ST	2ND	3RD	4TH	5TH
50-22-03-383-016		0.10	\$960.61	\$96.06	DATE PAID					
THOMAS OKASINSKI		UNIT	·							
TERISE OKASINSKI	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 115	POINTE CONDOMINIUM UNIT 16, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9937 DORIAN DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
PLYMOUTH MI 48170						¥ . • . • .	*	* · · · · · ·	¥ 101=1	V
50-22-03-383-017		0.10	\$960.61	\$96.06	DATE PAID					
ANDREW L CAMERON		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 116	POINTE CONDOMINIUM UNIT 17, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
219 N LAKE CORTEZ DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
APOPKA FL 32703						¥ 1 5 1 = 1	*	V 101=1	¥ 101=1	¥
50-22-03-383-018		0.10	\$960.61	\$96.06	DATE PAID					
JOAN ZANGER		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 117	POINTE CONDOMINIUM UNIT 18, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9395 COMMERCE RD					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TOWNSHI MI 48382										
50-22-03-383-019		0.10	\$960.61	\$96.06	DATE PAID					
CHARLES ERGER		UNIT								
PATRICIA ERGER	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 118	POINTE CONDOMINIUM UNIT 19, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9425 SWEETBRIAR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BRIGHTON MI 48116										
50-22-03-383-020		0.10	\$960.61	\$96.06	DATE PAID					
BERTRAND WILMOT		UNIT								
JANE WILMOT	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 119	POINTE CONDOMINIUM UNIT 20, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-021		0.10	\$960.61	\$96.06	DATE PAID					
MARILYN KOVITZ		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 120	POINTE CONDOMINIUM UNIT 21, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50.00.00.000	 	0.10	# 000 0:	00000	DATE SAIS					
50-22-03-383-022		0.10	\$960.61	\$96.06	DATE PAID					
JAMES HEFFERNAN	CONDOMINIUM BLANCES COT CONTENT	UNIT				400	A-		***	010 -:
MARY HEFFERNAN	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 122	POINTE CONDOMINIUM UNIT 22, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1816	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5155 36TH ST W					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BRADENTON FL 34210		0.40	COCO C4	¢00.00	DATE DAID					
50-22-03-383-023		0.10	\$960.61	\$96.06	DATE PAID					
JOHN LUNDIN	CONDOMINIUM DI AN NO 607 COUTU	UNIT			DALANCE	የ ስር ስር	Ф76 OF	ΦE7.04	P20 40	¢10.04
DELPHINE LUNDIN	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 200	POINTE CONDOMINIUM UNIT 23, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
									1	

6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMEN	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-024		0.10	\$960.61	\$96.06	DATE PAID					
EDMUND JOHN BAPRAWSKI		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 201	POINTE CONDOMINIUM UNIT 24, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11856 PINE MOUNTAIN DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BRIGHTON MI 48114						* -	* -			
50-22-03-383-025		0.10	\$960.61	\$96.06	DATE PAID					
JIMMIE ENGLISH		UNIT	Ψοσοίο:	φοσισσ	27.1.2.7.1.2					
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 202	POINTE CONDOMINIUM UNIT 25, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 100 11 1011					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
50-22-03-383-026		0.10	\$960.61	\$96.06	DATE PAID					
BARBARA FITZGERALD		UNIT	ψ300.01	ψ30.00	DATETAID					
DANDANA I II ZOLINALD	CONDOMINIUM PLAN NO 687 SOUTH	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 203	POINTE CONDOMINIUM UNIT 26, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 46377-1617	E 114931 200 0-0-3011(370-003				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-027		0.10	\$960.61	\$96.06	DATE PAID					
			\$900.61	\$90.00	DATE PAID					
DAVID MILLER	CONDOMINIUM DI ANI NO COZ COLITII	UNIT			DAI ANOE	Φ00.00	#70.05	057.04	# 00 40	0.10.01
NINA MILLER	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 204	POINTE CONDOMINIUM UNIT 27, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		2.12	*****	***	5.4== 5.45					
50-22-03-383-028		0.10	\$960.61	\$96.06	DATE PAID					
MARGARET&LETZEISER/C GRISCO		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 205	POINTE CONDOMINIUM UNIT 28, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-029		0.10	\$960.61	\$96.06	DATE PAID					
GWENDOLYN MARTIN	001150111111111111111111111111111111111	UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 206	POINTE CONDOMINIUM UNIT 29, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
F0 00 00 000 000		0.10	A 000 01	000.00	DATE SAIS				1	
50-22-03-383-030		0.10	\$960.61	\$96.06	DATE PAID				-	
ALEX CRONENWETT		UNIT								
JANICE CRONENWETT	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 207	POINTE CONDOMINIUM UNIT 30, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
									1	
50-22-03-383-031		0.10	\$960.61	\$96.06	DATE PAID		1			
MARVIN WITTKOPF		UNIT							1	
MARIAM WITTKOPF	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 208	POINTE CONDOMINIUM UNIT 31, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll l	NSTALLMEN ⁻	ΓS	
					l l	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-032		0.10	\$960.61	\$96.06	DATE PAID					
KERRY CHASE		UNIT	•	****	Ī					
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 209	POINTE CONDOMINIUM UNIT 32, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						* -	* -	•	* -	
50-22-03-383-033		0.10	\$960.61	\$96.06	DATE PAID					
NORA WHITEHEAD		UNIT			Ī					
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 210	POINTE CONDOMINIUM UNIT 33, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						ψ.σ.Ξ.	ψ.σ. <u>z</u> .	ψ.σ. <u></u>	ψ.σ.Ξ.	ψ.σ.Σ.
50-22-03-383-034		0.10	\$960.61	\$96.06	DATE PAID					
LUCILLE L EATON		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 211	POINTE CONDOMINIUM UNIT 34, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 10011 1011					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
50-22-03-383-035		0.10	\$960.61	\$96.06	DATE PAID					
ROBERT PACKARD		UNIT	ψ500.01	ψ50.00	DATE TAID					
CAROL PACKARD	CONDOMINIUM PLAN NO 687 SOUTH	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 212	POINTE CONDOMINIUM UNIT 35, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	E 11493 F 200 0-0-90 FR 370-003				l E					
7435 PONTIAC TRAIL RD					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NORTHVILLE MI 48168		0.10	\$960.61	\$96.06	DATE PAID					
50-22-03-383-036			\$960.61	\$96.06	DATE PAID					
CAROL M SMITH	CONDOMINIUM DI ANIMO COZ COLITI	UNIT			DALANOE -	# 00.00	Ф 7 0.05	ФE7.04	COO. 40	# 40.04
4407 O LAKE DO LINIT 040	CONDOMINIUM PLAN NO 687 SOUTH POINTE CONDOMINIUM UNIT 36, BLDG A				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 213	· · · · · · · · · · · · · · · · · · ·				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-037		0.40	ФОСО C4	\$96.06	DATE DAID					
GEORGE KIBA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM DI ANIMO COZ COLITII	UNIT			DALANOE	#00.00	Ф 7 0.05	CE7.04	COO. 40	# 40.04
VIRGINIA KIBA	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 214	POINTE CONDOMINIUM UNIT 37, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50.00.00.000.000		0.10	# 000 04	#00.00	DATE DATE					
50-22-03-383-038		0.10	\$960.61	\$96.06	DATE PAID					
ELIZABETH COOK	CONDOMINIUM DI ANTRIO COT CONTENT	UNIT				^	A- 6		005 :-	A 4 = =
4407 O LAKE DD L''''T C	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 215	POINTE CONDOMINIUM UNIT 38, BLDG A	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50.00.00.000		0.10	# 005 5 <i>t</i>	000.00	DATE SAIS					
50-22-03-383-039		0.10	\$960.61	\$96.06	DATE PAID					
YASUKO DUKE		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH	1			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 216	POINTE CONDOMINIUM UNIT 39, BLDG A	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		1			TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		1		II .	ı E				1	1

623/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll	NSTALLMEN [*]	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-040 TOMCHAK, FRANK TRUST		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
,	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 217	POINTE CONDOMINIUM UNIT 40, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-041		0.10	\$960.61	\$96.06	DATE PAID					
MCILMURRAY, ROBERT J. TRUST		UNIT								
0.1.11/5 55 # 0.10	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 218	POINTE CONDOMINIUM UNIT 41, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1209 WHITEHALL DR DOYLESTOWN PA 18901					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-042		0.10	\$960.61	\$96.06	DATE PAID					
MARGARET LAURIE		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR # 219	POINTE CONDOMINIUM UNIT 42, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1134 BRENNER HIGHLAND MI 48357					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-043		0.10	\$960.61	\$96.06	DATE PAID					
CARROLL FRYE		UNIT								
SALLY FRYE	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 220	POINTE CONDOMINIUM UNIT 43, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-044		0.10	\$960.61	\$96.06	DATE PAID					
ZSENYUK FAMILY LIVING TRUST		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1127 S LAKE DR UNIT 222	POINTE CONDOMINIUM UNIT 44, BLDG A				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1817	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
935 SLONE CT WHITE LAKE MI 48386					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-045		0.10	\$960.61	\$96.06	DATE PAID					
DONALD JACOBS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 45	POINTE CONDOMINIUM UNIT 45, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-046		0.10	\$960.61	\$96.06	DATE PAID					
JOHN FRANCIC		UNIT								
MARY GAVIN	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 46	POINTE CONDOMINIUM UNIT 46, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-047		0.10	\$960.61	\$96.06	DATE PAID					
MARGARET BOSCA		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 47	POINTE CONDOMINIUM UNIT 47, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		1								

6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			1	NSTALLMEN ⁻	TS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-048		0.10	\$960.61	\$96.06	DATE PAID					
MERS		UNIT	*	****						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 48	POINTE CONDOMINIUM UNIT 48, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
350 HIGHLAND RD					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
LEWISTON TX 75067						¥ 1 5 1 = 1	*	V	V 101=1	V
50-22-03-383-049		0.10	\$960.61	\$96.06	DATE PAID					
QUATTRO, ROSE TRUST		UNIT	*	****						
,	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 49	POINTE CONDOMINIUM UNIT 49, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101712	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	ψ10.21
50-22-03-383-050		0.10	\$960.61	\$96.06	DATE PAID					
LOIS NUGENT		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 50	POINTE CONDOMINIUM UNIT 50, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 1111 1001 1 1000					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101712	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	ψ10.21
50-22-03-383-051		0.10	\$960.61	\$96.06	DATE PAID					
JANET L DALY		UNIT	φοσο.σ.	φοσ.σσ	D7(1217(10					
0,11,12, 2,2,12,	CONDOMINIUM PLAN NO 687 SOUTH	0.4.1			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 51	POINTE CONDOMINIUM UNIT 51, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 101 1 1000	2 11 100 1 200 0 00 1 11 0 100				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ10.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
50-22-03-383-052		0.10	\$960.61	\$96.06	DATE PAID					
HSBC BANK USA		UNIT	φοσο.σ.	φοσ.σσ	D7(1217(10					
7.020 27.11.11.007.1	CONDOMINIUM PLAN NO 687 SOUTH	O T T T			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 52	POINTE CONDOMINIUM UNIT 52, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
12650 INGENUITY DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
ORLANDO FL 32826-2703					101712	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	ψ10.21
50-22-03-383-053		0.10	\$960.61	\$96.06	DATE PAID					
BARBARA SHANAHAN		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH	0.4			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 53	POINTE CONDOMINIUM UNIT 53, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4528 LYNNE LANE					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TWP MI 48382					101712	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	ψ10.21
50-22-03-383-054		0.10	\$960.61	\$96.06	DATE PAID					İ
EMMET HANNON		UNIT	4000.01	\$55.00	27.1.217.10					
MARILYN HANNON	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 54	POINTE CONDOMINIUM UNIT 54. BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					. 5 17 12	ψ.υ.= ι	ψ.J.Σ.	Ţ.J.Z.	ψ.J.Σ.	Ţ.O.Z.
50-22-03-383-055		0.10	\$960.61	\$96.06	DATE PAID					İ
CATHERINE BOHDAN		UNIT	,	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
D DURER				ii .	,, ,	400.00	-	· ·	<u> </u>	· ·
D DORER 1155 S LAKE DR LINIT 55					PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	S14 71
1155 S LAKE DR UNIT 55	POINTE CONDOMINIUM UNIT 55, BLDG B				PRINCIPAL	\$19.21 \$0.00	\$19.21	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
					PRINCIPAL INTEREST TOTAL	\$19.21 \$0.00 \$19.21	\$19.21 \$0.00 \$19.21	\$19.21 \$0.00 \$19.21	\$19.21 \$0.00 \$19.21	\$19.21 \$0.00 \$19.21

6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
					ŀ	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	-	1ST	2ND	3RD	4TH	5TH
50-22-03-383-056		0.10	\$960.61	\$96.06	DATE PAID					
DELORES SHEEDY		UNIT	*	, , , , , ,						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 56	POINTE CONDOMINIUM UNIT 56, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						ψ.σ.Ξ.	ψ.σ.Σ.	ψ.σ.Σ.	ψ.σ. <u>z</u> .	ψ.σ. <u>Σ</u> .
50-22-03-383-057		0.10	\$960.61	\$96.06	DATE PAID					
BEVERLY SPIESER		UNIT		,						
C/O MATTHEW DELEZENNE	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR # 57	POINTE CONDOMINIUM UNIT 57, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9290 FLORIDA ST					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
LIVONIA MI 48150						* -	* -			
50-22-03-383-058		0.10	\$960.61	\$96.06	DATE PAID					
JANE WILMOT		UNIT		· ·						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 58	POINTE CONDOMINIUM UNIT 58, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1850	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					-					
50-22-03-383-059		0.10	\$960.61	\$96.06	DATE PAID					
JEFFREY WERNER		UNIT			-					
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 59	POINTE CONDOMINIUM UNIT 59, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 171					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BLOOMFIELD HILLS MI 48303										
50-22-03-383-060		0.10	\$960.61	\$96.06	DATE PAID					
LILLIAN D MYERS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 60	POINTE CONDOMINIUM UNIT 60, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-061		0.10	\$960.61	\$96.06	DATE PAID					
RANDY A FLAGG		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 61	POINTE CONDOMINIUM UNIT 61, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-062		0.10	\$960.61	\$96.06	DATE PAID					
NICHOLAS COSENTINO	CONDOMNIUM DI COMO COTO CONTENT	UNIT				A a a a a a	A=c		***	0.0 - :
KATHERINE COSENTINO	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR # 62	POINTE CONDOMINIUM UNIT 62, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22068 MERIDIAN LN					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48375		0.40	\$060.04	\$00.00	DATE DAID					
50-22-03-383-063		0.10	\$960.61	\$96.06	DATE PAID					
GLORIA DOWLING	CONDOMINIUM DI AN NO 607 SOUTU	UNIT			DALANCE	#00.00	Ф70 OF	ФEZ 0.4	COC 40	C40.04
AASS OLAKS DD LINIT CO	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 63	POINTE CONDOMINIUM UNIT 63, BLDG B L 11495 P 288 8-6-90 FR 378-005				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11490 F 200 0-0-90 FK 3/8-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
	1								<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll l	NSTALLMEN ⁻	TS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-064		0.10	\$960.61	\$96.06	DATE PAID					
MARSHA REDNER		UNIT		****						
-	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 64	POINTE CONDOMINIUM UNIT 64, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						*	¥ 101=1	*	V 101	¥101=1
50-22-03-383-065		0.10	\$960.61	\$96.06	DATE PAID					
JOAN PILLON		UNIT		****						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 65	POINTE CONDOMINIUM UNIT 65, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
							7.5.	¥ . 5	,	¥ : :
50-22-03-383-066		0.10	\$960.61	\$96.06	DATE PAID					
CAROLYN MCNEILLY		UNIT		****						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 66	POINTE CONDOMINIUM UNIT 66, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						*	¥ 101=1	*	V 101	¥101=1
50-22-03-383-067		0.10	\$960.61	\$96.06	DATE PAID					
JOHN MANEY		UNIT	*******	400.00						
THERES CALLAN	CONDOMINIUM PLAN NO 687 SOUTH	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 67	POINTE CONDOMINIUM UNIT 67, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 100 11 100 1					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101712	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	ψ10. 2 1
50-22-03-383-068		0.10	\$960.61	\$96.06	DATE PAID					
RUNYON, VIRGINIA LEE, TRUST		UNIT	ψοσοισ.	ψοσ.σσ	5711217112					
,	CONDOMINIUM PLAN NO 687 SOUTH	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR # 68	POINTE CONDOMINIUM UNIT 68, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						*	¥ 101=1	*	V 101	¥101=1
50-22-03-383-069		0.10	\$960.61	\$96.06	DATE PAID					
MARIA TATARELLI		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 69	POINTE CONDOMINIUM UNIT 69, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
										·
50-22-03-383-070		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL ROY		UNIT	•							
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 70	POINTE CONDOMINIUM UNIT 70, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-383-071		0.10	\$960.61	\$96.06	DATE PAID					
ARTHUR ZELINSKY		UNIT								
DOLORES ZELINSKY	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 71	POINTE CONDOMINIUM UNIT 71, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						+ · · · · ·	+ · · · · ·	7:	+	
		1		JL	JI		1	1	1	1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-072 IRA FISHER		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 687 SOUTH				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
1155 S LAKE DR UNIT 72	POINTE CONDOMINIUM UNIT 72, BLDG B				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NOVI MI 48377-1851	L 11495 P 288 8-6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
50-22-03-401-003 C J & ASSOC., INC.		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
		0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 130					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
HIGHLAND MI 48357						•				
50-22-03-401-004 C J & ASSOC., INC.		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
, ,	0110507100010 0501 47 051 070 440				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 130 HIGHLAND MI 48357					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-401-006		1.00	\$960.61	\$960.61	DATE PAID					
DOUGLAS HEATH	011757110071075714707147	UNIT								
ELIZABETH HEATH	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOTS 9 &				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	10 2-10-93 FR 001 & 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
905 S LAKE DR NOVI MI 48377-1815					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-402-001		1.00	\$960.61	\$960.61	DATE PAID					
ANN FORD		UNIT								
C/O KYLE FORD	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 13				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	140 & 144 OF IDELMERE I /IRREOT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
31106 LAGOON NOVI MI 48377					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-402-002		1.00	\$960.61	\$960.61	DATE PAID					
ANDREW VAUGHN		UNIT			BALANCE	\$060.04	\$760.40	ΦΕ 7 0 07	¢204.04	¢400.40
	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	143 & 144 OF IDLEMERE PARK LOT 14				INTEREST	\$0.00	\$192.12	\$0.00	\$0.00	\$192.12
811 SOUTH LAKE DRIVE					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377					IOIAL	ψ132.12	Ψ132.12	Ψ132.12	Ψ102.12	ψ102.12
50-22-03-402-003		1.00	\$960.61	\$960.61	DATE PAID					
MARSHALL L KLEIN		UNIT	ψοσο.σι	Ψ000.01	5,21,,				1	
	0115551100510555145051555	•			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 15				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6960 ORCHARD LAKE RD STE 305					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WEST BLOOMFIELD MI 48322-4527										
50-22-03-403-001		1.00	\$960.61	\$960.61	DATE PAID					
ARNOLD FISHER		UNIT				-				
LORRAINE FISHER	SUPERVISOR'S REPLAT OF LOTS 142.				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 16				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	145 & 144 OF IDLEWERE PARK LOT 16				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7207 CREEKS BEND DR WEST BLOOMFIELD MI 48322-3525					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12

67 d 175

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-404-005	PART OF SW FRC 1/4 BEG AT PT S 83-53-	1.00	\$960.61	\$960.61	DATE PAID					
STEPHEN XANTHEAS	00 E 10 FT FROM NW COR LOT 92	UNIT								
SOPHIA XANTHEAS	'IDLEMERE PARK', TH N 91.8 FT TO S				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SHORE WALLED LAKE, TH S 86-15-00 E				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	90 FT, TH S 94.5 FT, TH N 83-53-00 W 90				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5965 CAMPUS DR	FT TO BEG EXC 35 FT R/W FOR STREET				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
DEARBORN HEIGHTS MI 48127-2549	0.12 A MN53					-				
50-22-03-404-006		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT WALING		UNIT								
KIMBERLY WALING	OUDED VIOLENCE DEDUCT OF LOTO 440				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 23				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
727 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1960						•			, .	
50-22-03-404-007		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM D KRAUS		UNIT	******	***************************************						
BARBARA D KRAUS	01100014000140001400144				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 24				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
701 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1960						ψ.υzz	ψ.02.12	ψ.02.12	ψ.ισ <u>Σ</u> .ι. <u>Σ</u>	ψ.ο <u>Σ</u> Σ
50-22-03-404-009		1.00	\$960.61	\$960.61	DATE PAID					
HALINA NAPIERALA		UNIT	******	***************************************						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5720 GLEN EAGLES DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WEST BLOOMFIELD MI 48323-2202						ψ.υzz	ψ.02.12	ψ.02.12	ψ.ισ <u>Σ</u> .ι. <u>Σ</u>	ψ.ο <u>Σ</u> Σ
50-22-03-404-010		1.00	\$960.61	\$960.61	DATE PAID					
RICHARD HOENLE		UNIT	*	*****						
RUTH HOENLE	01175711100710757147051070440				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
110111110=11=1	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 21				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
721 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1960						•			, .	
50-22-03-404-011		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT WALING		UNIT								
KIMBERLY WALING	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
_	143 & 144 OF IDLEMERE PARK LOTS 17 &	.			PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	18 02/02/84 FR001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
727 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1960										
50-22-03-404-012		1.00	\$960.61	\$960.61	DATE PAID					
GREGORY KERR		UNIT				·	1	1		
	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 19				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	02/02/84 FR001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
39823 WOODSIDE					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NORTHVILLE MI 48168										
50-22-03-404-013		1.00	\$960.61	\$960.61	DATE PAID					
KOPY LUCAS		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
717 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1960		<u> </u>								
				•						

6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-405-001 LISA M ASHER		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
LIOA III AGIILIX		OIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S REPLAT OF LOTS 142,				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 25				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
623 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1959								·		
50-22-03-405-008		1.00	\$960.61	\$960.61	DATE PAID					
GREGORY ISZLER		UNIT								
ELIZABETH ISZLER	SUPERVISOR'S REPLAT OF LOTS 142,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	143 & 144 OF IDLEMERE PARK LOT 26 &				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	W 1/2 OF LOT 27				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
621 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1959										1
50-22-03-451-004		0.20	\$960.61	\$192.12	DATE PAID					
DERRICK M KYSER		UNIT								
CIESIELSK KYSER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
901 S LAKE DR	IDLEMERE PARK LOT 19				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1815					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.00.454.005		0.00	# 000 04	0100.10	DATE DAID					1
50-22-03-451-005		0.20	\$960.61	\$192.12	DATE PAID					
MARC R KENNEDY		UNIT			DALANCE	# 100.10	0.450.70	0445.07	#70.05	000.40
400 MALIBURI OT	IDLEMERE PARK LOT 20, ALSO 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
108 MAUDLIN ST	VAC LILAC CT ADJ TO SAME				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-451-006		0.20	\$960.61	\$192.12	DATE PAID					+
MICHAEL HAYNES		UNIT	ψ300.01	Ψ132.12	DATETAID					+
KE CARUSS					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
112 MAUDLIN ST	IDLEMERE PARK LOTS 21 & 22, ALSO 1/2				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1843	OF VAC LILAC CT ADJ TO SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						7	7.00	¥55	Ţ	7.55
50-22-03-451-007		0.20	\$960.61	\$192.12	DATE PAID					
PAUL WINDEL		UNIT	·	·						1
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
914 LEMAY ST	IDLEMERE PARK LOT 30				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1841					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
										1
50-22-03-451-008		0.00	\$960.61	\$0.00	DATE PAID					1
CLAMENCE SHAYA ROSE FADEL		UNIT								1
	IDI EMEDE DADIK OMUN OKO OE LOT CO				BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	IDLEMERE PARK SWLY 2/3 OF LOT 29				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
ACES MADINED DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1653 MARINER DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3658 50-22-03-451-009	+	0.20	\$960.61	\$192.12	DATE PAID					+
50-22-03-451-009 ROBERTA A WENDT		UNIT	1 0.006¢	\$19Z.1Z	DATE PAID					+
NODENTA A WENUT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
118 MAUDLIN ST	IDLEMERE PARK LOTS 23 & 24, ALSO				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1843	NELY 1/3 OF LOT 29				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1939 WEST LAKE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1343					IOIAL	ψ00.72	ψ00.72	ψου.τ2	ψου.τ2	ψ00.72
INO VI IVII TOOT I - IOTO	L	I		IL			1	1	1	1

623/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-451-010		0.00	\$960.61	\$0.00	DATE PAID					
MICHAEL HOBBS		UNIT								
					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	IDLEMERE PARK LOT 25				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
884 GLENGARY RD					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-1439		0.20	COCO C4	£400.40	DATE DAID					
50-22-03-451-011 MICHAEL HOBBS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
WICHAEL HOBBS		OINIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
128 MAUDLIN ST	IDLEMERE PARK LOT 26				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1843	IBEEMERE 1744 EST 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
884 GLENGARY RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-1439						*******	4 00	¥ 5 5 1 1 E	¥0011	7001.
50-22-03-451-012		0.20	\$960.61	\$192.12	DATE PAID					
CLEMENCE SHAYA ROSE FADEL		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
130 MAUDLIN ST	IDLEMERE PARK LOT 27				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1653 MARINER DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3658				_						
50-22-03-451-013		0.20	\$960.61	\$192.12	DATE PAID					
TED L MARCH		UNIT			DALANOE	£400.40	#450.70	₾445.07	Ф 7 0.05	#00.40
400 MALIBUIN OT	IDLEMERE PARK LOT 28				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
132 MAUDLIN ST	IDLEMERE PARK LOT 28				PRINCIPAL	\$38.42	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42
NOVI MI 48377-1843 18416 CLAIRMONT CIR E					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$38.42	\$38.42	\$0.00 \$38.42
NORTHVILLE MI 48168-8534					IOIAL	Φ30.42	ψ30.42	φ30.42	φ30.4Z	ψ30.42
50-22-03-452-007		0.20	\$960.61	\$192.12	DATE PAID		1			
RICHARD JOSEPHSON		UNIT	φ500.01	Ψ132.12	DATE TAID					
	IDLEMERE PARK LOTS 68 & 69, ALSO 1/2	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
163 MAUDLIN ST	OF VAC MAUDLIN DR ADJ TO SAME				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1846	DESC AS BEG AT NE COR OF LOT 68				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-452-008		0.20	\$960.61	\$192.12	DATE PAID					
LAWRENCE E WESSON		UNIT								
	IDLEMERE PARK LOTS 72, 73 & 74, ALSO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
305 MAUDLIN ST	1/2 OF VAC MAUDLIN DR ADJ TO SAME				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1820	11-13-01 FR 001 & 006				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					IOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-452-009		0.20	\$960.61	\$192.12	DATE PAID		 			
DON BOJOVIC		UNIT	ψυσυ.σι	Ψ102.12	DATE I AID					
DUSTA BOJOVIC	IDI EMEDE DADIKI OTO TO O TA O OO OO	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
185 MAUDLIN ST	IDLEMERE PARK LOTS 70 & 71 3-22-02 FR	 			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1846	002 & 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4184 CHRIS DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
STERLING HEIGHTS MI 48310-4594										
50-22-03-453-005		0.20	\$960.61	\$192.12	DATE PAID					
JASON E DAVY		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
109 MAUDLIN ST	IDLEMERE PARK LOT 40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
								1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-453-006		0.20	\$960.61	\$192.12	DATE PAID					
TUTTLE FAMILY, LLC		UNIT								
ROLLIN J TUTTLE JR					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
115 MAUDLIN ST	IDLEMERE PARK LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11589 HILLCREST BLVD NE					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
KALKASKA MI 49646-9080										
50-22-03-453-007		0.20	\$960.61	\$192.12	DATE PAID					
NANCY J SIMMONS		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
117 MAUDLIN ST	IDLEMERE PARK LOT 42				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-453-008		0.20	\$960.61	\$192.12	DATE PAID					
OUELLETTE, MICHAEL J TRUST		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
119 MAUDLIN ST	IDLEMERE PARK LOT 43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2664 PALOMAS DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-2054										
50-22-03-453-009		0.20	\$960.61	\$192.12	DATE PAID					
LARRY LEO		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
121 MAUDLIN ST	IDLEMERE PARK LOT 44				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
724 IRVIN ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
PLYMOUTH MI 48170-1168						-				
50-22-03-453-010		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES OBER		UNIT								
	IDLEMERE PARK LOT 45, ALSO 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
123 MAUDLIN ST	VAC IVYLEAF WALK ADJ TO SAME 6-30-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845	00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-453-011		0.20	\$960.61	\$192.12	DATE PAID					
JASON FERN		UNIT								
	IDLEMERE PARK LOT 46, ALSO 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	VAC IVYLEAF WALK ADJ TO SAME 6-30-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9690 VALENCIA DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
BRIGHTON MI 48114-8823										
50-22-03-453-016		0.20	\$960.61	\$192.12	DATE PAID					
ARNOLD FISHER		UNIT					1	1	1	
LORRAINE FISHER	IDLEMERE PARK ALL OF BOTANY BAY &				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	THAT PART OF WOODBINE LAKE LYING				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	W OF LINE DRAWN FROM SW COR OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7207 CREEKS BEND DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WEST BLOOMFIELD MI 48322-3525										
50-22-03-453-017		0.20	\$960.61	\$192.12	DATE PAID					
CHARLIE GATT		UNIT					1	1	1	
SHERYL GATT					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
					DDINCIDAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	IDLEMERE PARK LOT 104				PRINCIPAL	ψ30. 4 2	Ψ00.∓2		ψ00. 4 2	Ψ00.42
	IDLEMERE PARK LOT 104				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
135 OWENTON ST	IDLEMERE PARK LOT 104				_ I				· · · · · · · · · · · · · · · · · · ·	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll .	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-453-018		0.00	\$960.61	\$0.00	DATE PAID					
CHARLIE GATT		UNIT			5		•		•	
SHERYL GATT	IDI EMEDE DADIK I OTO 405 8 400				BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
135 OWENTON ST	IDLEMERE PARK LOTS 105 & 106				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI MI 48377-1963					INTEREST TOTAL	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
					TOTAL	φυ.υυ	\$0.00	φυ.υυ	\$0.00	\$0.00
50-22-03-453-019		0.20	\$960.61	\$192.12	DATE PAID					
JAMES BENEDICT	IDLEMERE PARK ALL THAT PART OF	UNIT								
	WOODBINE LAKE & GOLDENROD BAY				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	LYING E OF LINE DRAWN FROM SW COR				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
DO DOV 000	LOT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 336 ALLEN PARK MI 48101-0336					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-453-020		0.20	\$960.61	\$192.12	DATE PAID					
PALMA WEAVER		UNIT	φ900.01	\$192.12	DATE PAID					
77(200) (772) (72)		O. W.			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
206 BERNSTADT ST	IDLEMERE PARK LOTS 107 & 108				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1917					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
30790 BURLINGTON					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WESTLAND MI 48186										
50-22-03-453-021		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL J LINK		UNIT								
LEANNE M H	IDI EMEDE DADIK I OTO 100 8 110				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
210 BERNSTADT ST	IDLEMERE PARK LOTS 109 & 110				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1917					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	φ30.42	φ30.42	ψ30.4Z	φ30.42	φ36.42
50-22-03-453-022		0.20	\$960.61	\$192.12	DATE PAID					
HAMILTON, GLENDA A, TRUST		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
236 BERNSTADT ST	IDLEMERE PARK LOTS 111, 112 & 113				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1917					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-453-023		0.20	\$960.61	\$192.12	DATE PAID					
ROBERT MANTINAN		UNIT	*******	******						
STANLEY SULLIVAN	IDLEMERE PARK LOTS 47 & 48 5-10-93 FR	,			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
133 MAUDLIN ST	012 & 013				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845	0.2 0.10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-453-024		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL HILLEY		UNIT	10.006	ψ132.12	DATERAID		1	1		
RU SHOUPE	IDLEMERE PARK LOTS 49, 50 & 51, ALSO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 MAUDLIN ST	1/2 OF VAC MAUDLIN DR ADJ TO SAME				PRINCIPAL		\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1845	DESC AS BEG AT SW COR OF LO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
F0 00 00 454 040		0.00	# 000 04	# 0.00	DATE DAIL					
50-22-03-454-012 KOPY LUCAS		0.00 UNIT	\$960.61	\$0.00	DATE PAID		1	1		
NOF I LUCAS	IDLEMERE PARK PART OF LOTS 98 & 99	UNII			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	BEG AT SE COR LOT 99. TH N 58-38-00 W				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	40 FT, TH N 07-58-00 E 53				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
						Ψ0.00	Ψ0.00	Ψ0.00	Ψ0.00	ψ0.00
717 SOUTH LAKE DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			l!	NSTALLMEN	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-454-013		0.20	\$960.61	\$192.12	DATE PAID					
JOSEPH KLECHA		UNIT								
	IDLEMERE PARK LOTS 94, 95 & 96 EXC S				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
114 BERNSTADT ST	40 FT OF EACH, ALSO ALL OF LOT 97				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1915	1011 01 27011,71200 7122 01 201 07				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-454-014		0.20	\$960.61	\$192.12	DATE PAID					
HSBC BANK USA		UNIT			DAI ANOE	# 100.10	0450 70	0.1.15.07	#70.05	000.40
	IDLEMERE PARK S 40 FT OF LOTS 94, 95				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
118 BERNSTADT ST	& 96				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1915 PO BOX 8300					INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					IOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
FORT WASHINGTON PA 19034-8300		0.00	COCO C4	£400.40	DATE DAID					
50-22-03-455-005 KEVIN BATES		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
RENEE BATES		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
113 BERNSTADT ST	IDLEMERE PARK LOT 122				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1916	IDELWERE I ARREOT 122				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 40377-1310					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψ00.42
50-22-03-455-006		0.20	\$960.61	\$192.12	DATE PAID					
THELMA NAPIER		UNIT	φοσο.σ ι	Ψ102.12	D7(1217(10					
77727777777		Ortir			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
117 BERNSTADT ST	IDLEMERE PARK LOTS 120 & 121				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1916					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						*	,	•		*
50-22-03-456-001		0.20	\$960.61	\$192.12	DATE PAID					
RAYMOND C HOYER		UNIT	·							
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
203 BERNSTADT ST	IDLEMERE PARK LOT 119				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1918					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-456-002		0.20	\$960.61	\$192.12	DATE PAID					
MARTHA L HOYER		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	IDLEMERE PARK LOTS 117 & 118				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
000 DEDNOTADT CT					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
203 BERNSTADT ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1918		0.00	#000 04	£400.40	DATE DAID		-			-
50-22-03-456-003		0.20	\$960.61	\$192.12	DATE PAID		+			+
RICHARD STOPINSKI		UNIT			DALANCE	¢400.40	¢450.70	¢445.07	¢76.05	f20.40
222 DEDNISTADT CT	IDLEMERE PARK LOTS 115 & 116				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70	\$115.27 \$38.42	\$76.85	\$38.42
233 BERNSTADT ST NOVI MI 48377-1918	IDLEIVIERE FARK LUIS 113 & 116				INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00
350 CHARLEVOIX					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
COMMERCE TOWNSHIP MI 48382-					IOIAL	ψ50.42	ψ50.42	ψυυ.42	ψυυ.42	ψ50.42
50-22-03-456-004		0.20	\$960.61	\$192.12	DATE PAID					
RICHARD STOPINSKI		UNIT	ψουυ.υ ι	Ψ132.12	DATERAID					
INSTITUTE OF STREET		51411			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	IDLEMERE PARK LOT 114				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
350 CHARLEVOIX					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
COMMERCE TOWNSHIP MI 48382-					. = ., .=	+	Ţ.J <u>_</u>	7.3	Ţ-J <u>-</u>	, <u></u>
	•			n.						

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN	ISTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-476-003		1.00	\$960.61	\$960.61	DATE PAID					
JOHN THOMOPOULOS		UNIT								
MAUREEN R ZACK					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
425 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1957		4.00	# 000 04	# 000 04	DATE DAID					
50-22-03-476-004 GARY E ZACK		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MAUREEN R ZACK		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
WAUKEEN K ZACK	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	See Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
359 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1950					TOTAL	Ψ132.12	Ψ132.12	ψ132.12	Ψ132.12	Ψ132.12
50-22-03-476-005		1.00	\$960.61	\$960.61	DATE PAID					
JOHN DUNESKE		UNIT	φοσοίο.	φοσοιο.	2711217112					
DONNA DUNESKE					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	·				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
357 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1950										
50-22-03-476-006		1.00	\$960.61	\$960.61	DATE PAID					
RANDY STEPHENSON		UNIT								
JANE STEPHENSON	WALLED LAKE SHORES NWLY 20 FT OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LOT 30, ALL OF LOT 31 & NWLY 20 FT OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	LOT 32				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3970 VAN AMBERG RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
BRIGHTON MI 48114-9254		4.50	# 000 04	£4.440.00	DATE DAID					
50-22-03-476-007 ROBERT THOMPSON		1.50 UNIT	\$960.61	\$1,440.92	DATE PAID					
JUDY THOMPSON		UNIT			BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
JODY THOMPSON	WALLED LAKE SHORES LOT 32 EXC				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
	NWLY 20 FT & ALL OF LOTS 33 & 34				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
327 SOUTH LAKE DR					TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1950						Ψ200110	Ψ2000	Ψ200110	Ψ200.10	\$2000
50-22-03-476-008		1.00	\$960.61	\$960.61	DATE PAID					
RONALD JOHNSTON		UNIT		·						
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WALLED LAKE SHORES LOT 35				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
325 SOUTH LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1950		4.00	# 000 04	#000 04	DATE DATE		1			
50-22-03-476-009		1.00	\$960.61	\$960.61	DATE PAID					
ROBERT CZARNECKI		UNIT			BALANCE	\$060.64	\$760 AC	\$ 576.07	\$204.24	¢102.12
CHRISTIN CZARNECKI	WALLED LAKE SHORES LOT 36				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	WALLED LAILE GHOILES LOT 30				INTEREST	\$0.00	\$192.12	\$0.00	\$192.12	\$192.12
323 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1950					101/1	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
50-22-03-476-013		1.00	\$960.61	\$960.61	DATE PAID					
EMIL KACZMAR		UNIT	+5.0 .	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
HELEN KACZMAR					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WALLED LAKE SHORES LOT 39				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
415 LANGE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
TROY MI 48098-4672										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-476-017		1.00	\$960.61	\$960.61	DATE PAID					
THOMAS R PEMBROKE		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WALLED LAKE SHORES LOT 43				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1414 BAYWOOD CIR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
BRIGHTON MI 48116-6777										
50-22-03-476-022	WALLED LAKE SHORES LOT 40, ALSO	1.00	\$960.61	\$960.61	DATE PAID					
GODLEWSKI, FELIX TRUST	PART OF E 1/2 OF SE FRC 1/4 BEG AT NE	UNIT			5444405	*****	^-	^	****	0.00.10
000 01 41/5 PP	COR OF LOT 39 OF SD 'SUB', TH S 79 FT,				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
302 S LAKE DR	TH S 43-20-00 E 40.40 FT, TH N 88 FT, TH				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1949	WLY ALG SHORE OF WALLED LAKE TO				INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
	BEG 2-12-96 FR 014 & 015				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
50-22-03-476-024		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM BORDEN		UNIT	φ900.01	φ900.01	DATE FAID					
IRENE ARPA		OIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
IKENE AKPA	WALLED LAKE SHORES LOTS 37 & 38 9-				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	17-01 FR 011 & 012				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
313 S LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1950					TOTAL	ψ132.12	Ψ132.12	ψ132.12	ψ132.12	Ψ132.12
50-22-03-477-005		1.00	\$960.61	\$960.61	DATE PAID					
JOHN PISHA		UNIT	ψ500.01	ψ500.01	DATETAID					
KAREN PISHA		O. W.			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
351 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-1950	3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						·		·	·	
50-22-03-477-006	PART OF E 1/2 OF SE 1/4 BEG AT NW	1.50	\$960.61	\$1,440.92	DATE PAID					
DEAN R WALDRUP	COR OF LOT 30 'WALLED LAKE SHORES',	UNIT								
MARY E WALDRUP	TH S 22-02-00 W 639 FT, TH N 45-43-00 W				BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
339 S LAKE DR	200 FT, TH N 22-02-00 E 724 FT TO SLY				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
NOVI MI 48377-1950	SHORE WALLED LAKE, TH SELY ALG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	SHORE 200 FT, TH S 22-02-00 W 85 FT TO				TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
	BEG 3.10 A MN59									
50-22-03-481-007		0.20	\$960.61	\$192.12	DATE PAID					
KATRINA E BRYANT		UNIT								
	0 / 0 / 1 / 1 / 1 / 1				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
317 DUANA ST	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1976					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-03-481-011		0.20	\$960.61	\$192.12	DATE PAID				+	
HENRY GRUZWALSKI		UNIT	φ υ υυ.0 ι	क्। ५८. १८	DATE PAID				1	
SHILOFF GRUZWALSKI		CIVIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
307 DUANA ST	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1976	2007.00000013 Office for Logar Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
311 MADISON AVE					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
CLAWSON MI 48017-1974						ψυυ. 1 <u>L</u>	Ψ00.1 <u>L</u>	\$55.1E	Ψ00.1 <u>L</u>	¥55.12
50-22-03-481-016		0.20	\$960.61	\$192.12	DATE PAID				1	
SUMMIT RESULTS, LLC		UNIT	+	Ţ.J						
		- "-			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
315 DUANA ST	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1976					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
38421 HORTON DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
FARMINGTON HILLS MI 48331-2300		<u> </u>								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-483-006		0.20	\$960.61	\$192.12	DATE PAID					
DAVID DEMORE		UNIT								
	DD 477 0UD 4 07 40				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
119 CHARLOTTE DR	PRATT SUB LOT 43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1920					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
31471 CURTIS RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
LIVONIA MI 48152-3329 50-22-03-483-007		0.00	COCO C4	£400.40	DATE DAID					1
JOEL STREET		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
GRACE STREET		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
117 CHARLOTTE DR	PRATT SUB LOT 42				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1920	110111 005 201 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11011111111001111020					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101712	ψου. 12	φου. 12	ψ00.1 <u>2</u>	φοσ. 1 <u>2</u>	ψου. 1 <u>2</u>
50-22-04-429-001		0.20	\$960.61	\$192.12	DATE PAID					
JACOB B ANTON		UNIT	*****	, ,						
	BRISTOL CORNERS NORTH LOT 1 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30291 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FK 420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-002		0.20	\$960.61	\$192.12	DATE PAID					
JACOB B ANTON		UNIT							_	
	BRISTOL CORNERS NORTH LOT 2 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30291 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-003		0.20	\$960.61	\$192.12	DATE PAID					
STRAYHORN, ALICIA, TRUST		UNIT	ψ900.01	\$192.12	DATEFAID					
OTTATIONIN, ALIOIA, TROOT		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30309 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 3 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-004		0.20	\$960.61	\$192.12	DATE PAID					
NABIL BAHU		UNIT								
RANIA BAHU	BRISTOL CORNERS NORTH LOT 4 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30315 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50 22 04 420 00E		0.20	\$060.61	\$192.12	DATE DAID					
50-22-04-429-005 WILLARD H TU		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
WILLARD II TO		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30327 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 5 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						+··=	7.32	7.3.,2	Ţ.JZ	7
50-22-04-429-006		0.20	\$960.61	\$192.12	DATE PAID					
ATUL KALIA		UNIT								
GAYTRI KALIA	BRISTOL CORNERS NORTH LOT 6 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30333 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 1 13 420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			l!	NSTALLMEN	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-007		0.20	\$960.61	\$192.12	DATE PAID					
KEVIN MANUAL		UNIT								
KATHLEEN MANUAL	BRISTOL CORNERS NORTH LOT 7 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30339 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-008		0.20	\$960.61	\$192.12	DATE PAID					
MERFAT GALLOZI		UNIT	φ500.01	Ψ10Z.1Z	BATETAID					
	PRIOTOL CORNERO MORTILLOT O COF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30353 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 8 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-009		0.20	\$960.61	\$192.12	DATE PAID					
NAVEEN YERNENI		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30375 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 9 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 111 10077					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						• • • • • • • • • • • • • • • • • • • •	,	*	*	
50-22-04-429-010		0.20	\$960.61	\$192.12	DATE PAID					
PRIYA KULANDAIVELU		UNIT						-		
RAJMOH KULANDAIVELU	BRISTOL CORNERS NORTH LOT 10 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30387 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-011		0.20	\$960.61	\$192.12	DATE PAID					
RAKESH GAMPALA		UNIT	φοσοίο.	ψ.ο <u>Σ</u> <u>Σ</u>						
THOUTREDDY GAMPALA	BRISTOL CORNERS NORTH LOT 11 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
44451 BRISTOL CIR	03 FR 426-001 & 22-03-154-003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 1 1 420-00 1 & 22-03-134-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-012		0.20	\$960.61	\$192.12	DATE PAID					
JOHN HOLMES		UNIT	\$900.01	\$192.12	DATE FAID					
CYNTHIA HOLMES		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
44463 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 12 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-013		0.20	\$960.61	\$192.12	DATE PAID					
SINAN MONA PILLAR MONA		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
44475 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 13 6-25-				PRINCIPAL	\$38.42	\$155.70	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-014		0.20	\$960.61	\$192.12	DATE PAID					
SCOTT FRANE		UNIT					0.5		0=6	000 :-
KIMBERLY FRANE	BRISTOL CORNERS NORTH LOT 30 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30400 PENNINGTON LN	03 FR 426-001 & 22-03-154-003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψυυ.42	ψ50.42	ψ50.42	ψυυ.42	ψυυ.42
L		1		И	л		1	<u> </u>	<u> </u>	1

77 ol 175

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-015		0.20	\$960.61	\$192.12	DATE PAID					
ROSS SCHMITZ		UNIT								
KARIN SCHMITZ	BRISTOL CORNERS NORTH LOT 31 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30388 PENNINGTON LN	03 FR 426-001 & 22-03-154-003				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	00111 120 001 0 22 00 101 000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
F0 00 04 400 040		0.00	# 000 04	£400.40	DATE DAID					
50-22-04-429-016 TIRUMALA SURAPANENI		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
KIRAN SURAPANENI		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30376 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 32 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001 & 22-03-154-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 101 40377					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					I TOTAL	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψ00.42
50-22-04-429-017		0.20	\$960.61	\$192.12	DATE PAID					
WARREN WEBERMIN		UNIT			The state of the s					
ANDREA WEBERMIN	DDISTOL CODNEDS NODTILLOT 22 C 25				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30364 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 33 6-25- 03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-018		0.20	\$960.61	\$192.12	DATE PAID					
XIAOYI YANG		UNIT								
QINGHANG LI	BRISTOL CORNERS NORTH LOT 34 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30352 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50-22-04-429-019		0.20	\$960.61	\$192.12	DATE PAID					
DANIEL BROUSE		UNIT	φ960.61	\$192.12	DATE PAID					
MICHELLE BROUSE		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30340 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 35 6-25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 11 100 11					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						¥00111	700	700112	Ţ G G I I I	Ç G G T T T
50-22-04-429-020		0.20	\$960.61	\$192.12	DATE PAID					
JAMES SNOW		UNIT								
BRENDA SNOW	BRISTOL CORNERS NORTH LOT 36 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30328 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	00111120001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
50.00.04.400.004		0.00	# 000 04	Ø400.40	DATE DAIS					
50-22-04-429-021 DENNY MOYER		0.20	\$960.61	\$192.12	DATE PAID					-
BEVERLY MOYER		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30316 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 37 6-25-				PRINCIPAL	\$192.12	\$153.70	\$38.42	\$76.85	\$38.42
NOVI MI 48377	03 FR 426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 V 1 WII 4007 /					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						ψ00.1 <u>L</u>	400.12	400.12	\$55.1 <u>E</u>	¥33.12
50-22-04-429-022		0.20	\$960.61	\$192.12	DATE PAID					
DEBORAH MAJESKI		UNIT								
	PRICTOL CORNERS NORTH OT 22 2 2				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30304 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 38 6-25- 03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377	US FN 420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-023		0.20	\$960.61	\$192.12	DATE PAID					
JIDA AL NAMIR NOREEN		UNIT								
	BRISTOL CORNERS NORTH LOT 39 6-25-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
30292 PENNINGTON LN	03 FR 426-001				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-328-026		0.20	\$960.61	\$192.12	DATE PAID					
MARK KIDD		UNIT	φουσ.σ τ	Ψ102.12	DATETAID					
	DUIL IDOUGIO WALLED LAKE OUR LOT SO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
201 HALIFAX ST	PHILIPSKI'S WALLED LAKE SUB LOT 56				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3421	AND S 1/2 OF LOT 57				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-34-328-038		0.20	\$960.61	\$192.12	DATE PAID					
ALEXANDER ANDREW SZECKU		UNIT			DALANCE	£400.40	0450.70	£445.07	Ф 7 С ОБ	f20.40
	PHILIPSKI'S WALLED LAKE SUB LOT 44				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	PHILIPSKI'S WALLED LAKE SUB LOT 44				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
330 ROSEBUD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					TOTAL	ψ30.42	ψ30.42	ψ50.42	ψ50.42	Ψ30.42
0 92-17-34-328-039		0.20	\$960.61	\$192.12	DATE PAID					
ALEXANDER ANDREW SZECKU		UNIT	φοσοίο.	\$102112						
	PHILIPSKI'S WALLED LAKE SUB LOTS 42				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
330 ROSEBUD ST	& 43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	ά 43				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
				A						
0 92-17-34-328-047		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL RZEPKA		UNIT			DALANCE	£400.40	£450.70	£445.07	Ф 7 С ОБ	¢20.40
JULIE A DORAN-RZEPKA 247 ROSEBUD CT	PHILIPSKI'S WALLED LAKE SUB LOT 33				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3447	FINEIPORIO WALLED LAKE SOB LOT 33				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLES EXIVE IVII 40000 0447					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1017.2	ψου	ψου. : <u>-</u>	ψου	Ψ001.12	\$501.E
o 92-17-34-328-048		0.20	\$960.61	\$192.12	DATE PAID					
RICHARD MELNECHUK		UNIT								
	PHILIPSKI'S WALLED LAKE SUB NELY 33				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
235 ROSEBUD CT	FT LOT 34				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3447					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 02 47 24 220 000		0.20	COCO C4	£400.40	DATE DAID					
o 92-17-34-328-060 JOSEPH CURRAN		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
JOSEFII CONNAIN		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
232 ROSEBUD ST	PHILIPSKI'S WALLED LAKE SUB NWLY 37				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	FT OF LOT 37 & ALL OF LOT 38				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
47955 BREWSTER CT					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
PLYMOUTH MI 48170-3303										
o 92-17-34-328-061		0.20	\$960.61	\$192.12	DATE PAID					
HOSAM HNRI	PHILIPSKI'S WALLED LAKE SUB WLY	UNIT								
LINDA SABBAGH	PART OF LOT 36 MEAS 39.2 FT ON SWLY				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
226 ROSEBUD ST	LOT LINE & 51.55 FT ON NELY LOT LINE,				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	ALSO LOT 37 EXC NWLY 37 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19528 SHADYSIDE					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
LIVONIA MI 48152	1							<u> </u>		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-328-062 LOREN BADISH		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
ANGIE ROBBINS	PHILIPSKI'S WALLED LAKE SUB N 1/2 OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
215 HALIFAX ST	LOT 59. ALSO ALL OF LOT 60				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3421	EOT 33, ALGO ALL OF LOT 60				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-328-063 LOREN BADISH		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
ANGIE ROBBINS	PHILIPSKI'S WALLED LAKE SUB N 1/2 OF	OINIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
215 HALIFAX ST	LOT 57, ALL OF LOT 58, ALSO S 1/2 OF				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3421	LOT 59				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-328-070		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
DARRYL YOUNG		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
153 HALIFAX ST	PHILIPSKI'S WALLED LAKE SUB LOTS 54				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3419	& 55				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
8756 COLUMBIA CIR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
CANTON MI 48187		0.40	#000 04	#00.00	DATE DAID					
o 92-17-34-328-071 DAVID TUTTLE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
37772	OAKLAND COUNTY CONDOMINIUM PLAN	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
152 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 1, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	300 12-10-00 110 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-072		0.10	\$960.61	\$96.06	DATE PAID					
SECRETARY OF HOUSING & URBAN DE	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT	*****	,						
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
150 LADD	CONDOMINIUM UNIT 2, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5312 BOLSA AVE STE 200 HUNTINGTON BEACH CA 92646					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-073		0.10	\$960.61	\$96.06	DATE PAID					
SEAN DICK	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
154 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 3, BLDG A L 9672 P				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-074		0.10	\$960.61	\$06.06	DATE PAID					
PHYLLIS WAMPLER	CAKLAND COUNTY CONDOMINIUMA DI ANI	0.10 UNIT	φ 3 00.01	\$96.06	DATE PAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
148 LADD	CONDOMINIUM UNIT 4, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2163 HARTWICK HWY LINCOLN PARK MI 48146-2546					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
0 92-17-34-328-075		0.10	\$960.61	\$96.06	DATE PAID					
KAREN R. BERGER	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			DALANCE	#00.00	#70.05	ΦE7.04	#00.40	# 40.04
4501 ADD	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
156 LADD WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 5, BLDG A L 9672 P				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21	\$19.21	\$19.21	\$19.21 \$0.00
VVALLED LANE IVII 4009U-0000	560 12-10-86 FR 069				TOTAL	\$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$19.21
					TOTAL	Ψ13.Δ1	Ψ13.Δ1	Ψ13.Δ1	Ψισ.Δι	Ψ13.21
l				п	nl		l .	l .	l .	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-328-076		0.10	\$960.61	\$96.06	DATE PAID					
KELLY NAMEL	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
146 LADD	CONDOMINIUM UNIT 6, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 000 077	T	0.40	# 000 04	400.00	DATE DAID					<u> </u>
0 92-17-34-328-077		0.10	\$960.61	\$96.06	DATE PAID					
MRTG ELECT REGISTRATION SYSTEMS	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
158 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 7, BLDG A L 9672 P				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1001 SEMMES AVE	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
RICHMOND VA 23224-2245					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
o 92-17-34-328-078		0.10	\$960.61	\$96.06	DATE PAID					
ERIN ZOFCHAK		LINIT	ψοσοίο.	ψου.σο						
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
144 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 8, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	300 12-10-00 FK 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-079		0.10	\$960.61	\$96.06	DATE PAID					
RYAN CRONIN	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
160 LADD	CONDOMINIUM UNIT 9, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-080		0.10	\$960.61	\$96.06	DATE PAID					
ABBIE LETVIN		UNIT	\$900.01	\$90.00	DATE PAID					
ADDIE LE I VIIV	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
142 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 10, BLDG A L 9672 P				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/1222 2/1/12 WII 10000 0000	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1017.2	ψ.σ. <u></u>	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	ψ10.21	ψ.σ. <u>Σ</u> .
o 92-17-34-328-081		0.10	\$960.61	\$96.06	DATE PAID					
SUSAN M SLATE	CARLAND COUNTY CONDOMINIUM DUAN	UNIT		·						
	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
162 LADD	CONDOMINIUM UNIT 11, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	000 12 10 00 111 000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		2.12		***	5.455 5.45					
0 92-17-34-328-082		0.10	\$960.61	\$96.06	DATE PAID					
HAROLD JONES	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			BALANCE P	¢06.06	\$76.0E	\$ E7.64	\$20.42	£10.21
1401 ADD	NO 477 LAKESIDE TOWNHOUSE				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85	\$57.64	\$38.42	\$19.21 \$10.21
140 LADD WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 12, BLDG A L 9672 P	1			INTEREST	\$19.21	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE IVII 46390-3333	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					ISIAL	Ψ10.21	Ψ10.21	Ψ13.21	Ψ13.21	Ψ10.21
o 92-17-34-328-083		0.10	\$960.61	\$96.06	DATE PAID					
ERIC A WRIGHT	CALCLAND COLINITY CONTROL III III II II II	LINIT	+3.0.	7.0.00						
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
164 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 13, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23679 LYON RIDGE DR	300 12-10-80 FK 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
SOUTH LYON MI 48178										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-328-084		0.10	\$960.61	\$96.06	DATE PAID					
NANCY L. BROWN	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
138 LADD	CONDOMINIUM UNIT 14, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-085		0.10	\$960.61	\$96.06	DATE PAID					
LAURA CERVI		LINIT	ψ500.01	ψ50.00	D/(ILI/(ID					
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
166 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 15, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	300 12-10-80 FR 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-086		0.10	\$960.61	\$96.06	DATE PAID					
CALVIN DABISH	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT				***	^=	^	000.10	010.01
1001.150	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
136 LADD	CONDOMINIUM UNIT 16, BLDG A L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390 7495 FINNEGAN DR	560 12-10-86 FR 069				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
WEST BLOOMFIELD MI 48322					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-087		0.10	\$960.61	\$96.06	DATE PAID					
JENNIFER GOSTOMSKI		LINIT	φοσοίο:	φου.σο	D/(1217(10)					
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
123 HALIFAX	NO 477 LAKESIDE TOWNHOUSE CONDOMINIUM UNIT 17. BLDG B L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3419	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	300 12-10-00 1 K 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-088		0.10	\$960.61	\$96.06	DATE PAID					
KAREN KOBINSKI	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
1011100	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
124 LADD WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 18, BLDG B L 9672 P				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE WII 46390-3333	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
o 92-17-34-328-089		0.10	\$960.61	\$96.06	DATE PAID					
CANDACE M PERRY	CALC AND COUNTY CONDOMINIUM DI ANI	LINIT	******	700.00						
	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
121 HALIFAX	CONDOMINIUM UNIT 19, BLDG B L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3419	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
22 47 24 222 222		0.40	#	400.00	DATE DAID					
o 92-17-34-328-090 DAVID TEUMER		0.10	\$960.61	\$96.06	DATE PAID					
DAVID TEUWER	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
122 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 20, BLDG B L 9672 P	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2575 S SYRACUSE WAY # G101	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
DENVER CO 80231						•			•	
o 92-17-34-328-091		0.10	\$960.61	\$96.06	DATE PAID					
JEFFREY DEFRANCE	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
119 HALIFAX	CONDOMINIUM UNIT 21, BLDG B L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

82 of 175 67232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-328-092		0.10	\$960.61	\$96.06	DATE PAID					
MIKE YOUSIF	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
120 LADD	CONDOMINIUM UNIT 22, BLDG B L 9672 P)			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4780 DAWNRIDGE					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WEST BLOOMFIELD MI 48324 o 92-17-34-328-093		0.10	\$960.61	\$96.06	DATE PAID					
NADINE NICHOLS		LINIT	φ900.01	\$90.00	DATE PAID					
NADINE NICHOES	OAKLAND COUNTY CONDOMINIUM PLAN	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
117 HALIFAX	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3419	CONDOMINIUM UNIT 23, BLDG B L 9672 P	2			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
White B Erite Wil 10000 0110	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1 .0.7.2	Ψ.σ.Ξ.	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	ψ.σ. <u>=</u> :	ψ.σ. <u>-</u> .
o 92-17-34-328-094		0.10	\$960.61	\$96.06	DATE PAID					
TRUSTEE SUZANNE NICHOLS	CAKLAND COUNTY CONDOMINIUM DI ANI	UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
118 LADD	CONDOMINIUM UNIT 24, BLDG B L 9672 P	,			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	000 12 10 00 110 003				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-095		0.10	\$960.61	\$96.06	DATE PAID					
DMITRIY SELEKTOR	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT				***	^=	^	000.10	010.01
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
115 HALIFAX	CONDOMINIUM UNIT 25, BLDG B L 9672 P)			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5607 WARRENSHIRE					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-0000 o 92-17-34-328-096		0.10	\$960.61	\$96.06	DATE PAID					
ROBIN WALKER		UNIT	φ960.61	\$90.00	DATE PAID					
ROBIN WALKER	OAKLAND COUNTY CONDOMINIUM PLAN	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
116 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 26, BLDG B L 9672 P	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/1222 E/11/2 WII 40000 0000	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101712	Ψ.σ.Ξ.	ψ.σ. <u></u>	ψ.σ. <u></u>	ψ.σ. <u></u>	ψ.σ. <u></u>
o 92-17-34-328-097		0.10	\$960.61	\$96.06	DATE PAID					
DEWEY PLUMLEY	CALCUAND COUNTY CONDOMINIUM DUAN	UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
114 LADD	CONDOMINIUM UNIT 27, BLDG B L 9672 P	,			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	300 12-10-001 10 003				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
0 92-17-34-328-098		0.10	\$960.61	\$96.06	DATE PAID		1			
LORI A LONGMATE	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			541	000.00	070.07	05= 5 /	000 10	010.57
ALC DON'TIA O TD : "	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
412 PONTIAC TRAIL	CONDOMINIUM UNIT 28, BLDG B L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3355	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-099		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		LINIT	ψουυ.υ ι	ψου.υυ	DATE FAID		 			+
2000.7	OAKLAND COUNTY CONDOMINIUM PLAN	0.411			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
112 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 29, BLDG B L 9672 P				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	560 12-10-86 FR 069				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
							,		, ,,_,	
	•			н	- A					

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-328-100		0.10	\$960.61	\$96.06	DATE PAID					
KYLE F HOFFMEYER	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
414 PONTIAC TRAIL	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
WALLED LAKE MI 48390-3355	CONDOMINIUM UNIT 30, BLDG B L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
	560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-101	1	0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		LIMIT	φ500.01	ψ50.00	DATE I AID					
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
110 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3333	CONDOMINIUM UNIT 31, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	300 12-10-80 FR 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-102		0.10	\$960.61	\$96.06	DATE PAID					
ANNA KOLODZIEJZAK	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			5	***	^=	^	200 10	010.01
	NO 477 LAKESIDE TOWNHOUSE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
416 PONTIAC TRAIL	CONDOMINIUM UNIT 32, BLDG B L 9672 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	560 12-10-86 FR 069				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-328-103		0.10	\$960.61	\$96.06	DATE PAID					
CHRIS OLSON		LIMIT	φ500.01	ψ50.00	DATE I AID					
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
108 LADD	NO 477 LAKESIDE TOWNHOUSE				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	CONDOMINIUM UNIT 33, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1412 STANLEY	300 12-10-80 FR 009				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-328-104		0.20	\$960.61	\$192.12	DATE PAID					
CHRISTOPHER SCHERBA		UNIT						-		
	SUPERVISOR'S PLAT NO 2 LOT 60, ALSO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
240 ROSEBUD CT	OF 'PHILIPSKI'S WALLED LAKE SUB' PART OF LOTS 1 & 3 ALL DESC				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3447	PART OF LOTS 1 & 3 ALL DESC				INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	φ30.4Z	φ30.4Z	φ30.4Z	Φ30.42	\$30.42
o 92-17-34-328-105		0.20	\$960.61	\$192.12	DATE PAID					
ROBERT CUMMINGS		UNIT	ψ300.01	Ψ132.12	DATETAID					
1.022					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
206 ROSEBUD CT	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-34-328-106		0.20	\$960.61	\$192.12	DATE PAID				1	
KIRK E WAGONLANDER		UNIT			BAL	M405.15	0450 =0	0445.05	070.07	000.10
000 00050110 07	Con Appending Office for Large Description				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
220 ROSEBUD ST WALLED LAKE MI 48390	See Assessors Office for Legal Description				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
736 E STATE ST					TOTAL	\$0.00	\$38.42	\$38.42	\$38.42	\$38.42
TRAVERSE CITY MI 49686-2625					IOIAL	φ30.42	φ30.42	φ30.42	φ30.42	φ30.42
o 92-17-34-328-107		0.20	\$960.61	\$192.12	DATE PAID				1	+
JON F GROH		UNIT	ψοσο.σ ι	ψ102.12	5,(121,110					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
210 ROSEBUD ST	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	ISTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-328-108		0.20	\$960.61	\$192.12	DATE PAID					
BILL NOBLE		UNIT				A 100.10	A	*	^=-	000.10
WILLIAM BRADSHAW	PHILIPSKI'S WALLED LAKE SUB LOTS 39,				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
314 ROSEBUD ST	40 & 41 8-30-00 FR 040, 041 & 042				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE MI 48390					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ30.42	ψ30.42	ψ30.42	ψ30.4Z	Ψ30.42
o 92-17-34-329-036		0.10	\$960.61	\$96.06	DATE PAID					
BLAKE PETERSON	CALL AND COLINITY CONDOMINIUMA DI ANI	UNIT	·							
	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 1.				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
211 WINDWAY DR	BLDG A L 9828 P 568 7-11-88 FR 031 TO				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
- 02 47 24 220 027		0.40	COCO C4	\$00.00	DATE DAID					
o 92-17-34-329-037 MARILYN WEIDEL		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
WARIL IN WEIDEL	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
221 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 2,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG A L 9828 P 568 7-11-88 FR 031 TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	034 INCL				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						·		•		
o 92-17-34-329-038		0.10	\$960.61	\$96.06	DATE PAID					
LINDA HERSKOVITZ	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 489 LAKE WINDS NORTH UNIT 3,				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
231 WINDWAY DR	BLDG A L 9828 P 568 7-11-88 FR 031 TO				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-039		0.10	\$960.61	\$96.06	DATE PAID					
NIRA DOLAN		LINIT	ψοσοίο.	400.00						
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
239 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 4, BLDG A L 9828 P 568 7-11-88 FR 031 TO				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	001.1102				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-040		0.10	COCO C4	\$00.00	DATE DAID					
ALLISON HUSTED		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
ALLIGONTIOGIED	OAKLAND COUNTY CONDOMINIUM PLAN	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
230 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 5,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG B L 9828 P 568 7-11-88 FR 031 TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	034 INCL				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
0 92-17-34-329-041		0.10	\$960.61	\$96.06	DATE PAID				1	
CHARLES P LAPHAM	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT			DALANCE	# 00.00	#70.05	ΦE7.04	#00.40	# 40.04
240 MINDWAY DD	NO 489 LAKE WINDS NORTH UNIT 6,				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
240 WINDWAY DR WALLED LAKE MI 48390	BLDG B L 9828 P 568 7-11-88 FR 031 TO				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
P.O.BOX 939	034 INCL				TOTAL	\$19.21	\$0.00	\$0.00	\$0.00	\$0.00
NORTHVILLE MI 48167					IOIAL	ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21
0 92-17-34-329-042		0.10	\$960.61	\$96.06	DATE PAID					
GLORIA RADDANT	CARLAND COLINITY CONDOMINIUMA DI ANI	UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 7.				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
250 WINDWAY DR	BLDG B L 9828 P 568 7-11-88 FR 031 TO				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14104 CHESAPEAKE CIRCLE					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390							1		1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			l!	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-329-043		0.10	\$960.61	\$96.06	DATE PAID					
GAIL MCKINNON	OAKLAND COUNTY CONDOMINIUM PLAN	UNIT								
	NO 489 LAKE WINDS NORTH UNIT 8,				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
260 WINDWAY DR	BLDG B L 9828 P 568 7-11-88 FR 031 TO				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-044		0.10	\$960.61	\$96.06	DATE PAID					
BRIAN BAZNER		UNIT	ψ900.01	ψ90.00	DATEFAID					
BRIAN BALNER	OAKLAND COUNTY CONDOMINIUM PLAN	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
249 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 9,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG C L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-045		0.10	\$960.61	\$96.06	DATE PAID					
YVONNE M PROVCI		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
259 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 10,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG C L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-046		0.10	\$960.61	\$96.06	DATE PAID					
SHARON R. FRASER		UNIT	φ900.01	\$90.00	DATE PAID					
SHAKON K. FRASEK	OAKLAND COUNTY CONDOMINIUM PLAN	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
269 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 11.				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG C L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-047		0.10	\$960.61	\$96.06	DATE PAID					
STEPHEN M LUDA		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
279 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 12,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG C L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
- 00 47 04 000 040	<u> </u>	0.40	# 000 04	#00.00	DATE PAID					
o 92-17-34-329-048 STACY CZAJKA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
STACT CZASINA	OAKLAND COUNTY CONDOMINIUM PLAN	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
308 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 13,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG D L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						-				
o 92-17-34-329-049		0.10	\$960.61	\$96.06	DATE PAID					
ANTHONY JOHNS		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
322 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 14,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG D L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-050		0.10	\$960.61	\$96.06	DATE PAID		 			+
IRWIN CHAPMAN		UNIT	10.006	φ30.00	DATE FAID		1			+
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
330 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 15.				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG D L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
										·
<u> </u>	•	•		н	- A			*		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-329-051		0.10	\$960.61	\$96.06	DATE PAID					
SHERYL L PARDUE		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
342 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 16,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG D L 9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-052		0.10	\$960.61	\$96.06	DATE PAID					
JAMES A YEIP		UNIT	ψ900.01	ψ90.00	DATEFAID					
VAMES A TEN	OAKLAND COUNTY CONDOMINIUM PLAN	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
289 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 17,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG E L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-053		0.10	\$960.61	\$96.06	DATE PAID					
PATRICIA A PEREZ		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
299 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 18,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG E L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
o 92-17-34-329-054		0.10	\$960.61	\$96.06	DATE PAID					
ANDREW WILSON		UNIT	φ900.01	\$90.00	DATE PAID					
ANDREW WILSON	OAKLAND COUNTY CONDOMINIUM PLAN	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
309 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 19,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG E L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						•	·			
o 92-17-34-329-055		0.10	\$960.61	\$96.06	DATE PAID					
NANCY S STALNECKER		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
321 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 20,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG E L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
- 00 47 04 000 050		0.40	# 000 04	#00.00	DATE DAID					
o 92-17-34-329-056 CHRISTINE J KRUPA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
CHRISTINE 3 KROPA	OAKLAND COUNTY CONDOMINIUM PLAN	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
409 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 21,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG F L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						* -			* -	, ,
o 92-17-34-329-057		0.10	\$960.61	\$96.06	DATE PAID					
RUSSELL E DANIELSON		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
419 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 22,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG F L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
0. 02 47 24 220 059		0.10	\$960.61	\$96.06	DATE PAID					
o 92-17-34-329-058 DAVID DYE		UNIT	1 0.006¢	φ 9 0.06	DATE PAID					
DAVID DIL	OAKLAND COUNTY CONDOMINIUM PLAN				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
429 WINDWAY DR	NO 489 LAKE WINDS NORTH UNIT 23,				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	BLDG F L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
										·
•	•			n.	- A					

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-329-059		0.10	\$960.61	\$96.06	DATE PAID					
ERIC EBERWEIN	CALCLAND COLINITY CONDOMINIUMA DI ANI	UNIT			DALANOE	# 00.00	#70.05	# 57.04	COO 40	C 40.04
430 WINDWAY DD	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 24.				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
439 WINDWAY DR WALLED LAKE MI 48390	BLDG F L 9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40030	B2B61 2 00201 000 10 20 00 11 000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1	ψ.σ. <u>-</u> .	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	Ţ.0. <u>Z</u> .
x 92-17-34-376-002		0.20	\$960.61	\$192.12	DATE PAID					
KEVIN KOKKO		UNIT								
	JENNY PARK SUB LOT 33, EXC PART				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
577 S PONTIAC TRL	TAKEN FOR HWY & LYING WLY OF LINE DRAWN FROM SW COR LOT 32 TO POI				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3358	DRAWN FROM SW COR LOT 32 TO POI				INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
× 92-17-34-376-003		0.20	\$960.61	\$192.12	DATE PAID					
KEVIN KOKKO		UNIT	φοσοίο:	Ψ102.12						
CAROLYN KOKKO	JENNY PARK SUB LOT 32, EXC PART				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
577 S PONTIAC TRL	TAKEN FOR HWY & LYING WLY OF LINE				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3358	DRAWN FROM SW COR LOT 32 TO POI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
00 47 04 070 004		0.00	# 000 04	0100.10	DATE DAID					
× 92-17-34-376-004		0.20	\$960.61	\$192.12	DATE PAID					
OCCUPANT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
603 S PONTIAC TRL	JENNY PARK SUB LOTS 28 TO 31 INCL				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3360	021111 171111 00B 2010 20 10 01 11102				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-376-005		0.20	\$960.61	\$192.12	DATE PAID					
GABRIEL SERRATO-LOPEZ		UNIT								
227 2 221 714 2 721	IENNIV DADIK OLID LOTO OG 9.07				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
627 S PONTIAC TRL WALLED LAKE MI 48390-3360	JENNY PARK SUB LOTS 26 & 27				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE WII 40390-3300					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101/12	ψ00.42	ψου2	ψ00.42	ψου12	ψου. 42
x 92-17-34-376-006		0.20	\$960.61	\$192.12	DATE PAID					
HASSAN ABBAS		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
631 S PONTIAC TRL	JENNY PARK SUB LOT 25				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
× 92-17-34-376-008		0.20	\$960.61	\$192.12	DATE PAID					
THOMAS EVESAND		UNIT	ψουσ.σ ι	Ψ102.12	3,1121,110		1			
ANNE EVESAND	VIDCINIA DADICNO 4 LOT 57 EVONUV				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
481 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOT 57, EXC NLY PART TAKEN FOR HWY M-218	1			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3356	FAIL TAILEN FOR TWI WE210	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		1			TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
00.47.04.070.000		0.55	# 005 5 <i>t</i>	0.465.15	DATE SALE		1		1	
× 92-17-34-376-009		0.20	\$960.61	\$192.12	DATE PAID		1			
OCCUPANT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
477 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOT 56, EXC N	1			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3356	PART TAKEN FOR HWY	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		1			TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-376-010		0.20	\$960.61	\$192.12	DATE PAID					
CALVIN BREAKEY		UNIT								
BEATRICE BREAKEY	VIRGINIA PARK NO. 1 LOTS 54 & 55, EXC				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
453 S PONTIAC TRL	NLY PART TAKEN FOR HWY M-218				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-376-011		0.20	\$960.61	\$192.12	DATE PAID					
THOMAS J LANGAN		UNIT	ψ300.01	Ψ132.12	DATETAID					
7770111710 0 2711707117		O. W.			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
435 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOTS 52 & 53				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1225 E LAKE RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1440						-				
x 92-17-34-376-012		0.20	\$960.61	\$192.12	DATE PAID					
BASHKIM S ZHULI		UNIT								
REKO ZHULI					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
480 CONWAY ST	VIRGINIA PARK NO. 1 LOT 83				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
533 LANGFIELD ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NORTHVILLE MI 48167-1147		0.20	COCO C4	£400.40	DATE DAID					
× 92-17-34-376-013 ANN BEYER		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
STEVEN RIGOULOT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
470 CONWAY ST	VIRGINIA PARK NO. 1 LOT 84				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3329	VIICOINI/CI /ICCNO. I EO I O4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/1222 E/1112 WII 40030 0025					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1 .0.7.2	ψου. : <u>-</u>	400.12	\$551.12	4001.2	\$501.E
x 92-17-34-376-014		0.20	\$960.61	\$192.12	DATE PAID					
DOLORES NEWMAN		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
462 CONWAY ST	VIRGINIA PARK NO. 1 LOT 85				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		0.00	# 000 04	£400.40	DATE DAID					
× 92-17-34-376-015 MARKUS SCHOLTEN		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
MARKUS SCHOLTEN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
454 CONWAY ST	VIRGINIA PARK NO. 1 LOT 86				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3329	VII.C. 1 201 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
White B Er we will look obe					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						*******	7001.1	*	¥0011	400 1.10
× 92-17-34-376-022		0.20	\$960.61	\$192.12	DATE PAID					
ZACHARY COON		UNIT								
LAURA COON					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
228 OSPREY ST	JENNY PARK SUB LOT 15				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
v. 02.47.24.270.022		0.00	COCO C4	£400.40	DATE DAID			 		
× 92-17-34-376-023 JANET CROLL		0.20 UNIT	\$960.61	\$192.12	DATE PAID			1		
JANEI GRULL		UNII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
633 S PONTIAC TRL	JENNY PARK SUB LOTS 22, 23 & 24				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3360	32.111 17.111 335 E010 22, 20 tt 24				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						, <u>-</u>	Ţ.J., , <u></u>	7.5	Ţ-J <u>-</u>	Ţ <u>-</u>
·	•			н	- A					

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-376-024		0.20	\$960.61	\$192.12	DATE PAID					
ANETTE MURZIN		UNIT								
	IENINI DA DIK OLID LOT OA				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
115 DEKALB ST	JENNY PARK SUB LOT 21				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
× 92-17-34-376-025		0.20	\$960.61	\$192.12	DATE PAID					
STEPHEN COLEMAN		UNIT	ψ900.01	Ψ192.12	DATEFAID					
CYNTHIA COLEMAN		ONT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
123 DEKALB ST	JENNY PARK SUB LOT 20				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
× 92-17-34-376-026		0.20	\$960.61	\$192.12	DATE PAID					
ANDREW MELOCHE		UNIT								
MEGAN MELOCHE	IENING DADIC CUE COT CO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
125 DEKALB ST	JENNY PARK SUB LOT 19				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-376-027		0.20	\$960.61	\$192.12	DATE PAID					
ANDREW MALTESE		UNIT	φ900.01	\$192.12	DATE PAID					
DOMINIC MALTESE		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
127 DEKALB ST	JENNY PARK SUB LOT 18				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-376-028		0.00	\$960.61	\$0.00	DATE PAID					
BARBERA PATERAKIS		UNIT								
					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
129 DEKALB ST	JENNY PARK SUB LOT 17				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
× 92-17-34-376-029		0.20	\$960.61	\$192.12	DATE PAID					
GAYLE BENNETT		UNIT	φ900.01	\$192.12	DATE PAID					
CATEL BEHNETT		ONT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
129 DEKALB ST	JENNY PARK SUB LOT 16				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
× 92-17-34-376-030		0.20	\$960.61	\$192.12	DATE PAID					
GAYLE BENNETT		UNIT								
	VIRGINIA PARK NO 1 W 1/2 OF BOTH				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
475 CONWAY ST	LOTS 81 & 82 11/21/85 FR 016 & 017				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3330					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 351 WALLED LAKE MI 48390					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-376-033		0.20	\$960.61	\$192.12	DATE PAID					
WILLIAM WILLIAMS		UNIT	1 0.006	ψ132.12	DATERAID					
ELIANI TILEIANIO					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
204 OSPREY ST	VIRGINIA PARK NO 1 LOT 80, ALSO E 1/2				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3341	OF LOTS 81 & 82 3-3-94 FR 031 & 032				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

AND ADDRESS OF PROPERTY FRONTAGE PER CHARGE 1ST 2010 2011 2012 2013 ATH SPONTAGE PER X 92-17-34-377-001 KELLY C THOMPSON JENNY PARK SUB LOT 1 JENNY P	\$38.42 \$38.42 \$38.42 \$0.00 \$38.42
X 92-17-34-377-001 KELLY C THOMPSON 711 S PONTIAC TRL WALLED LAKE MI 48390-3362 X 92-17-34-377-002 JEFFREY THOMPSON DATE PAID BALANCE PRINCIPAL S192.12 S153.70 S115.27 S76.85 PRINCIPAL INTEREST TOTAL S38.42	\$38.42 \$38.42 \$0.00
VALUED LAKE MI 48390-3362 VINIT	\$38.42 \$0.00
T11 S PONTIAC TRL WALLED LAKE MI 48390-3362 Mathematical Part of the principal was provided by the principal was provided b	\$38.42 \$0.00
711 S PONTIAC TRL WALLED LAKE MI 48390-3362 PRINCIPAL	\$38.42 \$0.00
WALLED LAKE MI 48390-3362 INTEREST TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 X 92-17-34-377-002 JEFFREY THOMPSON 0.20 VNIT \$960.61 \$192.12 DATE PAID \$192.1	\$0.00
X 92-17-34-377-002 JEFFREY THOMPSON TOTAL \$38.42 \$38.42 \$38.42 \$38.42 DATE PAID DATE	
X 92-17-34-377-002 JEFFREY THOMPSON 0.20 \$960.61 \$192.12 DATE PAID	ψου: : <u></u>
JEFFREY THOMPSON UNIT	
BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$38.42
106 DEKALB ST JENNY PARK SUB LOT 2 PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
WALLED LAKE MI 48390-3331 INTEREST \$0.00	\$0.00
3055 LINDA MARIE WAY WALLED LAKE MI 48390-1149 TOTAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
x 92-17-34-377-003	
JEFF PALMER UNIT	
BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$38.42
110 DEKALB ST JENNY PARK SUB LOT 3 PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
WALLED LAKE MI 48390-3331 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	\$0.00
TOTAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
x 92-17-34-377-004 0.20 \$960.61 \$192.12 DATE PAID	
MATTHEW LUCAS UNIT BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$20.42
HEATHER LUCAS BALANCE \$192.12 \$153.70 \$115.27 \$76.85 114 DEKALB ST JENNY PARK SUB LOT 4 PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3331 WALLED LAKE MI 48390-3331 WALLED LAKE MI 48390-3331	\$0.00
TOTAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
x 92-17-34-377-005 0.20 \$960.61 \$192.12 DATE PAID	
GERALD PLAS	
BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$38.42
118 DEKALB ST	\$38.42
WALLED LAKE MI 48390-3331 INTEREST \$0.00 <	\$0.00 \$38.42
WALLED LAKE MI 48390-5930	ψ30.42
x 92-17-34-377-006 0.20 \$960.61 \$192.12 DATE PAID	
YVONNE JONES UNIT	
BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$38.42
122 DEKALB ST	\$38.42
WALLED LAKE MI 48390-3331 INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00
TOTAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
x 92-17-34-377-007 0.20 \$960.61 \$192.12 DATE PAID	
SHARON COOK UNIT 5.25 \$500.01 \$132.12 BATE I AIB	
BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$38.42
126 DEKALB ST	\$38.42
WALLED LAKE MI 48390-3331 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	\$0.00
TOTAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
0.00 0.	
x 92-17-34-377-008	
SCOTT ISAACS UNIT BALANCE \$192.12 \$153.70 \$115.27 \$76.85	\$38.42
130 DEKALB ST JENNY PARK SUB LOT 8 PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42
WALLED LAKE MI 48390-3331 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	\$0.00
TOTAL \$38.42 \$38.42 \$38.42 \$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-377-009		0.20	\$960.61	\$192.12	DATE PAID					
MR BRUCE E BEVIER JR		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
370 OSPREY ST	JENNY PARK SUB LOT 9				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3347					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
10716 AQUA LN					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
SOUTH LYON MI 48178-9591										
× 92-17-34-377-013		0.20	\$960.61	\$192.12	DATE PAID					
JOHN R NELSON LAKE A NELSON		UNIT			DALANCE	£400.40	¢452.70	¢445.07	Ф 7 С ОБ	COO 40
113 COALMONT ST	VIRGINIA PARK SUB LOT 4				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3328	VIIXGIIVIA I AKK GOD EO I 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1561 CHANTICLAIR CIR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WIXOM MI 48393-1610										
× 92-17-34-377-014		0.20	\$960.61	\$192.12	DATE PAID					
ROK IVEZAJ		UNIT				* * * * * * * * * * * * * * * * * * *	*	* * * * * * * * * * * * * * * * * * *	^	200.40
447 CO AL MONT OT	VIDCINIA DADK CUD LOT 5				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
117 COALMONT ST WALLED LAKE MI 48390-3328	VIRGINIA PARK SUB LOT 5				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE WII 40390-3320					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101712	ψου. 12	ψου. 1 <u>2</u>	φοσ. 12	φοσ. 12	ψου: 1 <u>2</u>
× 92-17-34-377-018		0.20	\$960.61	\$192.12	DATE PAID					
GEORGE GJERGI IVEZAJ		UNIT								
	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 COALMONT ST	VIRGINIA PARK SUB LOT 9				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3328					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψ50.42	ψ30.42	ψ30.42	ψ30. 1 2	ψ30.42
x 92-17-34-377-019		0.20	\$960.61	\$192.12	DATE PAID					
DAREN L REED		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
139 COALMONT ST	VIRGINIA PARK SUB LOT 10				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3328					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψ50.42	ψ30.42	ψ30.42	ψ30. 1 2	ψ30.42
× 92-17-34-377-020		0.20	\$960.61	\$192.12	DATE PAID					
JOYCE PILLSBURY		UNIT								
	\(\(\text{\text{\$1.50}}\)				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
145 COALMONT ST WALLED LAKE MI 48390-3328	VIRGINIA PARK SUB LOT 11				PRINCIPAL INTEREST	\$38.42	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE WII 40390-3320					TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ50.42	ψ30.42	ψ30.42	ψ30. 1 2	ψ30.42
x 92-17-34-377-021		0.20	\$960.61	\$192.12	DATE PAID					
RONALD WILSON		UNIT								
	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
147 COALMONT ST	VIRGINIA PARK SUB LOT 12 & 13				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3328					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψυυ.42	ψ50.42	ψ30.42	ψ50.42	ψυυ.42
× 92-17-34-377-023		0.20	\$960.61	\$192.12	DATE PAID					
SEAN JACQUES		UNIT		·						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
725 S PONTIAC TRL	VIRGINIA PARK SUB N 1/2 OF LOTS 1 & 2				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3362					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	1				<u> </u>		1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-377-025		0.00	\$960.61	\$0.00	DATE PAID					
SEAN JACQUES		UNIT								
	\(\(\text{\pi}\) \(\text{\pi}\) \(\t				BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	VIRGINIA PARK SUB N 1/2 OF LOT 3				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
705 O DONTIAO TOI					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
725 S PONTIAC TRL					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3362 x 92-17-34-377-027		0.20	\$960.61	\$192.12	DATE PAID					
LUIGJ DEDA		UNIT	φ900.01	\$192.12	DATE FAID					
EUIOJ DEDA					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
129 COALMONT ST	VIRGINIA PARK SUB LOT 6, ALSO LOT 7				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3328	EXC E 1/2 4-16-99 FR 015 & 016				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						·	·		·	
x 92-17-34-377-028		0.20	\$960.61	\$192.12	DATE PAID					
DOUGLAS LEE MILES		UNIT								
	VIRGINIA PARK SUB E 1/2 OF LOT 7,				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
131 COALMONT ST	ALSO ALL OF LOT 8 4-16-99 FR 016 & 017				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3328	7.2007.2207.207.0007.707.0007.707.0007.707.0007.707				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
00 47 04 077 000		0.00	# 000 04	£400.40	DATE DAID					
× 92-17-34-377-029 CAROL HAIR		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
CAROL HAIR		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
739 S PONTIAC TRL	VIRGINIA PARK SUB S 1/2 OF LOTS 1, 2 &	1			BALANCE PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3362	3 3-17-09 FR 024 & 026				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40090-3302					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101712	ψου. 12	φου. 12	ψου. 12	φοσ. 12	φοσ. 12
× 92-17-34-378-001		1.00	\$960.61	\$960.61	DATE PAID					
STEVEN ROMAYA		UNIT	·							
	SUPERVISOR'S PLAT NO. 2 W 70.72 FT				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
222 S PONTIAC TRL	OF LOT 56				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3351	01 201 30				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
			*****		5.4=5.45					
× 92-17-34-378-002		1.00	\$960.61	\$960.61	DATE PAID					
ERIC TOMKOW		UNIT			BALANCE	\$960.61	\$760.40	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 2 ELY 6 FT OF				BALANCE PRINCIPAL	\$192.12	\$768.49 \$192.12	\$192.12	\$192.12	\$192.12
	LOT 57				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 703					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390						*	********	¥ 10 m	¥	¥.0==
x 92-17-34-378-003		1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL TOMKOW		UNIT								
	SUPERVISOR'S PLAT NO. 2 LOT 57 EXC				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
244 S PONTIAC TRL	ELY 6 FT				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3351					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 2263					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
FARMINGTON HILLS MI 48333-2263		4.00	COCC C4	#0000.04	DATE DAID					
× 92-17-34-378-004		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
NEVA HELIKER		UNII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 2 LOT 58				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$384.24 \$192.12	\$192.12
	231 ENVIOUNT EAT NO. 2 EOT 30				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
252 S PONTIAC TRL					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3351						Ţ.Ţ 	Ţ .	Ţ	Ţ	7.22.2
		•		н			•			

		INSTALLMEN	TS	
	2010 2011	2012	2013	2014
	1ST 2ND	3RD	4TH	5TH
x 92-17-34-378-007				
KIT A TOMKOW UNIT				
	960.61 \$768.49		\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
TOTAL \$19	92.12 \$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-378-008 1.00 \$960.61 \$960.61 DATE PAID				
FRED WILCOX VIRGINIA PARK NO. 1 E 7 FT LOT 49, ALL UNIT	00.04 0700.40	4570.07	000404	0400.40
I TOLSUK SWIY PARTIOLSI SAME I	960.61 \$768.49		\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
I UNIAKE I I I I I I I I I I I I I I I I I I I	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
TOTAL SIS	92.12 \$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-378-011				
X 92-17-34-378-011				+
	960.61 \$768.49	\$576.37	\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
	92.12 \$192.12		\$192.12	\$192.12
WALLED LAKE MI 48390-3340	φ102.12	Ψ102.12	Ψ102.12	Ψ102.12
x 92-17-34-378-012 1.00 \$960.61 \$960.61 DATE PAID				
WM J VOLKER UNIT				
	960.61 \$768.49	\$576.37	\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
TOTAL \$19	92.12 \$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-378-013				
S STEFFEY UNIT				
BALANCE \$96	960.61 \$768.49	\$576.37	\$384.24	\$192.12
155 OSPREY ST VIRGINIA PARK NO. 1 LOT 42 PRINCIPAL \$19	92.12 \$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3340 INTEREST \$(\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
TOTAL \$19	92.12 \$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-378-014 1.00 \$960.61 \$960.61 DATE PAID				
FRANCES B AMESOP UNIT	*	0	005:-:	0.05 :-
	960.61 \$768.49		\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
TOTAL SIS	92.12 \$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-378-016 1.00 \$960.61 \$960.61 DATE PAID				+
THOMAS GOGOE UNIT				+
	960.61 \$768.49	\$576.37	\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
201 001 121 01	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
	92.12 \$192.12		\$192.12	\$192.12
	Ţ.,	,	, , , , , , ,	
x 92-17-34-378-017 1.00 \$960.61 \$960.61 DATE PAID				
MARK TOMES UNIT				
BALANCE \$96	960.61 \$768.49	\$576.37	\$384.24	\$192.12
	92.12 \$192.12		\$192.12	\$192.12
	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00
TOTAL \$19	92.12 \$192.12	\$192.12	\$192.12	\$192.12
		1	1	1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-378-018		1.00	\$960.61	\$960.61	DATE PAID					
NANCY JEAN GROSSMAN		UNIT			DAI ANOT	#	Φ 7 00.40	#570.07	000101	0400.40
245 OCDDEV CT	VIRGINIA PARK NO. 1 LOT 37				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24 \$192.12	\$192.12
215 OSPREY ST WALLED LAKE MI 48390-3342	VIRGINIA PARK NO. 1 LOT 37				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12	\$192.12 \$0.00
WALLED LAKE IVII 40000-0042					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					10.7.2	Ψ.022	V.02	V.02	ψ10 <u>2</u> 112	V.02
× 92-17-34-378-019		1.00	\$960.61	\$960.61	DATE PAID					
DAN BAUMGARTEN		UNIT								
MARY BAUMGARTEN	MIDOINIA DADIANO ALOTOS				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
221 OSPREY ST WALLED LAKE MI 48390-3342	VIRGINIA PARK NO. 1 LOT 36				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE IVII 48390-3342					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
					TOTAL	ψ192.12	ψ192.12	ψ192.12	ψ192.12	ψ192.12
× 92-17-34-378-020	PART OF SW FRC 1/4 BEG AT SW COR	1.00	\$960.61	\$960.61	DATE PAID					
RONALD KWASNIEWWICZ	OF LOT 36 OF 'VIRGINIA PARK NO. 1', TH	UNIT								
	S 12-41-00 W 80 FT, TH S 89-30-00 E 165				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
227 OSPREY ST	FT TO SHORE OF WALLED LAKE, TH NLY				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3342	ALG SD SHORE 80 FT TO SE COR OF SD LOT 36, TH N 89-30-00 W 170 FT TO BEG				INTEREST	\$0.00	\$0.00 \$192.12	\$0.00	\$0.00	\$0.00
	0.30 A 10-12-90 CORR				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-378-021	0.30 / 10 12 30 COM	1.00	\$960.61	\$960.61	DATE PAID					
CARL ATWATER		UNIT	φοσσ.σ ι	φοσο.στ	D, (12 1 7 (10					
ALICIA ATWATER					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
333 OSPREY ST	JENNY PARK SUB LOT 14				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3346					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-378-022		1.00	\$960.61	\$960.61	DATE PAID					
JO ELLEN FOSTER		UNIT	ψ300.01	ψ900.01	DATETAID					
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
355 OSPREY ST	JENNY PARK SUB LOT 13				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3346					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-378-027		1.00	\$960.61	\$960.61	DATE PAID					
LINDA BESHEARS		UNIT	ψ300.01	ψ900.01	DATETAID					
TRUST	JENNIV BARK OUR NIOS ST.OS LOT 44	0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
363 OSPREY ST	JENNY PARK SUB N 25 FT OF LOT 11, ALSO ALL OF LOT 12				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3348	ALGO ALE OF LOT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-378-028		1.00	\$960.61	\$960.61	DATE PAID					
OCCUPANT		UNIT	φ 3 00.01	φ υ Ο.01	DATE PAID					+
SOOI AITI	JENNIN BARK OUR LOT 12 11 20 2 7	0.411			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
371 OSPREY ST	JENNY PARK SUB LOT 10, ALSO S 20 FT OF LOT 11				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3348	OF LOT IT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
v 02 47 24 279 020		1.00	\$060.04	\$060.04	DATE DAID					
× 92-17-34-378-030 THOMAS J LANGAN		1.00 UNIT	\$960.61	\$960.61	DATE PAID		1			
THOMAS S LANGAIN		UNII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	VIRGINIA PARK NO 1 LOTS 45 & 46				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	6/22/88 FR 010				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
131 OSPREY ST					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3340							<u> </u>			

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			IN.	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-378-031 GEORGE HAWKINS		1.50 UNIT	\$960.61	\$1,440.92	DATE PAID					
PENNY HAWKINS	VIRGINIA PARK NO 1 LOTS 47 & 48, ALSO				BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
123 OSPREY ST	LOT 49 EXC E 7.00 FT 7-19-88 FROM 009				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
WALLED LAKE MI 48390-3447	& 029				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
× 92-17-34-378-032 CHRISTOPHER SCHERBA		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
ROBERT CUMMINGS		• • • • • • • • • • • • • • • • • • • •			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
240 ROSEBUD CT	SUPERVISOR'S PLAT NO. 2 SWLY 1/2 OF				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3447	LOT 59 7-9-01 FR 005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-378-033		1.00	\$960.61	\$960.61	DATE PAID					
TONY RYBINSKI		UNIT								
	SUPERVISOR'S PLAT NO. 2 NELY 1/2 OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LOT 59 7-9-01 FR 005				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
252 ROSEBUD					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
WALLED LAKE MI 48390					TOTAL	Ψ132.12	ψ192.12	ψ132.12	ψ192.12	ψ192.12
× 92-17-34-379-003		0.20	\$960.61	\$192.12	DATE PAID					
EDWARD GILBERT		UNIT								
MICHEAL GILBERT	VIDCINIA DADIC CUD LOT 24				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
108 COALMONT ST	VIRGINIA PARK SUB LOT 24				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3327					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	ψ00.+2	ψου2	ψου2	ψου2	ψου.42
x 92-17-34-379-004		0.20	\$960.61	\$192.12	DATE PAID					
JOSEPH O'BRIEN		UNIT								
440 0004 MONT OT	VIRGINIA PARK SUB LOT 20				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
118 COALMONT ST WALLED LAKE MI 48390-3327	VIRGINIA PARK SUB LUT 20				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
45667 MARLBOROUGH PL					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-3897					TOTAL	ψ50.42	ψ30.42	ψ50.72	ψ30.42	Ψ30.42
× 92-17-34-379-007		0.20	\$960.61	\$192.12	DATE PAID					
RAYMOND E COLEY		UNIT			DAL ANOT	# 400.40	#450.70	Φ445.07	#70.05	COO 40
128 COALMONT ST	VIRGINIA PARK SUB LOT 20				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3327	VIITOINIAT ARRESON EST 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LARCE IVIII 40000 0027					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
							·			
x 92-17-34-379-008		0.20	\$960.61	\$192.12	DATE PAID					
RUSSELL A MCCLELLAND		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
132 COALMONT ST	VIRGINIA PARK SUB LOT 19				PRINCIPAL	\$38.42	\$153.70	\$38.42	\$76.85	\$38.42
WALLED LAKE MI 48390-3327	VII.COI III.COOD LOT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
v 02 47 24 270 000		0.20	\$060.64	¢100.10	DATE DAID					
× 92-17-34-379-009 DONALD E MILLS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
134 COALMONT ST	VIRGINIA PARK SUB LOT 18				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 94					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390							<u> </u>			

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-010		0.20	\$960.61	\$192.12	DATE PAID					
MARK MATKOVICH		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
138 COALMONT ST	VIRGINIA PARK SUB LOT 17				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3934 7TH ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WYANDOTTE MI 48192-6812										
x 92-17-34-379-011		0.20	\$960.61	\$192.12	DATE PAID					
DAVID J LUCCHETTI		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
144 COALMONT ST	VIRGINIA PARK SUB LOT 16				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-379-012		0.20	\$960.61	\$192.12	DATE PAID					
DAVID SLAVEN		UNIT								
BETH SLAVEN					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
148 COALMONT ST	VIRGINIA PARK SUB LOT 14				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-379-013		0.20	\$960.61	\$192.12	DATE PAID					
WASHINGTON MUTUAL BANK,		UNIT								
F/K/A WASHINGTON MUTUAL BANK FA					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
150 COALMONT ST	VIRGINIA PARK SUB LOT 15				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7255 BAYMEADOWS WAY # JAXA2035					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
JACKSONVILLE FL 32256-6851										
x 92-17-34-379-015		0.10	\$960.61	\$96.06	DATE PAID					
MOMEN KHALIL		UNIT								
AMTUAL KHALIL					BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
	See Assessors Office for Legal Description				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
12101 VOLPE DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
STERLING HEIGHTS MI 48312										
× 92-17-34-379-016		0.10	\$960.61	\$96.06	DATE PAID					
SUZANNE SALTER		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A101	CONDOMINIUM UNIT 1, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
40769 WATERFALL CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
SOUTH LYON MI 48178		0.10	#	000.00	DATE SALE		1		1	
× 92-17-34-379-017		0.10	\$960.61	\$96.06	DATE PAID		-		-	
EVELYN VANOVER	CONDOMINIUM DI ANINO COO CUIOCE: :::	UNIT				^	0=6	0== - :	000 :-	0.0 - :
OFF O DON'THAO TELL III A LOS	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A102	CONDOMINIUM UNIT 2, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 070 040		0.40	# 000 04	#00.00	DATE DAID		1		1	
× 92-17-34-379-018		0.10	\$960.61	\$96.06	DATE PAID		1		1	
MARJORIE MERFERT	CONDOMINIUM DI ANIMO COO CUIODEI INE	UNIT			BALANCE	400.00	470.05	057.04	000.40	040.04
OSS O DON'THO TO: " A COS	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A103	CONDOMINIUM UNIT 3, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		1					<u> </u>	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-379-019		0.10	\$960.61	\$96.06	DATE PAID					
HARVEY NELSON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A104	CONDOMINIUM UNIT 4, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
241 WOODCREEK CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390										
× 92-17-34-379-020		0.10	\$960.61	\$96.06	DATE PAID					
PATRIOT PROPERTIES, LLC		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A105	CONDOMINIUM UNIT 5, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
	I	0.10	*****	400.00	5.75 5.15					
× 92-17-34-379-021		0.10	\$960.61	\$96.06	DATE PAID					
PATRIOT PROPERTIES, LLC	CONDOMINIU IM DI ANI NO 202 CHODELINE	UNIT			DALANOE	# 00.00	Ф 7 0.05	057.04	COD 40	£40.04
OFF O DONITIAO TOL WAAGO	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 6, BLDG 1 L 8715 P				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A106	620 07/05/84 FR 014				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301 12272 HILLSIDE DR	020 07/03/64 FK 014				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
PLYMOUTH MI 48170					IOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-022		0.10	\$960.61	\$96.06	DATE PAID					
ROBERT COX		UNIT	φ900.01	\$90.00	DATE PAID					
ROBERT COX	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A107	CONDOMINIUM UNIT 7, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLES EXIVE IVII 40000 0001	020 01/05/01111011				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101712	ψ10. 2 1	Ψ10.21	Ψ10. <u>2</u> 1	Ψ10.21	Ψ10.21
x 92-17-34-379-023		0.10	\$960.61	\$96.06	DATE PAID					
RICHARD GIBBONS		UNIT	*******	400.00						
PHYLLIS GIBBONS	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A201	CONDOMINIUM UNIT 8, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-024		0.10	\$960.61	\$96.06	DATE PAID					
FRED ROZELL		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A202	CONDOMINIUM UNIT 9, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
v. 00 47 24 270 025	 	0.40	COCC 04	#00.00	DATE DAID				1	
× 92-17-34-379-025		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			DAI ANOT	\$96.06	Ф76 OF	ΦE7.04	\$38.42	£10.04
855 S PONTIAC TRL # A203	CONDOMINIUM UNIT 10, BLDG 1 L 8715 P				BALANCE PRINCIPAL	\$96.06	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAINE WII 40330-3301	020 07/00/04 1 10 014				TOTAL	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					ISIAL	ψ10.21	Ψ10.21	Ψ10.21	Ψ13.21	ΨΙΟ.ΖΙ
x 92-17-34-379-026		0.10	\$960.61	\$96.06	DATE PAID					
JAMES WALASZEK		UNIT	ψοσο.σι	ψ00.00	2,					
	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A204	CONDOMINIUM UNIT 11, BLDG 1 L 8715 P	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
13333 333.					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					T		·	·	·	
				σ					•	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	Ī	1ST	2ND	3RD	4TH	5TH
x 92-17-34-379-027		0.10	\$960.61	\$96.06	DATE PAID					
JOHN HAGUE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A205	CONDOMINIUM UNIT 12 BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1820 BIRCHWOOD CIR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390										
× 92-17-34-379-028		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		UNIT					_	_		
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A206	CONDOMINIUM UNIT 13, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 070 000		0.40	# 000 04	#00.00	DATE DAID					
× 92-17-34-379-029		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
CHARLIE KALEIN	CONDOMINIUM PLAN NO 383 SHORELINE	_			DALANCE	Φ ΩΩ ΩΩ	Ф 7 С ОГ	ФE7.04	#20.42	£40.04
855 S PONTIAC TRL # A207	CONDOMINIUM UNIT 14 BLDG 1 L 8715 P				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7639 NORTHWEST 71ST WAY	020 07/03/04 1 10 014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
PARKLAND FL 33067					IOIAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-030		0.10	\$960.61	\$96.06	DATE PAID					
RICKY PARY		UNIT	ψ300.01	ψ30.00	DATETAID					
NONTANT	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A301	CONDOMINIUM UNIT 15 BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						******	¥101=1	***************************************	¥	¥101=1
x 92-17-34-379-031		0.10	\$960.61	\$96.06	DATE PAID					
DOUGLAS MURPHY		UNIT	*	****	l t					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A302	CONDOMINIUM UNIT 16, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-032		0.10	\$960.61	\$96.06	DATE PAID					
MARLAINE HUBBARD		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A303	CONDOMINIUM UNIT 17, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
v 02 47 24 270 022		0.40	\$060.04	\$00.00	DATE PAID				1	
× 92-17-34-379-033		0.10	\$960.61	\$96.06	DATE PAID				1	
BENJAMIN ELES	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$06.06	\$76.0E	¢57.64	\$38.42	¢10.21
955 C DONTIAC TDL # 4204	CONDOMINIUM UNIT 18, BLDG 1 L 8715 P				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
855 S PONTIAC TRL # A304 WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$19.21	\$19.21	\$19.21	\$0.00
WALLED LAKE IVII 40030-0001	020 01/00/01111 011				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	Ψ10.21	Ψ10.21	Ψ13.21	Ψ13.21	Ψ10.21
× 92-17-34-379-034		0.10	\$960.61	\$96.06	DATE PAID					
RAY LAWRENCE		UNIT	ψοσο.σι	ψ55.00	2,21,					
	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A305	CONDOMINIUM UNIT 19, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5391 BRIDGE TRL W					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TWP MI 48382						·				,
	1			н	_к		1	1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN ⁻	TS	
					=	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-035		0.10	\$960.61	\$96.06	DATE PAID					
TERESA L SCHULKE		UNIT			5		^=	^ • ·	200.10	010.01
055 0 BONTIAO TRI " 4000	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A306	CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	020 07/03/64 FK 014				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
10900 BLAINE RD BRIGHTON MI 48114					IOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-036		0.10	\$960.61	\$96.06	DATE PAID					
BRADLEY ARMSTRONG		UNIT	φ900.01	\$90.00	DATE FAID					
BRADEL I ARMOTRONO	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
855 S PONTIAC TRL # A307	CONDOMINIUM UNIT 21, BLDG 1 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3301	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
12272 HILLSIDE DR	320 01,0070 11110 11				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
PLYMOUTH MI 48170						¥ . • . • .	· · · ·	*	V 101	¥101=1
× 92-17-34-379-037		0.10	\$960.61	\$96.06	DATE PAID					
RUTH E. MILAN, LIVING TRUST		UNIT								
·	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B101	CONDOMINIUM UNIT 22, BLDG 2 L 8715 P	•			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-038		0.10	\$960.61	\$96.06	DATE PAID					
WILLIAM J BAIDEL		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B103	CONDOMINIUM UNIT 23, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		0.40	# 000 04	# 00.00	DATE DAID					
x 92-17-34-379-039		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
ALAN LAPOINTE	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B103	CONDOMINIUM UNIT 24, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/1222 E/11/2 WII 40000 0000	020 01/00/01 111 01 1				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101712	Ψ10.21	ψ10.21	ψ10.21	ψ10.21	ψ10. 2 1
× 92-17-34-379-040		0.10	\$960.61	\$96.06	DATE PAID					
DAVID FINN		UNIT		*						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B104	CONDOMINIUM UNIT 25, BLDG 2 L 8715 P	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		<u> </u>								
× 92-17-34-379-041		0.10	\$960.61	\$96.06	DATE PAID					
SARAH MCNEILLY	001/001/11/11/14/01/11/10 000 01/07 =: :::	UNIT				A a a a a a	A- 6		005 :-	0.0 - :
075 0 PONTIA 0 751 " 5 105	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B105	CONDOMINIUM UNIT 26, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-042		0.10	\$960.61	\$96.06	DATE PAID					
PHILLIP NAPPO		UNIT	10.006	φ30.00	DATERAID					
THEE NAME OF	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B106	CONDOMINIUM UNIT 27, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
L	1			И			1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-043 DANIEL THOMAS ROWE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B107	CONDOMINIUM UNIT 28, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-044		0.10	\$960.61	\$96.06	DATE PAID					
LEANNA LORINCZ		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B108	CONDOMINIUM UNIT 29, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-045		0.10	\$960.61	\$96.06	DATE PAID					
JAMES BECK		UNIT								
JOANNE BECK	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B109	CONDOMINIUM UNIT 30, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2043 PALMER DR WIXOM MI 48393					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-046		0.10	\$960.61	\$96.06	DATE PAID					
JAMESON MACBETH		UNIT			5	***	^	^ • ·	***	01001
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # 201	CONDOMINIUM UNIT 31, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-047		0.10	\$960.61	\$96.06	DATE PAID					
WILLIAM BLAKE	CONDOMINIUM DI ANI NO 202 CI IODEI INE	UNIT			DALANOE	#00.00	Ф 7 0 05	PEZ 04	COO 40	# 40.04
JOANN M BLAKE	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 32, BLDG 2 L 8715 P				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B202 WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE WII 40390-3300	020 07/03/04 1 10 014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-048 HEATHER LAROCHE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B203	CONDOMINIUM UNIT 33, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
824 REVERE CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NORTHVILLE MI 48167										
x 92-17-34-379-049		0.10	\$960.61	\$96.06	DATE PAID					
EIKE M PERREAULT		UNIT					1			
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B204	CONDOMINIUM UNIT 34, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7104 PEBBLE PARK DR WEST BLOOMFIELD MI 48322					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-050		0.10	\$960.61	\$96.06	DATE PAID					
MARK GALARDI	CONDOMINIUM DI ANI NO COS CUIOTTI ILI	UNIT			541	000.00	070.07	05= 5 /	000 10	# 10.5:
OTE O DONITIAO TEL VIDEO	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B205	CONDOMINIUM UNIT 35, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
				l			<u> </u>			

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-051 KENNETH DURYN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE	-			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B206	CONDOMINIUM UNIT 36, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-052		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL J ROSSO		UNIT								
DIANE M ROSSO	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # 207	CONDOMINIUM UNIT 37, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3110 E MAPLE MILFORD MI 48381					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-053		0.10	\$960.61	\$96.06	DATE PAID					
MELVIN SCHROEDER		UNIT								
SHARON SCHROEDER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B208	CONDOMINIUM UNIT 38, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4444 GOLF VIEW DR BRIGHTON MI 48116					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-054		0.10	\$960.61	\$96.06	DATE PAID					
LAURIE ROBINSON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B209	CONDOMINIUM UNIT 39, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-055		0.10	\$960.61	\$96.06	DATE PAID					
JANICE L BARLOW		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B301	CONDOMINIUM UNIT 40, BLDG 2 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/64 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-056		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
OCCUPANT	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B302	CONDOMINIUM UNIT 41, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-057		0.10	\$960.61	\$96.06	DATE PAID					
MARIANNE DAVIES		UNIT	φ 3 00.01	φ30.00	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B303	CONDOMINIUM UNIT 42, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-058		0.10	\$960.61	\$96.06	DATE PAID					
ROBERT TRICKEY		UNIT			<u> </u>					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B304	CONDOMINIUM UNIT 43, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
				l						

102 of 175 6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-059 RUBIN ZOLTON		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
TRUST	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B305	CONDOMINIUM UNIT 44, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
30580 SEQUOIA CIR FARMINGTON HILLS MI 48331					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-060	<u> </u>	0.10	\$960.61	\$96.06	DATE PAID					
SHANE LYNN		UNIT	ψ300.01	ψ30.00	DATETAID					
577 W. 2 2 77W	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B306	CONDOMINIUM UNIT 45, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-061 BRYAN T HARPER		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
Driving Thing 2rd	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B307	CONDOMINIUM UNIT 46, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-062		0.10	\$960.61	\$96.06	DATE PAID					
TY TRAVIS		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B308	CONDOMINIUM UNIT 47, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-063	<u> </u>	0.10	\$960.61	\$96.06	DATE PAID					
HARVEY NELSON		UNIT	φοσσ.σ ι	φοσ.σσ						
JANE NELSON	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
875 S PONTIAC TRL # B309	CONDOMINIUM UNIT 48, BLDG 2 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3306	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
241 WOODCREST CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TOWNSHIP MI 48390										
× 92-17-34-379-064 ANN MARIE DENEEN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C101	CONDOMINIUM UNIT 49, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
20 17 21 272 225		0.10	A 000 01	000.00	DATE SAIS					
× 92-17-34-379-065		0.10	\$960.61	\$96.06	DATE PAID					
MONICA WUNKEL	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			DALANCE	#00.00	Ф 7 С ОГ	ФEZ 0.4	COC 40	£40.04
895 S PONTIAC TRL # C102	CONDOMINIUM UNIT 50, BLDG 3 L 8715 P	1			BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$19.21	\$19.21	\$19.21	\$0.00
WALLED LAKE IVII 40090-0010	020 07/00/01110 011				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						ψ.ψ.μ.	ψ.υ. <u>Σ</u> .	Ţ.J. <u>Z</u> I	Ų.J. <u>L</u> I	ψ.σ. <u>Σ</u> .
× 92-17-34-379-066		0.10	\$960.61	\$96.06	DATE PAID					
RENEE RIDING		UNIT			i t					
	CONDOMINIUM PLAN NO 383 SHORELINE	1			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C103	CONDOMINIUM UNIT 51, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-379-067		0.10	\$960.61	\$96.06	DATE PAID					
JOHN PATAKI		UNIT	•	****						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C104	CONDOMINIUM UNIT 52, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
112 MANSEAU					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FOLSOM CA 95630						¥ . • . • .	*	V . V . V	¥101=1	* * * * * * * * * * * * * * * * * * *
× 92-17-34-379-068		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		UNIT	********	400.00						
0000.7	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C105	CONDOMINIUM UNIT 53, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 356					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALHALLA MI 49458					TOTAL	Ψ10.21	Ψ13.21	ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-379-069		0.10	\$960.61	\$96.06	DATE PAID					
GERALYNN M MILLER		UNIT	ψ500.01	ψ50.00	D/(ILI/(ID					
GERAL THIN WI WILLER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C106	CONDOMINIUM UNIT 54, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3313	020 07/03/04 1 10 014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-070		0.10	\$960.61	\$96.06	DATE PAID					
JULIE KATHLEEN GLASSCO		UNIT	φ900.01	\$90.00	DATE PAID					
JULIE KATHLEEN GLASSCO	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
OOF C DONITIAC TOL # C107	CONDOMINIUM UNIT 55, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
895 S PONTIAC TRL # C107 WALLED LAKE MI 48390-3313	620 07/05/84 FR 014									\$0.00
WALLED LAKE IVII 48390-3313	020 07/03/04 FK 014				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$19.21
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-071		0.10	\$960.61	\$96.06	DATE PAID					
NICHOLAS PAPADAKOS		UNIT	φ900.01	\$90.00	DATE PAID					
PETER PAPADAKOS	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
	CONDOMINIUM UNIT 56, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
895 S PONTIAC TRL # C108 WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3313	020 07/03/04 1 10 014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-072		0.10	\$960.61	\$96.06	DATE PAID					
ROBERT LONGUSKI		UNIT	φ900.01	ψ90.00	DATEFAID					
NOBERT EUNOUSIN	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C109	CONDOMINIUM UNIT 57, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1729 WENTWORTH DR	020 01/00/04 11(014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
CANTON MI 48188					TOTAL	ψ13.21	ψ19.21	Ψ19.21	ψ13.21	ψ19.21
x 92-17-34-379-073		0.10	\$960.61	\$96.06	DATE PAID				+	
JOHN WESSON		UNIT	ψουυ.υ ι	ψου.υυ	DATEFAID				 	
JOHN WESSON	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C201	CONDOMINIUM UNIT 58, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3313	020 01/00/04 11(014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	Ψ13.21	Ψ13.Δ1	Ψ13.Δ1	Ψ13.21	Ψ13.21
× 92-17-34-379-074	1	0.10	\$960.61	\$96.06	DATE PAID				1	
PAUL FORTNEY		UNIT	ψυσυ.σι	ψυυ.υυ	D. CLETAID				1	
PATRICIA FORTNEY	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C202	CONDOMINIUM UNIT 59, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
VVALLED LAINE IVII 40330-3313	020 01/00/04 1 10 014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	φ13.21	क्।ज.८।	क्।ज.८।	क्।अ.∠।	क्।इ.८।
				<u> </u>					1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li e	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-075 NORMAN L SANDLES		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C203	CONDOMINIUM UNIT 60, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
30150 TELEGRAPH RD STE 245 BINGHAM FARMS MI 48025					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-076		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		UNIT	φοσσ.σ ι	φοσ.σσ						
	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C204	CONDOMINIUM UNIT 61, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 070 077		0.40	#	# 00.00	DATE DAID					
× 92-17-34-379-077 MARY-JOAN GAWLOWSKI		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
MAKT-JOAN GAWLOWGN	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C205	CONDOMINIUM UNIT 62, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
36550 GRAND RIVER AVE # 403					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FARMINGTON HILLS MI 48335										
× 92-17-34-379-078		0.10	\$960.61	\$96.06	DATE PAID					
AMANDA L JACKSON	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$06.06	₹76.0 F	\$ E7.64	¢20.42	¢10.21
895 S PONTIAC TRL # C206	CONDOMINIUM UNIT 63, BLDG 3 L 8715 P				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/1222 2/11/2 WII 40000 0010	020 01700701111011				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						¥ : - : - :	¥	* · • · · ·	*	7
× 92-17-34-379-079		0.10	\$960.61	\$96.06	DATE PAID					
JAMIE REEVES		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C207	CONDOMINIUM UNIT 64, BLDG 3 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	020 07/03/64 FR 014				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOIAL	ψ13.21	\$13.21	Ψ19.21	ψ19.21	Ψ19.21
× 92-17-34-379-080		0.10	\$960.61	\$96.06	DATE PAID					
LINDA BASHI		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C208	CONDOMINIUM UNIT 65, BLDG 3 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21 \$0.00
WALLED LAKE MI 48390-3313	020 07/03/64 FR 014				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$19.21
					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-379-081		0.10	\$960.61	\$96.06	DATE PAID					
LEE SHERWOOD		UNIT	•		i t					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C209	CONDOMINIUM UNIT 66, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-082		0.10	\$960.61	\$96.06	DATE PAID					
DAVID LOEFFLER		UNIT	+	7.5.00						
ALBERT LOEFFLER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C301	CONDOMINIUM UNIT 67, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-083 PARVIZ PEZESHKIAN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
PARVAN SHOJACI	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C302	CONDOMINIUM UNIT 68, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
802 HIDDEN CREEK					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
SOUTH LYON MI 48178 x 92-17-34-379-084		0.10	\$960.61	\$96.06	DATE PAID					
JEFFREY RUSSO		UNIT	ψ900.01	ψ90.00	DATEFAID					
DEFF REF ROOSE	CONDOMINIUM PLAN NO 383 SHORELINE	-			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # 303	CONDOMINIUM UNIT 69, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-085		0.10	\$960.61	\$96.06	DATE PAID					
MARY HARTLEY		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C304	CONDOMINIUM UNIT 70, BLDG 3 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313 3095 BROCK ST	620 07/05/64 FR 014				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
KEEGO HARBOR MI 48320					IOIAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-086		0.10	\$960.61	\$96.06	DATE PAID				1	
LEONARD J GIAMPINO		UNIT	φ500.01	ψ50.00	D/(ILI/(ID					
	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C305	CONDOMINIUM UNIT 71, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-087		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		UNIT								
005 0 DONTIAO TDI # 0000	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 72, BLDG 3 L 8715 P				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C306 WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE WII 46390-3313	020 07/03/04 110 014				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-379-088		0.10	\$960.61	\$96.06	DATE PAID					
LAURA L JACOBS		UNIT	·	·						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C307	CONDOMINIUM UNIT 73, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-379-089		0.40	\$060.04	\$00.00	DATE PAID				1	
× 92-17-34-379-089 MICHAEL GIANUNZIO		0.10 UNIT	\$960.61	\$96.06	DATE PAID				-	
WIIGHAEL GIANUNZIO	CONDOMINIUM PLAN NO 383 SHORELINE	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C308	CONDOMINIUM UNIT 74, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-379-090		0.10	\$960.61	\$96.06	DATE PAID					
DAVID J FOUT		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
895 S PONTIAC TRL # C309	CONDOMINIUM UNIT 75, BLDG 3 L 8715 P				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3313	620 07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
]					l .	l .	1	

106 of 175 6232010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll.	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-379-091		0.20	\$960.61	\$192.12	DATE PAID					
DANIEL NARAGON		UNIT								
	VIRGINIA PARK SUB LOTS 25 & 26 11-5-92				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
98 COALMONT ST	FR 001 & 002				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3325					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
124 FAYWOOD ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377-1305 x 92-17-34-379-092		0.00	COCO O4	£400.40	DATE DAID					-
JOSHUA CRESWELL		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
GAIL CRESWELL		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
122 COALMONT ST	VIRGINIA PARK SUB LOTS 21 & 22 5-7-09				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	FR 005 & 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40090					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψ00.42
× 92-17-34-412-001		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM E MCDONALD		UNIT	*	,						
	SUPERVISOR'S PLAT NO. 2 E 61.28 FT OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LOT56				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	LO136				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
212 S PONTIAC TRL					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3351										
× 92-17-34-412-002		1.00	\$960.61	\$960.61	DATE PAID					
FRANK CHRISTOPHER		UNIT								
(= (0 DO)(= (0 TD)	OLIDED VICEDE DI AT NO GLOT SE				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
174 S PONTIAC TRL	SUPERVISORS PLAT NO 2 LOT 55				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3349					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-412-003		1.00	\$960.61	\$960.61	DATE PAID					
FRANK CHRISTOPHER		UNIT	ψ900.01	ψ900.01	DATEFAID					
THANK SIMOTOTTEK		OIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 2 LOT 54				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
174 S PONTIAC TRL					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390										
× 92-17-34-412-004		1.00	\$960.61	\$960.61	DATE PAID					
ADRAIN HILL		UNIT								
	011050140001051151515				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 2 LOT 53				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
400 0 PONTIAO TEL					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
162 S PONTIAC TRL WALLED LAKE MI 48390-3349					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-412-005		1.00	\$960.61	\$960.61	DATE PAID					
TIMOTHY VORCE		UNIT	10.006	ψ900.01	DATE FAID				1	
MARILYN VORCE		ONIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 2 LOT 52				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
148 S PONTIAC TRL					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3349										
× 92-17-34-412-006		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM VREELAND		UNIT								
MAUREEN VREELAND					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 2 LOT 51				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1016 S WAYNE ST					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
ARLINGTON VA 22204-				<u> </u>					1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-412-007		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM VREELAND		UNIT								
	SUPERVISOR'S PLAT NO. 2 LOT 50 EXC				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ELY 64.5 FT				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	221 04.511				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3231 UNION LAKE RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
COMMERCE TWP MI 48382-4550										
x 92-17-34-412-014		1.00	\$960.61	\$960.61	DATE PAID					
UNIVEST DEV. CORP		UNIT								
	SUPERVISOR'S PLAT NO. 2 W 1/2 OF				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
136 E WALLED LAKE DR	LOT 45				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22580 TELEGRAPH RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
SOUTHFIELD MI 48033-4107										
× 92-17-34-412-015		1.00	\$960.61	\$960.61	DATE PAID					
UNIVEST DEV. CORP		UNIT								
	SUPERVISOR'S PLAT NO. 2 E 1/2 OF LOT				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
136 E WALLED LAKE DR	45				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22580 TELEGRAPH RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
SOUTHFIELD MI 48033-4107		4.00	# 000 04	\$000 O4	DATE DAID					
× 92-17-34-412-016		1.00	\$960.61	\$960.61	DATE PAID					
UNIVEST DEV. CORP		UNIT			54144105	A 000 04	#700.40	#570.07	000101	0400.40
400 E WALLED LAKE DD	SUDEDVISORIS DI AT NO. 31 OT 44				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
136 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 44				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00 \$192.12	\$0.00	\$0.00	\$0.00
22580 TELEGRAPH RD SOUTHFIELD MI 48033-4107					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
x 92-17-34-412-017		3.00	\$960.61	¢2 004 02	DATE PAID					
		UNIT	\$960.61	\$2,881.83	DATE PAID					
KEY LARGO, L.L.C.		UNIT			BALANCE	\$2,881.83	\$2,305.46	\$1,729.10	\$1,152.73	\$576.37
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 43				PRINCIPAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
WALLED LAKE MI 48390-3552	OUI ERVIOUR OT EAT NO. 2 EUT 45				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
829 E WALLED LAKE DR					TOTAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
WALLED LAKE MI 48390-3601					TOTAL	ψ57 0.57	ψ510.51	ψ510.51	ψ5/0.5/	ψ5/ 0.5/
× 92-17-34-412-018		0.00	\$960.61	\$0.00	DATE PAID					
KEY LARGO, L.L.C.		UNIT	φοσο.σ ι	Ψ0.00	D/(121/10					
1127 2711(30) 212707		01111			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 42				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
829 E WALLED LAKE DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3601						1				
x 92-17-34-412-019		0.00	\$960.61	\$0.00	DATE PAID					
KEY LARGO, L.L.C.		UNIT	•							
·					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOTS 40 & 41				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
829 E WALLED LAKE DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3601										
x 92-17-34-412-020		0.00	\$960.61	\$0.00	DATE PAID					
KEY LARGO, L.L.C.		UNIT				·				
					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOTS 38 & 39				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
829 E WALLED LAKE DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3601										
WALLED LAKE MI 48390-3601	l			J.			<u> </u>		<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-412-021 KEY LARGO LLC		0.00 UNIT	\$960.61	\$0.00	DATE PAID					
					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 37				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
829 E WALLED LAKE DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3601			*****	^-	5.75 5.45					
× 92-17-34-412-027		0.75	\$960.61	\$720.46	DATE PAID					
ARLENE RIEGNER		UNIT			DALANOE	Ф 7 00 40	\$570.07	£400.07	#000 40	C11100
116 E WALLED LAKE DR UNIT 1	CONDOMINIUM PLAN NO 197 POINTE DU				BALANCE PRINCIPAL	\$720.46 \$144.09	\$576.37 \$144.09	\$432.27 \$144.09	\$288.18 \$144.09	\$144.09 \$144.09
WALLED LAKE MI 48390-3500	LAC BLDG A, UNIT 1 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
16863 OLD BEDFORD RD					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
NORTHVILLE MI 48168					1017.2	Ψ111.00	Ψ111.00	ΨΤΤΙΙΟΟ	Ψ111.00	Ψ111.00
x 92-17-34-412-028		0.75	\$960.61	\$720.46	DATE PAID					
WORLD SAVINGS BANK		UNIT	·							
	CONDOMINIUM PLAN NO 197 POINTE DU				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
116 E WALLED LAKE DR UNIT 2	LAC BLDG A, UNIT 2 L 6424 P 862				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WALLED LAKE MI 48390-3500	E/10 BEBO /1, 01111 2 E 0424 1 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4101 WISEMAN BLVD # 1621					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
SAN ANTONIO TX 78251			****	^-	5.75 5.45					
× 92-17-34-412-029		0.75	\$960.61	\$720.46	DATE PAID					
RANDALL PENN		UNIT			BALANCE	Ф 7 00 40	ФЕ 7 С 07	\$432.27	¢200.40	C4.44.00
RENEE M DALGLEISH 116 E WALLED LAKE DR UNIT 3	CONDOMINIUM PLAN NO 197 POINTE DU				PRINCIPAL	\$720.46 \$144.09	\$576.37 \$144.09	\$432.27 \$144.09	\$288.18 \$144.09	\$144.09 \$144.09
WALLED LAKE MI 48390-3500	LAC BLDG A, UNIT 3 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
8906 COMMERCE RD # 1					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
COMMERCE MI 48382					1017.2	Ψ111.00	Ψ111.00	ΨΤΤΙΙΟΟ	Ψ111.00	Ψ111.00
x 92-17-34-412-030		0.75	\$960.61	\$720.46	DATE PAID					
RANDALL PENN		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
116 E WALLED LAKE DR UNIT 4	LAC BLDG A, UNIT 4 L 6424 P 862				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WALLED LAKE MI 48390-3508	2.10 22207., 0.11. 120.211 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
× 92-17-34-412-031		0.75	\$960.61	\$720.46	DATE PAID					
RUTH A PATAKY		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
116 E WALLED LAKE DR UNIT 5	LAC BLDG A, UNIT 5 L 6424 P 862				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WALLED LAKE MI 48390-3508					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
× 92-17-34-412-032		0.75	\$960.61	\$720.46	DATE PAID				1	
J GARY MORGAN		UNIT	1,9.006	⊅1∠U.46	DATE PAID				1	+
J GAN I WONGAN		_			BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
116 E WALLED LAKE DR UNIT 6	CONDOMINIUM PLAN NO 197 POINTE DU				PRINCIPAL		\$144.09	\$144.09	\$144.09	\$144.09
WALLED LAKE MI 48390-3508	LAC BLDG A, UNIT 6 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1143 GOVERNERS WAY					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
VERO BEACH FL 32963		<u> </u>								
x 92-17-34-412-033		0.75	\$960.61	\$720.46	DATE PAID					
ROBERT W THOMAS		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
106 E WALLED LAKE DR UNIT 7	LAC BLDG B, UNIT 7 L 6424 P 862				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WALLED LAKE MI 48390-3516					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
		1								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-412-034 BARBARA SATTERTHWAITE TIMOTHY WHITE 106 E WALLED LAKE DR UNIT 8 WALLED LAKE MI 48390-3516	CONDOMINIUM PLAN NO 197 POINTE DU LAC BLDG B, UNIT 8 L 6424 P 862	0.75 UNIT	\$960.61	\$720.46	BALANCE PRINCIPAL INTEREST TOTAL	\$720.46 \$144.09 \$0.00 \$144.09	\$576.37 \$144.09 \$0.00 \$144.09	\$432.27 \$144.09 \$0.00 \$144.09	\$288.18 \$144.09 \$0.00 \$144.09	\$144.09 \$144.09 \$0.00 \$144.09
x 92-17-34-412-035 HENRY ADAMS 106 E WALLED LAKE DR UNIT 9 WALLED LAKE MI 48390-3516	CONDOMINIUM PLAN NO 197 POINTE DU LAC BLDG B, UNIT 9 L 6424 P 862	0.75 UNIT	\$960.61	\$720.46	DATE PAID BALANCE PRINCIPAL INTEREST TOTAL	\$720.46 \$144.09 \$0.00 \$144.09	\$576.37 \$144.09 \$0.00 \$144.09	\$432.27 \$144.09 \$0.00 \$144.09	\$288.18 \$144.09 \$0.00 \$144.09	\$144.09 \$144.09 \$0.00 \$144.09
x 92-17-34-412-036 LARRY HAGOOD 106 E WALLED LAKE DR UNIT 10 WALLED LAKE MI 48390-3516	CONDOMINIUM PLAN NO 197 POINTE DU LAC BLDG B, UNIT 10 L 6424 P 862	0.75 UNIT	\$960.61	\$720.46	BALANCE PRINCIPAL INTEREST TOTAL	\$720.46 \$144.09 \$0.00 \$144.09	\$576.37 \$144.09 \$0.00 \$144.09	\$432.27 \$144.09 \$0.00 \$144.09	\$288.18 \$144.09 \$0.00 \$144.09	\$144.09 \$144.09 \$0.00 \$144.09
x 92-17-34-412-037 GERALD L ANDERSON JR 127 S PONTIAC TRL WALLED LAKE MI 48390-3350	See Assessors Office for Legal Description	1.00 UNIT	\$960.61	\$960.61	BALANCE PRINCIPAL INTEREST TOTAL	\$960.61 \$192.12 \$0.00 \$192.12	\$768.49 \$192.12 \$0.00 \$192.12	\$576.37 \$192.12 \$0.00 \$192.12	\$384.24 \$192.12 \$0.00 \$192.12	\$192.12 \$192.12 \$0.00 \$192.12
o 92-17-34-426-006 AMY BATES 529 NORTHPORT ST WALLED LAKE MI 48390-3551	HILL CROFT SUB LOTS 5 & 6	0.20 UNIT	\$960.61	\$192.12	BALANCE PRINCIPAL INTEREST TOTAL	\$192.12 \$38.42 \$0.00 \$38.42	\$153.70 \$38.42 \$0.00 \$38.42	\$115.27 \$38.42 \$0.00 \$38.42	\$76.85 \$38.42 \$0.00 \$38.42	\$38.42 \$38.42 \$0.00 \$38.42
o 92-17-34-426-009 E ROY D RULE 435 NORTHPORT ST WALLED LAKE MI 48390-3549	HILL CROFT SUB W 10 FT OF LOT 10, ALSO ALL OF LOTS 11 & 12	0.20 UNIT	\$960.61	\$192.12	BALANCE PRINCIPAL INTEREST TOTAL	\$192.12 \$38.42 \$0.00 \$38.42	\$153.70 \$38.42 \$0.00 \$38.42	\$115.27 \$38.42 \$0.00 \$38.42	\$76.85 \$38.42 \$0.00 \$38.42	\$38.42 \$38.42 \$0.00 \$38.42
o 92-17-34-426-010 CHRISTINE GRETZNER 501 NORTHPORT ST WALLED LAKE MI 48390-3551	HILL CROFT SUB LOT 9, ALSO LOT 10 EXC W 10 FT	0.20 UNIT	\$960.61	\$192.12	BALANCE PRINCIPAL INTEREST TOTAL	\$192.12 \$38.42 \$0.00 \$38.42	\$153.70 \$38.42 \$0.00 \$38.42	\$115.27 \$38.42 \$0.00 \$38.42	\$76.85 \$38.42 \$0.00 \$38.42	\$38.42 \$38.42 \$0.00 \$38.42
o 92-17-34-426-011 DEBRA KLEIN 535 NORTHPORT ST WALLED LAKE MI 48390-3551 3255 GOTFREDSON RD YPSILANTII MI 48198	HILL CROFT SUB LOTS 3 & 4 3/6/92 FR 007	0.20 UNIT	\$960.61	\$192.12	BALANCE PRINCIPAL INTEREST TOTAL	\$192.12 \$38.42 \$0.00 \$38.42	\$153.70 \$38.42 \$0.00 \$38.42	\$115.27 \$38.42 \$0.00 \$38.42	\$76.85 \$38.42 \$0.00 \$38.42	\$38.42 \$38.42 \$0.00 \$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-426-012 CASEY AMBROSE		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
CHRISTY BROWN-AMBROSE	HILL CROFT SUB LOTS 1 & 2 3/6/92 FR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	007				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
440 5 1441 5 5 1 41/5 5 5					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
440 E WALLED LAKE DR WALLED LAKE MI 48390-3560					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-426-013 DONALD J RIMATZKI		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
	HILL CROFT SUB LOTS 7 & 8 8-4-94 FR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
515 NORTHPORT ST	004 & 005				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3551	004 & 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-427-003 KEITH A VARGO		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
NEITH A VANGO		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
231 HILLCROFT DR	HILL CROFT SUB LOTS 13 & 14				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3521	THEE CITOT I SOB LOTS 13 & 14				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3321					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						ψ50.72	Ψ30.42	ψ00.42	ψ50.42	Ψ30.42
o 92-17-34-427-021 KEITH VARGO		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
	HILL CROFT SUB LOT 15, ALSO LOT 16	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
217 HILLCROFT DR	EXC S 10 FT, ALSO S 21 FT OF E 47 FT OF	1			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3521	LOT 13 & E 47 FT OF LOT 14 OF 'SUPERVISOR'S PLAT NO 2'				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	SUPERVISOR'S PLAT NO 2				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
× 92-17-34-427-023		0.20	\$960.61	\$192.12	DATE PAID					
PAUL A REXIN		UNIT								
	SUPERVISOR'S PLAT NO 2 LOT 16, ALSO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
435 E WALLED LAKE DR	PART OF LOTS 17 & 18 BEG AT PT DIST S				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3521	84 FT & W 24 FT FROM NE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-427-026 KEITH VARGO	HILL CROFT SUB S 10 FT OF LOT 18, ALSO ALL OF LOT 19, ALSO LOT 20 EXC S	0.20 UNIT	\$960.61	\$192.12	DATE PAID					
TELLI PARCO	4 FT, ALSO OF 'SUPERVISOR'S PLAT NO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
432 MARKET ST	2' PART OF LOT 17 DESC AS BEG AT NE				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3538	LOT COR, TH S 84 FT, TH W 44 FT, TH N				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
231 HILLCROFT	TO NW LOT COR, TH E 44 FT TO BEG 10-				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	30-89 FR 012 & 025	<u> </u>								
o 92-17-34-427-028		0.20	\$960.61	\$192.12	DATE PAID					
OCCUPANT	SUPERVISOR'S PLAT NO 2 E 30 FT OF	UNIT			DALANCE	£400.40	0450.70	¢445.07	ф т с ог	#20.40
400 MARKET OT	LOT 15, ALSO OF 'HILL CROFT SUB', S 10				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
439 MARKET ST	FT OF LOT 16, ALL OF LOT 17, ALSO LOT				PRINCIPAL INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3539	18 EXC S 10 FT 8-5-94 FR 007 & 024				TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
o 92-17-34-428-003		0.20	\$960.61	\$192.12	DATE PAID					
SHEILA J TEUFEL		UNIT	ψ500.01	Ψ102.12						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
220 HILLCROFT DR	HILL CROFT SUB LOT 26				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		<u> </u>								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-428-006		0.20	\$960.61	\$192.12	DATE PAID					
JEAN LAMARCA		UNIT			541 44105	# 100.10	0.450.70	0445.07	470.05	000.40
000 1111 1 000 05 7 00	HILL CROFT SUB LOT 23				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
200 HILLCROFT DR WALLED LAKE MI 48390-3519	HILL CROFT SUB LOT 23				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
PO BOX 415					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					TOTAL	φ30.42	φ30.42	φ30.42	φ30.42	ψ30.4Z
o 92-17-34-428-007		0.20	\$960.61	\$192.12	DATE PAID					
JOSEPH PROVENZOLA		UNIT	φοσοίο:	Ψ102.12						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
130 HILLCROFT DR	HILL CROFT SUB LOTS 21 & 22				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3518					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-34-428-010		1.00	\$960.61	\$960.61	DATE PAID					
KEITH LAPOINTE		UNIT								
	000000000000000000000000000000000000000				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
523 E WALLED LAKE DRIVE	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
o 92-17-34-428-011		0.20	\$960.61	\$192.12	DATE PAID					
WALLED LAKE INVESTMENTS, LLC		UNIT	φ900.01	\$192.12	DATE PAID					
WALLED LAKE INVESTMENTS, LES		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	HILL CROFT SUB LOT 31				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 WOODSBORO					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48067						•	,			
o 92-17-34-428-025		0.20	\$960.61	\$192.12	DATE PAID					
EAST BAY VILLAGE, LLC		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	CLUTZ LAKEVIEW WOODLANDS LOT 18				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
BIRMINGHAM MI 48009	<u> </u>	0.00	\$ 000 04	# 400.40	DATE DAID					
o 92-17-34-428-029 DOROTHY VAILLIENCOURT		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
121 LEON RD		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
WALLED LAKE MI 48390-3523	CLUTZ LAKEVIEW WOODLANDS LOT 20				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE WII 40390-3323	OLOTZ EMILENTEN WOODE/MADO LOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						¥001.1=	700	700	¥001.	¥001.
o 92-17-34-428-030		0.20	\$960.61	\$192.12	DATE PAID					
JONATHAN SEMIZIAN		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
125 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 21				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 00 47 04 400 004		0.00	\$000.04	£400.46	DATE DAID					
0 92-17-34-428-031		0.20	\$960.61	\$192.12	DATE PAID					
DOUGLAS GIEROSKY		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
129 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 22				PRINCIPAL	\$192.12	\$153.70	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3523	OLO 12 LAILE VIL VI VIOODLAINDO LOT 22				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAIKE WII 40030-0020					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					.01/12	ψ00.¬L	ψ00.π2	ψ00.72	ψ00.π2	ΨΟΟ. ΤΖ
L	1	1		II.	11		1	1	1	1

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-34-428-032		0.20	\$960.61	\$192.12	DATE PAID					
HALINA NAPIERALA		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
133 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 23				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 02 47 24 420 022		0.00	COCO C4	£400.40	DATE PAID					
o 92-17-34-428-033 HALINA NAPIERALA		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
HALINA NAFIERALA		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
133 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 24				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3523	0201227412111111000027410020121				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/12225 2/11/2 WII 10000 0020					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1017.2	ψου. 12	ψ00.12	φοσ. 12	φου. 12	φοσ. 12
o 92-17-34-428-036		0.20	\$960.61	\$192.12	DATE PAID					
LESLIE KOSTKA		UNIT	·							
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
212 HILLCROFT DR	HILL CROFT SUB LOTS 24 & 25				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
x 92-17-34-428-039		1.00	\$960.61	\$960.61	DATE PAID					
CHAD APAP		UNIT								
	One Annual Office for Level Browning				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
515 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3563					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
o 92-17-34-428-040		0.20	\$960.61	\$192.12	DATE PAID					
RITA M OSTIN		UNIT	φ900.01	\$192.12	DATEFAID					
NITA III COTIIN		O N			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
230 HILLCROFT DR	HILL CROFT SUB LOTS 27 TO 30 INCL 1-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3520	11-02 FR 001 & 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
31115 WELLINGTON # 20310					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NOVI MI 48377										
x 92-17-34-429-004		1.00	\$960.61	\$960.61	DATE PAID					
CASEY J AMBROSE		UNIT								
CHRISTY M BROWN					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
440 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3560					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-429-007		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM MARCUS		UNIT	1 0.008¢	1 0.006¢	DATE PAID					
WILLIAM MANCOS		OINII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
536 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 23 EXC				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3562	W 9 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
111.12.2.2.111.111.10000.0002					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
								, , ,	, -	
x 92-17-34-429-008		3.00	\$960.61	\$2,881.83	DATE PAID					
WALLED LAKE INVESTMENTS, LLC		UNIT								
					BALANCE	\$2,881.83	\$2,305.46	\$1,729.10	\$1,152.73	\$576.37
	SUPERVISOR'S PLAT NO. 1 LOT 22				PRINCIPAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
,-,, weepener					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 WOODSBORO					TOTAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
ROYAL OAK MI 48067		ı l								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-429-009 TRACY SOLTIS		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
TRACT SOLTIS		OIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 1 LOT 21				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
561 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3563										
x 92-17-34-429-010		1.00	\$960.61	\$960.61	DATE PAID					
KEITH VARGO		UNIT								
					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
569 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 20				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3563					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
217 HILLCROFT					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390					5.455 5.45					
× 92-17-34-429-011		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM I BURKE		UNIT			DALANCE	COCO C4	Ф 7 СО 4О	ФEZC 0Z	€204.04	£400.40
566 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 19				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
WALLED LAKE MI 48390-3562	SOFERVISORS FEAT NO. 1 EOT 19				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40030-0002					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					TOTAL	Ψ132.12	Ψ132.12	ψ132.12	ψ132.12	Ψ132.12
× 92-17-34-429-012		1.00	\$960.61	\$960.61	DATE PAID					
DAVID TUCKER		UNIT	•	,						
BARBARA TUCKER					BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 1 LOT 18				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2025 W ALLEN RD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
HOWELL MI 48855-9313										
x 92-17-34-429-013		1.00	\$960.61	\$960.61	DATE PAID					
WILLIAM ROBERTS		UNIT			DAI ANOE	000001	Φ 7 00 40	#570.07	000101	# 400.40
ALICIA ROBERTS	SUPERVISOR'S PLAT NO. 1 LOT 17				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
584 E WALLED LAKE DR WALLED LAKE MI 48390-3562	SUPERVISOR'S PLATING. I LOT 17				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
WALLED LAKE WII 40390-3302					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					TOTAL	ψ192.12	ψ132.12	Ψ132.12	Ψ132.12	Ψ132.12
× 92-17-34-429-014		0.00	\$960.61	\$0.00	DATE PAID					
WILLIAM ROBERTS		UNIT								
ALICIA ROBERTS					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	SUPERVISOR'S PLAT NO. 1 LOT 16				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
584 E WALLED LAKE DR					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3562 x 92-17-34-429-015		1.00	\$960.61	\$960.61	DATE PAID					
ROLLIN TUTTLE		UNIT	ψ 3 00.01	φ900.01	DATE FAID					
NOLLIN TOTTLE		CIVII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	SUPERVISOR'S PLAT NO. 1 LOT 15				PRINCIPAL		\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11589 HILLCREST DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
KALKASKA MI 49646										
x 92-17-34-429-018		1.50	\$960.61	\$1,440.92	DATE PAID					
VICTOR J MUSCAT	SUPERVISOR'S PLAT NO 2 PART OF LOT	UNIT				-				
	31 BEG AT NW LOT COR, TH SLY 42 FT,]			BALANCE	\$1,440.92	\$1,152.73	\$864.55	\$576.37	\$288.18
426 E WALLED LAKE DR	TH ELY 3 FT, TH NLY 40 FT, TH N 71-37-50				PRINCIPAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
WALLED LAKE MI 48390-3560	W 6.23 FT TO BEG, ALSO ALL OF LOT 32				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	7-7-92 CORR				TOTAL	\$288.18	\$288.18	\$288.18	\$288.18	\$288.18
				<u> </u>			<u> </u>		I	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-429-021		1.00	\$960.61	\$960.61	DATE PAID					
COURTENAY KONET		UNIT					A= 20.40	^	000101	* • • • • • • • • • • • • • • • • • • •
RICHARD GUNTHER	SUPERVISOR'S PLAT NO 1 LOT 24 4-12-				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
486 E WALLED LAKE DR WALLED LAKE MI 48390-3560	07 FR 019 & 020				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
WALLED LAKE WII 40390-3300					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					I TOTAL	Ψ132.12	ψ132.12	ψ132.12	ψ132.12	Ψ132.12
× 92-17-34-430-001		1.00	\$960.61	\$960.61	DATE PAID					
34VANCED ENTERPRISES LLC		UNIT	·							
	CLUTZ LAKEVIEW WOODLANDS LOT 19				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-34-428-025				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	7.0020025 WWW 77 01 120 020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 86					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
OLIVET MI 49076 x 92-17-34-430-002		4.00	COCO C4	€000 04	DATE PAID					
THE LEO GROUP, L.L.C.		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
THE LEO GROUP, L.L.C.		_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	CLUTZ LAKEVIEW WOODLANDS LOT 16				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	ASSESSED WITH 17-34-428-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
44450 PINE TREE					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
PLYMOUTH MI 48170										
x 92-17-34-430-003		1.00	\$960.61	\$960.61	DATE PAID					
THE LEO GROUP, L.L.C.		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 15				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
44450 PINE TREE					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
PLYMOUTH MI 48170					IOIAL	Φ19Z.1Z	\$192.12	Φ19Z.1Z	\$192.12	Φ19Z.1Z
× 92-17-34-430-004		1.00	\$960.61	\$960.61	DATE PAID					
THE LEO GROUP, L.L.C.		UNIT	φοσοίο.	φοσοίο:						
	CLUTZ LAKEVIEW WOODLANDS LOT 12				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	AGGEGGED WITH 17-54-420-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
44450 PINE TREE					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
PLYMOUTH MI 48170		0.75	# 000 04	₾ 700.40	DATE DAID					
× 92-17-34-430-006 WALLED LAKE HOMESTEAD, LLC		0.75 UNIT	\$960.61	\$720.46	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		_			BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
	CLUTZ LAKEVIEW WOODLANDS LOTS 8				PRINCIPAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
	& 9 ASSESSED WITH 17-34-431-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
136 S PONTIAC TRL					TOTAL	\$144.09	\$144.09	\$144.09	\$144.09	\$144.09
WALLED LAKE MI 48390										
× 92-17-34-430-007		0.75	\$960.61	\$720.46	DATE PAID					
WALLED LAKE HOMESTEAD LLC		UNIT				A= 05 :-		A 10		0.11
	CLUTZ LAKEVIEW WOODLANDS LOT 5				BALANCE	\$720.46	\$576.37	\$432.27	\$288.18	\$144.09
	ASSESSED WITH 17-34-431-004				PRINCIPAL INTEREST		\$144.09	\$144.09	\$144.09	\$144.09
733 E WALLED LAKE DR					TOTAL	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09	\$0.00 \$144.09
WALLED LAKE MI 48390-3568					101/12	ψ117.00	ψ114.00	ψ117.00	ψ117.00	ψ117.00
× 92-17-34-430-008		1.00	\$960.61	\$960.61	DATE PAID					
FRED YALDO		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 4				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-34-431-005				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
739 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390									1	

ASSESSEI	D TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
							2010	2011	2012	2013	2014
AND ADDR		OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-4			1.00	\$960.61	\$960.61	DATE PAID					
GERALD F	PLAS		UNIT			DALANOE	\$000.04	₾ 700.40	ФБ 7 0 0 7	CO04 04	£400.40
742 = \//\	LED LAKE DR	CLUTZ LAKEVIEW WOODLANDS LOT 1				BALANCE PRINCIPAL	\$960.61 \$192.12	\$768.49 \$192.12	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	AKE MI 48390-3568	ASSESSED WITH 17-34-431-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
901 BENS						TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	AKE MI 48390-5930					1017.2	Ψ.022	V.02	ψ.ο <u>Σ</u> <u>Σ</u>	V.02	V 102112
× 92-17-34-4	30-010		1.00	\$960.61	\$960.61	DATE PAID					
DERRICK	REA		UNIT		·						
		WELFARE LAKE VIEW LOT 1 ASSESSED				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
-	LED LAKE DR	WITH 17-35-302-022				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED L	AKE MI 48390-3568	35 552 522				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
						TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-34-4	20.044		4.00	\$960.61	\$960.61	DATE PAID					
MICHELE			1.00 UNIT	\$900.0 I	\$900.01	DATE PAID					
MICITELE	11103		OINIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
		WELFARE LAKE VIEW LOT 2 ACCESS				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
		FOR 17-35-302-049 8-6-07 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
751 E WAL	LED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED L	AKE MI 48390										
× 92-17-34-4			1.00	\$960.61	\$960.61	DATE PAID					
MICHELE	TITUS		UNIT						_		
		WELFARE LAKE VIEW LOT 3 ACCESS				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
		FOR 17-35-302-049 8-6-07 CORR				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
751 E \\/\/\I	LED LAKE DR					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
-	AKE MI 48390					IOIAL	ψ192.12	Ψ192.12	ψ192.12	Ψ192.12	Ψ192.12
× 92-17-34-4			1.00	\$960.61	\$960.61	DATE PAID					
_	ER BOGICEVIC		UNIT	ψοσοίο:	φοσοίο:						
		WELFARE LAKE VIEW LOT 4 ASSESSED				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
		WITH 17-35-302-025				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
		WITH 17 00 002 020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	LED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	AKE MI 48390-3568		4.00	#000 04	\$000.04	DATE DAID					
X 92-17-34-4 JAMES BC			1.00 UNIT	\$960.61	\$960.61	DATE PAID					
MARILYN			_			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
WANETH	BOTLAN	WELFARE LAKE VIEW LOT 5 ASSESSED				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
		WITH 17-35-302-026				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
761 E WAL	LED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED L	AKE MI 48390-3568										
o 92-17-34-4	···-		0.20	\$960.61	\$192.12	DATE PAID					
WALLED I	LAKE HOMESTEAD, LLC		UNIT								
		CLUTZ LAKEWIEW MOOD! ANDO ! OT CO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
		CLUTZ LAKEVIEW WOODLANDS LOT 82				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
136 S PON	ITIAC TRI					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
	AKE MI 48390					IOIAL	φυυ.42	ψυυ.42	ψ30.42	ψ30.42	ψ50.42
o 92-17-34-4			0.20	\$960.61	\$192.12	DATE PAID					
	LAKE HOMESTEAD, LLC		UNIT	+3.0.	,						
	, -					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
		CLUTZ LAKEVIEW WOODLANDS LOT 81				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
136 S PON	-					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED L	AKE MI 48390										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-001		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL WALKER		UNIT								
400 F BAY BB	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
100 E BAY DR WALLED LAKE MI 48390-3526	VILLAGE UNIT 1, BLDG 1 L 26159 P 001 7- 30-02 FR 428-022,023&024				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE WII 40390-3320	30-02 FR 426-022,023&024				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-002		0.10	\$960.61	\$96.06	DATE PAID					
David Wang		UNIT	φοσοίο.	ψου.σο						
Mi Kyoung Wang	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
102 E BAY DR	VILLAGE UNIT 2, BLDG 1 L 26159 P 001 7-				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1805 GOLF RIDGE DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BLOOMFIELD HILLS MI 48302										
× 92-17-34-432-003		0.10	\$960.61	\$96.06	DATE PAID					
ROBERT D OAK	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			DAI ANOE	# 00.00	#70.05	057.04	000.40	010.01
404 F DAY DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 3, BLDG 1 L 26159 P 001 7-				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21 \$19.21
104 E BAY DR WALLED LAKE MI 48390-3526	30-02 FR 428-022.023&024				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21
WALLED LAKE WII 46390-3320	30-0211(420-022,0230024				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-004		0.10	\$960.61	\$96.06	DATE PAID					
ROBERT L JOHNSTON JR		UNIT	******	700.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
106 E BAY DR	VILLAGE UNIT 4, BLDG 1 L 26159 P 001 7-				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		2.12	*****	***	5.455 5.45					
× 92-17-34-432-005		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
108 E BAY DR	VILLAGE UNIT 5, BLDG 1 L 26159 P 001 7-				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAWE IN 10000 0020					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
									* -	
× 92-17-34-432-006		0.10	\$960.61	\$96.06	DATE PAID					
MARK LAMPINEN		UNIT								
VERGILIA LAMPINEN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
110 E BAY DR	VILLAGE UNIT 6, BLDG 1 L 26159 P 001 7-				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-007		0.10	\$960.61	\$96.06	DATE PAID					
CHRISTOPHER OLSON		UNIT	ψου.υ ι	ψ30.00	DATEFAID					
SANDRA OLSON	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
111 SANDY LN	VILLAGE UNIT 7, BLDG 2 L 26159 P 001 7-				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-008		0.10	\$960.61	\$96.06	DATE PAID					
MARCOS VILLANUEVA	CONDOMINIUM DI ANNO ANTO TAGE TO	UNIT				400	A -7		000 :-	0.00
407 CANDVIN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
107 SANDY LN	VILLAGE UNIT 8, BLDG 2 L 26159 P 001 7- 30-02 FR 428-020				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FN 420-020				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOIAL	ψ13.Δ1	ψ13.Δ1	ψ13.∠1	ψ13.∠1	ψ13.Δ1
	L	1		1	1		1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-009 KRISTIN HELLMAN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
109 SANDY LN	VILLAGE UNIT 9, BLDG 2 L 26159 P 001 7-				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-010 EUGENE KRALOWSKI		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
SOPHIE KRALOWSKI	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
103 SANDY LN	VILLAGE UNIT 10, BLDG 2 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/\LEED E/\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	00 02 1 11 120 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-011		0.10	\$960.61	\$96.06	DATE PAID					
BRIEH GUEVARA		UNIT	\$900.01	φ96.06						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
105 SANDY LN	VILLAGE UNIT 11, BLDG 2 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-012 RENEE DALGLEISH		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
KENEE DAEGELIGH	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
101 SANDY LN	VILLAGE UNIT 12, BLDG 2 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
White Education 10000 0020					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-013		0.10	\$960.61	\$96.06	DATE PAID					
CHERYL LEVINE		UNIT	\$900.01	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
121 E BAY DR	VILLAGE UNIT 13, BLDG 3 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-014		0.10	\$960.61	\$96.06	DATE PAID					
ANTHONY OLIVERI	CONDOMINIUM DI ANIMO 4450 FACT DAVI	UNIT			BAL	# 00.55	070.07	05= 0.1	#05 15	040.57
400 F DAY DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
123 E BAY DR WALLED LAKE MI 48390-3526	VILLAGE UNIT 14, BLDG 3 L 26159 P 001 7 30-02 FR 428-022 & 023	1			PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
161 EAST BAY DR	30-02 i i 420-022 & 023				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390					IOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-015		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL BROCK	001100111111111111111111111111111111111	UNIT				Aaa	A=	A - :	000 :-	0.10 - :
, = 5 / 5 5	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
125 E BAY DR	VILLAGE UNIT 15, BLDG 3 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
						ψ. U.L.	ψ.J.L1	Ų.J.L.	ψ. J.Σ.	4.5.2 1
x 92-17-34-432-016		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
Kristin Roubie	CONDOMINIUM PLAN NO 1452 EAST BAY	_			DALANCE	¢06.06	\$76 OF	¢57.64	¢20.40	¢10.24
127 E BAY DR	VILLAGE UNIT 16, BLDG 3 L 26159 P 001 7				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$19.21	\$19.21	\$0.00	\$0.00
WALLED LAIL WII 40390-3320	00 02 1 10 420-022 Q 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ13.Δ1	Ψ13.21	Ψ13.21	Ψ1-0.2-1	Ψ13.21
	I.	ı		1			1	<u> </u>	I	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-017 BRIAN WHITE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
129 E BAY DR	VILLAGE UNIT 17, BLDG 3 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-018		0.10	\$960.61	\$96.06	DATE PAID					
DAVID WHANG	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	ድርር ርር	Ф 7 С ОГ	ФE7.04	COD 40	C40.04
MI KYOUNG WHANG 131 E BAY DR	VILLAGE UNIT 18, BLDG 3 L 26159 P 001 7				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1805 GOLF RIDGE DR	30-02 i ii 420-022 d 023				TOTAL	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BLOOMFIELD HILLS MI 48302					TOTAL	ψ19.21	Ψ19.21	Ψ19.21	Ψ19.21	Ψ19.21
× 92-17-34-432-019 KATHY S HEYL		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
KATHTSHETE	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
133 E BAY DR	VILLAGE UNIT 19, BLDG 3 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/\LLEB E/\\\\L\\\\	00 02 1 11 120 022 0 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21
× 92-17-34-432-020 TADEUSZ LUKAWSKI		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
TADEUSZ LUKAWSKI	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
135 E BAY DR	VILLAGE UNIT 20, BLDG 3 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-021		0.10	\$960.61	\$96.06	DATE PAID					
SILVA AL-RAIES		UNIT	φ900.01	\$90.00	DATE PAID					
GIEVA AL NAILO	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
137 E BAY DR	VILLAGE UNIT 21, BLDG 3 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-022		0.10	\$960.61	\$96.06	DATE PAID					
ALLISON F PULLINS		UNIT			i l					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
139 E BAY DR	VILLAGE UNIT 22, BLDG 3 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-023		0.10	\$960.61	\$96.06	DATE PAID					
ANN HADDOCK	CONDOMINIUM DI ANNO 1150 5105 510	UNIT			BAL	# 00.55	A76.37	Φ== ° ·	400 10	040.51
400 041/07/11	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
120 SANDY LN	VILLAGE UNIT 23, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
				1 4-			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,
× 92-17-34-432-024 ANSELM Y YAM		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
TERESA H CHEUNG	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
122 SANDY LN	VILLAGE UNIT 24, BLDG 4 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
16997 SYCAMORE CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NORTHVILLE MI 48168]					· ·		·	
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-025 Donald Parshal Jr.		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
124 SANDY LN	VILLAGE UNIT 25, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-026		0.10	\$960.61	\$96.06	DATE PAID					
SEAN MULDOON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
126 SANDY LN	VILLAGE UNIT 26, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-027		0.10	\$960.61	\$96.06	DATE PAID					
PETAR JOVANOSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
128 SANDY LN	VILLAGE UNIT 27, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-028		0.10	\$960.61	\$96.06	DATE PAID					
SHAWN LEBRESH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
130 SANDY LN	VILLAGE UNIT 28, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-029		0.10	\$960.61	\$96.06	DATE PAID					
LINDA BURKE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
132 SANDY LN	VILLAGE UNIT 29, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-030		0.10	\$960.61	\$96.06	DATE PAID					
LISA M MENDEZ		UNIT					1			1
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
134 SANDY LN	VILLAGE UNIT 30, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-031		0.10	\$960.61	\$96.06	DATE PAID					
KOMALJIT BHASIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
136 SANDY LN	VILLAGE UNIT 31, BLDG 4 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-032		0.10	\$960.61	\$96.06	DATE PAID					
RICHARD MILLS		UNIT								
MARY ELIZABETH MILLS	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
138 SANDY LN	VILLAGE UNIT 32, BLDG 4 L 26159 P 001 7	†			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5810 LONDONBERRIE					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
MIDLAND MI 48640										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-033 WILLIAM G SALTER		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
JEAN E SALTER	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
141 E BAY DR	VILLAGE UNIT 33, BLDG 5 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
10769 WATERFALL CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
SOUTH LYON MI 48178		0.40	# 000 04	#00.00	DATE DAID					
x 92-17-34-432-034 THOMAS E CARLSON		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
KAY F CARLSON	CONDOMINIUM PLAN NO 1452 EAST BAY	-			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
143 E BAY DR	VILLAGE UNIT 34. BLDG 5 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/ (EEED E/ (KE W)) 40000 0020	00 02 111 120 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1 .0.7.2	ψ.σ. <u></u>	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	ψ.σ. <u>=</u> .	ψ.σ. <u>Σ</u> .
x 92-17-34-432-035		0.10	\$960.61	\$96.06	DATE PAID					
MAURO CORNO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
145 E BAY DR	VILLAGE UNIT 35, BLDG 5 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 400 000		0.40	#	400.00	DATE DAID					
× 92-17-34-432-036		0.10	\$960.61	\$96.06	DATE PAID					
MARY DAAR	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	Фос ос	<u></u>	ФE7.04	COD 40	\$19.21
147 E BAY DR	VILLAGE UNIT 36. BLDG 5 L 26159 P 001 7				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40090-3020	00 02 111 120 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1017.2	ψ10. 2 1	ψ10. 2 1	ψ10. 2 1	ψ10. 2 1	Ψ10.21
x 92-17-34-432-037		0.10	\$960.61	\$96.06	DATE PAID					
DARRYL STOLARCZYK		UNIT		-						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
149 E BAY DR	VILLAGE UNIT 37, BLDG 5 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2824 PINE BLFS					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
HIGHLAND MI 48357										
× 92-17-34-432-038		0.10	\$960.61	\$96.06	DATE PAID					
KRISTEN ROBB	CONDOMINIUM DI ANINO 1452 EAST DAV	UNIT			DALANCE	ФОС ОС	Ф 7 С ОГ	ФE7.04	COD 40	£40.04
151 E BAY DR	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 38, BLDG 5 L 26159 P 001 7				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$19.21	\$19.21	\$19.21	\$0.00
WALLED LAKE IVII 40390-3320	00 02 1 10 420 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1017.2	ψ10. 2 1	ψ10.21	ψ10.21	ψ10.21	ψ10.21
× 92-17-34-432-039		0.10	\$960.61	\$96.06	DATE PAID					
JUERGEN PENKER		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
153 E BAY DR	VILLAGE UNIT 39, BLDG 5 L 26159 P 001 7	†			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
50714 CENTURY CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WIXOM MI 48393		0.10	# 000 04	#00.00	DATE DATE		1			
× 92-17-34-432-040		0.10	\$960.61	\$96.06	DATE PAID		-			
SEAN T HYLAND	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	¢06.06	\$76.0E	¢ E7.64	¢20.42	¢10.21
155 E BAY DR	VILLAGE UNIT 40, BLDG 5 L 26159 P 001 7				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020]			INTEREST	\$0.00	\$19.21	\$19.21	\$0.00	\$0.00
WALLED LAIKE WII 40080-3020	00 02 1 10 420 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					101/12	Ψ10.21	ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21
				II			<u> </u>		1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-041 GEORGE K RILEY		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
157 E BAY DR	VILLAGE UNIT 41, BLDG 5 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-042		0.10	\$960.61	\$96.06	DATE PAID					
RANDAL STLAURENT	CONDONAINIU INA DI ANI NIO 4450 EACT DAV	UNIT			5	***	^=	^	***	* • • • • • • • • • • • • • • • • • • •
450 E DAY DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 42, BLDG 5 L 26159 P 001 7				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
159 E BAY DR WALLED LAKE MI 48390-3526	30-02 FR 428-020				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE IVII 48390-3526	30-02 FR 426-020				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-043 KATHY M KRAMAR		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
KAITT W KRAWAR	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
161 E BAY DR	VILLAGE UNIT 43, BLDG 5 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3320	00 02 1 K 420 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-044 ROBERT CVETKOVSKI		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
CHRISTINA CVETKOVSKI	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
163 E BAY DR	VILLAGE UNIT 44, BLDG 5 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3526	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3101 NORTHEAST 56 CT	00 02 1 10 120 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FORT LAUDERDALE FL 33308					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	ψ13.21	ψ13.21
× 92-17-34-432-045		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL CRAIG		UNIT	*******	400.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
140 SANDY LN	VILLAGE UNIT 45, BLDG 6 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-046		0.10	\$960.61	\$96.06	DATE PAID					
GARY BENEDICT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
142 SANDY LN	VILLAGE UNIT 46, BLDG 6 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-047		0.10	\$960.61	\$96.06	DATE PAID					
CARMEN L HERNANDEZ		UNIT								
ISOBEL HERNANDEZ	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
144 SANDY LN	VILLAGE UNIT 47, BLDG 6 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-048		0.10	\$960.61	\$96.06	DATE PAID					
EVA CHINSKY, TRUSTEE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
146 SANDY LN	VILLAGE UNIT 48, BLDG 6 L 26159 P 001 7	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5715 WINDSPIRIT CT WATERFORD MI 48327					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li I	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-049 RYAN MONROE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
148 SANDY LN	VILLAGE UNIT 49, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-050		0.10	\$960.61	\$96.06	DATE PAID					
KIMBERLY INGRAM	001100111111111111111111111111111111111	UNIT								
450 0410/11	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
150 SANDY LN	VILLAGE UNIT 50, BLDG 6 L 26159 P 001 7 30-02 FR 428-020				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FK 420-020				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-051		0.10	\$960.61	\$96.06	DATE PAID					
RAYMOND FOLDEN	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$06.06	\$76.0E	¢57.64	¢20.42	¢10.21
152 SANDY LN	VILLAGE UNIT 51, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40390-3320	00 02 110 420 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ13.21	Ψ13.21	ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-052		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
KERRIE K SAUNDERS	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
154 SANDY LN	VILLAGE UNIT 52, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$30.42 \$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40390-3320	00 02 110 420 020				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					I TOTAL	Ψ13.21	Ψ13.21	ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-053		0.10	\$960.61	\$96.06	DATE PAID					
DIANE ZACHARY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
156 SANDY LN	VILLAGE UNIT 53, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-054		0.10	\$960.61	\$96.06	DATE PAID					
LAURIE INGRAM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
158 SANDY LN	VILLAGE UNIT 54, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-055		0.10	\$960.61	\$96.06	DATE PAID			<u> </u>		
IGOR GARCIA		UNIT								
ELIZABETH MALONEY-HAHN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
160 SANDY LN	VILLAGE UNIT 55, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-056		0.10	\$960.61	\$96.06	DATE PAID					
DAVID DEMRAY		UNIT								
ELLEN DEMRAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
162 SANDY LN	VILLAGE UNIT 56, BLDG 6 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3528	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
				l						

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-057		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL WUNKEL		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
160 CLUB HOUSE CIR	VILLAGE UNIT 57, BLDG 7 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
v 02 47 24 422 050		0.40	COCO C4	\$00.00	DATE PAID					
× 92-17-34-432-058 MARK KAJY		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
WARK RAJT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
162 CLUB HOUSE CIR	VILLAGE UNIT 58, BLDG 7 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
432 W BELDEN AVE # 5					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
CHICAGO IL 60614						******	¥101=1	***************************************	¥	7.00
x 92-17-34-432-059		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL VANG		UNIT								
MIRA NAM	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
164 CLUB HOUSE CIR	VILLAGE UNIT 59, BLDG 7 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-060		0.10	\$960.61	\$96.06	DATE PAID					
BOBAN RISTOVSKI	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT				***	^	^ • ·	000.10	010.01
460 CLUB HOUSE CIB	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 60. BLDG 7 L 26159 P 001 7				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
166 CLUB HOUSE CIR	30-02 FR 428-020				PRINCIPAL	\$19.21 \$0.00	\$19.21	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE MI 48390-3532	30-0211(420-020				INTEREST TOTAL	\$19.21	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ19.21	Ψ19.21	ψ19.21	ψ13.21	Ψ19.21
× 92-17-34-432-061		0.10	\$960.61	\$96.06	DATE PAID					
ALLEN HAJDUK		UNIT	ψοσοισ.	φοσισσ	5711217112					
HEATHER HAJDUK	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
168 CLUB HOUSE CIR	VILLAGE UNIT 61, BLDG 7 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-062		0.10	\$960.61	\$96.06	DATE PAID					
DAVID HEATHCOTE		UNIT								
SUZETTE HEATHCOTE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
170 CLUB HOUSE CIR	VILLAGE UNIT 62, BLDG 7 L 26159 P 001 7 30-02 FR 428-020				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532 143 CADY CENTER # 257	30-02 FK 426-020				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
NORTHVILLE MI 48167					TOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-063		0.10	\$960.61	\$96.06	DATE PAID					
AIMEE BOYETTE		UNIT	4000.0 1	\$55.55						
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
172 CLUB HOUSE CIR	VILLAGE UNIT 63, BLDG 7 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-064		0.10	\$960.61	\$96.06	DATE PAID				<u> </u>	
MEGAN BOLAND	CONDOMINIUM DI ANIMO 4450 5405 540	UNIT			BALANIG-	000.00	#70.05	057.04	000.40	010.01
474 OLUB HOUGE OLD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
174 CLUB HOUSE CIR	VILLAGE UNIT 64, BLDG 7 L 26159 P 001 7 30-02 FR 428-020				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 420-020				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOIAL	ψ13.∠1	Φ13.21	Φ13.21	Φ13.21	क्।इ.८।
		ll		II.			1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMEN	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-065 RAMINDER CHHATWAL		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
176 CLUB HOUSE CIR	VILLAGE UNIT 65, BLDG 7 L 26159 P 001 7				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28077 HICKORY					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FARMINGTON HILLS MI 48331		0.10	*****	400.00	5.4=5.445					
× 92-17-34-432-066		0.10	\$960.61	\$96.06	DATE PAID					
DANIEL FRANK	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE	#00.00	#70.05	PEZ 04	COO 40	C40.04
470 CLUB HOUSE CID	VILLAGE UNIT 66, BLDG 7 L 26159 P 001 7				BALANCE PRINCIPAL	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
178 CLUB HOUSE CIR	30-02 FR 428-020				II	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3532	30-02 FK 426-020				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOIAL	φ19.21	\$19.21	\$19.21	Φ19.Z1	\$19.21
× 92-17-34-432-067		0.10	\$960.61	\$96.06	DATE PAID					
JAMES W ROSE		UNIT	φ900.01	ψ90.00	DATEFAID					
UAMES W ROOL	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
415 BOARDWALK DR	VILLAGE UNIT 67, BLDG 8 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					' ' ' '		*		¥	* · · · · ·
× 92-17-34-432-068		0.10	\$960.61	\$96.06	DATE PAID					
AMRITPAL SOKHAL		UNIT	•		The state of the s					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
417 BOARDWALK DR	VILLAGE UNIT 68, BLDG 8 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-069		0.10	\$960.61	\$96.06	DATE PAID					
DJORDJE RADULOVIC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
411 BOARDWALK DR	VILLAGE UNIT 69, BLDG 8 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		0.10	*****	***	5.4=5.445					
× 92-17-34-432-070		0.10	\$960.61	\$96.06	DATE PAID					
JENNIFER L JENSEN	CONDOMINIUM DI AN NO 1453 EAST BAY	UNIT			DALANOE	#00.00	#70.05	PEZ 04	COO 40	C40.04
442 POARDWALK DR	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 70, BLDG 8 L 26159 P 001 1				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
413 BOARDWALK DR WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3344	21-0311(17-00-001-000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-071		0.10	\$960.61	\$96.06	DATE PAID					
SRIKANTH LOGANATHAN		UNIT	ψοσο.σ ι	ψ00.00						
C. M. C. M. L. C. M.	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
410 BOARDWALK DR	VILLAGE UNIT 71, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6352 PINE FIELD DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
HILLIARD OH 43026		<u> </u>								
x 92-17-34-432-072		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
412 BOARDWALK DR	VILLAGE UNIT 72, BLDG 9 L 26159 P 001 1	{			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	Ī	1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-073		0.10	\$960.61	\$96.06	DATE PAID					
STACY AMBROZIAK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
414 BOARDWALK DR	VILLAGE UNIT 73, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-074		0.10	\$960.61	\$96.06	DATE PAID					
KALIOPE CHRISTO	001100111111111111111111111111111111111	UNIT			5	***	4====	^ • ·	***	01001
440 004 004 004 444 44 00	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
416 BOARDWALK DR	VILLAGE UNIT 74, BLDG 9 L 26159 P 001 1 21-03 FR 17-35-301-036				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FK 17-35-301-030				INTEREST TOTAL	\$0.00 \$19.21	\$0.00	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-075		0.10	\$960.61	\$96.06	DATE PAID					
RAHUL BASHO		UNIT	φ900.01	\$90.00	DATE PAID					
KANOL BASHO	CONDOMINIUM PLAN NO 1452 EAST BAY	OINII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
418 BOARDWALK DR	VILLAGE UNIT 75, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
White Education 10000 00 11					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1017.2	Ψ10. 2 1	ψ10.21	ψ10. 2 1	ψ10. 2 1	Ψ10.21
× 92-17-34-432-076		0.10	\$960.61	\$96.06	DATE PAID					
LESLIE TOUSLEY		UNIT	*******	V						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
420 BOARDWALK DR	VILLAGE UNIT 76, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-077		0.10	\$960.61	\$96.06	DATE PAID					
ROBYN A WEHAB		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
422 BOARDWALK DR	VILLAGE UNIT 77, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 400 070		0.40	# 000 04	#00.00	DATE DAID					
× 92-17-34-432-078 MARY ANN SZWABOWSKI		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
WART ANN SZWABOWSKI	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	Ф 7 С ОГ	\$57.64	COD 40	\$19.21
424 BOARDWALK DR	VILLAGE UNIT 78, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40030-0044	21 00 11 11 00 00 1 000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ15.21	Ψ13.21	Ψ13.21	ψ13.21	Ψ13.21
× 92-17-34-432-079		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL ROBINS		UNIT		,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
426 BOARDWALK DR	VILLAGE UNIT 79, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-080		0.10	\$960.61	\$96.06	DATE PAID					
GARY SCHOENBORN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
428 BOARDWALK DR	VILLAGE UNIT 80, BLDG 9 L 26159 P 001 1				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5025 FAIRGROVE LN					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TOWNSHIP MI 48382	1									

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li I	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-081 HEATHER KNIGHT		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
430 BOARDWALK DR	VILLAGE UNIT 81, BLDG 9 L 26159 P 001 1	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-082		0.10	\$960.61	\$96.06	DATE PAID					
JANICE WEBBER	001001111111111111111111111111111111111	UNIT								
400 DO A DD WALK DD	CONDOMINIUM PLAN NO 1452 EAST BAY	1			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
432 BOARDWALK DR	VILLAGE UNIT 82, BLDG 9 L 26159 P 001 1 21-03 FR 17-35-301-036	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	21-03 FK 17-35-301-030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-083		0.10	\$960.61	\$96.06	DATE PAID					
BETTY K CHAN	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			DAI ANOE	400.00	#70.05	057.04	# 00 40	040.04
40.4 DO A DD WALL (DD	CONDOMINIUM PLAN NO 1452 EAST BAY	1			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
434 BOARDWALK DR WALLED LAKE MI 48390-3544	VILLAGE UNIT 83, BLDG 10 L 26159 P 001 1-21-03 FR 17-35-301-036				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE WII 48390-3544	1-21-03 FK 17-33-301-030				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-084		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL TOMSHA	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	COC OC	Ф7C 0Б	ФЕ 7 С4	COD 40	£40.04
426 BOARDWALK DR	VILLAGE UNIT 84, BLDG 10 L 26159 P 001	1			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
436 BOARDWALK DR WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
34841 MOUND RD STE 315	1-21-0311(17-33-301-030				TOTAL	\$19.21	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21
STERLING HEIGHTS MI 48310					TOTAL	Ψ19.21	ψ19.21	ψ19.21	Ψ19.21	ψ19.21
× 92-17-34-432-085		0.10	\$960.61	\$96.06	DATE PAID					
NATHAN W BARRETT		UNIT	φοσο.σ ι	φοσ.σσ	D7(1217(10					
CANDIDA D BARRETT	CONDOMINIUM PLAN NO 1452 EAST BAY	-			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
438 BOARDWALK DR	VILLAGE UNIT 85, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-086		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL MEIER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
440 BOARDWALK DR	VILLAGE UNIT 86, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-087		0.10	\$960.61	\$96.06	DATE PAID					
RICHARD SMITH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
442 BOARDWALK DR	VILLAGE UNIT 87, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-088		0.10	\$960.61	\$96.06	DATE PAID					
SCOTT D BRANDON	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			DALANCE	<u></u>	Ф 7 0.05	ФE7.04	COC. 40	¢40.04
MILENA A BRANDON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
444 BOARDWALK DR	VILLAGE UNIT 88, BLDG 10 L 26159 P 001 1-21-03 FR 17-35-301-036				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FK 1/-35-301-030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
				l			1	1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-089		0.10	\$960.61	\$96.06	DATE PAID					
AMY FRIEDMAN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
446 BOARDWALK DR	VILLAGE UNIT 89, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-090		0.10	\$960.61	\$96.06	DATE PAID					
NICHOLAS BUNKLEY		UNIT	ψ900.01	ψ30.00	DATETAID					
NIKA SCHULTS	CONDOMINIUM PLAN NO 1452 EAST BAY	01111			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
448 BOARDWALK DR	VILLAGE UNIT 90. BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-091		0.10	\$960.61	\$96.06	DATE PAID					
HEATHER L WEXLER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
450 BOARDWALK DR	VILLAGE UNIT 91, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1710 INVERNESS					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
SYLVAN LAKE MI 48320		0.40	COCO C4	COC.OC	DATE DAID					
× 92-17-34-432-092 PRADEEP NAIR		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
RAJEE NAIR	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
452 BOARDWALK DR	VILLAGE UNIT 92, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40090-3044	. 2. 33 35 33 . 333				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1017.2	Ψ.σ.Ξ.	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	ψ.σ. <u></u>	ψ101 <u>2</u> 1
x 92-17-34-432-093		0.10	\$960.61	\$96.06	DATE PAID					
OCCUPANT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
454 BOARDWALK DR	VILLAGE UNIT 93, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00 47 04 400 004		0.40	#	000.00	DATE DAID					
× 92-17-34-432-094		0.10	\$960.61	\$96.06	DATE PAID					
JOHN BREVIK	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
456 BOARDWALK DR	VILLAGE UNIT 94, BLDG 10 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3544	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WYNEED EYINE IVII 40000 0044	. 2. 33 35 33 . 333				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					1017.2	Ψ.σ.Ξ.	ψ.σ. <u>Σ</u> .	ψ.σ. <u>Σ</u> .	ψ.σ. <u></u>	ψ101 <u>2</u> 1
x 92-17-34-432-095		0.10	\$960.61	\$96.06	DATE PAID					
GERALD ADAMS		UNIT	-							
KAREN ADAMS	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
423 OLD PINE WAY	VILLAGE UNIT 95, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
369 W THIRD ST					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
HARBOR SPRINGS MI 49740		0.10	#	000.00	DATE SAIS				1	
× 92-17-34-432-096		0.10	\$960.61	\$96.06	DATE PAID				1	
ARTHUR GLUZMAN	CONDOMINIUM DI ANIMO 4452 EACT DAV	UNIT			DALANCE	<u></u>	\$76.0F	¢=7.04	¢20.40	£10.04
410 OLD BINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 96. BLDG 11 L 26159 P 001				BALANCE PRINCIPAL	\$96.06	\$76.85	\$57.64 \$10.21	\$38.42	\$19.21 \$10.21
419 OLD PINE WAY WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
27650 FARMINGTON RD STE B7	121 0011(17-00-001-000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
FARMINGTON HILLS MI 48334					IOIAL	Ψ10.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ10.21
17 A CIVILLO I OTA I ILLLO IVII TODOT	1	I l		1			1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-097 JOHNATHAN E TRIONFI		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
421 OLD PINE WAY	VILLAGE UNIT 97, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-098		0.10	\$960.61	\$96.06	DATE PAID					
KEVIN PFEIFLE	CONDOMINIUMA DI ANIMO 4450 E ACT DAV	UNIT			DAI ANOE	# 00.00	#70.05	A57.04	# 00 40	040.04
JULIE HALL	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 98. BLDG 11 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
415 OLD PINE WAY	1-21-03 FR 17-35-301-036				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-031 K 17-33-301-030				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-099		0.10	\$960.61	\$96.06	DATE PAID					
JOHN L TAGGART	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	Φ ΩΩ ΩΩ	Ф 7 С ОБ	ФE7.04	COD 40	C40.04
SARA K TAGGART	VILLAGE UNIT 99, BLDG 11 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21 \$19.21
417 OLD PINE WAY WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$0.00
WALLED LAKE IVII 46390-3546	1-21-031 K 17-33-301-030				TOTAL	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ13.21	\$19.21	Ψ19.21	\$19.21	Ψ19.21
× 92-17-34-432-100 DARLINE ELREDA		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
DANLINE LENEDA	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
411 OLD PINE WAY	VILLAGE UNIT 100, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1410 LEED WOOD RDG	121 00111 11 00 001 000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
COMMERCE TOWNSHIP MI 48390					101712	Ψ10. 2 1	ψ10. 2 1	ψ10. 2 1	ψ10. 2 1	Ψ10.21
× 92-17-34-432-101		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL ZELDES		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
413 OLD PINE WAY	VILLAGE UNIT 101, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-102		0.10	\$960.61	\$96.06	DATE PAID					
JASON M GILCHRIST		UNIT			<u> </u>					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
407 OLD PINE WAY	VILLAGE UNIT 102, BLDG 11 L 26159 P 001	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-103		0.10	\$960.61	\$96.06	DATE PAID					
BASEL HAMZEH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
409 OLD PINE WAY	VILLAGE UNIT 103, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-104		0.10	\$960.61	\$96.06	DATE PAID					
STEVE BLOOM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
403 OLD PINE WAY	VILLAGE UNIT 104, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
30 E DIVISION ST # 148					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
CHICAGO IL 60610										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-105 DAN CALLIN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
ROBERT CALLIN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
405 OLD PINE WAY	VILLAGE UNIT 105, BLDG 11 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-106		0.10	\$960.61	\$96.06	DATE PAID					
WENDYE MINGO	CONDOMINIUMA DI ANIMO 4450 FACT DAV	UNIT			DAI ANOE	# 00.00	#70.05	057.04	000.40	010.01
404 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 106, BLDG 11 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
401 OLD PINE WAY	1-21-03 FR 17-35-301-036				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE MI 48390-3546	1-21-0311(17-33-301-030				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-107		0.10	\$960.61	\$96.06	DATE PAID					
ELLEN OPPENHEIM	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	Φ ΩΩ ΩΩ	Ф 7 С ОБ	ФE7.С4	COD 40	¢40.04
445 OLD DINE WAY	VILLAGE UNIT 107, BLDG 12 L 26159 P 001				PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
445 OLD PINE WAY WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40390-3340	1-21-0311(17-03-301-030				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ13.21	Ψ13.21	ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-108		0.10	\$960.61	\$96.06	DATE PAID					
MICHELLE S SKLAR	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE -	#00.00	\$70.05	ФE7.04	COD 40	C40.04
447 OLD DINE WAY	VILLAGE UNIT 108, BLDG 12 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
447 OLD PINE WAY WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				PRINCIPAL	\$19.21 \$0.00	\$19.21	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE WII 40390-3340	1-21-0311(17-33-301-030				INTEREST TOTAL	\$19.21	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	ψ13.21	Ψ19.21	ψ13.21	ψ13.21	Ψ19.21
× 92-17-34-432-109		0.10	\$960.61	\$96.06	DATE PAID					
ALAN BOBERG		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
441 OLD PINE WAY	VILLAGE UNIT 109, BLDG 12 L 26159 P 001	1			PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-110		0.10	\$960.61	\$96.06	DATE PAID					
JESSICA PERRECA	CONDOMINIUM DI ANINO 1453 FAST DAV	UNIT			BALANCE	¢06.06	Ф76 OF	\$E7.64	¢20.42	£10.21
JACLYN PERRECA 443 OLD PINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 110, BLDG 12 L 26159 P 001				BALANCE PRINCIPAL	\$96.06	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036	1			INTEREST	\$19.21 \$0.00	\$19.21	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40390-3340	1-21-0311(17-03-301-030				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOTAL	φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-111		0.10	\$960.61	\$96.06	DATE PAID					
SUE VANLANDINGHAM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
437 OLD PINE WAY	VILLAGE UNIT 111, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-112		0.10	\$960.61	\$96.06	DATE PAID					
SUNDARA PANDIYAN		UNIT								
SHOBANA VINCENT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
439 OLD PINE WAY	VILLAGE UNIT 112, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li .	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-113 JOESEPH CURTIS NETHER		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
433 OLD PINE WAY	VILLAGE UNIT 113, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-114		0.10	\$960.61	\$96.06	DATE PAID					
CASEY BEAR		UNIT	·		The state of the s					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
435 OLD PINE WAY	VILLAGE UNIT 114, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1996 HAYNES BIRMINGHAM MI 48009					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-115		0.10	\$960.61	\$96.06	DATE PAID					
MICHAEL DOIDGE		UNIT	******	4 00.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
429 OLD PINE WAY	VILLAGE UNIT 115, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-116		0.10	\$960.61	\$96.06	DATE PAID					
SUSAN MATVEYEVA		UNIT								
NADIA MATVEYEVA	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
431 OLD PINE WAY	VILLAGE UNIT 116, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-117		0.10	\$960.61	\$96.06	DATE PAID					
AZIZA YATOOMA		UNIT	φοσσ.σ ι	ψου.σο						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
425 OLD PINE WAY	VILLAGE UNIT 117, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-118		0.10	\$960.61	\$96.06	DATE PAID					
JOHN C WELCH		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
427 OLD PINE WAY	VILLAGE UNIT 118, BLDG 12 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-119		0.10	\$960.61	\$96.06	DATE PAID			1		
EAST BAY VILLAGE L L C		UNIT	+	4-5.55						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
469 OLD PINE WAY	VILLAGE UNIT 119, BLDG 13 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-120		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	ψουυ.υ ι	ψ30.00	DATEFAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
471 OLD PINE WAY	VILLAGE UNIT 120, BLDG 13 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	1-21-03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										

AND ADDRESS OF PROPERTY FRONTAGE OF PROPERTY FRONTAGE PER CHARGE DATE PAID UNIT CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 121, BLDG 13 L 26159 P 001 185 OAKLAND STE 150 BIRMINGHAM MI 48009 X 92-17-34-432-122 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 121, BLDG 13 L 26159 P 001 1-21-03 FR 17-35-301-036 O.10 UNIT S960.61 S96.06 DATE PAID WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 X 92-17-34-432-123 DATE PAID UNIT S960.61 S96.06 DATE PAID UNIT S960.61 S96.06 S76.85 S57.64 S38.4 VILLAGE UNIT 122, BLDG 13 L 26159 P 001 1-21-03 FR 17-35-301-036 INTEREST TOTAL S19.21 S19.2	\$19.21 \$0.00 \$19.21
X 92-17-34-432-121 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 121, BLDG 13 L 26159 P 001 WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 X 92-17-34-432-122 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 121, BLDG 13 L 26159 P 001 UNIT 0.10 UNIT BALANCE PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.22 \$19.22 \$19.21	2 \$19.21 \$19.21 \$0.00 \$19.21
## A65 OLD PINE WAY ## A65 OLD PINE WAY ## A65 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## 1-21-03 FR 17-35-301-036 ## A65 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## A65 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## A65 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## A65 OLD PINE WAY ## A65 OLD PINE WAY ## A65 OLD PINE WAY ## A65 OLD PINE WAY ## A65 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## A67 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## A67 OLD PINE WAY ## WALLED LAKE MI 48390-3546 ## BALANCE \$96.06 \$76.85 \$57.64 \$38.4 ## UNIT ## BALANCE \$96.06 \$76.85 \$57.64 \$38.	\$19.21 \$0.00 \$19.21
BALANCE \$96.06 \$76.85 \$57.64 \$38.4	\$19.21 \$0.00 \$19.21
465 OLD PINE WAY WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 X 92-17-34-432-122 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 10.10 UNIT CONDOMINIUM PLAN NO 1452 EAST BAY WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 10.10 UNIT CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 122, BLDG 13 L 26159 P 001 185 OAKLAND STE 150 BIRMINGHAM MI 48009 VILLAGE UNIT 121, BLDG 13 L 26159 P 001 1-21-03 FR 17-35-301-036 PRINCIPAL S19.21 S19.2	\$19.21 \$0.00 \$19.21
WALLED LAKE MI 48390-3546 15.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009 X 92-17-34-432-122 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 122, BLDG 13 L 26159 P 001 185 OAKLAND STE 150 BIRMINGHAM MI 48009 TOTAL \$19.21 \$19.21 \$19.21 \$19.21 \$96.06 DATE PAID UNIT BALANCE PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	\$19.21
BIRMINGHAM MI 48009 x 92-17-34-432-122 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 122, BLDG 13 L 26159 P 001 WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 DATE PAID BALANCE \$96.06 \$76.85 \$57.64 \$38.4 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	
X 92-17-34-432-122 EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 122, BLDG 13 L 26159 P 001 WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 DATE PAID BALANCE PRINCIPAL 1-21-03 FR 17-35-301-036 S96.06 S76.85 S77.64 S38.4 PRINCIPAL INTEREST 50.00 S0.00 S0.00 S0.00 S19.21	¢10.24
EAST BAY VILLAGE L L C CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 122, BLDG 13 L 26159 P 001 WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 UNIT BALANCE \$96.06 \$76.85 \$57.64 \$38.4 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 INTEREST \$0.00	¢10.24
CONDOMINIUM PLAN NO 1452 EAST BAY 467 OLD PINE WAY WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 122, BLDG 13 L 26159 P 001 1-21-03 FR 17-35-301-036 1-21-03 FR 17-35-301-036 BALANCE PRINCIPAL 1-21-03 FR 17-35-301-036 INTEREST TOTAL 199.21	¢10.24
467 OLD PINE WAY WALLED LAKE MI 48390-3546 185 OAKLAND STE 150 BIRMINGHAM MI 48009 VILLAGE UNIT 122, BLDG 13 L 26159 P 001 1-21-03 FR 17-35-301-036 PRINCIPAL \$19.21 \$19	
WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$185 OAKLAND STE 150 SIRMINGHAM MI 48009	
185 OAKLAND STE 150 BIRMINGHAM MI 48009 TOTAL \$19.21 \$19.21 \$19.21 \$19.21	
BIRMINGHAM MI 48009	
\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	
EAST BAY VILLAGE L L C UNIT	
CONDOMINIUM PLAN NO 1452 EAST BAY BALANCE \$96.06 \$76.85 \$57.64 \$38.4	\$19.21
461 OLD PINE WAY VILLAGE UNIT 123, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	\$19.21
WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	\$0.00
185 OAKLAND STE 150 TOTAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	\$19.21
BIRMINGHAM MI 48009	
x 92-17-34-432-124 0.10 \$960.61 \$96.06 DATE PAID	
EAST BAY VILLAGE L L C UNIT	
CONDOMINIUM PLAN NO 1452 EAST BAY BALANCE \$96.06 \$76.85 \$57.64 \$38.4	
463 OLD PINE WAY VILLAGE UNIT 124, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	
WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	
185 OAKLAND STE 150 TOTAL \$19.21 \$19.21 \$19.21 \$19.21	\$19.21
BIRMINGHAM MI 48009 x 92-17-34-432-125 0.10 \$960.61 \$96.06 DATE PAID	
x 92-17-34-432-125 EAST BAY VILLAGE L L C	
CONDOMINIUM PLAN NO 1452 EAST BAY BALANCE \$96.06 \$76.85 \$57.64 \$38.4	2 \$19.21
457 OLD PINE WAY VILLAGE UNIT 125, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21	
WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	
185 OAKLAND STE 150 TOTAL \$19.21 \$19.21 \$19.21 \$19.21	
BIRMINGHAM MI 48009	
x 92-17-34-432-126 0.10 \$960.61 \$96.06 DATE PAID	
EAST BAY VILLAGE L L C UNIT	
CONDOMINIUM PLAN NO 1452 EAST BAY BALANCE \$96.06 \$76.85 \$57.64 \$38.4	
459 OLD PINE WAY VILLAGE UNIT 126, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	
WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	
185 OAKLAND STE 150 TOTAL \$19.21 \$19.21 \$19.21 \$19.2	\$19.21
BIRMINGHAM MI 48009	
x 92-17-34-432-127	
EAST BAY VILLAGE L L C	040.04
CONDOMINIUM PLAN NO 1452 EAST BAY BALANCE \$96.06 \$76.85 \$57.64 \$38.4 \$453 OLD PINE WAY VILLAGE UNIT 127, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21	
453 OLD PINE WAY VILLAGE UNIT 127, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21 \$19.2	
185 OAKLAND STE 150 TOTAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	
BIRMINGHAM MI 48009	Ψ13.Δ1
x 92-17-34-432-128 0.10 \$960.61 \$96.06 DATE PAID	
EAST BAY VILLAGE L L C UNIT	
CONDOMINIUM PLAN NO 1452 EAST BAY BALANCE \$96.06 \$76.85 \$57.64 \$38.4	2 \$19.21
455 OLD PINE WAY VILLAGE UNIT 128, BLDG 13 L 26159 P 001 PRINCIPAL \$19.21 \$19.21 \$19.21 \$19.21	
WALLED LAKE MI 48390-3546 1-21-03 FR 17-35-301-036 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	
185 OAKLAND STE 150 TOTAL \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	
BIRMINGHAM MI 48009	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			li I	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-129		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
454 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
451 OLD PINE WAY WALLED LAKE MI 48390-3546	VILLAGE UNIT 129, BLDG 13 L 26159 P 001 1-21-03 FR 17-35-301-036				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
150 OAKLAND STE 150	1-21-03 FK 17-35-301-030				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-130		0.10	\$960.61	\$96.06	DATE PAID					
RALPH F NEWMAN		UNIT	φοσοιο.	Ψ00.00						
RUTH A NEWMAN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
402 OLD PINE WAY	VILLAGE UNIT 130, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-131		0.10	\$960.61	\$96.06	DATE PAID					
DAVID VERDUYN	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			DALANOE	#00.00	#70.05	AF7.04	COO 40	C40.04
404 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 131, BLDG 14 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
404 OLD PINE WAY WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037	1			PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
2863 DINA DR	0-13-0311(33-301-031				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
TROY MI 48085					101712	Ψ10.21	ψ10.21	ψ10.21	ψ10.21	Ψ10.21
× 92-17-34-432-132		0.10	\$960.61	\$96.06	DATE PAID					
RALPH ZERBONIA		UNIT	*****	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
406 OLD PINE WAY	VILLAGE UNIT 132, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		2.12	*****		5.75 5.15					
× 92-17-34-432-133		0.10	\$960.61	\$96.06	DATE PAID					
RUTH ANN PETRES	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
408 OLD PINE WAY	VILLAGE UNIT 133, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
With the time to t					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						* -			* -	
x 92-17-34-432-134		0.10	\$960.61	\$96.06	DATE PAID					
MISHO RISTOVSKI		UNIT								
SIMONE RISTOVSKI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
410 OLD PINE WAY	VILLAGE UNIT 134, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-135		0.10	\$960.61	\$96.06	DATE PAID					
0CCUPANT		UNIT	ψ900.01	ψ90.00	DATERAID					
2300.7	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
412 OLD PINE WAY	VILLAGE UNIT 135, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-136		0.10	\$960.61	\$96.06	DATE PAID					
JACK LEZOTTE	COMPONIENT DI COMPONICA CARRA PAGRA PAGRA	UNIT				A a a a a a			000 :-	0.00
ANNE LEZOTTE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
414 OLD PINE WAY	VILLAGE UNIT 136, BLDG 14 L 26159 P 001 8-13-03 FR 35-301-037				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	0-13-03 FR 30-30 F-03 <i>F</i>				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOIAL	ψ13.Δ1	ψ13.∠1	ψ13.∠1	ψ13.∠1	ψ13.Δ1
		1			ji .		1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-137 BRIAN MAJORS		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	01111			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
416 OLD PINE WAY	VILLAGE UNIT 137, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-138		0.10	\$960.61	\$96.06	DATE PAID					
KATHLEEN SCHROEDER		UNIT	ψ300.01	ψ30.00	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
418 OLD PINE WAY	VILLAGE UNIT 138, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2596 CASCADE LN					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
IOWA CITY IA 52246										
× 92-17-34-432-139		0.10	\$960.61	\$96.06	DATE PAID					
JASON WOODWARD	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
420 OLD PINE WAY	VILLAGE UNIT 139, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5706 APPLEGROVE DR	0 10 00 1 10 00 100 1				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WEST BLOOMFIELD MI 48324					101712	Ψ10.21	ψ10.21	ψ10.21	ψ10.21	ψ10.21
x 92-17-34-432-140		0.10	\$960.61	\$96.06	DATE PAID					
NICOLE SUARDINI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
422 OLD PINE WAY	VILLAGE UNIT 140, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-141		0.10	\$960.61	\$96.06	DATE PAID					
BRYAN DOLECKI		UNIT	*******	***************************************						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
424 OLD PINE WAY	VILLAGE UNIT 141, BLDG 14 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-142		0.10	\$960.61	\$96.06	DATE PAID					
SUSAN E GLESSNER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
428 OLD PINE WAY	VILLAGE UNIT 142, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-143		0.10	\$960.61	\$96.06	DATE PAID					+
DANIEL MCSWEENEY		UNIT	ψυσυ.σι	Ψ55.00	D. C. L. L. AID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
430 OLD PINE WAY	VILLAGE UNIT 143, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-144		0.10	\$960.61	\$96.06	DATE PAID					
ANDREW DERVARTANIAN		UNIT	ψουυ.υ ι	ψ30.00	DATEFAID					+
CINDY SERDENKOVSKI	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
432 OLD PINE WAY	VILLAGE UNIT 144, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-145 MATTHEW NELSON		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
KINDSEY NELSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
434 OLD PINE WAY	VILLAGE UNIT 145, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-146 GABRIEL PORPORATO		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
ALEJANDRA LUTRE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
436 OLD PINE WAY	VILLAGE UNIT 146, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-147 PATRICIA RYAN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
PATRICIA RTAIN	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
438 OLD PINE WAY	VILLAGE UNIT 147, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
While B E We Will look of lo					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
										·
× 92-17-34-432-148 THOMAS PASCARIS		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
ADELAJDA PRENDUSHI	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
440 OLD PINE WAY	VILLAGE UNIT 148, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLES LANCE IN 10000 00 10					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
										·
× 92-17-34-432-149 NADIA MARTINEZ		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
NADIA WARTINEZ	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
442 OLD PINE WAY	VILLAGE UNIT 149, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-150		0.10	\$960.61	\$96.06	DATE PAID					
MARY DRYER		UNIT								
444 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
444 OLD PINE WAY	VILLAGE UNIT 150, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-151		0.10	\$960.61	\$96.06	DATE PAID					
DEON CLEVELAND		UNIT								
INDIA CLEVELAND	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
446 OLD PINE WAY	VILLAGE UNIT 151, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-152		0.10	\$960.61	\$96.06	DATE PAID					
CHAD DEMERY		UNIT			<u> </u>					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
448 OLD PINE WAY	VILLAGE UNIT 152, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
	1			<u> </u>					I	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-153		0.10	\$960.61	\$96.06	DATE PAID					
JEFFREY SMITH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
450 OLD PINE WAY	VILLAGE UNIT 153, BLDG 15 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-154		0.10	\$960.61	\$96.06	DATE PAID					
BRETT W TUTTLE		UNIT								
RUTHANN TUTTLE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
454 OLD PINE WAY	VILLAGE UNIT 154, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						•				
× 92-17-34-432-155		0.10	\$960.61	\$96.06	DATE PAID					
KEVIN MAGNAN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
456 OLD PINE WAY	VILLAGE UNIT 155, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						•	, ,			
× 92-17-34-432-156		0.10	\$960.61	\$96.06	DATE PAID					
RYAN LEWANDOWSKI		UNIT	•	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
458 OLD PINE WAY	VILLAGE UNIT 156, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						·	,		,	
× 92-17-34-432-157		0.10	\$960.61	\$96.06	DATE PAID					
BRIAN W MUSSER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
460 OLD PINE WAY	VILLAGE UNIT 157, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-158		0.10	\$960.61	\$96.06	DATE PAID					
JASON D BRASSFIELD		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
462 OLD PINE WAY	VILLAGE UNIT 158, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-159		0.10	\$960.61	\$96.06	DATE PAID					
JOHN YARWOOD		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
464 OLD PINE WAY	VILLAGE UNIT 159, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
										
× 92-17-34-432-160		0.10	\$960.61	\$96.06	DATE PAID					
MILES OLSON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
466 OLD PINE WAY	VILLAGE UNIT 160, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-161		0.10	\$960.61	\$96.06	DATE PAID					
ZARKO K KOSTOV		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
468 OLD PINE WAY	VILLAGE UNIT 161, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-162		0.10	\$960.61	\$96.06	DATE PAID					
BRIAN BARNETT		UNIT								
KERRY MYERS	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
470 OLD PINE WAY	VILLAGE UNIT 162, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
00.47.04.400.400	1	0.40	A 000 04	# 00.00	DATE DAID					
× 92-17-34-432-163		0.10	\$960.61	\$96.06	DATE PAID					
ADRIANA GILES	CONDOMINIUM DI ANINO 1452 EAST DAY	UNIT			DALANCE	COC OC	<u></u>	ФE7.04	COD 40	£40.04
470 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 163, BLDG 16 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
472 OLD PINE WAY	8-13-03 FR 35-301-037				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	6-13-03 FK 33-301-037				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-164		0.10	\$960.61	\$96.06	DATE PAID					
RICHARD KALMETA		0.10 UNIT	φ960.61	\$90.00	DATE PAID					
RICHARD KALWETA	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
474 OLD PINE WAY	VILLAGE UNIT 164, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 48390-3346	0-13-0311(33-301-031				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					TOTAL	Ψ13.21	ψ19.21	ψ19.21	ψ19.21	ψ19.21
x 92-17-34-432-165		0.10	\$960.61	\$96.06	DATE PAID					
SUSAN BECK		UNIT	ψ500.01	ψ50.00	DATETAID					
SOCAN BLOK	CONDOMINIUM PLAN NO 1452 EAST BAY	Olviii			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
476 OLD PINE WAY	VILLAGE UNIT 165, BLDG 16 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3546	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
									·	
× 92-17-34-432-166		0.10	\$960.61	\$96.06	DATE PAID					
MATTHEW DUTTON		UNIT								
LISA DUTTON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
427 VILLAGE DR	VILLAGE UNIT 166, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-167		0.10	\$960.61	\$96.06	DATE PAID					
HAROLD B MCLAREN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
423 VILLAGE DR	VILLAGE UNIT 167, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6976 LONE OAK BLVD					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
NAPLES FL 34109			***	005.55						
× 92-17-34-432-168		0.10	\$960.61	\$96.06	DATE PAID		1		1	
BEN WONG	COMPONIUM PLANTES COST TO STATE TO STAT	UNIT				A a a a a a	0 =5	0== - :	***	010 -
THERESA WONG	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
425 VILLAGE DR	VILLAGE UNIT 168, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5571 S PICADILLY CIR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WEST BLOOMFIELD MI 48322							<u> </u>		<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMEN ⁻	ΓS	
					=	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-169 DEBORAH ALLEN		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
419 VILLAGE DR	VILLAGE UNIT 169, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-170		0.10	\$960.61	\$96.06	DATE PAID					
LORI SWEET		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
421 VILLAGE DR	VILLAGE UNIT 170, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-171		0.10	\$960.61	\$96.06	DATE PAID					
NICHOLAS BECHTEL		UNIT	*******	***************************************						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
415 VILLAGE DR	VILLAGE UNIT 171, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-172		0.10	\$960.61	\$96.06	DATE PAID					
NICOLAS CERNEKA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
417 VILLAGE DR	VILLAGE UNIT 172, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-173		0.10	\$960.61	\$96.06	DATE PAID					
KRISTOFFER GUNDRUM		UNIT	φοσοίο:	φσσισσ						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
411 VILLAGE DR	VILLAGE UNIT 173, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6900 SHADOWCREEK DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
MAUMEE OH 43537 x 92-17-34-432-174		0.10	\$960.61	\$96.06	DATE PAID					
MATTHEW BUKALA		UNIT	φ900.01	φ90.00	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
413 VILLAGE DR	VILLAGE UNIT 174, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1786 KRISTINA DR					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WHITE LAKE MI 48386 x 92-17-34-432-175		0.10	\$960.61	\$96.06	DATE PAID					
CHARLES CRONE		UNIT	ψ900.01	ψ30.00	DATEFAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
407 VILLAGE DR	VILLAGE UNIT 175, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-176		0.10	\$960.61	\$96.06	DATE PAID					
JENNIFER ROBERTS		UNIT	ψοσο.σ ι	Ψ00.00	5,1,21,10					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
409 VILLAGE DR	VILLAGE UNIT 176, BLDG 17 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	8-13-03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMEN	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-177		0.10	\$960.61	\$96.06	DATE PAID					
WALTER A VAN ROTH		UNIT								
405 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
405 VILLAGE DR	VILLAGE UNIT 177, BLDG 17 L 26159 P 001 8-13-03 FR 35-301-037				PRINCIPAL INTEREST	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	6-13-03 FK 33-301-037				TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOTAL	φ19.Z1	\$19.21	Φ19.∠1	Φ19.∠1	\$19.21
× 92-17-34-432-269		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φοσσ.σ ι	φοσ.σσ						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
600 POINTE DR	VILLAGE UNIT 269, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-270		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM DI ANIMO 4450 FACT DAVI	UNIT								
and DOINTE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
602 POINTE DR	VILLAGE UNIT 270, BLDG 27 L 26159 P 001 5-24-06 FR 035-301 TO 038				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 036				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
185 OAKLAND STE 150 BIRMINGHAM MI 48009					IOTAL	φ19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-271		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φ500.01	ψ50.00	DATE I AID					
2,10,1 2,11,1 1,122,102 2 2 0	CONDOMINIUM PLAN NO 1452 EAST BAY	O. V.			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
640 POINTE DR	VILLAGE UNIT 271, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-272		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
642 POINTE DR	VILLAGE UNIT 272, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-273		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	ψ900.01	ψ90.00	DATEFAID					
2,10,1 2,11,1 1,122,102 2 2 0	CONDOMINIUM PLAN NO 1452 EAST BAY	O. V.			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
636 POINTE DR	VILLAGE UNIT 273, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-274		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
and DOINTE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
638 POINTE DR	VILLAGE UNIT 274, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009					IOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-275		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	ψου.υ ι	ψ30.00	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	J			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
632 POINTE DR	VILLAGE UNIT 275, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-276		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
634 POINTE DR	VILLAGE UNIT 276, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		0.40	# 000 04	#00.00	DATE DAID					
× 92-17-34-432-277		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
628 POINTE DR	VILLAGE UNIT 277, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	3 24 00 TK 000 001 TO 000				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					101712	Ψ15.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-278		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φοσο.σ.	φοσ.σσ	5,11217115					
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
630 POINTE DR	VILLAGE UNIT 278, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-279		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
624 POINTE DR	VILLAGE UNIT 279, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-280		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
626 POINTE DR	VILLAGE UNIT 280, BLDG 28 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009 x 92-17-34-432-281		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φ900.01	\$90.00	DATE PAID					
LAST BAT VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	OINII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
647 POINTE DR	VILLAGE UNIT 281, BLDG 29 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009							7 : 5 : - :		*	
x 92-17-34-432-282		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	•		<u> </u>					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
649 POINTE DR	VILLAGE UNIT 282, BLDG 29 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					<u> </u>				ļ	
x 92-17-34-432-283		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT			<u> </u>					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
651 POINTE DR	VILLAGE UNIT 283, BLDG 29 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-284		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
653 POINTE DR	VILLAGE UNIT 284, BLDG 29 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		2.12	***	***	5.75 5.15					
× 92-17-34-432-285		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	0001000410111104 01 401 010 4450 5407 047	UNIT				***	^== -=	^		010.01
454) /// 4 05 DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
101111111111111111111111111111111111111	VILLAGE UNIT 178, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 178 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		0.40	COCO C4	#00.00	DATE PAID					
× 92-17-34-432-286		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	ተ ሰር ሰር	<u> </u>	ФЕ 7 С4	#20.40	\$19.21
452 VII LACE DD	VILLAGE UNIT 179, BLDG 18 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	
453 VILLAGE DR	5-24-06 FR 179 11-08-06 CORR				PRINCIPAL INTEREST	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE MI 48390-3550 185 OAKLAND STE 150	3-24-00 FR 179 FF-00-00 CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					TOTAL	\$19.Z1	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-287		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φ900.01	φ90.00	DATE PAID					
EAST BAT VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
447 VILLAGE DR	VILLAGE UNIT 180, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$30.42 \$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 180 11-08-06 CORR					\$0.00	\$19.21	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	3-24-00 FR 180 FF-00-00 CORR				INTEREST TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					TOTAL	Φ19.21	\$19.21	\$19.21	\$19.21	Φ19.Z1
× 92-17-34-432-288		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	ψ300.01	ψ90.00	DATEFAID					
LAST BAT VILLAGE E E C	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
449 VILLAGE DR	VILLAGE UNIT 181, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 181 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	0 21 00 11 10 11 00 00 00 11 11				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					101712	ψ10. 2 1	Ψ10.E1	Ψ10.21	Ψ10.21	Ψ10.21
× 92-17-34-432-289		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φοσοίο.	ψου.σο	57.12.7.15					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
443 VILLAGE DR	VILLAGE UNIT 182, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 182 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-290		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
445 VILLAGE DR	VILLAGE UNIT 183, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 183 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-291		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
439 VILLAGE DR	VILLAGE UNIT 184, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 184 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-292		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
441 VILLAGE DR	VILLAGE UNIT 185, BLDG 18 L 26159 P 001 5-24-06 FR 185 11-08-06 CORR				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 185 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-293		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φ900.01	\$90.00	DATE PAID					
LAGI BAT VILLAGE E E G	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
435 VILLAGE DR	VILLAGE UNIT 186, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 186 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009						·			·	
× 92-17-34-432-294		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
437 VILLAGE DR	VILLAGE UNIT 187, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 187 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-295		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUMA DI ANIMO 4450 FACT DAV	UNIT			54144105	# 00.00	#70.05	057.04	000.40	040.04
404 VIII I A OF DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 188, BLDG 18 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
431 VILLAGE DR WALLED LAKE MI 48390-3550	5-24-06 FR 188 11-08-06				PRINCIPAL	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
185 OAKLAND STE 150	3-24-001 K 100 11-00-00				INTEREST TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					IOIAL	ψ13.21	ψ19.21	Ψ19.21	Ψ13.21	Ψ19.21
× 92-17-34-432-296		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φοσοιο.	ψοσίου						
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
433 VILLAGE DR	VILLAGE UNIT 189, BLDG 18 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 189 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-297		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT					_	_		
450 VIII I A OE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
459 VILLAGE DR	VILLAGE UNIT 190, BLDG 19 L 26159 P 001 5-24-06 FR 190 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550 185 OAKLAND STE 150	5-24-06 FR 190 11-06-06				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
BIRMINGHAM MI 48009					IOIAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-298		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	4000.0 1	\$55.00	-, , ,					
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
461 VILLAGE DR	VILLAGE UNIT 191, BLDG 19 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 191 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-299		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
400 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
463 VILLAGE DR	VILLAGE UNIT 192, BLDG 19 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 192 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009							1	1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMEN	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-300		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	001100111111111111111111111111111111111	UNIT			5	***	4== -=	^ • ·	***	01001
405 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
465 VILLAGE DR	VILLAGE UNIT 193, BLDG 19 L 26159 P 001 5-24-06 FR 193 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	3-24-00 FK 193 11-00-00				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
185 OAKLAND STE 150 BIRMINGHAM MI 48009					IOTAL	\$19.21	\$19.21	Φ19.∠1	\$19.21	\$19.21
x 92-17-34-432-301		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φ900.01	φ90.00	DATEFAID					
LAGI DAT VILLAGE E E G	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
467 VILLAGE DR	VILLAGE UNIT 194, BLDG 19 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 194 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND AVE STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009						·			·	
x 92-17-34-432-302		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
469 VILLAGE DR	VILLAGE UNIT 195, BLDG 19 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 195 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-303		0.10	\$960.61	\$96.06	DATE PAID					
AMANDA HUIZENGA	CONDOMINIUMA DI ANIMO 4450 FACT DAV	UNIT			54144105	# 00.00	#70.05	057.04	000.40	040.04
470 \ //	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 196, BLDG 20 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
472 VILLAGE DR WALLED LAKE MI 48390-3550	5-24-06 FR 196 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21 \$0.00	\$19.21 \$0.00	\$19.21 \$0.00
WALLED LAKE IVII 40390-3330	3-24-001 K 190 11-00-00				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	Φ19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-304		0.10	\$960.61	\$96.06	DATE PAID					
TOM KESHISHIAN		UNIT	φοσο.σ.	φοσ.σσ						
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
474 VILLAGE DR	VILLAGE UNIT 197, BLDG 20 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 197 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-305		0.10	\$960.61	\$96.06	DATE PAID					
SARAH EHLERS	CONDOMINIUM DI ANIMO 4450 5465 500	UNIT				^~~	^-	^	000 :-	010 -:
470 VIII LA OE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
476 VILLAGE DR	VILLAGE UNIT 198, BLDG 20 L 26159 P 001 5-24-06 FR 198 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	0-24-00 FN 190 11-00-00				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					IOTAL	क्।उ.८।	क्।अ.∠।	क्।अ.∠।	क्।अ.∠।	क्।ज.८।
× 92-17-34-432-306		0.10	\$960.61	\$96.06	DATE PAID					
JOHN ROBINSON		UNIT	ψ555.01	ψ55.00	DATE I AID					+
COINT NODINGON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
478 VILLAGE DR	VILLAGE UNIT 199, BLDG 20 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 199 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-307		0.10	\$960.61	\$96.06	DATE PAID					
KENNETH EGGERT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
480 VILLAGE DR	VILLAGE UNIT 200, BLDG 20 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 200 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
							1	1		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-308 HELAYNE SHAW		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
482 VILLAGE DR	VILLAGE UNIT 201, BLDG 20 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 201 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-309		0.10	\$960.61	\$96.06	DATE PAID					
ANGUEL DIMITROVA	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE	#00.00	Ф 7 0 05	ΦE7.04	COO 40	C40.04
DITCHKA DIMITROVA	VILLAGE UNIT 202, BLDG 20 L 26159 P 001				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
484 VILLAGE DR WALLED LAKE MI 48390-3550	5-24-06 FR 202 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 46390-3550	3-24-00 FR 202 FF-00-00 CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
					IOIAL	Ψ19.21	ψ19.21	Ψ19.21	Ψ19.21	ψ19.21
× 92-17-34-432-310		0.10	\$960.61	\$96.06	DATE PAID					
MATHEW HUTCHINSON	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			5	***	^	^ • ·	***	010.01
400 \ /// \ 405 BB	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
486 VILLAGE DR	VILLAGE UNIT 203, BLDG 20 L 26159 P 001 5-24-06 FR 203 11-08-06 CORR				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 203 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-311		0.10	\$960.61	\$96.06	DATE PAID					
RALPH RAMIREZ III	COMPONENT IN BUANING 4450 FACT DAY	UNIT			5	***	^	^ • ·	***	010.01
KE YUAN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
488 VILLAGE DR	VILLAGE UNIT 204, BLDG 20 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 204 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-312		0.10	\$960.61	\$96.06	DATE PAID					
THERESA CASCIO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
490 VILLAGE DR	VILLAGE UNIT 205, BLDG 20 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 205 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-313		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
400 VIII LA OE DD	VILLAGE UNIT 206, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
436 VILLAGE DR	5-24-06 FR 206,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550 185 OAKLAND STE 150	CORR				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
BIRMINGHAM MI 48009					IOIAL	Φ19.21	φ19.Z1	\$19.21	\$19.21	\$19.21
x 92-17-34-432-314		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT	ψοσο.στ	Ψ00.00						
400 1/11 1 4 0 5 0 5	VILLAGE UNIT 207, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
438 VILLAGE DR	5-24-06 FR 207,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-315		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM DI ANIMO 4450 5405 5407	UNIT		,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
440 VILLAGE DR	VILLAGE UNIT 208, BLDG 22 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 208,222,223 & 224 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		<u> </u>								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	ΓS	
					=	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-316		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	001100111111111111111111111111111111111	UNIT		·						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
442 VILLAGE DR	VILLAGE UNIT 209, BLDG 22 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 209,222,223 & 224 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009						ψ.σ.Ξ.	ψ.σ. <u></u>	ψ.σ. <u></u>	ψ.σ. <u></u>	ψ.σ. <u>z</u> .
× 92-17-34-432-317		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φοσο.σ ι	φοσ.σσ	D/(ILI/IID					
27107 2717 77227102 2 2 0	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
444 VILLAGE DR	VILLAGE UNIT 210, BLDG 22 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 210,222,223 & 224 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINHAM MI 48009					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-318		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φ900.01	\$90.00	DATE PAID					
EAST BAT VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE	#00.00	Ф 7 0 05	ΦE7.04	COO 40	C40.04
446 \/	VILLAGE UNIT 211, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
446 VILLAGE DR	5-24-06 FR 211,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		0.10		***	5.475 5.45					
× 92-17-34-432-319		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 212, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
448 VILLAGE DR	5-24-06 FR 212,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINHAM MI 48009										
x 92-17-34-432-320		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 213, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
450 VILLAGE DR	5-24-06 FR 213,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	OOM				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINHAM MI 48009										
x 92-17-34-432-321		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
452 VILLAGE DR	VILLAGE UNIT 214, BLDG 22 L 26159 P 001 5-24-06 FR 214,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	CORK				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINHAM MI 48009										
x 92-17-34-432-322		0.10	\$960.61	\$96.06	DATE PAID	-				
EAST BAY VILLAGE L L C	CONDOMINIUM DI ANIMO 4450 EACT DAY	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
454 VILLAGE DR	VILLAGE UNIT 215, BLDG 22 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 215,222,223 & 224 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-323		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	.	7-0.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
456 VILLAGE DR	VILLAGE UNIT 216, BLDG 22 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	5-24-06 FR 216,222,223 & 224 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					101/1	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21	Ψ10.21
PULLIANI IAIN IAIN 40009	1	l .		1				1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll .	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-324		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 217, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
458 VILLAGE DR	5-24-06 FR 217,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	33				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-325		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 218, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
460 VILLAGE DR	5-24-06 FR 218,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	33				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-326		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 219, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
462 VILLAGE DR	5-24-06 FR 219,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	OOKK				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-327		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 220. BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
464 VILLAGE DR	5-24-06 FR 220,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	COM				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-328		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT								
	VILLAGE UNIT 221, BLDG 22 L 26159 P 001				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
466 VILLAGE DR	5-24-06 FR 221,222,223 & 224 11-08-06				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3550	CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	OOKK				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48007										
x 92-17-34-432-329		0.10	\$960.61	\$96.06	DATE PAID					
CAROL O'CONNELL		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
514 RED OAK CT	VILLAGE UNIT 225, BLDG 23 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 225 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-330		0.10	\$960.61	\$96.06	DATE PAID					
GREGG A WALLACE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
516 RED OAK CT	VILLAGE UNIT 226, BLDG 23 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 226 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
		_								
x 92-17-34-432-331		0.10	\$960.61	\$96.06	DATE PAID					
JAMES SCHNEIDER		UNIT			<u> </u>					
EDIE SCHNEIDER	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
518 RED OAK CT	VILLAGE UNIT 227, BLDG 23 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 227 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4753 PAISLEY CT					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WEST BLOOMFIELD MI 48322										

AND ADDRESS	ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll .	NSTALLMENT	ΓS	
X 20-17-34-432-332 ANDER DOME HILD LIVE MILE PLANE MIL										2013	
MAIN DORNESUSH CONDOMINUM PLAN NO 1422 EAST BAY VILLAGE UNIT 228, ELGO 22 1, 26169 P.O.	AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
SEAD RED CANC T VILLAGE UNIT 228, BLDG 231, 28159 P.001 S960.61 S960				\$960.61	\$96.06	DATE PAID					
WALLED LAKE MI 4899-3554 5-24-06 FR 228 11-08-06 CORR 10.10 5960.61 596.06 576.85 587.64 539.22 519.21											
### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-333 ### \$2-17-34-32-334 ### \$2-17-34-32-335 ### \$2										· ·	
X 92-17-34-432-333 JOHN TOURNAUD SARDAR TOURNAUD VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-58 PUY VILLAGE LIMIT 229, BLIDG 231 258-59 PUY VILLAGE LIMIT 229, BLIDG 231 268-59 PUY VILLAGE LIMIT 239, BLIDG 231 288-59 P	WALLED LAKE MI 48390-3554	5-24-06 FR 228 11-08-06 CORR								· ·	
SANDAT OUTNAMUD SANDAT OUT						TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
SANDAY TOURNAUD CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 229, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 230, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 230, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 231, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 231, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 231, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 S29 RED DAK CT VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 232, BLD G2 31 28199 P 001 VILLAGE UNIT 234, BLD G2 31 28199 P 001 VILLAGE UNIT 234, BLD G2 31 28199 P 0				\$960.61	\$96.06	DATE PAID					
## SPECIAL CT WALLED LAKE MI 48390-3554 5-24-46 FR 239 11-08-06 CORR FRINCIPAL 519-21		CONDOMINIUM PLAN NO 1452 FAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
WALLED LAKE MI 48390-3554 5-24-08 FR 229 11-08-06 CORR										· ·	
175 OAK RIDGE ST 175 OAK RID		*				II					
X 92-17-34-432-334 STEVEN AMBURGY S24 RED OAK CT WALLED LAKE MI 48390-3554 X 92-17-34-432-335 SARAH GORSKI CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 231, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 231, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT	175 OAK RIDGE ST										
SALANCE SALA			0.10	\$960.61	\$96.06	DATE PAID					
S24 RED DAK CT WALLED LAKE MI 48390-3554 VILLAGE UNIT 230, BLDG 23 L 26169 P 001 S-24-06 FR 230 11-08-06 CORR S-24-06 FR 231 11-08-06 CORR S-24	STEVEN AMBURGY		_								
WALLED LAKE MI 48390-3554 5-24-06 FR 230 11-08-06 CORR										· ·	
X 92-17-34-432-335 SARAH GORSKI CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 23, BLDG 23 L 26159 P 001 5-24-06 FR 232 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 23 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLA											
X 92-17-34-432-335	WALLED LAKE MI 48390-3554	5-24-06 FR 230 11-08-06 CORR				ll F				· ·	
SARAH GORSKI CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 231, BLDG 23 L 26159 P 001 5-24-06 FR 231 11-08-06 CORR UNIT S960.61 UN						IOIAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 231, BLDG 231, 26159 P.001 \$ 92-17-34-432-336				\$960.61	\$96.06	DATE PAID					
S26 RED OAK CT WALLED LAKE MI 48390-3554 WILLAGE UNIT 231, BLDG 231, 2819 P 001 S-24-06 FR 231 11-08-06 CORR S96.06	o, ii d ii i o o no n	CONDOMINIUM PLAN NO 1452 FAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
WALLED LAKE MI 48390-3554 5-24-06 FR 231 11-08-06 CORR	526 RED OAK CT										
X 92-17-34-432-336 LINDSAY INNES CONDOMINIUM PLAN NO 1452 EAST BAY WALLED LAKE MI 48390-3554 X 92-17-34-432-336 LINDSAY HAROUTUNIAN CONDOMINIUM PLAN NO 1452 EAST BAY WALLED LAKE MI 48390-3554 X 92-17-34-432-338 DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY WILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY WILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY WILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY WILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY WILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY WILLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO		· · · · · · · · · · · · · · · · · · ·				II				· ·	
LINDSAY INNES CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-06 FR 232 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 X 92-17-34-432-337 LINDSAY HAROUTUNIAN CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR UNIT X 92-17-34-432-338 DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 24 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 DATE PAID DATE PAID DATE PAI											
LINDSAY INNES CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-06 FR 232 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 X 92-17-34-432-337 LINDSAY HAROUTUNIAN CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR UNIT X 92-17-34-432-338 DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 24 L 26159 P 001 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 S-24-06 FR 234 11-08-06 CORR UNIT WALLED LAKE MI 48390-3554 DATE PAID DATE PAID DATE PAI	v 02 47 24 422 226		0.10	POCO 61	\$06.06	DATE DAID					
CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 24 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT 235, BLDG 26 L 26159 P 001 UNIT WILLAGE UNIT				\$900.01	\$90.00	DATE PAID					
S28 RED OAK CT WALLED LAKE MI 48390-3554 VILLAGE UNIT 232, BLDG 23 L 26159 P 001 S-24-06 FR 232 11-08-06 CORR S96.06	211120711 111120	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
X 92-17-34-432-337 LINDSAY HAROUTUNIAN CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S0.00 S0.0	528 RED OAK CT	VILLAGE UNIT 232, BLDG 23 L 26159 P 001									
X 92-17-34-432-337 LINDSAY HAROUTUNIAN S30 RED OAK CT WALLED LAKE MI 48390-3554 X 92-17-34-432-338 DANA GLEASON S32 RED OAK CT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21-734-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21-734-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21-734-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S22-734-734-732-7339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S22-734-734-732-7339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S25-06-06 S76.85 S75.64 S38.42 S19.21		5-24-06 FR 232 11-08-06 CORR									
LINDSAY HAROUTUNIAN CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 233, BLDG 23 L 26159 P 001 530 RED OAK CT WALLED LAKE MI 48390-3554 X 92-17-34-432-338 DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 TOTAL S960.61 UNIT S960.61 UNIT BALANCE PRINCIPAL S19.21						TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Walled Lake Mi 48390-3554 Same Condominium Plan No 1452 East Bay Wa	× 92-17-34-432-337		0.10	\$960.61	\$96.06	DATE PAID					
S30 RED OAK CT WALLED LAKE MI 48390-3554 VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-06 FR 233 11-08-06 CORR	LINDSAY HAROUTUNIAN		_								
Section Sect											
X 92-17-34-432-338 DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 LTITLE EGG HARBOR NJ 08087 X 92-17-34-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S21 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 S22 RED OAK CT VILLAGE UNIT 235, BLDG 24 L											
X 92-17-34-432-338 DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 21 REEF LN LITTLE EGG HARBOR NJ 08087 X 92-17-34-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 S2 RED OAK CT VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR DATE PAID BALANCE PRINCIPAL INTEREST TOTAL S96.06 S76.85 S57.64 S38.42 S19.21 S19.2	WALLED LAKE MI 48390-3554	5-24-06 FR 233 11-08-06 CORR				ll F					
DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR DANA GLEASON CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-06 FR 234 11-08-06 CORR DATE PAID CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR						IOIAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 234, BLDG 23 L 26159 P 001 WALLED LAKE MI 48390-3554 21 REEF LN LITTLE EGG HARBOR NJ 08087 X 92-17-34-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 5-24-06 FR 235 11-08-06 CORR BALANCE PRINCIPAL INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21	× 92-17-34-432-338		0.10	\$960.61	\$96.06	DATE PAID					
S32 RED OAK CT VILLAGE UNIT 234, BLDG 23 L 26159 P 001 S19.21 S19.2	DANA GLEASON		UNIT	•							
WALLED LAKE MI 48390-3554 21 REEF LN LITTLE EGG HARBOR NJ 08087 x 92-17-34-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 5-24-06 FR 234 11-08-06 CORR INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.0										· ·	
21 REEF LN LITTLE EGG HARBOR NJ 08087 x 92-17-34-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 TOTAL \$19.21		·									
LITTLE EGG HARBOR NJ 08087 x 92-17-34-432-339		5-24-06 FR 234 11-08-06 CORR									
X 92-17-34-432-339 ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 WALLED LAKE MI 48390-3554 O.10 UNIT BALANCE PRINCIPAL PRINCIPAL 1996.06 S76.85 S57.64 S38.42 S19.21 PRINCIPAL S19.21 S19.2						IOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
ANDERY CALKINS CONDOMINIUM PLAN NO 1452 EAST BAY 521 RED OAK CT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR UNIT BALANCE PRINCIPAL 19.21 19.21 19.21 19.21 19.21 19.21 10.00 10			0.10	\$060.64	\$06.06	DATE DAID		 			
CONDOMINIUM PLAN NO 1452 EAST BAY 521 RED OAK CT WALLED LAKE MI 48390-3554 CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-06 FR 235 11-08-06 CORR BALANCE PRINCIPAL PRINCIPAL 19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21 \$19.21				1,0°006¢	990.06	DATE PAID					
521 RED OAK CT VILLAGE UNIT 235, BLDG 24 L 26159 P 001 PRINCIPAL \$19.21		CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
WALLED LAKE MI 48390-3554 5-24-06 FR 235 11-08-06 CORR INTEREST \$0.00 \$0.00 \$0.00 \$0.00	521 RED OAK CT										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			I	NSTALLMEN ⁻	ΓS	
					<u> </u>	2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-340 MARCY BOSKEE		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
523 RED OAK CT	VILLAGE UNIT 236, BLDG 24 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 236 11-06-08 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-341		0.10	\$960.61	\$96.06	DATE PAID					
REGINA TOMA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
525 RED OAK CT	VILLAGE UNIT 237, BLDG 24 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 237 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-342		0.10	\$960.61	\$96.06	DATE PAID					
LEONARD RUMIJA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
527 RED OAK CT	VILLAGE UNIT 238, BLDG 24 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 238 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-343		0.10	\$960.61	\$96.06	DATE PAID					
JULIE COUGHLIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
529 RED OAK CT	VILLAGE UNIT 239, BLDG 24 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 239 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 1548					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
KEY WEST FL 33041		0.40	# 000 04	#00.00	DATE DAID					
× 92-17-34-432-344		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
JACQUELINE CUFFEY	CONDOMINIUM PLAN NO 1452 EAST BAY	-			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
531 RED OAK CT	VILLAGE UNIT 240, BLDG 24 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554	5-24-06 FR 240 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
531 RED OAK CT # 240	3-24-00 FR 240 FF-00-00 CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3554					TOTAL	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21	Ψ13.21
× 92-17-34-432-345		0.10	\$960.61	\$96.06	DATE PAID					
ANGELIQUE HESSE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
534 RIVIERA CT	VILLAGE UNIT 241, BLDG 25 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 241 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-346		0.10	\$960.61	\$96.06	DATE PAID					
CHRISTOPHER BARNES		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
536 RIVIERA CT	VILLAGE UNIT 242, BLDG 25 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 242 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-347		0.10	\$960.61	\$96.06	DATE PAID					
MICHELLE VALENTINE-GALA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
538 RIVIERA CT	VILLAGE UNIT 243, BLDG 25 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 243 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-348 TERRY LONDY		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
540 RIVIERA CT	VILLAGE UNIT 244, BLDG 25 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 244 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-349		0.10	\$960.61	\$96.06	DATE PAID					
GEORGE DOULAVERIS	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	\$00.00	Ф70 О Г	ФЕ 7 С4	COD 40	£40.04
542 RIVIERA CT	VILLAGE UNIT 245, BLDG 25 L 26159 P 001				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 245 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 46390-3556	3-24-00 FR 243 FF-00-00 CORR				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
						ψ.σ. <u>-</u> .	ψ.σ. <u>z</u> .	ψ.σ. <u></u> Ξ.	ψ.σ. <u>z</u> .	ψ.σ. <u>z</u> .
× 92-17-34-432-350 ANDREW CEIFETZ		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
544 RIVIERA CT	VILLAGE UNIT 246, BLDG 25 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 246 11-06-08 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-351		0.10	\$960.61	\$96.06	DATE PAID					
CAROL BARRETT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
533 RIVIERA CT	VILLAGE UNIT 247, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 247 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-352		0.10	\$960.61	\$96.06	DATE PAID					
ANDREW HEATH	COMPONENT IN BUANING 4450 FACT DAY	UNIT			5		^=	^ • ·	***	01001
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
535 RIVIERA CT	VILLAGE UNIT 248, BLDG 26 L 26159 P 001 5-24-06 FR 248 11-08-06 CORR				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-00 FR 246 11-00-00 CORR				INTEREST TOTAL	\$0.00	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-353		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
PAUL JOHNSON	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
537 RIVIERA CT	VILLAGE UNIT 249, BLDG 26 L 26159 P 001				PRINCIPAL	\$96.06	\$19.21	\$19.21	\$38.42 \$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 249 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
While B Erike Wii 40000 0000	0 2 1 00 1 1 2 10 1 1 00 00 00 1 1 1				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-354 KEVIN M PALADINO		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
NETH IN LABORITO	CONDOMINIUM PLAN NO 1452 EAST BAY	-			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
539 RIVIERA CT	VILLAGE UNIT 250, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 250 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-355		0.10	\$960.61	\$96.06	DATE PAID					
X 92-17-34-432-355 JENNIFER MAILLARD		UNIT	\$90U.01	φ90.0b	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
541 RIVIERA CT	VILLAGE UNIT 251, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 251 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
]

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			[NSTALLMEN ⁻	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-34-432-356 JOSEPH NETHER		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
543 RIVIERA CT	VILLAGE UNIT 252, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 252 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-357		0.10	\$960.61	\$96.06	DATE PAID					
LIGIA ALILENI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
545 RIVIERA CT	VILLAGE UNIT 253, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 253 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-358		0.10	\$960.61	\$96.06	DATE PAID					
CANDICE TUCKER	001001111111111111111111111111111111111	UNIT			5	***	^	^ • ·	400.10	010.01
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
547 RIVIERA CT	VILLAGE UNIT 254, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 254 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-359		0.10	\$960.61	\$96.06	DATE PAID					
JUDY MCLLMURRAY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
549 RIVIERA CT	VILLAGE UNIT 255, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 255 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-360		0.10	\$960.61	\$96.06	DATE PAID					
DEBRA BOEHNLEIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
551 RIVIERA CT	VILLAGE UNIT 256, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 256 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-361		0.10	\$960.61	\$96.06	DATE PAID					
THOMAS CARLSON	001001111111111111111111111111111111111	UNIT			5	***	^	^ • ·	400.10	010.01
KAY CARLSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
553 RIVIERA CT	VILLAGE UNIT 257, BLDG 26 L 26159 P 001 5-24-06 FR 257 11-08-06 CORR				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556 143 E BAY DR	3-24-00 FK 237 11-06-00 CORK				INTEREST TOTAL	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21	\$0.00 \$19.21
WALLED LAKE MI 48390					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-362		0.10	\$960.61	\$96.06	DATE PAID					
SENCHOI WONG		UNIT		, , , , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
555 RIVIERA CT	VILLAGE UNIT 258, BLDG 26 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390-3556	5-24-06 FR 258 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
× 92-17-34-432-363		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE, L.L.C.	201501111111111111111111111111111111111	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
620 POINTE DR	VILLAGE UNIT 259, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 259 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009				L						

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-364		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
622 POINTE DR	VILLAGE UNIT 260, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 260 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		0.40	# 000 04	COO.OO	DATE DAID					
× 92-17-34-432-365 EAST BAY VILLAGE L L C		0.10 UNIT	\$960.61	\$96.06	DATE PAID					
EAST BAT VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
616 POINTE DR	VILLAGE UNIT 261, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 261 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	0 21 00 11(201 11 00 00 001()				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					101712	Ψ10.21	ψ10.21	Ψ10.21	Ψ10.21	ψ10.21
× 92-17-34-432-366		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	φοσοίο:	φοσισσ						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
618 POINTE DR	VILLAGE UNIT 262, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 262 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
x 92-17-34-432-367		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
612 POINTE DR	VILLAGE UNIT 263, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 263 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009		0.10	*****	400.00	5.4=5.445					
× 92-17-34-432-368		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	COC OC	Ф 7 С ОБ	ФE7.04	#20.42	£40.04
614 POINTE DR	VILLAGE UNIT 264, BLDG 27 L 26159 P 001				BALANCE PRINCIPAL	\$96.06 \$19.21	\$76.85 \$19.21	\$57.64 \$19.21	\$38.42 \$19.21	\$19.21 \$19.21
WALLED LAKE MI 48390	5-24-06 FR 264 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150	0 21 00 11(201 11 00 00 001()				TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009					1017.2	Ψ10.21	ψ10.21	ψ10.21	Ψ10.21	ψ10.21
× 92-17-34-432-369		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT	*	,	The state of the s					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
608 POINTE DR	VILLAGE UNIT 265, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 265 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009										
× 92-17-34-432-370		0.10	\$960.61	\$96.06	DATE PAID				1	
EAST BAY VILLAGE L L C	001001011111111111111111111111111111111	UNIT				^	^-	^	000 :-	0.10 - :
CAO POINTE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
610 POINTE DR	VILLAGE UNIT 266, BLDG 27 L 26159 P 001 5-24-06 FR 266 11-08-06 CORR				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	3-24-00 FK 200 11-00-00 CORK				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150 BIRMINGHAM MI 48009					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
x 92-17-34-432-371	1	0.10	\$960.61	\$96.06	DATE PAID		1	1	1	
EAST BAY VILLAGE L L C		UNIT	10.006	ψ90.00	DATE FAID				1	
LAGI DA I VILLAGE E E C	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
604 POINTE DR	VILLAGE UNIT 267, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 267 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009						·				,
	1						1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
x 92-17-34-432-372		0.10	\$960.61	\$96.06	DATE PAID					
EAST BAY VILLAGE L L C		UNIT								
200 000 000	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$96.06	\$76.85	\$57.64	\$38.42	\$19.21
606 POINTE DR	VILLAGE UNIT 268, BLDG 27 L 26159 P 001				PRINCIPAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
WALLED LAKE MI 48390	5-24-06 FR 268 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
185 OAKLAND STE 150					TOTAL	\$19.21	\$19.21	\$19.21	\$19.21	\$19.21
BIRMINGHAM MI 48009 o 92-17-35-301-002		0.20	\$960.61	\$192.12	DATE PAID					
DON CULLEN		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
DON COLLEN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
225 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 26				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3525	& 27				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2120 N PONTIAC TRL					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3161					TOTAL	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψ00.42
0 92-17-35-301-003		0.20	\$960.61	\$192.12	DATE PAID					
JEFF KLEIN		UNIT	φοσοίο.	Ų.022						
Q					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
301 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 28				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-301-004		0.20	\$960.61	\$192.12	DATE PAID					
J T GENTRY INC		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
309 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 29				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2550 E HIGHLAND RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
HIGHLAND MI 48356-2724										
0 92-17-35-301-005		0.20	\$960.61	\$192.12	DATE PAID					
ALAN D BARNETT		UNIT			5	A 122.12	A .=0 =0	*	^	000.10
0041501155	CLUTZ LAKEVIEW WOODLANDS LOT 20				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
321 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 30				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	\$38.42	Φ30.42	\$30.42	\$30.42	\$30.42
o 92-17-35-301-006		0.20	\$960.61	\$192.12	DATE PAID					
OCCUPANT		UNIT	ψ300.01	Ψ132.12	DATETAID					
OGGO! AIV!		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
329 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 31				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3527	& 32				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-301-007		0.20	\$960.61	\$192.12	DATE PAID					
FRED NOSOWSKY		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
415 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 33				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0.0247.25.204.000		0.00	\$060.04	£400.40	DATE DAID					
o 92-17-35-301-008		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
PAUL GROSS		UNII			BALANCE	\$192.12	¢152.70	¢11F 07	¢76.05	\$38.42
427 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 34				PRINCIPAL	\$192.12	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3529	SLOTZ LAKE VIE VV VVOODLANDS LOT 34				INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAINE WII 40030-3023					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					IOIAL	ψ00.72	ψου.τ2	ψ00. 7 2	ψ00.72	Ψ00.42
	1						1		1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-301-009		0.20	\$960.61	\$192.12	DATE PAID					
DEREK MCDUFFIE		UNIT								
SHAWN MCDUFFIE	OLUTT LAKEVIEW MOODLANDOLOT OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
435 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 35				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-301-010		0.20	\$960.61	\$192.12	DATE PAID					
FAUSTO BAGALAY		UNIT	φ900.01	\$192.12	DATE PAID					
TAGGIO BAGALAT		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
501 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 36				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3531					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1 .0.7.2	ψου	\$55.12	\$501.2	4001.2	\$501.E
o 92-17-35-301-013		0.20	\$960.61	\$192.12	DATE PAID					
KATHERINE QUITMEYER		UNIT								
	CLUTZ LAKEVIEW WOODLANDS N 200 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
455 SPARKS LN	OF LOT 40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3760	OI 201 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
42176 CRESTVIEW CIR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
NORTHVILLE MI 48168										
o 92-17-35-301-014		0.20	\$960.61	\$192.12	DATE PAID					
MORTGAGE ELECTRONIC REG. SYS, INC		UNIT								
	CLUTZ LAKEVIEW WOODLANDS S 80 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
447 SPARKS LN	OF N 280 FT LOT 40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3760					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
400 COUNTRYWIDE WAY # SV-35					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
SIMI VALLEY CA 90365 o 92-17-35-301-021		0.20	\$060.61	\$192.12	DATE PAID					
CAROLYN DANCY		UNIT	\$960.61	\$192.12	DATE PAID					
PAUL DANCY		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
464 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 100 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3759	OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLES ENIXE WILL TOOKS STOO					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					1 .0.7.2	ψου	4002	\$501.2	4001.2	\$501.E
o 92-17-35-301-022		0.20	\$960.61	\$192.12	DATE PAID					
LYNN R LONG		UNIT								
	CLUTZ LAKEVIEW WOODLANDS S 100 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
452 SPARKS LN	OF N 200 FT LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3759	01 14 200 1 1 20 1 4 1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-301-023		0.20	\$960.61	\$192.12	DATE PAID		1			
CHARLES WILSON		UNIT			DALANCE	#400.40	#450 70	#445.07	#70.05	#00.40
440 CDADICC LNI	CLUTZ LAKEVIEW WOODLANDS S 80 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
440 SPARKS LN	OF N 280 FT LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3759					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	φ30.42	φ30.42	\$38.42	φ30.4Z	φ30.42
o 92-17-35-301-024		0.20	\$960.61	\$192.12	DATE PAID		 			
BETSY COHEN		UNIT	ψου.υ ι	Ψ132.12	DATE FAID		 			+
		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
428 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 83.40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3759	FT OF S 343.40 FT OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
								·	·	· ·
-				н	- A					

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-301-025		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES R WALTERS		UNIT								
	CLUTZ LAKEVIEW WOODLANDS N 60 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
424 SPARKS LN	OF S 260 FT OF LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3759					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-301-026		0.20	\$960.61	\$192.12	DATE PAID					
RONALD SEGGIE		UNIT	ψ900.01	\$192.12	DATEFAID					
NONALD GLOCIL		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
416 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 88 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3759	OF S 200 FT OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-301-028		0.20	\$960.61	\$192.12	DATE PAID					
PAULA ALLEN		UNIT								
	CLUTZ LAKEVIEW WOODLANDS ELY 90				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
675 LEON RD	FT OF S 112 FT OF LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3644					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4223 KELLY CIRCLE DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-1319 o 92-17-35-301-029		0.20	\$960.61	\$192.12	DATE PAID					
PHILLIP S PREUSS		UNIT	φ960.61	\$192.12	DATE PAID					
DIANE PREUSS		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
717 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 42				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3646	020122111211111000021110020112				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						¥551.1=	7001.12	700111	Ţ G G I I I	¥301.12
o 92-17-35-301-030		0.20	\$960.61	\$192.12	DATE PAID					
JAMES RICHARDS		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1255 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 43				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3674					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 00 47 05 004 000	<u> </u>	0.00	# 000 04	£400.40	DATE DAID					
o 92-17-35-301-032 MARIE WATKINS		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
WARIE WATKINS		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
615 LEON RD	CLUTZ LAKEVIEW WOODLANDS S 160 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3643	OF LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
47564 W PONTIAC TRL					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WIXOM MI 48393-2579						¥001.1=	¥00	4 00	Ţ G G I I	400 1.10
o 92-17-35-301-033		0.20	\$960.61	\$192.12	DATE PAID					
BARBARA MITCHELL		UNIT								
	CLUTZ LAKEVIEW WOODLANDS S 83.40				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
433 SPARKS LN	FT OF N 363.40 FT OF LOT 40				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3760					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 02 47 25 204 024	<u> </u>	0.00	#000 04	£400.40	DATE DAID					
0 92-17-35-301-034		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
DONNA JEAN THOMPSON		UNII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
419 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 100 FT	1			PRINCIPAL	\$192.12	\$153.70	\$38.42	\$76.85	\$38.42
WALLED LAKE MI 48390-3760	OF S 260 FT OF LOT 40				INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						Ψ00.12	400.12	\$33.12	\$55.1 <u>E</u>	\$55.12
L	L			и	п		1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-301-035		0.20	\$960.61	\$192.12	DATE PAID					
HENRY CHAMPE		UNIT								
GERTRUDE CHAMPE	CLUTZ LAKEVIEW WOODLANDS LOTS 44				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1275 LEON RD	& 47				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3674					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOTAL	φ30.4Z	Φ30.42	φ30.42	\$30.42	Φ30.42
o 92-17-35-302-003		0.20	\$960.61	\$192.12	DATE PAID					
MICHAEL WHIPSTOCK	CLUTZ LAKEVIEW WOODLANDS PART	LINIT	φοσο.σ.	ψ102.12						
	OF LOT 80, BEG ON NLY LOT LINE DIST N	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
138 LEON RD	50-40-00 E 50 FT FROM NW LOT COR, TH S 42-35-00 E 100 FT, TH N 50-40-00 E 50				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3522	FT, TH N 42-35-00 W 100 FT, TH WLY ALG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6634 EDGEWOOD	NLY LOT LINE 49.99 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
CANTON MI 48187										
0 92-17-35-302-004	CLUTZ LAKEVIEW WOODLANDS PART	0.20	\$960.61	\$192.12	DATE PAID					
JOE OHMER	OF LOT 80, BEG ON NLY LOT LINE DIST N	UNIT			54144105	# 100.10	0.450.70	0.1.1.5.0.7	#70.05	000.40
JOYCE OHMER	50-40-00 E 87.92 FT & ALG CURVE TO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
210 LEON RD WALLED LAKE MI 48390-3524	RIGHT 37.07 FT FROM NW LOT COR, TH S 42-35-00 E 100 FT. TH N 59-45-30 E				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE WII 46390-3324	40.41 FT, TH N 36-56-40 W 101.82 FT, TH				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	WLY ALG NLY LOT LINE 50 FT TO BEG				TOTAL	ψ30.42	ψ30.42	ψ30.42	ψ30.42	Ψ30.42
o 92-17-35-302-007		0.20	\$960.61	\$192.12	DATE PAID					
RUBY LEWANDOWSKI	CLUTZ LAKEVIEW WOODLANDS PART	LINIT	φοσοίο.	4.022						
	OF LOT 80, BEG ON NLY LOT LINE DIST S				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	63-56-00 W 158.33 FT FROM NE LOT COR, TH S 26-04-00 E 100 FT, TH S 63-56-00 W				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	50 FT, TH N 26-04-00 W 100 FT TH N 63-56				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
218 LEON RD	00 E 50 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3524				1						
0 92-17-35-302-010		0.20	\$960.61	\$192.12	DATE PAID					
KENNETH TUCKER	CLUTZ LAKEVIEW WOODLANDS PART	UNIT			54144105	# 100.10	0.450.70	0.1.1.5.0.7	#70.05	000.40
	OF LOT 74 BEG AT SW LOT COR, TH S 87 17-00 E 72.77 FT, TH N 26-04-00 W 69.18	1			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42 \$38.42
	FT, TH S 63-56-00 W 47.85 FT TH S 01-17-				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42
4591 N LENA DR	00 E 37.81 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
BEVERLY HILLS FL 34465-3112					1017.2	φου. 12	φοσ. 12	φοσ. 12	φοσ. 12	φοσ. 12
o 92-17-35-302-011		0.20	\$960.61	\$192.12	DATE PAID					
MARY CHILDERS	CLUTZ LAKEVIEW WOODLANDS PART	UNIT	*	, ,	The state of the s					
	OF LOT 74 BEG AT PT ON S LOT LINE DIST S 87-17-00 E 72.77 FT FROM SW LOT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	COR. TH S 87-17-00 E 12.77 FT FROM SW LOT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	04-00 W 123.98 FT, TH S 63-56-00 W 100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1967 LOVELL CT	FT, TH S 26-04-00 E 69.18 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
MILFORD MI 48381-4175		0.00	COCC 04	£400.40	DATE DAID					
o 92-17-35-302-012 PAUL EAGLETON		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
STEPHANIE DAWN EAGLETON		UNII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
GILFHANIL DAWN EAGLETON	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
335 ARVIDA ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3513		<u> </u>							<u> </u>	·
o 92-17-35-302-013	CLUTZ LAKEVIEW WOODLANDS PART	0.20	\$960.61	\$192.12	DATE PAID					
GLEN NELSON	OF LOT 74 BEG AT NE LOT COR, TH S 05-	UNIT								
	35-00 E ALG LOT LINE 65.32 FT, TH N 87-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
530 LEON RD	09-00 W 142.04 FT, TH N 00-29-00 E 64.29				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3530	FT TO N LOT LINE, TH ALG SD LINE S 88-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	27-00 E 15 FT, TH S 87-09-00 E 120 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	DEG							<u> </u>		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-302-014		0.20	\$960.61	\$192.12	DATE PAID					
PAUL EAGLETON		UNIT								
STEPHANIE DAWN EAGLETON	0, , , , , , , , , , , , , , , , , , ,				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
335 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3513					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-302-015	CLUTZ LAKEVIEW WOODLANDS PART	0.20	\$960.61	\$192.12	DATE PAID					
GERALD R EAGLETON	OF LOT 74. BEG AT SE LOT COR. TH N 87		φοσο.στ	Ψ102.12						
	17-00 W ALG SLY LOT LINE 165 FT, TH N	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
331 ARVIDA ST	00-29-00 E 54 FT, TH S 87-09-00 E 149.38				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3513	FT TO ELY LOT LINE, TH ALG CURVE TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 273	LEFT, WHOSE CHORD BEARS S 15-55-00				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	E 56.28 FT, A DIST OF 56.35 FT TO BEG									
0 92-17-35-302-016		0.20	\$960.61	\$192.12	DATE PAID					
DONNA M BLANCHA		UNIT			541 44105	# 100.10	0.450.70	0445.07	#70.05	000.40
	Con Annuary Office for Land Description				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	See Assessors Office for Legal Description				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
315 ARVIDA ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					TOTAL	ψ30.42	ψ30.42	ψ30.42	ψ30.42	ψ30.42
o 92-17-35-302-017		0.20	\$960.61	\$192.12	DATE PAID					
ELIZABETH GARDNER	CLUTZ LAKEVIEW WOODLANDS PART	LINIT	φοσοίο.	ψ.οzz						
	OF LOT 75 BEG AT NE LOT COR, TH N 87- 17-00 W 150 FT. TH S 02-53-00 W 50 FT.				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
327 ARVIDA ST	TH S 87-17-00 E 174.50 FT, TH N 23-43-00				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3513	W 55.70 FT ALG WLY LINE MAPLE BLVD				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	TO PT OF BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-302-018		0.20	\$960.61	\$192.12	DATE PAID					
DONNA M BLANCHA		UNIT			DAL ANOF	£400.40	£450.70	**	Ф 7 0.05	COO 40
	See Assessors Office for Legal Description				BALANCE	\$192.12	\$153.70 \$38.42	\$115.27	\$76.85	\$38.42 \$38.42
	See Assessors Office for Legal Description				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42
315 ARVIDA ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					101712	ψου. 12	ψ00.1 <u>2</u>	ψου. 1 <u>2</u>	φοσ. 12	φου. 12
o 92-17-35-302-020		0.20	\$960.61	\$192.12	DATE PAID					
MONICA WEBER		UNIT		·						
KENNETH WEBER					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
265 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 77				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
265 ARVIDA ST					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-021		0.20	\$060.04	\$192.12	DATE PAID					
0 92-17-35-302-021 DONALD MARTIN		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
DEBRA MARTIN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
215 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 78				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3511					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 861					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-										
o 92-17-35-302-031		0.20	\$960.61	\$192.12	DATE PAID					
JEFFERY D STABELL		UNIT								
KATHRYN E STABELL					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
115 ARVIDA ST	WELFARE LAKE VIEW LOT 58				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	1			<u> </u>					<u> </u>	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-302-032 DALE PACYNSKI		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
121 ARVIDA ST	WELFARE LAKE VIEW LOT 59				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2705 LAKERIDGE WIXOM MI 48393-1217					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-033		0.20	\$960.61	\$192.12	DATE PAID					
JAMES R CRENSHAW		UNIT								
	14/51 54 55 5 4 4 4 5 4 6 5 4 6 5				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
123 ARVIDA ST	WELFARE LAKE VIEW LOT 60				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-038		0.20	\$960.61	\$192.12	DATE PAID					
JOSEPH M RICH		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 ARVIDA ST	WELFARE LAKE VIEW LOT 64				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-041		0.20	\$960.61	\$192.12	DATE PAID					
DIANE DEGRANDCHAMP		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
145 ARVIDA ST	WELFARE LAKE VIEW LOT 67				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 00 47 05 000 040		0.00	#000.04	# 400.40	DATE DAID					
o 92-17-35-302-042 JOYCE BROUILLETTE		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
JOTOL BROOKEETTE		l Givii			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
149 ARVIDA ST	WELFARE LAKE VIEW LOT 68				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-043		0.20	\$960.61	\$192.12	DATE PAID					
PAUL COLONE		UNIT	φοσοίο.	V.022						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
155 ARVIDA ST	WELFARE LAKE VIEW LOT 69				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3510					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-046		0.20	\$960.61	\$192.12	DATE PAID					
DONNA M BLANCHA	CLUTZ LAKEVIEW WOODLANDS LOT 76	UNIT	*							
	EXC BEG AT NE LOT COR TH S 23-43-00				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	E 135.35 FT, TH N 86-05-00 W 170.08 FT,				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	TH N 03-55-00 E 120 FT, TH S 86-05-00 E				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
315 ARVIDA ST	107.30 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390- o 92-17-35-302-047	1	0.20	\$960.61	\$192.12	DATE PAID					
DONNA M BLANCHA-WATTLE	CLUTZ LAKEVIEW WOODLANDS PART	UNIT	10.006¢	Φ19Z.1Z	DATE PAID					
DOWN IN DEGROOM WATTEE	OF LOT 76 BEG AT NE LOT COR, TH S 23-	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
315 ARVIDA ST	43-00 E 135.35 FT, TH N 86-05-00 W 170.08				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3513	FT, TH N 03-55-00 E 120 FT, TH S 86-05-00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	E 107.30 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-302-048 RUBY LEWANDOWSKI	CLUTZ LAKEVIEW WOODLANDS PART OF LOT 80 BEG AT PT DIST S 63-56-00 W	0.20 UNIT	\$960.61	\$192.12	DATE PAID					
	208.33 FT FROM MOST NLY LOT COR, TH				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
218 LEON RD	S 26-04-00 E 100 FT, TH S 59-45-30 W				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3524	80.82 FT, TH N 31-30-00 W 101.82 FT, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	NELY 100 FT ALG NLY LOT LINE TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-051		0.20	\$960.61	\$192.12	DATE PAID					
HARVEY J PACK III	INCLEADE LAKE VIEW OF CAR OWN VAIO	UNIT			DAI ANOE	# 100.10	0.450.70	0.1.1.5.0.7	#70.05	000.40
125 ARVIDA ST	WELFARE LAKE VIEW LOT 61 & SWLY 1/2 OF LOT 62. ALSO LOT 79 OF 'CLUTZ				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42 \$38.42
WALLED LAKE MI 48390-3507	LAKEVIEW WOODLANDS'				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42
WALLED LAKE WII 46390-3307	LAKE VIEW WOODEANDO				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ50.42	ψ30. 1 2	ψ30.42	ψ30.42	ψ50.42
o 92-17-35-302-052		0.20	\$960.61	\$192.12	DATE PAID					
LAUREN BILLIU	<u>.</u>	UNIT								
	WELFARE LAKE VIEW NELY 1/2 OF LOT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
131 ARVIDA ST	62 EXC 6 FT X 6 FT SQUARE PARCEL	,			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507	OFF SELY LOT COR, ALSO ALL OF LOT 63	1			INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-053	OF LOT 80 BEG AT PT DIST NELY 50 FT	0.20	\$960.61	\$192.12	DATE PAID					
DAN CULLEN	ALG NLY LOT LINE FROM NE COR OF	UNIT								
	LOT 81, TH SWLY 50 FT TO SD NE COR				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
132 LEON RD	OF LOT 81, TH SELY ALG LOT LINE TO SE				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3522	COR OF LOT 81, TH NELY 50 FT ALG LOT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2088 N PONTIAC TRL	LINE, TH NWLY TO BEG 08/08/86 FR 001 &				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3159 o 92-17-35-302-054	002	0.20	\$960.61	\$192.12	DATE PAID					
GREG ABBOTT		UNIT	φ900.01	\$192.12	DATE FAID					
0.1207.125077	WELFARE LAKE WEWL OTO OF 8 CO. 9.4	0.4.1			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
141 ARVIDA ST	WELFARE LAKE VIEW LOTS 65 & 66 8-1-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3507	01 FR 039 & 040				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-302-055		0.20	\$960.61	\$192.12	DATE PAID					
CHRIS A ANDROFF		UNIT								
HANNAH ANDROFF	WELFARE LAKE VIEW LOTS 70 & 71 8-1-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
185 ARVIDA ST	01 FR 044 & 045				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3510					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-303-004		0.20	\$960.61	\$192.12	DATE PAID					
DANIEL CLEMINTE		UNIT	+ 5.0 .	Ţ.3 2						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1286 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3675					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-303-005		0.20	\$960.61	\$192.12	DATE PAID					
DANIEL CLEMINTE		UNIT	+ 5.0 .	Ţ.3 2						
	CLUTZ LAKEVIEW WOODLANDS E 44 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1278 LEON RD	CLUTZ LAKEVIEW WOODLANDS E 14 FT OF LOTS 72 & 73				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3675	OI LOIS 12 & 13				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll .	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-303-006 JACK TURNER		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
	CLUTZ LAKEVIEW WOODLANDS LOT 74				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
310 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 71 EXC ELY 180 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3512	EXCELT 18011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-303-007		0.20	\$960.61	\$192.12	DATE PAID					
OCCUPANT		UNIT								
	CLUTZ LAKEVIEW WOODLANDS ELY 180				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1278 LEON RD	FT OF LOT 71				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3675					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-303-009		0.20	\$960.61	\$192.12	DATE PAID					
DENNIS YEZBICK		UNIT			541 44105	# 400.40	0.150.70	0115.07	#70.05	000.40
202 A DVIDA CT	CLUTZ LAKEVIEW WOODLANDS LOT 69				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
302 ARVIDA ST WALLED LAKE MI 48390-3512	CLU12 LAKEVIEW WOODLANDS LOT 69				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE IVII 46390-3312					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ00.42	Ψ30.42	ψ50.42	ψ50.42	ψ30.42
0 92-17-35-303-010		0.20	\$960.61	\$192.12	DATE PAID					
THEODORE COULTER		UNIT			DALANCE	£400.40	¢452.70	¢445.07	Ф 7 С ОБ	COO 40
KATHLEEN COULTER 214 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 68				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3509	GLOTZ LAKE VIEW WOODLANDO LOT 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/1222 2/11/2 IVII 40000 0000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-303-012		0.20	\$960.61	\$192.12	DATE PAID					
MARK LAFLUER		UNIT	φ900.01	\$192.12	DATE PAID					
		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
217 CHERITON ST	WELFARE LAKE VIEW LOT 73				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3622					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-303-013		0.20	\$960.61	\$192.12	DATE PAID					
PHILIP H RUNDELL		UNIT								
O40 OUEDITON OT	WELFARE LAKE VIEW LOT 74				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
213 CHERITON ST WALLED LAKE MI 48390-3622	WELFARE LAKE VIEW LOT 74				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE IVII 46390-3622					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	ψ00.42	ψου2	ψου2	ψου.+2	ψου.42
o 92-17-35-303-018		0.20	\$960.61	\$192.12	DATE PAID					
FREDERICK CHUMACK		UNIT			DAI	M406.15	0450 50	044	070.07	000.15
040 A DVIDA OT	Son Annongero Office for Large Description				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
340 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42 \$0.00
WALLED LAKE MI 48390-3512					TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$38.42
						,		,	,	
o 92-17-35-303-019 ERIK JONES		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
ROSEMARY JONES		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
660 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3642	1 2 2 3 2 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

AND ADDRESS OF PROPERTY FRONTAGE O \$22-735-300-023 O \$22-735-300-0	ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
9.92-17-35-309-026 OBERTA B COSTANZO DEBRA B COSTANZO DEB							2010	2011		2013	2014
## BALANCE ## 1992.12 \$155.70 \$115.27 \$78.85 \$38.42 ## SALANCE ## S	AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE		1ST	2ND	3RD	4TH	5TH
DEBMA COSTANZO WELFARE LAKE VIEW LOTS 77 & 78 WILLED LAKE MI 48390-3814 WELFARE LAKE VIEW LOTS 77 & 78 SIS BLUFFICH STATE				\$960.61	\$192.12	DATE PAID					
## WELFARE LAKE VIEW LOTS 77 8 78 WALED LAKE MI #\$390.3814 WELFARE LAKE VIEW LOTS 77 8 78 WALED LAKE MI #\$390.3814 WELFARE LAKE VIEW LOTS 77 8 78 ## WALED LAKE MI #\$390.3814 O 29-17-35-303-022 JAMPS 190.12 O 29-17-35-303-022 O 29-17-35-303-024 SCOTT LOWN WELFARE LAKE VIEW LOT 72, ALSO O PART OF LOT 100 BEG AT PT DIST 52 04-500 E 10-51 TT DIST 54-15-50 E 10-5			UNIT								
## NALED LAKE M #8390-3814 WALED LAKE M #8390-3814											
Section Recommended Section Recommended		WELFARE LAKE VIEW LOTS 77 & 78									
0 22-17-35-303-022 JAMES SAVINGER OF LOTT 3 PLAS BEG AT FLYON LLOF LOTE STORY AND ECONOMINATE SAVINGER WALLED LAKE MI 48390-3881 OF LOTT 3 PLAS SAGE AND THE SAME CONTROL AND SAVINGER SAVIN	WALLED LAKE MI 48390-3614										
SOLITION SOLITION						IOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
SOLITION SOLITION	0.02 47 25 202 022		0.20	\$060.61	¢102.12	DATE BAID					
960 LEON RD WALLED LAKE MI 48390-3681 DETTS TIME Y 130 FF FFOON NE CORN WALLED LAKE MI 48390-3681 DETTS TIME Y 130 FF FFOON NE CORN B3-58-00 W 105 FF, TH N 106-02-00 E 110 FT, TH 8 183-58-00 W 105 FT, TH N 106-02-00 E 110 FT, TH 8 183-58-00 W 105 FT, TH N 106-02-00 E 110 FT, TH 8 183-58-00 W 105 FT, TH N 106-02-00 E 110 FT TO BEG AT NEXT LOT. OP 2417-35-303-324 SOOT LOWN WELFARE LAKE VIEW LOT 72, ALSO PART OF LOT 109 BEG AT NEXT LOT. COR, TH 80-01-00 E 100 FT, TH 8 102-10-21 W 75 FT, TH N 106-02-00 E 100 FT TO BEG AT NEXT LOT. WALLED LAKE MI 48390-3624 OP 2417-35-303-425 CHARLES JACKSON OF 17 HN 102-10-21 W 75 FT, TH N 106-02-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT PT DIST S 23-43-00 E 100 FT TO BEG AT NIX LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM MY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT CORE, TH N 84-37-20 W 130 FT FROM WY LOT C				φ900.01	\$192.12	DATE PAID					
990 LEON RO WALLED LAKE MI 48390-3881 0F LOT 73, TH S 06/32/00 W 10 FT, TH N 80-62/00 D 110 PT, TH N 80-58/00 M 10 BT, TH N N 06/2/00 D 110 PT, TH N 80-58/00 M 10 BT, TH N 80-62/00 D 110 PT, TH N 80-58/00 M 10 BT, TH N 80-62/00 D 110 PT, TH N 80-58/00 M 10 BT, TH N 80-62/00 D 110 PT, TH N 80-	CANET ONTEEN		Olviii			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
WALLED LAKE MI 48390-3681 S36.40	950 LEON RD										
9 29-17-35-303-024 SCOTT LOWN 315 CHERITON ST WALLED LAKE MI 48390-3612 9 29-17-35-303-025 CLUTZ LAKEVIEW WOODLANDS PART OF LOT 70 BEG ST PT OBEG ST NW LOT COR. THIN 80-35-00 BES ST NW ST OBEG ST O											
O 92-17-35-303-024 WELFARE LAKE VIEW LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 109 BEG AT NELLY LOT 72 ALSO PART OF LOT 70 BEG AT 11 ALSO PART OF LOT 70 BEG AT 11 ALSO PART OF LOT 70 BEG AT 11 ALSO PART OF LOT 70 BEG AT 129 I CORR											
SCOTT LOWN		F1, 1H S 83-58-00 E 105 F1 TO BEG						,			
## PART OF LOT 109 BEG AT NIELY LOT WALLED LAKE MI 48390-3624 ### PART OF LOT 109 BEG AT NIELY LOT WALLED LAKE MI 48390-3624 ### PART OF LOT 109 BEG AT NIELY LOT WALLED LAKE MI 48390-3624 ### PART OF LOT 109 BEG AT NIELY LOT SCHOOL AND SPART OF LOT 70 BEG AT NIELY LOT OF LOT 70 BEG AT NIELY LOT OF LOT 70 BEG AT POINT \$2.94-3-00 E 30.00 FT FROM NW LOT CORT. TH N 84-3-72 00 W 85 95 FT, TH S 84-3-72 00 W 85 95 FT, TH S 84-3-7	o 92-17-35-303-024			\$960.61	\$192.12	DATE PAID					
315 CHERITON ST WALLED LAKE MI 48390-3624 WAY 60 FT, TH N 25-19-21 W 75 FT, TH N 54-13-50 E 105 FT TO BEG 11-22-91 CORR 0 92-17-35-303-025 CHUTZ LAKEWIEW WOODLANDS PART OF LOT 70 BEG AT TH N 56-23-00 E 56-95 FT, TH N 58-43-126 W 131.95 FT, TH N 05-23-00 E 56-95 FT, TH S 64-31-26 W 131.95 FT, TH N 05-23-00 E 56-95 FT, TH S 84-31-26 W 309.86 FT, TH N 05-23-00 WALLED LAKE MI 48390-3512 CLUTZ LAKEWIEW WOODLANDS PART OF LOT 70 BEG AT NW LOT COR, TH N 84-37-00 W9.0.7F FT TO BEG AT NW LOT COR, TH N 94-37-30-00 W9.0.7F FT TO BEG AT NW LOT COR, TH N 94-37-30-00 W9.0.7F FT TH S 05-23-00 E 56-95 FT, TH S 84-31-26 W 309.86 FT, TH N 05-23-90 W9.0.7F FT TH S 05-23-00 E 56-95 FT, TH S 84-31-26 W 309.86 FT, TH N 05-23-90 W9.0.7F FT TH S 05-23-00 E 56-95 FT, TH S 84-31-26 W 309.86 FT, TH N 05-23-90 WALLED LAKE MI 48390-3512 WENDELL ALLEN DIAM & WENDELL ALLEN & See Assessors Office for Legal Description WENDELL ALLEN & WENDELL & WENDE	SCOTT LOWN		UNIT								
## WALLED LAKE MI 48390-3624 ## W6 0FT, TH N 25-19-2 LW 75 FT, TH N S4-13-50 E 105 FT TO BEG 11-22-91 CORR											
S4-13-508-105 FT TO BEG 11-22-91 CORR TOTAL \$38.42											
O 92-17-35-303-025	WALLED LAKE MI 48390-3624	·				_ I					
CHARLES JACKSON		54-13-50 E 105 FT TO BEG 11-22-91 CORR				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
CHARLES JACKSON	0 02 17 25 202 025		0.20	¢060.61	¢102.12	DATE BAID					
304 ARVIDA ST WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3638 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3639 See Assessors Office for Legal Description WALLED LAKE MI 48390-3683 See Assessors Office for Legal Description WALLED LAKE MI 48390-3683 See Assessors Office for Legal Description WALLED LAKE MI 48390-3683 See Assessors Office for Legal Description WALLED LAKE MI 48390-3683 See Assessors Office for Legal Description WALLED LAKE MI 48390-3683 See Assessors Office for Legal Description WALLED LAKE MI 48390-3683 S		CLUTZ LAKEVIEW WOODLANDS PART		\$900.01	\$192.12	DATE PAID					
PRINCIPAL S38.42	CHARLES JACKSON		_			BALANCE	\$102.12	\$153.70	\$115.27	\$76.85	\$38.42
WALLED LAKE MI 48390-3512	304 ARVIDA ST										
O 92-17-35-303-026						_ I					
0 92-17-35-303-026	WALLES ENTE IN 10000 0012					_ I					
CLUIZ LAKE VIEW WOODLANDS PART TRUST TOTO BEG AT NW LOT COR, TH N 84 37-00 E 496.70 FT, TH S 03-03-21 W 115.77 FT TH S 84-31-26 W 20.936 FT, TH N 05-23 00 W 85.95 FT, TH S 84-37-00 W 160.50 FT, TH N 23-43-00 W 30.00 FT TO BEG Description		W 90.77 FT TO BEG				101712	ψου	400.12	ψσσ2	ψσσ <u>z</u>	Ψ001.2
OF LOT 70 BEG AT NW LOT COR, TH N 84 37-00 E 496.70 FT, TH S 03-03-21 W 115.17	o 92-17-35-303-026	CLUTZ LAKEVIEW WOODLANDS DADT	0.20	\$960.61	\$192.12	DATE PAID					
RACION State Sta	OLIVA BUCHANAN		UNIT								
Sage Action Act Fit H S 84-31-26 W 309.86 FT, TH N 05-23 O W 85-95 FT, TH S 84-37-00 W 160.50 FT, TH N 84-37-00 W 30.00 FTTO BEG Sage Act Sage		· ·				BALANCE					
WALLED LAKE MI 48390-3512	308 ARVIDA ST					_ I					
FT, TH N 23-43-00 W 30.00 FT TO BEG 0 92-17-35-303-027 WENDELL ALLEN DIANE ALLEN TOTAL Samuel Samu	WALLED LAKE MI 48390-3512					_ I					
WENDELL ALLEN DIANE ALLEN DIANE ALLEN T32 LEON RD See Assessors Office for Legal Description See As		· ·				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WENDELL ALLEN DIANE ALLEN DIANE ALLEN T32 LEON RD See Assessors Office for Legal Description WALLED LAKE MI 48390-3645 PO BOX 152 WALLED LAKE MI 48390 WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description WALLED LAKE MI 48390-3512 WALLED LAKE MI 48390-3683 WALLED LAKE MI 48390-368	0 02 17 25 202 027		0.20	¢060.61	¢102.12	DATE BAID					
DIANE ALLEN 732 LEON RD See Assessors Office for Legal Description See Assessors Office for Legal Descr				ψ900.01	ψ192.12	DATEFAID					
T32 LEON RD WALLED LAKE MI 48390-3645 PO BOX 152 WALLED LAKE MI 48390 WALLED LAKE MI 48390-3512 WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description WALLED LAKE MI 48390-3512 WALLED LAKE MI 48390-3512 WALLED LAKE MI 48390-3683 WALLED LAKE MI 48390-368			OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
WALLED LAKE MI 48390-3645 PO BOX 152 WALLED LAKE MI 48390 0 92-17-35-303-028 LESTER MARTIN 320 ARVIDA ST WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description See Assessors Office for Legal Description 0.20 UNIT See Assessors Office for Legal Description 0.20 UNIT See Assessors Office for Legal Description See Assessors Office for Legal Description DATE PAID BALANCE PRINCIPAL S38.42 S38		See Assessors Office for Legal Description				_ I					
PO BOX 152 WALLED LAKE MI 48390 o 92-17-35-303-028 LESTER MARTIN 320 ARVIDA ST WALLED LAKE MI 48390-3512 See Assessors Office for Legal Description O 92-17-35-303-028 UNIT O 92-17-35-303-029 SUPERIOR ROOFING CO INC 800 LEON RD WALLED LAKE MI 48390-3683 TOTAL \$38.42 \$38.42 \$38.42 \$38.42 DATE PAID BALANCE PRINCIPAL INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$192.12 DATE PAID BALANCE PRINCIPAL S38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$3		3				_ I					
WALLED LAKE MI 48390 0 92-17-35-303-028 UNIT See Assessors Office for Legal Description See Assessors						_ I					
LESTER MARTIN See Assessors Office for Legal Description UNIT BALANCE \$192.12 \$153.70 \$115.27 \$76.85 \$38.42 \$	WALLED LAKE MI 48390							·			
See Assessors Office for Legal Description See Assessors Offic				\$960.61	\$192.12	DATE PAID					
See Assessors Office for Legal Description See Assessors Offic	LESTER MARTIN		UNIT								
WALLED LAKE MI 48390-3512 INTEREST \$0.00		0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0									
TOTAL \$38.42 \$3		See Assessors Office for Legal Description									
0 92-17-35-303-029 SUPERIOR ROOFING CO INC 800 LEON RD WALLED LAKE MI 48390-3683 0.20 UNIT \$960.61 \$192.12 \$DATE PAID BALANCE PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.40	WALLED LAKE MI 48390-3512										
SUPERIOR ROOFING CO INC UNIT BALANCE \$192.12 \$153.70 \$115.27 \$76.85 \$38.42 800 LEON RD See Assessors Office for Legal Description PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$30.00 \$0.00						IOIAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
SUPERIOR ROOFING CO INC UNIT BALANCE \$192.12 \$153.70 \$115.27 \$76.85 \$38.42 800 LEON RD See Assessors Office for Legal Description PRINCIPAL \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.42 \$38.00 \$38.42 <	0 92-17-35-303-029		0.20	\$960.61	\$192.12	DATE PAID					
800 LEON RD See Assessors Office for Legal Description BALANCE PRINCIPAL \$192.12 \$153.70 \$115.27 \$76.85 \$38.42 \$38.4				ψουυ.υ ι	Ψ132.12	DATEFAID					
800 LEON RD See Assessors Office for Legal Description PRINCIPAL INTEREST \$38.42 \$3	23/ Enter Noor Into do Into		0.411			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
WALLED LAKE MI 48390-3683 INTEREST \$0.00 \$0.00 \$0.00 \$0.00	800 LEON RD	See Assessors Office for Legal Description									
		3									
HOWELL MI 48855-7254			<u> </u>							· .	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
0 92-17-35-303-030		0.20	\$960.61	\$192.12	DATE PAID					
STEVEN D STEPHAN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
209 CHERITON ST	WELFARE LAKE VIEW LOTS 75 & 76 10-02	}			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	08 FR 014 & 015				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-326-001		0.20	\$960.61	\$192.12	DATE PAID					
HARLAN COMBS		UNIT			541 44105	# 100.10	0.450.70	0445.07	#70.05	000.40
501 DECKER RD	CLUTZ LAKEVIEW WOODLANDS LOT 45				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3805	OLOTZ LAKEVIEW WOODLANDO LOT 45				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/\EEEB E/\\\E \W\\ 40000 0000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						700	, , , , ,	****	,	7
o 92-17-35-326-002		0.20	\$960.61	\$192.12	DATE PAID					
PROPERTY OWNER		UNIT								
	CLUTZ LAKEVIEW WOODLANDS W				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	662.86 FT OF LOT 46				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
5607 WARRENSHIRE					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WEST BLOOMFIELD MI 48322					I TOTAL	ψ00.42	ψ00.42	ψ00.42	ψ00.42	ψουτ2
o 92-17-35-326-003		0.20	\$960.61	\$192.12	DATE PAID					
TONY E JACKSON		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 46				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
457 DECKER RD	EXC W 662.86 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2900 WELCH RD WALLED LAKE MI 48390-1562					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-326-005		0.20	\$960.61	\$192.12	DATE PAID					
LINDA CHAMPION		UNIT	******	********						
DAVID OWENS	CLUTZ LAKEVIEW WOODLANDS THE W				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1335 LEON RD	110 FT OF LOT 48				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3673					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-326-006		0.20	\$960.61	\$192.12	DATE PAID					
PROPERTY OWNER		UNIT	φοσοίο:	Ψ102.12	DATE TABLE					
	CLUTZ LAKEVIEW WOODLANDS LOT 48.				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	EXC THE W 110 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	2/10 11.12 11 11.01 1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5607 WARRENSHIRE WEST BLOOMFIELD MI 48322-					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-326-007		0.20	\$960.61	\$192.12	DATE PAID					
TOM LANGAN		UNIT	ψ500.01	Ψ102.12	DATE I AID					
	CLUTZ LAKEVIEW MOODLANDS MAA	0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1345 LEON RD	CLUTZ LAKEVIEW WOODLANDS W 1/2 OF LOT 49				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3673	0. 201 43				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
38321 GOLFVIEW DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
FARMINGTON HILLS MI 48331 o 92-17-35-326-008		0.20	\$960.61	\$192.12	DATE PAID					
SETH GARVIN		UNIT	φ 9 00.01	\$19Z.1Z	DATE PAID					
SZIII OZIVIII	0111771 41/51/151/11/10051 41/50 5 41/50 5				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1385 LEON RD	CLUTZ LAKEVIEW WOODLANDS E 1/2 OF LOT 49				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3673	LOT 49				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

6/23/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
0 92-17-35-326-009		0.20	\$960.61	\$192.12	DATE PAID					
GERALD M BASSETT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1411 LEON RD	CLUTZ LAKEVIEW WOODLANDS W 60 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3648	OF LOT 50				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-326-010		0.20	\$960.61	\$192.12	DATE PAID					
GLEN HAUENSTEIN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1445 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 50				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3648	EXC W 60 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-326-011		0.20	\$960.61	\$192.12	DATE PAID					
RESIDENT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1525 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 51				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3650	OLOTE LINEVIEW WOODLINGS LOT OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5607 WARRENSHIRE					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WEST BLOOMFIELD MI 48322-										
0 92-17-35-326-012		0.20	\$960.61	\$192.12	DATE PAID					
JOHN HENEHAN		UNIT			DALANCE	\$192.12	¢452.70	¢445.07	¢76.05	f20.42
1545 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 52				BALANCE PRINCIPAL	\$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3650	02012 2 112 112 11 110 20 10 102				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-326-013		0.20	\$960.61	\$192.12	DATE PAID					
GARY P BENEDICT		UNIT			DALANCE	£400.40	¢452.70	\$44E 07	Ф 7 С ОБ	f20.42
ANNETTE S BENEDICT 1563 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 53				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3603	02012 2 112 112 11 110 20 1 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-326-014		0.20	\$960.61	\$192.12	DATE PAID					
NORMA HOOK		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	CLUTZ LAKEVIEW WOODLANDS LOT 54				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2559 ROSELAWN ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-1946										
o 92-17-35-326-016		0.20	\$960.61	\$192.12	DATE PAID					
CHRIS TAMER ELIZABETH TAMER		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
435 DECKER RD	CLUTZ LAKEVIEW WOODLANDS LOT 55				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3804	EXC S 150 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
			A a a c c c c c c c c c c	A 10 - 1 -	5					
o 92-17-35-326-017		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
TIMOTHY K SIPES ALICE M SIPES		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
425 DECKER RD	CLUTZ LAKEVIEW WOODLANDS S 150 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3804	OF LOT 55				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

162 d 175

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
0 92-17-35-327-001		0.20	\$960.61	\$192.12	DATE PAID					
OLLIE GROSS		UNIT			DALANCE	\$192.12	¢452.70	\$115.27	\$76.85	\$38.42
1316 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 65				BALANCE PRINCIPAL	\$38.42	\$153.70 \$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3612	GEG 12 EN INC VIEW WOODEN INDO EG 1 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-327-002		0.20	\$960.61	\$192.12	DATE PAID					
JESSE COCKERHAM		UNIT			541 41105	* 400.40	0 450 70	0.1.15.07	#70.05	000.40
1344 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 64				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3612	CEOTZ LAKEVIEW WOODLANDS LOT 04				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/\LLEB E/\\\L\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						¥00111	¥001.12	¥301.	¥331.1=	¥331.
o 92-17-35-327-003		0.20	\$960.61	\$192.12	DATE PAID					
ROBERT GREGORY		UNIT								
4070 4 70 4 70					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1370 LEON RD WALLED LAKE MI 48390-3612	CLUTZ LAKEVIEW WOODLANDS LOT 63				PRINCIPAL INTEREST	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00	\$38.42 \$0.00
WALLED LAKE WII 46390-3612					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					TOTAL	ψ50.42	₩30. 1 2	ψ30.42	ψ30.42	Ψ30.42
o 92-17-35-327-004		0.20	\$960.61	\$192.12	DATE PAID					
JOYCE L CHAPLIN LIVING TRUS		UNIT		·						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1490 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 62				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3647					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	φ30.4Z	φ30.4Z	\$30.42	\$30.42	\$30.42
o 92-17-35-327-005		0.20	\$960.61	\$192.12	DATE PAID					
BOB HARRIS		UNIT	******	*******						
LORRAINE HARRIS					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1510 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 61				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 129 WALLED LAKE MI 48390-					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-327-006		0.20	\$960.61	\$192.12	DATE PAID					
MARGARET FLOWER		UNIT	φοσοίο:	Ψ102.12	5,11217115					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1530 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 60				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-327-008		0.20	\$960.61	\$192.12	DATE PAID					
KENNETH STUDT		UNIT	ψοσο.στ	Ψ102.12	2,21,,,,,					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1634 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 57				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3651					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-327-009		0.20	\$960.61	\$192.12	DATE PAID					
ESTELLE STELLA HAYS		UNIT	ψ300.01	\$192.12	DATE FAID					
		0.111			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1676 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 56				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3651					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

163 d 175

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-327-010		0.20	\$960.61	\$192.12	DATE PAID					
GEORGE RINK		UNIT								
	OLUTZ LAKENIEW WOODLANDO LOT OO				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
347 DECKER RD	CLUTZ LAKEVIEW WOODLANDS LOT 66				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3630					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
378 INNISFREE RD HOWELL MI 48855-9751					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-327-012		0.20	\$960.61	\$192.12	DATE PAID					
PAUL SAUVE		UNIT	ψ300.01	Ψ132.12	DATETAID					
LISA SAUVE		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1550 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 59 9	•			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3649	15-03 FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-327-013		0.20	\$960.61	\$192.12	DATE PAID					
LARRY FOX		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 58 9	. I			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1570 LEON RD	15-03 FR 007				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
131 FERLAND ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3515 x 92-17-35-351-001		1.00	\$960.61	\$960.61	DATE PAID					
N & B PROPERTIES		UNIT	φ900.01	\$900.01	DATE FAID					
N & B F NOF ENTILS		OINII			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
765 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 6 ASSESSED				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3566	WITH 17-35-302-027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1370 OREGON BLVD					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WATERFORD MI 48327-					Ī					
x 92-17-35-351-002		1.00	\$960.61	\$960.61	DATE PAID					
SUSAN COWLING		UNIT								
	WELFARE LAKE VIEW LOT 7 ASSESSED				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WITH 17-35-302-028				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
707 F WALLED LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
767 E WALLED LAKE DR WALLED LAKE MI 48390-3568					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
x 92-17-35-351-003		1.00	\$960.61	\$960.61	DATE PAID					
BRIAN SCHWARTZ		UNIT	ψ300.01	ψ300.01	DATETAID					
27.17.11.7 007777.11.7.2	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WELFARE LAKE VIEW LOT 8 ASSESSED				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	WITH 17-35-302-029				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
40767 LENOX PARK DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
NOVI MI 48377-2349										
× 92-17-35-351-004		1.00	\$960.61	\$960.61	DATE PAID					
DAVID DIEGEL		UNIT			DAI	Φ00C 5:	Φ 7 00 10	4576.57	# 00 : 5 :	0400 10
	WELFARE LAKE VIEW LOT 9 ASSESSED				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WITH 17-35-302-030				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
777 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3568					IOIAL	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12	Ψ102.12
× 92-17-35-351-006		1.00	\$960.61	\$960.61	DATE PAID					
RICHARD PATTERSON		UNIT	+ 3.0 .	,						
	MELEADE LAVE VIEW LOT 40				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
805 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 12 ASSESSED WITH 17-35-352-002				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3666	AGGEGGED WITH 17-30-302-002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-35-351-007		1.00	\$960.61	\$960.61	DATE PAID					
JEROME NELL		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WELFARE LAKE VIEW LOT 13 ASSESSED				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	WITH 17-35-352-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
809 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3666						·	·	·		
x 92-17-35-351-008		1.00	\$960.61	\$960.61	DATE PAID					
JEROME NELL		UNIT								
	WELFARE LAKE VIEW LOT 14				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-35-352-004				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
809 E WALLED LAKE DR					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
WALLED LAKE MI 48390-3666					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-35-351-009		1.00	\$960.61	\$960.61	DATE PAID					
MICHAEL KERNEN		UNIT	φ500.01	φοσο.στ	DATE I ALD					
	\\\[\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WELFARE LAKE VIEW LOT 15 ASSESSED WITH 17-35-352-005				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	A33E33ED WITH 17-33-332-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
817 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390				*****	5.75 5.15					
× 92-17-35-351-010		1.00	\$960.61	\$960.61	DATE PAID					
OCCUPANT		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
821 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 16				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3666	ASSESSED WITH 17-35-352-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
						* -		•		, ,
× 92-17-35-351-011		1.00	\$960.61	\$960.61	DATE PAID					
BRUNO B TOME		UNIT								
KELLY J TOME	WELFARE LAKE VIEW LOT 17				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-35-352-007				PRINCIPAL INTEREST	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00	\$192.12 \$0.00
825 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3666					TOTAL	ψ192.12	Ψ132.12	Ψ132.12	ψ132.12	Ψ132.12
× 92-17-35-351-013		1.00	\$960.61	\$960.61	DATE PAID					
KENNETH C HOLMES		UNIT								
DEBORAH M BRAUNINGER	WELFARE LAKE VIEW LOT 21				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-35-353-002				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
005 5 WALLED LAWS DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
905 E WALLED LAKE DR WALLED LAKE MI 48390-3667					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
x 92-17-35-351-014		1.00	\$960.61	\$960.61	DATE PAID					
MARGARET GRAVES		UNIT	ψυσυ.σι	ψ550.01	DATE I AID					
MICHELLE SHATZER	WELFARE LAKE VIEW LOT 00	0			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WELFARE LAKE VIEW LOT 22				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	ASSESSED WITH 17-35-353-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
909 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390		4.00	A 000 01	00000	DATE SALE					
× 92-17-35-351-015 HARRY E BEESON		1.00	\$960.61	\$960.61	DATE PAID					
HARRI E BEESUN		UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	WELFARE LAKE VIEW LOT 23				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
	ASSESSED WITH 17-35-353-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
911 E WALLED LAKE DR					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3667										

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II	NSTALLMENT	rs	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
× 92-17-35-351-016 ALLEN MCPHEE		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
CAROLE MCPHEE	WELFARE LAKE VIEW LOT 24				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
913 E WALLED LAKE DR	ASSESSED WITH 17-35-353-005				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3667					INTEREST TOTAL	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12	\$0.00 \$192.12
					IOIAL	ψ19Z.1Z	ψ192.12	ψ192.12	ψ192.12	ψ192.12
× 92-17-35-351-017 DONALD WILKINSON JR		1.00 UNIT	\$960.61	\$960.61	DATE PAID					
	WELFARE LAKE VIEW LOT 25 ASSESSED				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
915 E WALLED LAKE DR	WITH 17-35-353-006				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390-3667					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4650 N MILFORD RD HIGHLAND MI 48357					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-35-351-018		1.00	\$960.61	\$960.61	DATE PAID					
MATTHEW FRANKLAND		UNIT	Ψ000.0.	φοσοισ.						
	WELFARE LAKE VIEW LOT 26				BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	ASSESSED WITH 17-35-353-007				PRINCIPAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
047 E WALLED LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
917 E WALLED LAKE DR WALLED LAKE MI 48390					TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
× 92-17-35-351-020		3.00	\$960.61	\$2,881.83	DATE PAID					
THEODORE ANDRIS		UNIT			DALANCE	CO 004 00	CO 205 40	£4.700.40	£4.450.70	ФE70 07
	WELFARE LAKE VIEW LOT 29				BALANCE PRINCIPAL	\$2,881.83 \$576.37	\$2,305.46 \$576.37	\$1,729.10 \$576.37	\$1,152.73 \$576.37	\$576.37 \$576.37
	ASSESSED WITH 17-35-354-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24901 NORTHWESTERN # 416					TOTAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
SOUTHFIELD MI 48075						ψο. σ.σ.	ψοι σισι	ψοι σισι	ψο. σ.σ.	ψοι σισι
× 92-17-35-351-021		3.00	\$960.61	\$2,881.83	DATE PAID					
THEODORE ANDRIS		UNIT			54144105	A O OO 4 OO	\$0.005.40	04 7 00 40	04 450 70	#570.07
	WELFARE LAKE VIEW LOT 30				BALANCE PRINCIPAL	\$2,881.83 \$576.37	\$2,305.46 \$576.37	\$1,729.10 \$576.37	\$1,152.73 \$576.37	\$576.37 \$576.37
	ASSESSED WITH 17-35-354-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24901 NORTHWESTERN # 416					TOTAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
SOUTHFIELD MI 48075						ψο. σ.σ.	40.10.01	φσ. σ.σ.	ψοι σισι	40.0.0.
× 92-17-35-351-022 WALLED LAKE FOREST APTS	5 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30	3.00 UNIT	\$960.61	\$2,881.83	DATE PAID					
WALLED LAKE FOREST AFTS	'WELFARE LAKEVIEW', TH SELY ALG RD	OINIT			BALANCE	\$2,881.83	\$2,305.46	\$1,729.10	\$1,152.73	\$576.37
42820 W 14 MILE RD	LINE 20.60 FT, TH W ALG SEC LINE TO				PRINCIPAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
WALLED LAKE MI 48390-3671	SHORE LINE OF WALLED LAKE, TH NWLY	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 735	ALG SHORE LINE TO SW COR OF LOT 30,				TOTAL	\$576.37	\$576.37	\$576.37	\$576.37	\$576.37
NORTHVILLE MI 48167	TH ELY TO BEG 0.005 A CP120C-1									
× 92-17-35-351-023	5 PART OF SW 1/4 BEG AT SE COR OF	1.00	\$960.61	\$960.61	DATE PAID					
EVAN RISKIN	LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT. TH W ALG SEC	UNIT			BALANCE	\$960.61	\$768.49	\$576.37	\$384.24	\$192.12
	LINE TO SHORE LINE OF WALLED LAKE,				PRINCIPAL		\$168.49	\$576.37 \$192.12	\$384.24 \$192.12	\$192.12 \$192.12
	TH NWLY ALONG SHORE LINE TO SW				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
120 LEEDS	COR OF LOT 30, TH ELY TO BEG EXC N				TOTAL	\$192.12	\$192.12	\$192.12	\$192.12	\$192.12
WALLED LAKE MI 48390	10.30 FT 0.005 A CP120C-2	<u> </u>			_	·				
o 92-17-35-352-001		0.20	\$960.61	\$192.12	DATE PAID					
DONALD BUDZYNSKI		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
801 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 48				PRINCIPAL	\$192.12	\$38.42	\$38.42	\$76.85	\$38.42
WALLED LAKE MI 48390-3666					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	<u>.</u>	1		л			1	1	1	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-352-008 JOHN KHALAF		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
829 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 41				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3601					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-352-009		0.20	\$960.61	\$192.12	DATE PAID					
DAVID L HULTGREN LYDIA LYPKA-HULTGREN		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
116 ARVIDA ST	WELFARE LAKE VIEW W 1/2 OF LOT 89				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3506	ALSO ALL OF LOT 90				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
With the limit looks soos					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-010		0.20	\$960.61	\$192.12	DATE PAID					
JOAN BRISBOIS		UNIT	ψ500.01	Ψ132.12						
400 4 10 4 10 4	WELFARE LAKE VIEW LOTS 87 & 88				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
122 ARVIDA ST	ALSO E 1/2 OF LOT 89				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3506					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	 \$30.42	\$30.42	\$30.42	 \$30.42	\$30.42
o 92-17-35-352-011 LAURA A CIPIELEWSKI		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
128 ARVIDA ST	WELFARE LAKE VIEW LOT 86				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-016 DANIEL A TREMBLAY		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
DANIEL A TREMBLAT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
144 ARVIDA ST	WELFARE LAKE VIEW LOT 81				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-017		0.20	\$960.61	\$192.12	DATE PAID					
THERESA DAAR		UNIT			541 44105	# 100.10	0.450.70	0445.07	#70.05	000.40
BOB DAAR 148 ARVIDA ST	WELFARE LAKE VIEW LOT 80				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3506	WELFARE LAKE VIEW LOT 60				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40330-3000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-018		0.20	\$960.61	\$192.12	DATE PAID					
JAMES WALASZEK		UNIT	ι Ο.υυεφ	Ψ132.12	DATE FAID					
SHERYL CHARBONEAU					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
814 BLUFFTON ST	WELFARE LAKE VIEW LOT 79				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3613					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-019		0.20	\$960.61	\$192.12	DATE PAID					
GORDON HAMILTON TERESA HAMILTON		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
119 WELFARE BLVD	WELFARE LAKE VIEW LOT 91				BALANCE PRINCIPAL	\$192.12	\$153.70	\$38.42	\$76.85	\$38.42
WALLED LAKE MI 48390-3670	WELL AND LAND VIEW LOT 91				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						Ψ00.12	400.12	\$33.12	ψυυ. 1 <u>L</u>	400.12
	•			н						

167 d 175

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll l	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-352-021		0.20	\$960.61	\$192.12	DATE PAID					
GORDON HAMILTON		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
123 WELFARE BLVD	WELFARE LAKE VIEW LOT 93				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-022		0.20	\$960.61	\$192.12	DATE PAID					
OCCUPANT		UNIT	ψ300.01	Ψ132.12	DATETAID					
COOT AIN		ONT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
127 WELFARE BLVD	WELFARE LAKE VIEW LOT 94				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-023		0.20	\$960.61	\$192.12	DATE PAID					
KHAMPAUN CHANTHAVONG		UNIT							_	
400 WEI EARE RIVE	MELEADE LAKE MEMLOT OF				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
133 WELFARE BLVD	WELFARE LAKE VIEW LOT 95				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	φ30.4Z	φ30.4Z	\$38.42	\$30.42	\$30.42
o 92-17-35-352-024		0.20	\$960.61	\$192.12	DATE PAID					
JAMES C JOHNSON		UNIT	φοσοιο.	V.02						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 WELFARE BLVD	WELFARE LAKE VIEW LOT 96				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
00 47 05 050 007		0.00	000001	# 0.00	DATE DAID					
0 92-17-35-352-027		0.00	\$960.61	\$0.00	DATE PAID					
RUTH A FISHER		UNIT			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
143 WELFARE BLVD	WELFARE LAKE VIEW LOT 99				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3670	WEEL / IRE E/IRE VIEW EOT 55				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WILLES ETTE WII 40000 0070					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					1	ψ0.00	Ψοισσ	Ψ0.00	ψοισσ	ψο.οο
o 92-17-35-352-030		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES GRAVES		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
153 WELFARE BLVD	WELFARE LAKE VIEW LOT 102				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-031		0.20	\$960.61	\$192.12	DATE PAID					
RICHARD DYER		UNIT	ψ300.01	Ψ132.12	DATETAID					
		5.31			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
130 ARVIDA ST	WELFARE LAKE VIEW LOTS 84 & 85WELF				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-352-032		0.20	\$960.61	\$192.12	DATE PAID					
GORDON HAMILTON		UNIT			BAL	# 400 15	0450 =0	044-0-	# 70.55	000.15
TERESA HAMILTON	WELFARE LAKE VIEW WLY 1/2 OF LOT 92				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	WELFARE LAKE VIEW WLY 1/2 OF LOT 92				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
119 WELFARE BLVD					INTEREST	\$0.00	\$0.00	\$0.00 \$38.42	\$0.00	\$0.00
WALLED LAKE MI 48390-3670					TOTAL	\$38.42	\$38.42	φ36.42	\$38.42	\$38.42
WALLED LAIL WII 40000-0070	_1	1		II.	JI I				1	

623/2010 9:18 AM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.475.5445	1ST	2ND	3RD	4TH	5TH
o 92-17-35-352-033		0.20	\$960.61	\$192.12	DATE PAID					
GORDON HAMILTON		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	WELFARE LAKE VIEW ELY 1/2 OF LOT 92				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	WEEL THE ETHE VIEW EET 1/2 OF EOT 52				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
123 WELFARE BLVD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670						*	*			
o 92-17-35-352-034		0.20	\$960.61	\$192.12	DATE PAID					
RUTH A FISHER		UNIT								
	WELFARE LAKE VIEW LOT 98 EXC WLY				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
143 WELFARE BLVD	3.0 FT				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-035		0.20	\$960.61	\$192.12	DATE PAID					
OCCUPANT		UNIT	φ900.01	\$192.12	DATE PAID					
CCCOT AIVI		_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
139 WELFARE BLVD	WELFARE LAKE VIEW LOT 97, ALSO WLY				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670	3.0 FT OF LOT 98				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-352-036		0.20	\$960.61	\$192.12	DATE PAID					
REBECCA GINTHER		UNIT								
	WELFARE LAKE VIEW LOTS 100 & 101				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
149 WELFARE BLVD	10/02/86 FR 028 & 029				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3670					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOTAL	φ30.4Z	φ30.4Z	\$30.42	\$30.42	\$30.42
o 92-17-35-352-037		0.20	\$960.61	\$192.12	DATE PAID					
ADAM VIRGA		UNIT	φ500.01	Ψ102.12	DATE I ALD					
	WELEARE LAKE VIEW LOTO OO OO OO	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
142 ARVIDA ST	WELFARE LAKE VIEW LOTS 82 & 83 9-25- 08 FR 014 & 015				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3506	00 FR 014 & 015				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
										
0 92-17-35-353-001		0.20	\$960.61	\$192.12	DATE PAID					
JASON EASTER		UNIT			BALANCE	£400.40	£450.70	¢445.07	Ф 7 С ОБ	¢20.40
903 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 40				PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3600	WEEL FILLE VIEW EOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
White Education 10000 0000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						•			*	
o 92-17-35-353-008		0.20	\$960.61	\$192.12	DATE PAID					
GML & L3 HOLDING LLC		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
923 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 33				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3667					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
118 LEXINGTON AVE EAST LANSING MI 48823-4623					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-353-009		0.20	\$960.61	\$192.12	DATE PAID			1		
ANDREW KEENE		UNIT	10.006	ψ132.12	DATE FAID					
		0.111			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
118 WELFARE BLVD	WELFARE LAKE VIEW LOT 119				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			ll	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
0 92-17-35-353-010		0.20	\$960.61	\$192.12	DATE PAID					
DALE MARTIN DOSS,TRUSTEE OF		UNIT			DALANCE	£400.40	¢452.70	C445.07	¢70 ог	COD 40
THEN GREG STEVEN DOSS 120 WELFARE BLVD	WELFARE LAKE VIEW LOT 118				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3669	WELFARE LAKE VIEW LOT 116				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40030-0003					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
					101712	ψου. 12	ψου. 12	ψου. 12	Ψ00.12	ψου. 12
o 92-17-35-353-011		0.20	\$960.61	\$192.12	DATE PAID					
KIM RICHARDS		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
122 WELFARE BLVD	WELFARE LAKE VIEW LOT 117				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-353-012		0.20	\$960.61	\$192.12	DATE PAID					
JOHN V THOMOPOULOS		UNIT	ψ500.01	Ψ132.12	DATE TAIL					
		0			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
126 WELFARE BLVD	WELFARE LAKE VIEW LOT 116				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 0091					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-										
0 92-17-35-353-013		0.20	\$960.61	\$192.12	DATE PAID					
BARRY RIDENOUR		UNIT			BALANCE	¢402.42	¢452.70	¢445.07	₹76.0 E	¢20.42
130 WELFARE BLVD	WELFARE LAKE VIEW LOT 115				PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3669	WELLAKE LAKE VIEW LOT 113				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Wilees Eithe Will 10000 0000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						¥	7	****	,	,
o 92-17-35-353-014		0.20	\$960.61	\$192.12	DATE PAID					
RANDY HAIRALD		UNIT								
	WELFARE LAKE MENT OF 444				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
134 WELFARE BLVD	WELFARE LAKE VIEW LOT 114				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3669					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					IOIAL	ψ30.42	ψ30.42	ψ30.4Z	ψ30.42	ψ30.4Z
o 92-17-35-353-015		0.20	\$960.61	\$192.12	DATE PAID					
KEVIN TENASLIA		UNIT		·						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
138 WELFARE BLVD	WELFARE LAKE VIEW LOT 113				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-353-016		0.20	\$960.61	\$192.12	DATE PAID					
DAVID EXFORD		UNIT	ψοσο.σι	Ψ102.12	5,1,21,1,0					
JENNIFER MILLS					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
142 WELFARE BLVD	WELFARE LAKE VIEW LOT 112				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
- 02 47 25 252 047		0.00	#000 04	# 0.00	DATE DAID					
o 92-17-35-353-017 DAVID EXFORD		0.00 UNIT	\$960.61	\$0.00	DATE PAID					
JENNIFER MILLS		UNIT			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
SEIMMI EN MILES	WELFARE LAKE VIEW LOT 111				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
142 WELFARE BLVD					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3669							·	·		
	•									

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				NSTALLMEN	TS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
o 92-17-35-353-018		0.20	\$960.61	\$192.12	DATE PAID					
ROBERT ZAVITZ		UNIT			541 41105	# 100.10	0450.70	0445.07	#70.05	A 00 40
TAMARA ZAVITZ 150 WELFARE BLVD	WELFARE LAKE VIEW LOT 110				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3669	WELLAND LAND VIEW EOT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3009					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
						4002	4001.12	400.1.2	400.1.2	4002
o 92-17-35-353-019		0.20	\$960.61	\$192.12	DATE PAID					
JEFF CHASE		UNIT								
LINDA CHASE					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
119 LEEDS ST	WELFARE LAKE VIEW LOT 120				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-353-020		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES C RAY JR		UNIT	φοσοίο:	V.02.12	5711217115					
PENNY EVANS					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
121 LEEDS ST	WELFARE LAKE VIEW LOT 121				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
262 HAVANA					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
COMMERCE MI 48382		0.00	\$000.04	£400.40	DATE DAID					
o 92-17-35-353-021 CYNTHIA JUROSEK		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
TRUSTEE		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
127 LEEDS ST	WELFARE LAKE VIEW LOT 122				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2715 APACHE TRL					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WIXOM MI 48393-2121						•				
o 92-17-35-353-022		0.20	\$960.61	\$192.12	DATE PAID					
CINDY JUROSEK TRUSTEE		UNIT								
1071 5500 07	WELFARE LAKE VIEW LOT 400				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
127 LEEDS ST	WELFARE LAKE VIEW LOT 123				PRINCIPAL INTEREST	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3640 2715 APACHE TRL					TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
WIXOM MI 48393					TOTAL	ψ50.42	ψ50.42	ψ50.42	ψ30.42	ψ50.42
o 92-17-35-353-023		0.20	\$960.61	\$192.12	DATE PAID					
BILL TONE		UNIT								
TERRAL TONE					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
135 LEEDS ST	WELFARE LAKE VIEW LOT 124				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-353-024		0.00	\$960.61	\$0.00	DATE PAID					
BILL TONE		UNIT	ψου.υ ι	Ψ0.00	DATEFAID					
TERRAL TONE]			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
135 LEEDS ST	WELFARE LAKE VIEW LOT 125				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
00 47 05 050 005		0.00	Φοος ο :	0100.10	DATE SALE					
0 92-17-35-353-028	WELFARE LAKE VIEW BART OF LOTO 400	0.20	\$960.61	\$192.12	DATE PAID					
LINDA HOGAN WILSON	WELFARE LAKE VIEW PART OF LOTS 126 & 127 BEG AT NE COR OF LOT 127, TH S				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
916 BLUFFTON ST	67-34-00 W 133.00 FT, TH S 22-27-24 E	1			PRINCIPAL	\$38.42	\$153.70	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3617	72.00 FT, TH E 95.43 FT, TH N 117.30 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	TO BEGWELF	1			TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		<u> </u>								
<u> </u>	·				n				-	

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		INSTALLMENTS						
						2010	2011	2012	2013	2014		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH		
o 92-17-35-353-029	WELFARE LAKE VIEW LOTS 126 & 127	0.20	\$960.61	\$192.12	DATE PAID							
JAMES C LATTA	EXC BEG AT NE COR OF LOT 127, TH S	UNIT										
	117.30 FT ALG E LOT LI, TH W 95.43 FT				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
141 LEEDS ST	TO PT ALG WLY LINE OF LOT 126, TH N				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WALLED LAKE MI 48390-3640	22-27-24 W 72 FT TO NW COR OF LOT				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00 \$38.42	\$0.00		
	126, TH N 67-34-00 E 133 FT TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$30.42	\$38.42		
o 92-17-35-354-003		0.20	\$960.61	\$192.12	DATE PAID							
YONO REAL ESTATE DEVELOPMENT		UNIT	ψοσοίο.	V.022								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
	WELFARE LAKE VIEW LOT 135				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
6208 QUACKERHILL DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WEST BLOOMFIELD MI 48322			*****	*	5.4=5.445							
0 92-17-35-354-004		0.20	\$960.61	\$192.12	DATE PAID							
YONO REAL ESTATE DEVELOPMENT		UNIT			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
	WELFARE LAKE VIEW LOT 134				PRINCIPAL	\$38.42	\$153.70	\$38.42	\$76.85	\$38.42		
	WELFARE LARE VIEW EOT 134				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
6208 QUAKERHILL DR					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WEST BLOOMFIELD MI 48322						7	, , , , , ,	700	¥	Ţ		
o 92-17-35-354-006		0.20	\$960.61	\$192.12	DATE PAID							
DONNA SEXTON		UNIT										
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
124 LEEDS ST	WELFARE LAKE VIEW LOT 132				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
o 92-17-35-354-007		0.20	\$960.61	\$192.12	DATE PAID					1		
DONNA SEXTON		UNIT	φ900.01	Ψ192.12	DATEFAID							
DOMINI GENTON		0.4			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
124 LEEDS ST	WELFARE LAKE VIEW LOT 131				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
0 92-17-35-354-008		0.20	\$960.61	\$192.12	DATE PAID							
MARGARET MARIE SKAER		UNIT			DALANCE	£400.40	£452.70	C445.07	Ф 7 С ОБ	¢20.40		
128 LEEDS ST	WELFARE LAKE VIEW LOT 130				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42		
WALLED LAKE MI 48390-3639	WEELAKE LAKE VIEW LOT 130				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
W/1222 2/112 WII 40000 0000					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
						7	, , , , , ,	700	¥	Ţ		
o 92-17-35-354-009		0.20	\$960.61	\$192.12	DATE PAID							
OCCUPANT		UNIT										
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
132 LEEDS ST	WELFARE LAKE VIEW LOT 129				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
o 92-17-35-354-010		0.20	\$960.61	\$192.12	DATE PAID				1			
BARBARA CHARGO		UNIT	1 0.006	ψ132.12	DATERAID							
		0.411			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42		
136 LEEDS ST	WELFARE LAKE VIEW LOT 128				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42		

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			II.	NSTALLMENT	ΓS	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
O 92-17-35-354-011 STEVE ROMAYA		0.20 UNIT	\$960.61	\$192.12	DATE PAID					
	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42920 W 14 MILE RD	WELFARE LAKE VIEW LOT 136				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24935 CHELSEA XING FARMINGTON HILLS MI 48331-2809					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-354-012		0.20	\$960.61	\$192.12	DATE PAID					
STEVE ROMAYA		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
	WELFARE LAKE VIEW LOT 147				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0.4005 01151 054 7/110					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24935 CHELSEA XING FARMINGTON HILLS MI 48331-2809					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-354-013		0.20	\$960.61	\$192.12	DATE PAID					
YONO REAL ESTATE DEVELOPMENT		UNIT	*	, -						
	WELFARE LAKE VIEW LOTS 31 & 32 2-28-				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1035 E WALLED LAKE DR	85 FROM 001 & 002				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390	33 1 1 33 1 33 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6208 QUAKER HILL DR WEST BLOOMFIELD MI 48322-1858					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-355-001		0.20	\$960.61	\$192.12	DATE PAID					
ALICE DEGRANDCHAMP		UNIT	φοσοίο:	Ψ102.12	B, (12 1) (18					
	WELFARE LAKE VIEW LOT 103 & W 1/2				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
831 BLUFFTON ST	OF LOT 104				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3616	OI 201 104				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-355-002		0.20	\$960.61	\$192.12	DATE PAID					
DEBRA BAIN		UNIT	ψ300.01	Ψ132.12	DATETAID					
	MELEADE LAKE VIEW E 4/0 OF LOT 404.0	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
210 CHERITON ST	WELFARE LAKE VIEW E 1/2 OF LOT 104 & ALL OF LOT 105	4			PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3621	ALL OF LOT 103				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-355-007		0.20	\$960.61	\$192.12	DATE PAID					
PETER CAROLAN		UNIT	φοσοιοι	4.022						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
835 BLUFFTON ST	WELFARE LAKE VIEW LOT 146				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3616					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-355-008		0.20	\$960.61	\$192.12	DATE PAID					
JAMES SCHOENHERR		UNIT	ψοσο.στ	ψ10Z.1Z	2,21,,,,,					
SUSAN SCHOENHERR					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
833 BLUFFTON ST	WELFARE LAKE VIEW LOT 145				PRINCIPAL		\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3616					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-355-009	+	0.20	\$960.61	\$192.12	DATE PAID					
ELIZABETH CUMMINGS		UNIT	ψουυ.υ ι	Ψ132.12	DATEFAID					
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
911 BLUFFTON ST	WELFARE LAKE VIEW LOT 144				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
		1								

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			11	NSTALLMENT	S	
						2010	2011	2012	2013	2014
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
0 92-17-35-355-010		0.20	\$960.61	\$192.12	DATE PAID					
PHYLLIS TRUSSLER		UNIT			DALANOE	£400.40	£450.70	0445.07	Ф 7 0.05	COO 40
	WELFARE LAKE VIEW LOT 143				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
	WELLAKE LAKE VIEW LOT 143				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1063 S DOWLING ST					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WESTLAND MI 48186-4040						¥00111	7001.12	V	¥331.1=	¥ CO. I
o 92-17-35-355-011		0.20	\$960.61	\$192.12	DATE PAID					
NORBERT SZCZODROWSKI		UNIT								
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
919 BLUFFTON ST	WELFARE LAKE VIEW LOT 142				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00 \$38.42	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$30.42	\$38.42
o 92-17-35-355-012		0.20	\$960.61	\$192.12	DATE PAID					
DOUG MERITHEW		UNIT	******	******						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
925 BLUFFTON ST	WELFARE LAKE VIEW LOT 141				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-355-013		0.20	\$960.61	\$192.12	DATE PAID					
CHARLES CHILDS		UNIT	φ900.01	\$192.12	DATE PAID					
STELLA FRATARCANGELI		OIVII			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
957 BLUFFTON ST	WELFARE LAKE VIEW LOT 140				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
0 92-17-35-355-014		0.20	\$960.61	\$192.12	DATE PAID					
FRANK AGUILAR		UNIT			DALANCE	£400.40	¢452.70	C445.07	Ф 7 С ОБ	COO 40
1005 BLUFFTON ST	WELFARE LAKE VIEW LOT 139				BALANCE PRINCIPAL	\$192.12 \$38.42	\$153.70 \$38.42	\$115.27 \$38.42	\$76.85 \$38.42	\$38.42 \$38.42
WALLED LAKE MI 48390-3620	WEEL / IKE E/ IKE VIEW EOT 100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9850 TOWER RD					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
SOUTH LYON MI 48178-7028						• • • • • • • • • • • • • • • • • • • •		*		,
o 92-17-35-355-015		0.20	\$960.61	\$192.12	DATE PAID					
SHARON BEUTEL		UNIT								
	MELEADE LAKE MEMLOT 400				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
1015 BLUFFTON ST	WELFARE LAKE VIEW LOT 138				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3620					INTEREST TOTAL	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42	\$0.00 \$38.42
					TOTAL	ψ50.42	ψ30. 4 2	ψ30.42	ψ30.42	ψ30.42
o 92-17-35-355-016		0.20	\$960.61	\$192.12	DATE PAID					
STEVE ROMAYA		UNIT	•	-						
					BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
42880 W 14 MILE RD	WELFARE LAKE VIEW LOT 137				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3672					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24935 CHELSEA XING FARMINGTON HILLS MI 48331-2809					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
o 92-17-35-355-017		0.20	\$960.61	\$192.12	DATE PAID					
SHERRY JORIS	WELFARE LAKE VIEW LOT 109 EXC BEG		ψουυ.υ ι	Ψ132.12	DATEFAID					
	AT MOST NLY LOT COR, TH S 00-16-00 E	_			BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42
314 CHERITON ST	100 FT, TH S 61-25-45 W 60 FT, TH N 25-				PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
WALLED LAKE MI 48390-3623	10-21 W 75 FT, TH N 54-13-50 E 105 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	ALG NLY LOT LINE TO BEG				TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42
	L									

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		INSTALLMENTS					
						2010	2011	2012	2013	2014	
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH	
o 92-17-35-355-018		0.20	\$960.61	\$192.12	DATE PAID						
DWAYNE RIDENOUR		UNIT									
	WELFARE LAKE VIEW LOTS 106, 107 & 108 11-25-91 FR 003, 004 & 005				BALANCE	\$192.12	\$153.70	\$115.27	\$76.85	\$38.42	
294 CHERITON ST					PRINCIPAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42	
WALLED LAKE MI 48390-3621	100 11-23-31 110 003, 004 & 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$38.42	\$38.42	\$38.42	\$38.42	\$38.42	